NECTEC

AIR
SPRINGS

2018/2018

Resory pneumatyczne | Air springs | Luftfedersysteme | MNHeBmopeccopsl | Fuelles de suspension | Coussins d'air






NECTEC

) , .
S PI1S CIreSCl  CconENTS INHALTSVERZEIGHNIS COMEPKAHVE INDICE DE CONTENIDOS TABLE DES MATIERES

RESORY PNEUMATYCZNE

AIR SPRINGS; LUFTFEDERSYSTEME; NMHEBMOPECCOPbI; FUELLES DE SUSPENSION; COUSSINS D’AIR

SERIA AB. . . . 7
AB TYPE; AB-SERIE; GEPVIA AB; SERIE AB

SERIA ABK. . . o 31
ABK TYPE; ABK-SERIE; CEPVA ABK; SERIE ABK

SERIAABM . . . 39
ABM TYPE; ABM-SERIE; GEPVIA ABM; SERIE ABM

SERIA ABV. . . . 165
ABV TYPE; ABV-SERIE; CEPVA ABV; SERIE ABV

SERIA ABT. . . . 177
ABT TYPE; ABT-SERIE; CEPVIAl ABT; SERIE ABT

SERIA ABC. . . . . 181
ABC TYPE; ABC-SERIE; CEPVA ABC; SERIE ABC

PROBLEMY/ROZWIAZANIA . ... ... o e 189
PROBLEM/SOLUTION; PROBLEM/LOSUNG; MPOBEMbI/PELLEHIA; PROBLEMAS/SOLUCION

LISTA NUMEROW OE PRODUCENTOW . . . .. oo oo 183

APLICATION LIST, ANWENDUNGSLISTE; KPOCC-TAB/ILIbI MO OPUTMHAITbHBIM HOMEPAM
MPOV3BOOVNTENEW; LISTA DE NUMEROS OE; LISTE DES NUMERQOS OE

LISTA ZAMIENNIKOW
CROSS REFERENGE; CROSS-REFERENZLISTE; KPOGC-TAB/MLIbI;
EQUIVALENGIAS; LISTE DES SUBSTITUTS

CONTITECH . . . . . e 206
GOODYEAR . . 209
FIRESTONE . . . .. . 211
PHOENIX . 214
CFGOMMA . . 215
VIBRACOUSTIC . . . . e e 217
AIRTECH . . . 219
BLACKTECH . . . . . 221
PEGA . 223
MONROE . . . 225
SACHS . . 225
ZESTAWY MONTAZOWE NEOTEC .. .. ..o oot oo 226

NEOTEC FITTING KITS; NEOTEC SCHRAUBENSATZ; MOHTAXHbIE HABOPbI NEOTEC;
KIT DE MONTAJE NEQTEC; KITS D’ASSEMBLAGE NEOTEC



NECTEC

Doswiadczenie w produkcji membran zapoczatkowane w 1988 r.
Dostawca o globalnym zasiegu

Obecnos¢ na rynku pierwszego wyposazenia

Standard zarzadzania jakoscig oparty na normach IATF 168949:2016 oraz ISO 9001:2015
System Zarzadzania Srodowiskowego 1SO 14001:2015
Autorskie metody produkciji

Ponad 650 typéw membran

Odpornosé produktu w wysokich i niskich temperaturach

100% kontrola cisnieniowa gotowych produktow

Niezawodnos¢ potwierdzona 9.000.000 cykli

Technologia neoprenowa

Do 3 lat gwarancii

Proekologiczny system produkcji oparty na systemie LCA

©C O © 0 0 0 C© 00 0O C©C O O O




© Experience in air springs production since 1988

© Global supplier

© Presence on the OEM market

© Quality management system based on IATF 16949:2016
and 1SO 9001:2015

© Environmental Management System ISO 14001:2015

© Original production methods

© Over 650 types of membranes

© Product resistance in high and low temperatures

© 100% pressure control of final products

© Reliability confirmed with 9.000.000 cycles

© Neoprene technology

© Up to 3 years guarantee

© Pro-ecological production system based on LCA system

© Experiencia en la fabricaciéon de membranas desde 1988

© Proveedor de alcance global

© Presencia en el mercado de primer equipamiento

© Estandar de gestion de calidad basada en las normas
IATF 16949:2016 e ISO 9001:2015

© Sistema de Gestion Medioambiental ISO 14001:2015

© Método de fabricacion propio

© Mas de 650 tipos de membranas

© Resistencia del producto a altas y bajas temperaturas

© 100 % de control de presion de productos

© Fiabilidad comprobada por 9.000.000 ciclos

© Tecnologia de neopreno

© Hasta 3 afos de garantia

© Sistema de produccién ecolégica basado en el sistema LCA

© Expérience dans la production de membranes depuis 1988.
© Fournisseur de portée mondiale
© Présence sur le marché de premier équipement
© Norme de gestion de la qualité basée sur les normes
IATF 16949:2016 et I1SO 8001:2015

© Systeme de gestion de I'environnement 1ISO 14001:2015

© Propres méthodes de production

© Plus de 650 types de membranes

© Résistance du produit aux hautes et aux basses températures
© 100% controle de la pression des produits finis

© Fiabilité confirmée 9 000 000 cycles

© Technologie néoprene

© Jusqu’a 3 ans de garantie

© Un systeme de production proécologique basé sur le systeme LCA

© Erfahrung in der Produktion von Membranen seit 1988
© Lieferant mit globaler Reichweite
© Prasenz auf dem Erstausstattungsmarkt
© Qualitdtsmanagement-Standard gemaB den Normen
IATF 16848:2016 und ISO 8001:2015
© Umweltmanagementsystem gemai ISO 14001:2015
© Unternehmenseigene Produktionsmethoden
© Uber 650 Membrantypen
© Bestandigkeit des Produkts bei hohen und tiefen Temperaturen
© 100 %-ige Druckkontrolle von Fertigprodukten
© Bestatigte Zuverlassigkeit bei 9.000.000 Zyklen
© Neopren-Technologie
© Bis zu 3 Jahren Garantie
© LCA-System gestutztes, umweltfreundliches Produktionssystem

© Mbl meem onbIT paboTsl B Npov3BoacTee nHeemopeccop ¢ 1988 r.
© MocTaBwuk ¢ rnobanbHbIM 0XBaTOM yCnyr
© Hawa komnaHmA ABNAETCA KOHBENEPHLIM NOCTaBLUMKOM
© CTtaHaapT ynpaBneHnsa Ka4ecTBoM, oTBeYalowuin TpeboBaHnAM
IATF 16949:2016 n ISO 8001:2015
© Cuctema akonormnyeckoro meHegxmenta |ISO 14001:2015
© B accopTimMeHTe nMeeM aBTopcKue paspaboTku NHeBMopeccop,
a obuee Kon-BO apTMkynoB HacyuTeiBaeT 6Bonee yem 650 B1OooB
© BbicokanA ycTon4MBOCTb K BbICOKMM U HAU3KUM TemnepaTtypam
© 100% koHTpOSib Ka4ecTBa BCEX BbINMyCKaeMbIX MHEBMOPECCOP
© HapgexHocTb nogreepxaeHa cpokoM cnyx6el - 9.000.000 uuknos
© B npov3BoacTBe NHEBMOPECCOP MCMOMb3YeTcA TEXHONOrMA HeonpeHa
© o 3 net rapaHTum
© 3Jkonormyeckas cucTeMa Npon3BOACTBa, OCHOBAHHAA HAa OLEHKE
XXM3HEeHHoro umkna npogyktos (LCA)

(PmsTEC
| i

-
=




NECTEC

CERTIFICATE

CERTIFICATE

Management system as per
Management system as per 1ISO 14001 : 2015
ISOITS 16949:2009

|3rd ecitian, 2009-06-15) In accordance with TOV NORD CERT procedures, it is hereby certified that
o, 2008-06-

Evidence of canform iy with the above standard has s femistad and & corifid lor

TIP-TOPOL Sp. z 0.0.
TIP-TOPOL Sp. z 0.0. .
Polska Wies 15 ul. Kostrzyriska 33, PL / 62-010 Pobiedziska
6§2-010 Pobledziska with the lecation/site
Poland Zaklad Produkcyjny ,, TIP-TOPOL” Sp. z 0.0.
Wi B TR Ic farktions sccarding 10 mppendix ul. Polska Wie$, PL / 62-010 Pobiedziska

applies a management system in line with the above standard for the following scope
Scope

Design, production and trade of equipment and materials
for tyre service and retreading workshops.
Manufacturing and trade of rubber products for

Desi i T h b
eSigniand production, of alr peinpe automotive industry and other industrial applications.

WATE Reglsiration No. (228908 lasun data: 20164207 Certificate Registration No. 04 104 058357 Valid from  2017-04-20 Valid until 2020-04-18
Certficale Registmion Ma. 44 111 127748 Euplry dartg: 2018-09-14 Audit Report No. PL1443/2018 Initial certification: 2015-04-07
fuddt Fopart ba, 3516 8156 Bl eyebe: 12 monlhs from 20159016

Y At
tian baty Essen, 2018-06-19

a1 TOY KORD CERT GmbH

X . . Cartilication Body Kalowice, 2018-04-09
Tris certfication was conducted in acconianes with e WATF Rule for sudiling snd sertificstion and s subject 1o regular sured 2t TOV NORD CERT GrmbH
s,
TUW NORD CERT GmbH Langemarastraie 20 45141 Easen W tut-nard-oort.do This was conducted in accord: with the TOV NORD CERT auditing and certification procadures and is

subject to regular surveillance audits.

TUV NORD CERT GmbH Langemarcksirasse 20 45141 Essen www tuev-nord-cert.com

IAF

{( pAKKS

Deutsche

o 112 REIFZO0 Rav. 34,16

Akradiiarungsstelle
21120070101

CERTIFICATE

Management system as per
1SO 9001 : 2015

In accordance with TUV NORD CERT procedures, it is hereby certified that

TIP-TOPOL Sp. z 0.0.
ul. Kostrzyriska 33
PL / 62-010 Pobiedziska

with the locations / sites according to the annex

applies a management system in line with the above standard for the following scope

Design, production and trade of equipment and materials
for tyre service and retreading workshops.

Certificate Registration No. 04 100 058357 valid from  2017-04-20 Valid until 2020-04-19
Audit Report No. PL1443/2018 Initial certification; 2005-04-20
Certification Body Katowice, 2018-04-09

at TOV NORD CERT GmbH

This centification was conducted in accordance with the TUV NORD CERT auditing and certification procedures and is
subject to regular surveillance audits.

TUV NORD CERT GmbH Langemarckstrasse 20 45141 Essen wwiw.tuev-nord-cert.com

{( pAKKS
EHE o




NECTEC

AB series



NECTEC

> AB 204

2140

\
;AB\ZW

325

> AB 314 S

2193

> AB 314

2193

\ 2120,3

> AB 314 L

S
|
PR E
g

‘ S
|

@140
@190 (Mmax.200)

2193

530

wn
\r ””” ‘ ””” oy N
! [sed
‘ | L =
| i (
2180
@240 (max.2250)
|
F 9 | PN
|
I
J | TUE
B
A
‘ 186
@280 (max.290)
o W B oo W
|
|
,,,,, I S
\f VL./ ’
| HE

2186 |

2280 (max.2290)

OE NUMBER
OPTARE
ZF

CROSS REFERENCE
CONTITECH
FIRESTONE

FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
1SUzU

OE NUMBER
DENNIS BUS
VoLvo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
DENNIS BUS
SCANIA

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

5800001; R5800001
502 312 548

975N; 976N
1R1T 320-195
W01 095 0437
1E10C
V1E10

611 896/12
3116 354

927N

8037

1R1J 415-285
W01 095 0244
2E18B
V2E18B

656 300/2; 656 606/2
411627

836 N

8040

1R14J 520-285
W01 095 0245
2E18A



AB series

> AB 406

2212

7~

[AB 406
|
|

@126,5

> AB 407

260

260

130

305

135

246

@175

@245 (Max.2255)

> AB 408 S

360

145

280

@255 (Max.@265)

D174

Y

408 S

345

‘ 2100,8

105

244

OE NUMBER
JELCZ
AUTOSAN

CROSS REFERENCE
PHOENIX
VIBRACOUSTIC

OE NUMBER
MENARINI
RENAULT V..

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO
MENARINI
MERCEDES

CROSS REFERENCE

CF GOMMA

CF GOMMA CODE
CONTITECH
PHOENIX
VIBRACOUSTIC

621.491.50.88

1E16
V1E16

252933
5.000.786.641; 5.000.805.998; 5.810.111.355

15 240-30 BB
97326

98411807

1SC 260-32
96987

577472, 93166129; 98445471
192709
A 000 328 01 01

15215-22
90609
819N
1E14
V1E14



NECTEC

> AB 408

365

> AB 410

2179
©130.8

’

385

> AB 411 S

244

105

r,
0]
@210 (max.2220)

110
250

@245 (Max.@255)

2179

@126,0
;

&
é E=
[AB1411S

300

> AB 411

2179
126,
@ :60

y -
-

[AB1411

370

250

98

@210 (max.2220)

280

98

‘ o155

2210 (max.2220)

OFE NUMBER

IVECO 500301776
CROSS REFERENCE

CF GOMMA 15215-23

CF GOMMA CODE 202189

OE NUMBER

Voo 3111277
CROSS REFERENCE

FIRESTONE 1R4U 395-260

FIRESTONE ORDERNO W01 095 0453

OE NUMBER
PAZ

CROSS REFERENCE
VIBRACOUSTIC V1G12A6

OE NUMBER
PAZ

CROSS REFERENCE
VIBRACOUSTIC V16126



AB series
> AB 412

> AB 412 L

g N Jf ,,,,,, Py

L

|
|

N

A
|

145

242

@170

@250 (max.2260)

2179
21308

A

r
412L

435

> AB 413

2193
©130.8

=
[AB1413

365

2118,0

> AB 414 S

2193

===
[AB 414S

380

145

305

@240 (max.@250)

110

231

2183

@250 (max.2260)

110

265

2192

@250 (Max.@260)

OE NUMBER
IVECO

CROSS REFERENCE
CONTITECH

OE NUMBER
MERCEDES
NEOPLAN
VAN HOOL
Voo

CROSS REFERENCE
CONTITECH

OE NUMBER
Voo

CROSS REFERENCE
GOODYEAR

OE NUMBER
IRIS
VAN HOOL

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

93166132

1788 N

A674328 0301
1001 12 100
624319-560
6782726

788N

20 540 792

9112, 9133

5.000.786.640; 5.000.786.641; 5.000.805.284
624319-860

763N

8053

1R1A 380-260
W01 095 0204
1E18
V1E18



NECTEC

> AB 414 SL

2193
21308

390

> AB 414

2193

410

21308

> AB 415 S

2234

420

©130.8

> AB 415 SB

[AB|415 S8

430

2130,8

110

231

@250 (max.2260)

265

110

2192
@250 (max.2260)

130

260

2270 (max.2280)

120

260

@290 (max.2300)

OE NUMBER
Voo

CROSS REFERENCE
GOODYEAR

OFE NUMBER
EVO (DC)
RENAULT V.1

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
IRIS

IVECO

MAN

MERCEDES
RENAULT V.1

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

20 535 875

9080

A 000328 00 01
5.000.288.982

921N

8043

1R1A 415-260
W01 095 0226
1E17
V1ENT

5.010.294.385

42534924

81.43601.0066; 81.43601.0068; 81.43601.0069;
81.43601.0106; 81.43601.0108

A 658 328 00 01

5.000.301.452; 5.010.239.180

884N

9002

1R1B 415-270
W01 095 0295
1F20A
V1F20A

A628 323 00 92

946N
V1F21C



AB series

> AB 415

2234

[AB1415

©130.8

> AB 415 L

440

g B
|
b
| 8
\ | \_/
|
@190
@270 (max.2280)
gy B R
\
|
,,,,,, Lo
’s ‘ 3
\J ‘ )R
\
|
@190
@270 (max.2280)
g S
\
fffffff I
‘ o~
ug U
i
@200
@315 (max.2325)
g W R N
|
fffffff I
‘ ~N
qg U
|
@200

@315 (max.@325)

| o
i &
-
\ @179.0
> AB 418
D264
AB, 418
|
\ o
i 5
|
|
g ; =
@2179.0

OE NUMBER
IVECO
MAN

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
MAN

Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

OE NUMBER
IKARUS

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
IKARUS
LAz

CROSS REFERENCE
GOODYEAR
PHOENIX

98478799

81.43601.0104; 81.43601.0109; 81.43601.0111;
81.43601.0123; 81.43601.0125; 81.43601.0140;

81.43601.0150

1884 N1; 1885 N1
9003

1R2A 445-280
W01 095 0429
1F208B
V1F20B

81.43601.0071; 81.43601.0072; 81.43601.0110;

81.43601.0128
1082 085

883 N1
9012
1F21C-2
V1F21C-2

B 510040

701N

9006

1R3M 340-340
W01 095 0205
1E26
V1E26

9011
1E26A



NECTEC

> AB 420 CE R
UMz
@257
2179.0
= o \ _
T ﬁ”iﬁﬁli 7777777 h
#420 ‘
i | 3
‘ S - «
(s |
| |
\ @200
@310 (max. @320)
> AB 430 OF NUMBER
MERCEDES 4363 32802 01
@268
/ ‘l'. e - B - L Yy |
‘ - ‘
43!7 i
| o SR g
| 2 J
| v | 2
\ \ - CROSS REFERENCE
| ; CONTITECH 757N
! o GOODYEAR 9077
— FIRESTONE 1ROA 380-305
EEE= @300 (max.2310) FIRESTONE ORDERNO W1 095 0212
PHOENIX 1F26¢C
21308 VIBRACOUSTIC V1F28C
> AB 430 B OF NUMBER
RIS 5.000.954.175
Voo 1612455
2268
L
( i === 7 > S i 77777 o N
4305 ‘
N s
| 2 Ul s v ek
: ” | | LR
| / : N CROSS REFERENCE
\ P CONTITECH 768N
! GOODYEAR 9078
L TTTS @325 (max.2335) FIRESTONE 1R2A 380-330
: FIRESTONE ORDERNO  WO1 095 0213
21308 PHOENIX 1827
» AB 430 L O NUMBER
KAMAZ
2252
K: S (eI
430L
N . - 2
‘ '-d i ™
‘ g J
| ‘ 9
| | 2
| |
| @230
l i @300 (max.@310)




AB series
> AB 432

460

345

I
@230
@305 (max.2315)

185

345

@325 (Max.2335)

160

335

@295 (max.2305)

345

@325 (max.2335)

OE NUMBER
MAN

Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO

OE NUMBER
MENARINI
MERCEDES
PEGASO

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

81.43601.0033; 81.43601.0040; 81.43601.6060;
81.43601.6069; 81.43601.6075

1593 842

716N

9073

1R2A 450-305
W01 095 0145
1F26B-1
V1F26B-1

A 318 328 00 01

746N
9076

1075290

1421N

9072

1R2A 450-305
W01 095 0472

178739
A 393 328 01 01
4746740

737N

9075

1R1A 480-330
W01 095 0211
1F26
V1F26



NECTEC

> AB 434 L

465

> AB 444 S

2218

[ SS5es

AB1444 S

300

\
21300

> AB 444 SL

2218

B
( e s
[AB 1444 SL

340

395

235

@325 (max.@335)

\J

L/

145

275

@250 (max.2260)

84

202

@270 (max.280)

125

280

@270 (max.2280)

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

OE NUMBER
MAN

MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO
MENARINI

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

A674 3280001

V1F26D

81.43601.0065; 81.43601.0067; 81.43601.0070;
81.43601.0092; 81.43601.0099; 81.43601.0103;
81.43601.0121; 81.43601.0132

A658328 0101

882 N1

9048

1R4R 465-260
W01 095 0435
1F16
V1F16

41008929

1527019
201732

42531994
D020930

15270-20 V
202773



AB series

> AB 444

390

> AB 444 L

2218

[AB 4441

=======|
\ =

420

C

21300

> AB 444 XL

2218

o

444 XL

> AB 445 S

450

2218

f e
——
o
[AB|445S

|

|

I
e e
e
——
—F

295

|_ 21308

7o W N -
|
- Us
|
@190
@270 (max.280)
g S I
|
.
| o
| L/ @
|
@190
@270 (max.280)
g B
\
~ 2
i ™
J %
|
@190
@270 (max.2280)
7 I N
|
| S
| 8

@290 (max.2300)

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

OE NUMBER
IVECO
RENAULT

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
INBUS
IVECO
SICCA

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO

8188526

15270-23C
97619

1R1B 390-270
W01 095 0121

8188539; 500301452
5.010.294.385

15270-25C
97608

500364686

15 270-26
203933

500 1051
6144040; 8160165
489 0001

943N
9001
1R1A 260-285
W01 095 0189



NECTEC

> AB 445 SN

370

OE NUMBER
Voo

275

110

2290 (max.2300)

[AB\445 5L

330

> AB 445

CROSS REFERENCE

GOODYEAR
PHOENIX

OF NUMBER
BOGDAN

189

95

395

445A

395

\ 21308

2290 (max.2300)

OE NUMBER
BPW
BUSSING
DAF / VDL
EVO (DC)

20540 789; 20 836 533

9081; 9134
1E218

02.200.24.40.0
536905265
689677

A000 327 0101, A307 328 00 01; A 327 328 00 01

EVO (KASSBOHRER-SETRA) 4.771.143.000; 4.771.441.000

MAN

NEOPLAN
VoLvo

275

CROSS REFERENCE
CONTITECH
GOODYEAR

115

. @20

@290 (max.2300)

FIRESTONE
FIRESTONE ORDER NO
PHOENIX

VIBRACOUSTIC

OE NUMBER
INBUS
IVECO
MENARINI
PORTESI
SICCA

275

115

@270 (max.2280)

CROSS REFERENCE
CONTITECH
GOODYEAR

81.43601.0017
1001 10 300; 1001 12 254
0134 445; 1 134 445; 1 199 893

644N

8017, 9009
1R1A 390-295
W01 0950118
1E21-6
VI1E21

484 0005; 489 0001

4714025; 4722525; 6657150; 4738008
325993

700176

4840 005

944N
8012



AB series
> AB 445 L

2218

f =
'
{AE 445L

415

2130.8

> AB 445 XL

@218

f

[AB 445 XL

440

| @130,

> AB 447

2218

21300
I

|
F‘
=
AB 447
|

260

_21008

> AB 448 S

“
o

290

2192
@290 (max.300)

(\‘
110

290

@270 (max.280)

98

195

@270 (max.2280)

@218

/ ey
[
o

[AB1448 s

98

197

2280 (max.2290)

OFE NUMBER

IRIS 5.000.954.176
CROSS REFERENCE

CONTITECH 782N
GOODYEAR 9013
FIRESTONE 1R1A 415-285
FIRESTONE ORDERNO W01 095 0197
PHOENIX 1E21D
VIBRACOUSTIC VI1E21D

OFE NUMBER

IVECO 4716989
SCANIA 523229
CROSS REFERENCE

CONTITECH 945N
GOODYEAR 9014
FIRESTONE 1R1A 460-290
FIRESTONE ORDERNO W01 035 0063
PHOENIX 1E21D
VIBRACOUSTIC VI1E21D

OE NUMBER

IVECO 8160165
CROSS REFERENCE

CF GOMMA 15285-18C
OFE NUMBER

IVECO 6144040
SICCA 4840001
CROSS REFERENCE

CF GOMMA 1528518

CF GOMMA CODE 88803



NECTEC

> AB 448 SL

335

2130,0

> AB 448

> AB 448 L

2218

I

f e Y
=== T
e e e
[EESSs
|

ﬂuu

395

> AB 448 XL

2218

[AB 448 XL

OE NUMBER
IVECO

189

95

2207

@280 (max.290)

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
INBUS

IRISBUS

IVECO
MAGIRUS-DEUTZ
MENARINI

MERCEDES
PORTESI
ROLFO
SCANIA

261

926

@280 (max.2290)

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO

277

C

96

@280 (Mmax.3290)

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
BERTOJA
IVECO
MENARINI
MERCEDES
RENAULT V.1

274

138

2185

@280 (Max.3290)

CROSS REFERENCE

CF GOMMA
CF GOMMA CODE

4843220; 577443

15 285-20
96534

4840001; 4840005; 4830001
4714025

75028786; 4722525; 8010000336
2491566

178623; 325993

A 337 327 00 01

700176

811832

15 285-22
88786

99459166

15 285-23 V
202728

446311005

4716989

178741

A 382327 72 01
5.000.787.632; 5.000.869.179

185285-25
97555



AB series
> AB 450

@218

450

425

120

285

@285 (max.2295)

370

315

145

@290 (max.300)

> AB 455 A

130

260

@290 (max.2300)

D242

"—‘H
E=sse:
[AB1455A

150

325

2200
@290 (max.2300)

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
DAF / VDL
EVO (DC)
MERCEDES
SCANIA
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

CF GOMMA

CF GOMMA CODE
VIBRACOUSTIC

OE NUMBER
BPW
DENNIS BUS
MAN
MERCEDES
NEOPLAN
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

CF GOMMA

CF GOMMA CODE
VIBRACOUSTIC

500324098

15§290-23V
9204427

627584
A 383 327 00 01
A 383 327 00 01

1611776

1R1A 370-285
W01 0950198
1F21A
VIF21A

81.43601.0095; 81.43601.0097
81.43601.0100; 81.43601.0102
81.43601.0105; 81.43601.0126

916 N1

9015

1R1A 460 295
W01 095 0555
1F21C-5
1SC 290-30
88802
V1F21C-5

02.200.24.10.0

650 292/8; 650 883/4; 650 883/7
81.43601.0033; 81.43601.0036; 81.43601.0037
A 387 328 01 01; A 655 327 00 01

1001 12 300

1590 136; 1 629 193

720N; 1720 N
9008; 3068
1R2A 460-295
W01 095 0195
1F21

15C 290-30
88802
VI1F21



NECTEC

> AB 455 L O NUVEER

Voo 1622 116; 6 797 169

2242

[ 7 "z W JL ,,,,, PN

@rsm i
|
,,,,, T,,,,, ((‘-&))
\
U s
1 ‘ CROSS REFERENCE
i ~ !9 CONTITECH 713N
- 2197 | GOODYEAR 9066
@285 (Max.2295) PHOENIX 1F210
VIBRACOUSTIC VIF21D
> AB 455 L2 OE NUMBER
MERCEDES A674328 0101
@242 ‘
: . G SRR
’ e !
%Asm ‘
|
- -
| o
\ ‘ ) 2
|
@210
2285 (Max.2295) CROSS REFERENCE
CONTITECH 873N
> AB 455 XL OE NUMBER
MAN 81.43601.0096; 81.43601.0098; 81.43601.0101;
81.43601.0127; 81.43601.0139
@242
r AT
@rssn !
\
| o
e a
| .
\J | L) @
|
22l CROSS REFERENCE
@290 (max.2300) ONTEH 08w
GOODYEAR 9067
OF NUMBER
RENAULT
~ ; ,,,,, =
| 2
-~ ] o
|
|

@270 (max. @280)




AB series
> AB 475

2222

> AB 515 S

2234
‘ ©2150,8
|

=

AB|515S

415

> AB 515

2234

> AB 523

2228
| ©2150.8

f

==t
=
e e
ivv\r\\

AB1523

320

213038

OE NUMBER
HIND
Y S B
| 2
e
\ o
‘ 3
|
183
255 (Max.2265)
OF NUMBER
RIS
T J ,,,,,,, B
\ o
S D C*QI
-~
J | L.) S
\ S
|
192
@285 (Max.2295) CROSS REFERENCE
CONTITECH
OE NUMBER
KAROSA
g B o
| g
-~ ~
| 5
\.4 ‘ /| ~
T
@192
@285 (max.2295)
OE NUMBER
RIS
R | _
7 W P
— - o
J 1 U
) o
2192
@265 (max.2275)
CROSS REFERENCE
CONTITECH

VIBRACOUSTIC

AB 515

1782 N1

5.001.021.414

1415N
V1E20A



NECTEC

> AB 523 L 0E NUMBER

Voo 3027 271

o W PN
P R
i o~
\.J \ L/ °
|
2192
@275 (max.@285)
CROSS REFERENCE
CONTITECH 1417 N
> AB 525 OF NUMBER
Voo 3027 271
208
‘ ?151,2
- [pp— | —_—
f =B F- N
@525 !
5 [ J, ,,,,, - o
‘ %5} ‘ §
1 wn
‘ ” ‘ L 2
i % ! NE CROSS REFERENCE
! 1 GOODYEAR 9004
S | 9250 | FIRESTONE 1RSP 345-290
\ = 2280 (max.9290) FIRESTONE ORDERNO W01 095 0381
PHOENIX 2620
21312 VIBRACOUSTIC V2620
OF NUMBER
VoW 70377 054
/e ] i ,,,,,,, PN
,,,,,, | 2
| - &
e
|
@197
2270 (max.9280) CROSS REFERENCE
GOODYEAR 9138
OF NUMBER
Voo 3027 271
@228
@151,

240

110

355

EEBEIY 2280 (max.2290)
' CROSS REFERENCE
@131,2 CONTITECH RZ 415-25



AB series
> AB 526

2234
©150,8

=
{ABS?@

ST

|_ 21308

365

> AB 526 L

2234

| ©2150,8
|

' S=====
[AB1526 L

385

| 21308

> AB 527

> AB 528

2228

107

230

T 2192
@260 (max.2270)

230

97

@265 (max.0275)

110

250

2197
@275 (max.285)

280

@280 (Max.@290)

OE NUMBER

IRIS 5.001.843.640
CROSS REFERENCE

CONTITECH 1924 N1
GOODYEAR 9113

PHOENIX 2F18

OE NUMBER

RENAULT V..

CROSS REFERENCE

CONTITECH 1234 N1

OE NUMBER

Voo 70 377 054
CROSS REFERENCE

CONTITECH 6611 N

OE NUMBER

Voo 3027 272
CROSS REFERENCE

GOODYEAR 9005
FIRESTONE 1R5P 410-290
FIRESTONE ORDERNO W01 095 0381
PHOENIX 2G20A

VIBRACOUSTIC V2G20A



NECTEC

> AB 528 4W
2228
@151,2
| ——
e E=ss
\
|
| =
\
|

21312

> AB 535

535

360

390

2
T o &
! \ L =
J ! N -
( @250
@280 (max.@290)
o SRR
|
- J[ 777777 v
Jd §
! wn
| il
|
@230
@300 (max.2310)
?ﬂ:’""":ff:,j::: ff PN
\
|
T e
\J |
| 3
|
@250
3355 (Max.2365)
\
|
Vi :
\
| 3
|

@355 (Max.2365)

OE NUMBER

Voo

CROSS REFERENCE
CONTITECH

OE NUMBER

IRIS

IVECO
MAGIRUS-DEUTZ
MAN

MERCEDES
RENAULT V.I.

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
BPW
DAF / VDL
MAN
NEOPLAN

SCHMITZ
SMB

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
BPW
DAF / VDL

3027 272

Rz 415-28

5.000.819.517

4763473

4456111

81.43601.0059; 81.43601.0060; 81.43601.0061;
81.43601.0075; 81.43601.0078; 81.43601.0081;
81.43601.0083; 81.43601.0090; 81.43601.0113;
81.43601.0115; 81.43601.0117

A 363328 00 01

5.000.819.517

715N

8015

1R1C 335-310
W01 095 0087
1F25
V1F25

02.200.24.60.0

0578361

81.43601.0018; 81.43601.0051

1001 10 200; 1001 12 251; AA 10-01-002;
AA 10-21-300

750209

268 0662 000

662 N

9007

1R1D 355-355
W01 095 0030
1E32
V1E32

02.200.24.20.0
0644 425

EVO (KASSBOHRER-SETRA) 4.731.013.000

GIGANT
IKARUS
MAN
MERCEDES
NEOPLAN

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

CF GOMMA

CF GOMMA CODE
VIBRACOUSTIC

196035

81.43601.0049; 81.43601.0052
A 382327 71 01
1021 00 300

762N

9010

1R2D 390-360
W01 095 0190
1F32

15C 360-30
92594
V1F32



AB series
> AB 545

@305

]

450

530

| 21980

6405

385

\
|
e "
i 3
|
|
@250
@355 (max.d365)
|
|
V- [ 0
i 5
\
|
@250
@355 (max.2365)
g SR
|
o :
J | -
i 0
|
@230
@310 (max.@320)
g ‘ ,,,,,,,, g
Usll s w nt
\ o
' 2
|
i
2212

@320 (Max.2330)

OE NUMBER
DAF / VDL
GIGANT
KEOGEL
MAN

SCHMITZ
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

CF GOMMA

CF GOMMA CODE
VIBRACOUSTIC

OE NUMBER
BPW
DAF VDL

638148
196043

81.43601.0056; 81.43601.0057; 81.43601.0058;
81.43601.0076; 81.43601.0079; 81.43601.0082;
81.43601.0084; 81.43601.0091; 81.43601.0114;
81.43601.0116

750 212

1134 446

727 N; 728N

8117

1R2D 460-360; 1R2D 470-360
W01 095 0131; W01 095 0419
1F32A

15C 360-34

92575

V1F32A

02.200.24.00.0
818225; 1818225

EVO (KASSOHRER-SETRA)4.731.032.000

FRUEHAUF
GIGANT
KOEGEL
NEOPLAN
SCHMITZ
SMB

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
DENNIS BUS
IVECO
SCANIA
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

OE NUMBER
IRIS

16 62 05; 19 60 36
4.731.032.000

100110 100; 1021 00 200
750 215

719N

8118

1R2D 530-360
W01 095 0192
1F328
V1F328B

656 292/8; 656 883/4; 656 883/7
6453741

434932

3116983

928N

8042

1R1K 380-320
W01 095 0228
2E23A
V2E23A



NECTEC

> AB 640 SL
2222
=S
( :1‘.%‘\
AB,640 SL
|
s
|
|
@1(;410[
> AB 640 L
@222
A

[AB1640L

440

@250
|
f SEESE
@8885
|
| S
|
-
o508
> AB 888
@250
asa
|
| g
|
|

|
fffffff N
- UIE
| ' h o
i | I
|
2212
@280 (max.2290)
TS
\
|
2 A S
J )
i ®
i
@230
@310 (max.@320)
e | = —
7 T -
|
| 2
Vo “
| 8
|
@225
@300 (max @310)
Y g W N g
\
| o
'_‘r 777777777777 N
v |
\ ©
|
@230
@300 (max.2310)

OE NUMBER

DENNIS BUS 656 298/2

OE NUMBER

DENNIS BUS 656 289/2

LAG.

PEGASD 794686; 795097
SCANIA 402315; 411623
CROSS REFERENCE

CONTITECH 897 N
GOODYEAR 8028

FIRESTONE 1R1K 440-320
FIRESTONE ORDERNO W01 095 0174
PHOENIX 2E23
VIBRACOUSTIC V2E23

OE NUMBER

IRIS 503.130.261
CROSS REFERENCE

CONTITECH 1416 N

PHOENIX TE25A

OE NUMBER

BUSSING 546905134; 831120144

EVO (KASSBOHRER-SETRA) 4.731.012.000; 4.731.031.000; 4.731.042.000;
4.771.427.000; 4.771.440.000

IRIS 5.001.829.866

IVECO 41822247

MAN 90.83112.0144
NEOPLAN 1001 12 250; 1001 00 1
VAN HOOL 624319-670; 624319-690
VoLvo 1137 888

CROSS REFERENCE

CONTITECH 661N

GOODYEAR 8018

FIRESTONE 1R1C 390-310
FIRESTONE ORDER NO W01 095 0021

PHOENIX 1E25

VIBRACOUSTIC V1E25(-2)



AB series

> AB 888 L

2250

=
i
o e
o

888L

> AB 889

470

> AB 890 SL

2252

e

890 SL

390

_ 21508

> AB 890

2252

=
——
e
e

890

465

©150,8

@310 (max.2320)

7 @ | L ,,,,,, N
|
,,,,,, §
\J | U =
|
@250
@330 (max.2340)
7oun W N
\ .
Unlin vl
‘ | 8
| |
‘ 240
@310 (max.2320)
g S R o
\
|
,,,,,, I 0
Ul | 3
| 0
i R
|
@225

OE NUMBER
IRIS

CROSS REFERENCE
CONTITECH
GOODYEAR

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

5.000.296.816

876 N
8314

81.43601.0163

1888 N

4843255; 4847671

18 323-25
96541

8139068; 500367194

15 323-34
92477



NECTEC

> AB 890 L

2252

/ T
m———r
e e
e
|

BQDL

515

_ 21508

> AB 891

175

365

@310 (max.2320)

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

41022620

15 323-36
203833

42532980

15 320-23
88806



NECTEC

ABK series



NECTEC

» ABK 314 S 0 01 previous number: ABK 314 S %EU%M
BOTTOM VIEW
?120.3
M16x1.5
[T9)
N
O
@240 (max.250)
ALU PISTON MAX TORQUE
M 16x1,5
» ABK 408 S D 04 previous number: ABK 408 S 7&%2%@?
TOP VIEW BOTTOM VIEW
e 3 M10x1
— M18x1.,5 M10x1
]
=i 3 MI18x1.5 CROSS REFERENCE
A T « - CONTITECH
J \ @ / \ MAX, TORQUE. /&
M 10x1
M 18x1,5
2157 M 10x1
@220 (max.2230) M 18x1,5
FITTING KIT 32
STEEL PISTON NFK 031
> ABK 408 S E 05 OE NUMBER
MERCEDES
TOP VIEW BOTTOM VIEW
M26x1,5
| 2
T N
| o
\ * CROSS REFERENCE
CONTITECH
2157 MAX. TORQUE /#
@220 (max.2230) M 10
M 26x1,5
STEEL PISTON M 36x2
> ABK 414 F 01 O g

265

107

2190
@250 (max.260)

TOP VIEW BOTTOM VIEW

M10x1

M18x1,5 MI10

M18x1,5

—
/ \ CROSS REFERENCE
CONTITECH
\J VIBRACOUSTIC

MAX. TORQUE /¥
M 10x1
M 18x1,5
M 10x1
STEEL PISTON M 18x1,5

1-52110223-0

-60Nm

AB67 328 0101

819 MB

-20Nm
-40Nm
-30Nm
-B60 Nm

AB67 328 00 01

819N PO1

-35Nm
-20Nm
-90Nm

6621 N P02
V1E18-8

-20Nm
-40Nm
- 30 Nm
- 60 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABK series
> ABK 414 S A 11 previous number: ABK 414 S | OENUVBER

MAZ

TOP VIEW BOTTOM VIEW

2x M10 2MI12
3
N
— O O
ol
3 %%
0202 ___ M 100 _| MAX, TORQUE. /&
2250 (mox.®260) M12x1,5 M 12x1,5 -20 Nm
230 M 10 -35Nm
STEEL PISTON M12 -60 Nm
» ABK 414 SL 0 22 previous number: ABK 414 SL | CCNUMBER
VW0 20535 876
BOTTOM VIEW
| @130.8 |
| o
! &
1 \ | &
Ny N
W w m CROSS REFERENGE
CONTITECH 6621 N PO
2204 GOODYEAR 9501; 9553; 9574
2250 (mox.2260) PHOENIX 1E18D-01

MAX. TORQUE
STEEL PISTON M10x15 -35Nm

» ABK 414 SL 0 23 previous number: ABK 414 SL A | CEMuER

VoIvo 20535 877
BOTTOM VIEW
?130.8
e o
| IS
N
’*‘F’ %
ol |
I CROSS REFERENCE
CONTITECH 6621 N P02
@204 GOODVEAR 9502; 9575
2250 (max.2260) PHOENIX 1E18D-02
MAX. TORQUE /%
STEEL PISTON M 10x1,5 -35Nm
> ABK 415 SA G 24 previous number: ABK 415 SA | QtNUVBER
RENAULT 5.010.294.385 B; 5.010.486.756
TOP VIEW BOTTOM VIEW
M12x1.25
Ty
~N
3 \
J 1 .
o CROSS REFERENCE
! CONTITECH 884 N P04
VIBRACOUSTIC V1F20 A1
@200
@260 (Max.@270) MAX, TORQUE.
M 16x1,5 -20Nm
STEEL PISTON M12x1,25 -30Nm
M 12¢1,25 - 40 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

» ABK 418 B 12 previous number: ABK 418 ELEZNU%

TOP VIEW BOTTOM VIEW

CROSS REFERENCE
VIBRACOUSTIC V1E26A-11
MAX, TORQUE /¥
M 12¢1,5 - 20 Nm
@310 (max.@320) M12 40 Nm
STEEL PISTON M12 -60Nm
> ABK 418 C 13 previous number: ABK 418 A | 0Cluiss
TOP VIEW BOTTOM VIEW
M10x1
M18x1,5 , 181 5
o
&
O
o
®
CROSS REFERENCE
| VIBRACOUSTIC V1E26A18
@225 J p
= MAX, TORGUE
310(max. @320 WAX TURUUE.
310(mox. 2320 M 1001 -20Nm
STEEL PISTON M18x1,5 - 40 Nm
M 18x1,5 -60Nm
» ABK 464 G 25 previous number: ABK 464 | 0LNUMBER
RENAULT 5.010.488.757
TOP VIEW BOTTOM VIEW
) M12x1.25
\\
CROSS REFERENCE
VIBRACOUSTIC V1E20
@200 MAX, TORQUE /¥
@270 (max. @280) M 16x1,5 ~90 Nm
M 12¢1,25 -30Nm
STEEL PISTON '
M 12¢1,25 - 40 Nm
> ABK 515 S N 01 previous number: ABK 515 § | CENVER
RIS 5.001.157.038
TOP VIEW BOTTOM VIEW WECO 504157038
M16x1,5
M22x1.5 ' M10x1,5
M18x1,5
LU —F
U | 2 / -\ CROSS REFERENCE
— \J CONTITECH 1782 N1 P02
2190 MAX. TORQUE. /¥
@285 (max.@295) ! M16x1,5 -20 Nm
M 22¢1,5 - 40 Nm
M 10¢1,5 -35Nm
STEEL PISTON M 18x1,5 -60 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABK series
» ABK 515 S N 04

107

\

./

2190
2285 (max.@295)

> ABK 523 N 02

&
\

230

107

@190
@260 (max.2270)

> ABK 523 N 04

o
j” Q
i N
o
— \ ) -
@190
@260 (max.2270)

> ABK 525 A 0 09

©150,8

250

110

Lo
2197
2270 (max.2280)

@ bolt/stud

previous number: ABK 515 S P1

TOP VIEW

M16x1,5
M22x1,5

BOTTOM VIEW

M10x1,5
M18x1,5

P

STEEL PISTON

previous number: ABK 523

TOP VIEW

M16x1,5
M22x1,5

BOTTOM VIEW

M10x1,5
M18x1,5

AN
N

STEEL PISTON

previous number: ABK 523 P1

TOP VIEW

M16x1,5
M22x1,5

BOTTOM VIEW

M10x1,5
M18x1,5
——F

AN
L/

STEEL PISTON

previous number: ABK 525 A

O hole/threaded hole

BOTTOM VIEW

@#==

STEEL PISTON

& air inlet

OE NUMBER
IRIS
RENAULT

CROSS REFERENCE
CONTITECH

MAX. TORQUE. /%
M 16x1,5
M 22x1,5
M 10x1,5
M 18x1,5

OE NUMBER
IRIS

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

MAX, TORQUE. /%
M 16x1,5
M 22¢1,5
M 10x1,5
M 18x1,5

FITTING KIT (h
NFK 031

OE NUMBER
RIS

CROSS REFERENCE
CONTITECH

MAX, TORQUE
M 16x1,5
M 22¢1,5
M 10¢1,5
M 18¢1,5

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

® combination stud

5.010.531.180
5.010.531.180

1782 N1 P01

-20Nm
-40Nm
-35Nm
-B60 Nm

5.006.172.377

1415 N P01
9562
TE23 A1

-20 Nm
- 40 Nm
-35Nm
- 60 Nm

5.006.172.527

1415 N P02

-20Nm
-40 Nm
-35Nm
- 60 Nm

70 377 052

6611 N PO1



NECTEC

» ABK 526 N 03 previous number: ABK 526

TOP VIEW BOTTOM VIEW

M16x1,5
M22x1,5
AB|526 M18x1,5
o
Q —
LU an
o~
@184 \/
@260 (max.2270)
STEEL PISTON
> ABK 530 0 40 previous number: ABK 530
2150.8 BOTTOM VIEW
530
o
J | U

| 8

|

I &,
@226 UJ

@310 (max.2320)
STEEL PISTON
» ABK 538 A F 01 previous number: ABK 538

TOP VIEW BOTTOM VIEW

PLASTIC PISTON

@345 (max.355)

» ABK 545 A F 01 previous number: ABK 545

TOP VIEW BOTTOM VIEW

175

[Sa%evavavavavaveve"evavavava%,

PLASTIC PISTON

332
@345 (max.2355)

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER
IRIS

CROSS REFERENCE
CONTITECH
PHOENIX

MAX, TORQUE &
M 16x1,5

M 22¢1,5

M 18x1,5

FITTING KIT (3 ®
NFK 031

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 10x1,5

OE NUMBER
FLOOR

CROSS REFERENCE
PHOENIX

MAX. TORQUE &
M 22x1,5
M 10

FITTING KIT (A
NFK 039

OE NUMBER
FLOOR

CROSS REFERENCE
PHOENIX

MAX. TORQUE /2
M 22x1,5
M 10

FITTING KIT (A
NFK 039

5.010.347.891

1924 N1 P05
2F18-1

-20 Nm
-40 Nm
-60 Nm

20 573 305

6610 N PO1

-35Nm

FL7502B

1E32F

-20 Nm
- 30 Nm

00861

1F 32 AF

-20 Nm
- 30 Nm

® combination stud



ABK series
> ABK 640 B A 01 OF NUMBER

IRIS 5.000.787.901; 5.010.019.248

TOP VIEW BOTTOM VIEW

M18x1,5
CROSS REFERENCE
CONTITECH 936 VB

MAX. TORQUE /¥

M10 -20 Nm

M 18x1,5 -40 Nm
STEEL PISTON M 18x1,5 -60 Nm

M10

255

101

@205
@320 (Max.2330)

» ABK 640 SL 0 02 previous number: ABK 640 SL

| 2164,0 | BOTTOM VIEW

e~ — M16x1.5

285

C
C
150

/s

T
2212
@280 (max.2290)

MAX, TORQUE /¥

MAX. TORQUE /%

ALU PISTON M 16x1,5 ~60Nm
> ABK 888 M 08 previous number: ABK 888 | JLNVBER
T 0501209 513
TOP VIEW BOTTOM VIEW
M10x1
M18x1,5 M10x]
T M18x1,5
1 —--\
J T 2 / CROSS REFERENCE
VIBRACOUSTI V1S
\-/ COUSTIC 5.5
@225 MAX.TORQUE %
M 10x1 -20 Nm
@300 (max.2310) MBS o
M 10x1 -30Nm
STEEL PISTON M18x1.5 -B0Nm
> ABK 888 L M 09 OE NUMBER
TS 30201085
RENAULT 5.000.640.399
TOP VIEW BOTTOM VIEW
A10x1
w18x1,5 M10x1,5
T/ MI8x1,5
| e /
? o~
| - CROSS REFERENCE
\ = K CONTITECH 876 VB
—

@265 M10x1 -20Nm

@330 (max.2340) M18x1,5 -40 Nm
M10x1 -30Nm

M18x1,5 - 60 Nm

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABK 890 L C 01 O NUVEER
IVECO 41297178

TOP VIEW BOTTOM VIEW

B 6x 215 2% M16x1,5
-
™ ‘ —
\ ©
@
» v
N
~N
CROSS REFERENCE
CF GOMMA 15323-36C
|| T CF GOMMA CODE 207313
: ‘ i MAX. TORQUE. &
‘%J M 16x1,5 - 60 Nm
@310 (max.@320) PLASTIC PISTON M14 ~B0Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

ABM series



NECTEC

> ABM 202 28 K 44

TOP VIEW BOTTOM VIEW

1 5/16-12 UNF
AIRIN

1/2-13 UNC
i

ABM, 202 28, z

el

160

79

‘
‘
!

Svi

2213 ]
@270 (max.2280)
t STEEL PISTON
13,5
> ABM 202 28 M 44
TOP VIEW BOTTOM VIEW
3/4-16 UNF

AR IN . 1/2"13 UNC
y|
o
| 3 y
| R
‘ T
@213 8j 10
@270 (max.2280) % éi
-nt STEEL PISTON
13,5
> ABM 204 28 L 46
TOP VIEW BOTTOM VIEW
2 1/2-13 UNC

1/4-18 NPTF
3/4-16 UNF-2A

®
i Nl

! .

- ]

i

210

72

I |

2242
@270 (max.2280)

1/2-13 UNC

PLASTIC PISTON

> ABM 206 28 B

@042 TOP VIEW

7

S====

1
[ABM| 206 28

M14x1,5

315

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER
KENWORTH

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO

MAX_ TORQUE /%
1-5/16"
112"

OE NUMBER
KENWORTH

CROSS REFERENCE
AUTOMANN
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

TRIANGLE

TRP

MAX_ TORQUE /%
34
112"

OE NUMBER
DAYTON
HENDRICKSON
KENWORTH
LOADGUARD
NAVISTAR
VoLvo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE

FIRESTONE ORDER NO

MAX. TORQUE &
g
34"
112
172

OE NUMBER
SCANIA

MAX. TORQUE 2
M 14x1,5

K-303-28

99-10P 576
1R11-221
1T15LA
W01 358 9675

- 30 Ib/fe
- 44 1b/fe

K-303-18

1 DK 20 G-9617
99-9P 860
M5 1A

W01 358 9617
1R11-219
AS-8860
AS96170

- 20 Ib/fe
- 44 1b/fe

352-9422

B 13032

K-303-6; K-303-14; K-303-15
5C 2050

554762C-1

85101148

99-12P 314
1R11-028
1715115
W01 358 9422

- 15 1b/fe
- 30 Ib/fe
- 30 Ib/fe
- 22 Ib/ft

-20 Nm

® combination stud



ABM series
> ABM 206 28 B 03 OF NUMBER

SCANIA

TOP VIEW BOTTOM VIEW

i Il
ﬁ’ﬁﬁ \ %”’Q M14x1,5
ABM, 206 28

wn
\ &
U .
o
¥
@200 CROSS REFERENCE
GOODYEAR
@270 (max.280)
MAX_TORQUE /¥
M 14x1,5
STEEL PISTON
> ABM 206 28 C OF NUMBER
SCANIA
TOP VIEW
@242
7:&-“ | & M16x1,5
@M‘ZOGZ&
|z
|
.M MAX, TORQUE
M 16x1,5
» ABM 206 28 C 03 DE MU
TOP VIEW BOTTOM VIEW
p’”ﬁﬁ i ﬁ”’( M16x1,5
ABM, 206 28,
2
| o~
U §
o CROSS REFERENCE
¥ CONTITECH
@200 GOODYEAR
PHOENIX
@270 (max.2280)
MAX. TORQUE. ¥
STEEL PISTON M16x1.5
> ABM 206 33 A 0E M

TOP VIEW

RAUFOSS A 8mm

& T —
e
[ABM 206 33

|
|
;

315

f
1 /
\ 7
f
t f

‘ 21460

|—-———

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud

1440307; 1440860

1R11-845

-20Nm

-20Nm

1726246

6711 N P02
1R11-841
1DF23B-5

-20Nm



NECTEC

> ABM 206 33 A 01

TOP VIEW

BOTTOM VIEW

RAUFOSS A 8mm

187

SHllEZ

@320 (max.2330)

80

STEEL PISTON

> ABM 208 33 A

2242 TOP VIEW
i
S RAUFOSS A 8mm
[ABM| 208 33
|
! ")
! [s2]
‘ <
?146,0

> ABM 208 33 A 02

TOP VIEW BOTTOM VIEW

2x D119

235

128

180

2247
@320 (max.330)

STEEL PISTON

> ABM 210 33 A

TOP VIEW

/ABM|210 33

510

©2146,0

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER

SCANIA 1386198

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

6703 N PO1
1R13-747
1DF23B-3

NFK 036

OE NUMBER
SCANIA

OE NUMBER

SCANIA 1386199

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

6704 N P01
1R13-744
1DF23C1

OE NUMBER
SCANIA

® combination stud



ABM series
> ABM 210 33 A 03 OF NUVBER

SCANIA 1386200

TOP VIEW BOTTOM VIEW

2% B11,9
b I
| | -
‘ &
U .
\% | éJ B CROSS REFERENCE
i CONTITECH §701 N P01
‘ GOODYEAR 1R13.745
@%7 PHOENIX 1 DF 23 D-1
320 (max.2330) EITTING KT (9'®
STEEL PISTON NFK 036
> ABM 212 25 A CE v
@208 TOP VIEW
| M16x1,5
5 A7 B0 M24x1,5
4 ! i D ‘
=== | .
@21225 *+* g
| . |
i &
| >~
| R\
k i MAY, TORQUE /&
N
= | M16x1,5 -20Nm
21308 ' BRE M 24x1,5 -40Nm
98
> ABM 212 25 A 05 CE g s
TOP VIEW BOTTOM VIEW
M16x1,5
= A7, 80 M24x1,5
|
g @S | M14
,,,,,, = |
\J | ° ‘ ©
. !
! CROSS REFERENCE
~ CONTITECH 6600 N P02
@168 B —‘
3240 (Max.2250) ! %?ﬁ MAX. TORQUE /%
o | M 16¢1,5 -20 Nm
"T | * STEEL PISTON M 24x1,5 -40Nm
f 50| M14 -80 Nm
98
> ABM 212 25 E OE NUVBER
VOLVO
208 TOP VIEW
rﬁﬂ | I

[ABM)212 25

21308 '
M16x15 -20Nm

345

MAX. TORQUE. ¥

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 212 25 E 08

TOP VIEW BOTTOM VIEW
| #
]
>8

250

104

|
2197
2240 (max.2250)

STEEL PISTON

> ABM 212 25 H

previous number: ABM 214 25 H

TOP VIEW

2208

VOSS 232
ﬁ/ |1

% M22x1,5

232

@]21225

65
130
2130.8

» ABM 212 25 H 34 previous number: ABM 214 25 H 34

345

TOP VIEW BOTTOM VIEW

VOSS 232

l
: < ?
‘
!

M22x1,5
@32 @5
‘ &
| o %
9, S Q
o
2168
@240 (max. P§250) 45
130
STEEL PISTON
> ABM 212 26 E
TOP VIEW

[ABM|212 26

2130.8

345

@ bolt/stud O hole/threaded hole

& air inlet

OE NUMBER

Voo 70313718; 20573 109

CROSS REFERENCE
CONTITECH 6600 N PO
MAX. TORQUE /%

M 16x1,5 -20Nm

OE NUMBER
MERCEDES

OE NUMBER
MERCEDES

CROSS REFERENCE

CONTITECH 6127 N P40

OE NUMBER
VoLvo

MAX. TORQUE &

M 16x1,5 -20 Nm

® combination stud

A'960 320 03 21



ABM series
> ABM 212 26 E 08 OF NUMBER

VW0
TOP VIEW BOTTOM VIEW
&) | 5
TR
/ABM|212 26
| v
©
] N
! 3
| = CROSS REFERENCE
— CONTITECH
L) PHOENIX
@197 VIBRACOUSTIC
@250 (Max.2260
( ) MAX, TORQUE /%
STEEL PISTON M16x1,5

> ABM 212 26 F OE NUMBER

Voo

@208 TOP VIEW

§ j;ﬂ j 5 - M16x1,5
@121225
|
i
|

21308 7 MAX. TORQUE ﬁ

M16x1,5

345

> ABM 212 26 F 09 OF NUMBER

VOLvo

TOP VIEW BOTTOM VIEW

El

E4

@197 CROSS REFERENCE
@250 (Max.2260) CONTITECH
MAX, TORQUE &
M 16x1,5

STEEL PISTON

> ABM 214 25 A O NUMEER

@208 TOP VIEW oo
5 ERUMRSITE
@ B
- B
|3 |
‘ 8"
! NF T MAX. TORQUE. /¥
~ |

M 16x1,5
, BREA M 24x1,5

| 21308 9

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud

20573 108

6604 N P01
1DF17-1
V1DF16 E1

-20 Nm

-20 Nm

70321 690; 70 376 811

6604 N P03

-20 Nm

-20Nm
-40Nm



NECTEC

> ABM 214 25 A 01

TOP VIEW
: g0 S
P
|
I o~
| 3 T+ g
! o |
N SN ¥
g ~
| | 28
@168 0(%1
@240 (Max.2250) ~ |
b1 1sel
98
> ABM 214 25 B
2208 TOP VIEW
I
ﬁm 1 2% @10

M16x1,5
I M24x1,5
[ABM|214 25 :

390
150

135,5
, 161

21308

> ABM 214 25 B 08

M TOP VIEW

@m} ux?

M16x1,5 M10
M24x1.5
| g '
J | Us g 3
- .
2168 81
@240 (max.2250) 135,5
161
> ABM 214 25 H
@208 TOP VIEW
VOSS 232
@'@/1 :
% M22x1,5
| 232
[ABM| 214 25
|
\ 8
|
! 65
130
okos

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

M1

STEEL PISTON

BOTTOM VIEW

4

M14

STEEL PISTON

D14

& air inlet

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /%
M 16x1,5

M 24x1,5

M14

OFE NUMBER
Voo

MAX. TORQUE &
M 16x1,5

M 24x1,5

M 10

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5

M 24x1,5

M10

M14

OE NUMBER
MERCEDES

1076 418; 20 374 511; 20 456 156; 20 531 987,
70321 695; 20 582 214

6607 N PO1
1R10-707
1T15UR-6.0
W01 M58 8473
1DF17 A1

V1 DF 16 C-1

-20Nm
-40Nm
-80Nm

-20Nm
-40Nm
-35Nm

21224 750; 22 056 630

4571 N P02

-20Nm
-40Nm
-35Nm
-80Nm

® combination stud



ABM series
> ABM 214 25 H 34

TOP VIEW BOTTOM VIEW
VOSS 232
i
g
o
O
‘ o~
J | U3
AA
@168 5
@240 (max. @250) 130

STEEL PISTON

> ABM 214 28 A

2208

TOP VIEW

[ABM|214 28

395

22 |

21308

|
: |
|

M16x1,5

> ABM 214 28 A 01

TOP VIEW BOTTOM VIEW

|
TR
, M1é

=

2192

257

Q
137

@270 (max.2280)

STEEL PISTON

> ABM 214 28 A 03

TOP VIEW BOTTOM VIEW
i Ll
<t
ABM, 214 28
§ ) M16
I
<
T ~
\J | \_/ 8 O
D193
2270 (max.2280)

STEEL PISTON

® bolt/stud O hole/threaded hole & air inlet

OE NUMBER
MERCEDES

OE NUMBER
DAF/VDL

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5
M10

OE NUMBER
DAF/ VDL

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX, TORQUE /¥
M 16x1,5

M 10

M 16

FITTING KIT (P
NFK 016

OE NUMBER
DAF/ VDL

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX, TORQUE /¥
M 16x1,5

M 10

M 16

FITTING KIT (3
NFK 016

® combination stud

AS60 320 62 57

513983

887 M
1R11-796
1T15INR-3
W01 M58 0780
V1 DF 18-3 NP

-20Nm
-35Nm

392022

887 MK1
1R10-798
17T15LNR-3
W01 M58 8683
V1 DF18-2

-20Nm
-35Nm
-90Nm

1141525; 41141525; 41154761; 1154761

887 N P04
1R11-797
1T15LNR-3
W01 M58 5785
V1DF18-3

-20 Nm
- 35 Nm
-90 Nm



NECTEC

> ABM 214 28 A 04

TOP VIEW BOTTOM VIEW
L0
| =+
3 MI0 M1é

225

9, ! s
il
|
T
2192
@270 (max.2280)

122

[

|
S |
N I

|

M16x1,5 76 | 58

STEEL PISTON

> ABM 214 28 A 05

TOP VIEW

BOTTOM VIEW

A
Jd L

@1‘70 M16x1,5

257

133

3 |
|
|

@270 (max.2280)

STEEL PISTON

> ABM 214 28 C

2208

TOP VIEW

/ABM|214 28

395

"2 |

| 21308

> ABM 214 28 C 03

[
=2
ABM, 214 28 g

TOP VIEW BOTTOM VIEW

M16

242

C
C
130

2192

@270 (max.2280)

STEEL PISTON

@ bolt/stud O hole/threaded hole

& air inlet

OE NUMBER
DAF/ VDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE /%
M 16x1,5

M10

M 16

FITTING KIT
NFK 016

OE NUMBER
DAF / VDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO

MAX, TORQUE &
M 16x1,5

M 10

M 16

FITTING KIT (A
NFK 016

OE NUMBER
DAF/ VDL

MAX. TORQUE /%
M 22¢1,5
M10

OE NUMBER
DAF / VDL

CROSS REFERENCE
CONTITECH

MAX. TORQUE &
M 22x1,5

M10

M 16

1240503; 1697685

887 MK2
1T15LNR-3
W01 D08 8686

-20Nm
-35Nm
-90Nm

1266382; 1697682

887 MK3
1T15INR-3
W01 Ma8 8682

-20 Nm
- 35 Nm
-90 Nm

-20Nm
-35Nm

1153935

887 N P03

-20Nm
-35Nm
-90 Nm

® combination stud



ABM series

> ABM 214 28 D OE NUMBER
DAF/ VDL
2208 TOP VIEW
0

21428

395

MAX. TORQUE /%
J M 22x1,5 -20 Nm

@130,8 M10 -35Nm

» ABM 214 28 D 01 previous number: ABM 214 28 D 07 | (e

DAF/VDL 1784428
e
N

TOP VIEW BOTTOM VIEW

‘ 7 M6
~ Ty
VA A
\ ‘ 5 .
ﬁ CROSS REFERENCE
pt CONTITECH 887 N P06
@270 (max. @280} MAX_TORQUE /%
M 22x1.5 ~20Nm
M10 ~35Nm
STEEL PISTON M 16 -90Nm
> ABM 214 28 D 06 OE NUMBER
DAF / VDL 1794425
TOP VIEW BOTTOM VIEW
LN
2 TR
ABM|214 28] M16
| —
«Q
| : i
\J \ W )
ﬁ CROSS REFERENCE
1 CONTITECH 887 N P09
@189
MAX. TORQUE /¥
2270 (max.2280) M 22x1,5 -20 Nm
M10 -35Nm
STEEL PISTON M 16 -90Nm
> ABM 216 25 A CEEESD
2208 TOP VIEW
— M16x1,5
% 5 A7 B M24x1,5
a1 |
SR |
I I o~
21625 ,+, g
| o |
i <
| a "
‘ |
| MAX, TORQUE /¥
! SIS M 16x15 -20Nm
| 21308 I 50 M 24x1,5 - 40 Nm
9

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 216 25 A 02

TOP VIEW
S o 80 M16x1,5
| % M24x1,5
4 !
i
| i 2
N | Q
| @ ‘
(I |
‘ L/ 2
~
i
@168 QT |
@240 (Max.2250) f LSO.
> ABM 216 25 B
@208
TOP VIEW
ﬁm M
7 2x @10
=== M16x1,5 M10

M24x1,5

[ABM|216 25

2229

Q
[ve)

|
I
|

470

81
135,5
161
21308
> ABM 216 25 B 08
TOP VIEW
o]
1 _p? 2x @10
e
‘ el Q
IIE .
\J | |~
! 81
o 135,5
D168 1
@240 (max.2250)

> ABM 216 25 G

2208

.

[ABM|216 25

TOP VIEW

470

;
=
—

|_@1308

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

M14

STEEL PISTON

BOTTOM VIEW

M14

- P

STEEL PISTON

214

previous number: ABM 266 25 G

& air inlet

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5

M 24x1,5

M14

FITTING KIT
NFK 023

OE NUMBER
Voo

MAX_ TORQUE /%
M 16x1,5

M 24x1,5

M10

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX, TORQUE /%
M 16x1,5

M 24x1,5

M 10

M14

OE NUMBER
SCANIA

MAX. TORQUE /%
M 16x1,5

1076 416; 3 171 693; 20 374 510
20 456 152; 20 531 985; 20 582 215

6608 N PO1
1R10-704
1T150R-9

W01 M58 8474
1DF17B-1

V1 DF16D-1

-20Nm
-40Nm
-80Nm

-20Nm
-40Nm
-35Nm

21224743; 22 058 741

4570 N P02

-20 Nm
- 40 Nm
-35Nm
-80 Nm

-20 Nm

® combination stud



ABM series
» ABM 216 25 G 20 previous number: ABM 266 25 G 20 gw

ANIA
i TOP VIEW BOTTOM VIEW
S
| M16
‘ &
i )
| wn
‘ X
. i \J CROSS REFERENCE
iy FIRESTONE 1715 UR-9
o 30 FIRESTONE ORDER NO W01 M58 8653
MAX TORQUE &
2180 M 16x1,5 -20Nm
@240 (max.2250) STEEL PISTON M 16 -90 Nm

» ABM 216 25 G 21 previous number: ABM 266 25 G 21 | (EueR

SCANIA 1434930
" TOP VIEW BOTTOM VIEW
|
g
| @16 M16
Q
! [sp]
wn
®
u -~ CROSS REFERENCE
FIRESTONE 1T15 UR-9
30 [ FIRESTONE ORDERNO W01 M58 8653
| MAX. TORQUE &
0175 M 16x1,5 ~20Nm
@240 (Max.2250) PLASTIC PISTON M16 ~B0Nm
> ABM 216 28 B OF NUMEER
DAF/ VDL 1276845
@208
TOP VIEW
i
5
3x M10
ABM'216 28
\ 3
| <
| CROSS REFERENCE
! CONTITECH 889 M
! GOODYEAR 1R11-842
= MAX, TORQUE /%
) — M 16x1,5 -20Nm
| 21308 M10 -35Nm
> ABM 216 28 B 02 QENUMBER
DAF / VDL 1279141; 1698434
TOP VIEW BOTTOM VIEW
CROSS REFERENCE
CONTITECH 889 M K2
M16 GOODYEAR 1R11-843
FIRESTONE 1T51R-5
FIRESTONE ORDERNO W01 M58 8679
MAX. TORQUE /2
M 16x1,5 -20Nm
| M10 -35Nm
@190 M16 -90Nm
270 (max.2280) 5 FITTING KIT ('®
30 NFK 016
75

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud




NECTEC

> ABM 218 29 A 0 g
TOP VIEW
@242 M16x1,5
| 4780 M24x1,5
S
0 |
7 [ —— | o
E—— - S
21529 i S
\ 3 ‘
~
B\
! 1 MAX. TORQUE /&
T i M 16x1,5
LM |50 M 24¢1,5
98
> ABM 218 29 A 03 0E s
, TOP VIEW BOTTOM VIEW
M16x1,5
47 _80 :
E M24x1.5 CROSS REFERENCE
| CONTITECH
| ‘ M14 GOODYEAR
‘ FIRESTONE
! Q FIRESTONE ORDER NO
2 - q PHOENIX
‘ 3 ‘ Q
\ o | VIBRACOUSTIC
! o
~ ‘ ok MAX_ TORQUE /%
g ~ M 16x1,5
i ﬂ-— M 24x1,5
P M 14
@197 }»% \
@280 (max.@290) EJO* STEEL PISTON o
98
> ABM 218 29 A 06 0E Mg
TOP VIEW BOTTOM VIEW
> ERCRS
|
(@ } @R M14
i
! | o
‘ § 7L § CROSS REFERENCE
| o ‘ CONTITECH
| il '
i MAX. TORQUE /2
wg ~ M 16x1,5
.. M 24x1,5
@197 ? M14
\
2280 (max.2290) T% i FITTING KIT (3
| STEEL PISTON
|50 | NFK 023
98
> ABM 218 29 B OE NUMBER
VOLVO
TOP VIEW
2x 210
M16x1.5
M24x1,5
3
.
MAX. TORQUE 2
81 M 16¢15
135,5 M 24x1,5
161 M 10

@ bolt/stud

O hole/threaded hole

& air inlet

-20Nm
- 40 Nm

20 582 209

6606 N PO1
1R11-848
1T15LNR-3
W01 M58 8477
1DF20 E-1
V1DF20 A1

-20Nm
-40Nm
-80Nm

20582 212

6606 N P02

-20 Nm
-40 Nm
-80Nm

-20 Nm
-40 Nm
-35Nm

® combination stud



ABM series

> ABM 218 29 B 07

240

C
120

2197
@280 (max.2290)

> ABM 220 29 A

2242

~
o

| 21308

> ABM 220 29 A

?%‘\

107

322

\
164

g

2197
2280 (max.2290)

> ABM 220 29 B

2242

.

[ABM|220 29

425

21308

M16x1,5
M24x1,5

150

TOP VIEW

04

M16x1,5
M24x1,5

(@}
v}

@229

@ bolt/stud

81
135,5
161
TOP VIEW
47 80 M16x1,5
M24x1,5
|
- &
| Q
|
B
| 39
7]
e
98
TOP VIEW
M16x1,5
47 80 M24x1,5
|
=+ S
|
~
e
[T
(RE
9
TOP VIEW
2x @10
M10

2229

O hole/threaded hole

& air inlet

BOTTOM VIEW
M14
@14
1. 30

STEEL PISTON

BOTTOM VIEW

M14

STEEL PISTON

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX_ TORQUE /%
M 16x1,5

M 24x1,5

M10

M14

OE NUMBER
Voo

MAX. TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /2
M 16x1,5

M 24x1,5

M14

OE NUMBER
Voo

MAX. TORQUE /%
M 16x1,5

M 24x1,5

M10

® combination stud

21224 747; 22 058 739

4562 N P03

-20Nm
-40Nm
-35Nm
-80Nm

-20Nm
-40Nm

3171 692; 20 427 800; 20 427 803; 20 456 150;
20 531 984; 20 582 206

6605 N P01
1R11-805
1T15LNR-6.0
W01 M58 8472
1DF20D-1

V1 DF20B-1

-20 Nm
-40 Nm
-80Nm

-20Nm
-40Nm
-35Nm



NECTEC

> ABM 220 29 B 11

ABM! 220 29

320

164

@197

@280 (Max.2290)

> ABM 221 31 P

2256

-
1/2-13 UNC
&

4

N
[

22131

375

ABM' 221 31

96

300

2248

@305 (max. @315)

> ABM 221 31 R

2256

o

[ABM]221 31

375

TOP VIEW

M16x1,5
M24x1,5

2229

o
[ve}

TOP VIEW

{

o~
N

3 ta

R —

TOP VIEW

TOP VIEW

2x M10x1,25

@ bolt/stud

BOTTOM VIEW
M14
214
1.3

STEEL PISTON

BOTTOM VIEW

O hole/threaded hole

PLASTIC PISTON

& air inlet

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX. TORQUE 2
M 16x1,5

M 24x1,5

M 10

M 14

OE NUMBER
IVECO
NEWAY

MAX_ TORQUE &
M 14x1,5

OE NUMBER
IVECO
NEWAY

CROSS REFERENCE
FIRESTONE

21224 745; 22 058 737

4560 N P02

-20Nm
- 40 Nm
-35Nm
-80Nm

-20Nm

500379055
M0557048

M5 M-4

FIRESTONE ORDERNO W01 Ma8 8373

MAX, TORQUE &

M 14x1,5
M12

OE NUMBER
RENAULT
VoLvo

MAX. TORQUE &

M 16x1,5
M 10x1,25

-20 Nm
- 60 Nm

-20 Nm
-30Nm

® combination stud



ABM series

> ABM 221 31 R 43 0 NUMBER
RENAULT 5.010.600.570; 5.010.305.438; 7.421.978.506
VoLvo 20 758 818; 21 978510
m TOP VIEW BOTTOM VIEW

K ' 4x M12x1,25

CROSS REFERENCE
CONTITECH 4154 N P06
PHOENIX 1D23F1

e

2240

MAX. TORQUE /¥

@200 M 16x1 ,5 -20 Nm
@305 (max. @315) M 10x1,25 - 30 Nm
M 12x1,25 -60 Nm
PLASTIC PISTON
> ABM 221 31 R 45 0F NUMEER
RENAULT 5.010.239.252; 5.010.488.071
i TOP VIEW BOTTOM VIEW
FETEE, K 2 M10x1 25 4x M12x1,25
\ o CROSS REFERENCE
i 3 CONTITECH 4154 N P05
! FIRESTONE 1115 M-3
5 FIRESTONE ORDER NO W01 358 8172; WO M58 8172
j & PHOENIX 1DK23F 1
| VIBRACOUSTIC VDK 231
IJJ \ IJJ MAX. TORQUE. %
2240 M 16x1,5 -20 Nm
@305 (max. @315) M10x1,25 - 30 Nm
M 12x1,25 -60 Nm
STEEL PISTON
> ABM 222 32 A OE NUMBER
FRUEHAUF
HENDRICKSON
@256 TOP VIEW NEWAY
il ROR
‘ ‘ SMB
% 12615 WEWELER
‘ M20x1,5 Y
[ABM|222 32 MI2
| ;
o N
| g S CROSS REFERENCE
| CONTITECH 4156 N P05
_ MAX TORQUE
2 M12x15 -20Nm
M 20x1,5 -40Nm
: M12 -40Nm
i M12 -60 Nm
> ABM 222 32 A 01 OE NUMBER
FRUEHAUF UJB 0207-001
HENDRICKSON HA100001
ROR 21215761
TOP VIEW BOTTOM VIEW SVB 8 007
2@ i ﬂK WEWELER US 35864
M12x1 5 CROSS REFERENCE
Mookl 2 ) CONTITECH 4156 N P15; 4156 N P06
} ' 12 GOODYEAR 1R12-716
FIRESTONE T15M-6
: o FIRESTONE ORDERNO W01 358 9361
@ N
N
Q MAX, TORQUE /¥
M12x1,5 -20Nm
3 M 20x1,5 -40Nm
M12 -40Nm
M12 -20Nm
FITTING KIT (9 ®
@315 (mox.2323) PLASTIC PISTON e

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 222 32 A 02

N
T

370

. o2
@315 (max.325)

M12x1,5
M20x1,5

> ABM 222 32 A 06

370

@315 (max.2325)

M12x1,5
M20x1,5

> ABM 222 32 A 11

'ABM 222 32

N

142

370

T
‘ 2260 ‘
@315 (max.2325)

> ABM 222 32

1
[ABM|222 32

430

M12x1,5
M20x1,5

1/4-18 NPT
3/4-16 UNF

@ bolt/stud

TOP VIEW

2229

TOP VIEW

TOP VIEW

TOP VIEW

1/2-13 UNC

2229

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
FRUEHAUF
SVB

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 12x1,5

M 20x1,5

M12

M12

FITTING KIT (hm
NFK 027

OE NUMBER
FRUEHAUF
ROR

SMB

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 12¢1,5

M 20x1,5

M12

M12

FITTING KIT (h
NFK 003

OE NUMBER
FRUEHAUF
ROR

SMB

CROSS REFERENCE
FIRESTONE
FIRESTONE ORDER NO

MAX, TORQUE /%
M 12¢1,5

M 20x1,5

M12

M 12

OE NUMBER
GRANNING
HENDRICKSON
NEWAY

ROR
WEWELER

MAX. TORQUE /%
14
34"
12

4156 N P07
1R12-719
1DK23K-28
V1 DK23K-28

-20Nm
-40Nm
-40Nm
-B60 Nm

M001472; UJB 0207-001
21216135
M001472; UJB 0207

4156 N P09
1R12-706
1DK 23 K-54
V1 DK 23 K-54

-20 Nm
- 40 Nm
- 40 Nm
-90 Nm

1M5MB-7.5
W01 M58 9089

-20 Nm
- 40 Nm
- 40 Nm
- 60 Nm

- 15 1b/fe
- 30 Ib/ft
- 30 Ib/ft

® combination stud



ABM series

> ABM 222 32 B 08

A

ABM! 222 32

146

370

@315 (max.2325)

> ABM 222 32 C

2256

22232

430

TOP VIEW

1/4-18 NPT 17213 UNC

3/4-16 UNF

2229

TOP VIEW

M22x1,5

> ABM 222 32 C 10

AL
e

350

145

@315 (max.@325)

> ABM 222 32 D

D256

430

1/2-13 UNC

@ bolt/stud

TOP VIEW

TOP VIEW

1/2-13 UNC

1/4-18 NPT
3/4-16 UNF

2229

O hole/threaded hole

BOTTOM VIEW

4x 1/2-13 UNC

PLASTIC PISTON

BOTTOM VIEW

2X M16x1,5

STEEL PISTON

& air inlet

OE NUMBER
HENDRICKSON
NEWAY

ROR
WEWELER

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
114
34
12
12

OE NUMBER
BERTOJA
CARDI

MAX. TORQUE /%
M 22x1,5
M 10x1,25

OE NUMBER
BERTOJA
CARDI
Z0RZl

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /%
M 22¢1,5
M 10x1,25
M 16x1,5

OFE NUMBER
HENDRICKSON

MAX. TORQUE &
114"
4
112"

® combination stud

B 2066
905 570 27; 905 570 33
21208939

US 09361F; US 97306

4159 N P14
1R12-092

1715 M-6

W01 358 9082

1 DK 23 K-9082
V1 DK 23 K-9082

-15 Ib/ft
- 30 I/t
- 30 I/t
-15 Ib/ft

-20Nm
-30Nm

45402004
58051400
1006550

17323-33
96873

-20 Nm
- 30 Nm
-70 Nm

- 15 1b/fe
- 30 b/fe
- 30 b/fe



NECTEC

> ABM 222 32 D 11

A

ABM, 222 32

142

370

T
\ @260 \
@315 (Max.2325)

TOP VIEW

1/2-13 UNC

1/4-18 NPT
3/4-16 UNF

2229

> ABM 223 28 A 07

~N
S
|
fg
«Q
‘ °
o~
~N
225
@270 (max.2280)

> ABM 224 28 B

@230

#

—

224 28

355

W

f
‘ ?147,0
————————————

TOP VIEW

M16x1

> ABM 224 28 B 06

i
ﬁh ﬂ“ﬂ

255

@220
@270 (max.2280)

@ bolt/stud

TOP VIEW

M14x1,5

O hole/threaded hole

BOTTOM VIEW

1/2-13 UNC

PLASTIC PISTON

BOTTOM VIEW

M14

@

STEEL PISTON

BOTTOM VIEW

2x 11,9

/o

STEEL PISTON

90

& air inlet

OE NUMBER
HENDRICKSON

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX, TORQUE &
114"
4
112"
112"

OE NUMBER
Voo

CROSS REFFERENCE

CONTITECH

MAX. TORQUE &
M 16x1,5

M 24x1,5

M 14

OE NUMBER
SCANIA

MAX. TORQUE &
M 14x1,5

OE NUMBER
SCANIA

CROSS REFERENCE
GOODYEAR
PHOENIX

MAX. TORQUE &
M 14x1,5

FTTING KIT (b
NFK 036

HA 100016

4156 NP10
1R12-461

- 15 b/fe
- 30 b/fe
- 30 b/fe
- 44 1b/fe

20 583 420; 20 737 947;
21961 458;

6614 N P01

-20Nm
-40Nm
-B60 Nm

-20 Nm

488263; 1440303; 1475106; 1521114

1R11-833
1DF20C1

-20 Nm

® combination stud



ABM series

> ABM 224 28 C CE
TOP VIEW
@230
f# M16x1,5
=

[ABM|224 28
wn
4

[
| —

@147,0 MAX. TORQUE 2
= M 16x1,5 -20 Nm
> ABM 224 28 C 06 OF NUMBER
SCANIA 1726239
TOP VIEW BOTTOM VIEW

! : M16x1,5
| 2x B11,9
ABM1224 28 T

wn
&
1 o
J ‘ o~ o
| =
! CROSS REFERENCE
GOODYEAR 1R11-837
2220 PHOENIX 1DF20C-2
@270 (Max.2280)
MAX, TORQUE &
STEEL PISTON M16x1.5 -20 Nm
> ABM 225 27 D OE NUVEER
SCANIA
@230
gm ‘ TOP VIEW
ABM|225 27
| 3
i [3p]
MAX, TORQUE /¥
M 16x1,5 -20 Nm
M 10 - 35 Nm
» ABM 225 27 D 05 OF NUMBER
SCANIA 1314903; 1402423; 1865759
TOP VIEW BOTTOM VIEW
| L
PLD TR
2XM12
CROSS REFERENCE
S CONTITECH 6705 N P01
© GOODYEAR 1R11-826
O O FIRESTONE 1T15LP-3
- FIRESTONE ORDERNO W01 M58 6251
= PHOENIX 1DK 18 A1
MAX. TORQUE &
105 M 16x1,5 -20 Nm
M10 -35Nm
2260 (max.0270) PLASTIC PISTON M12 30 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 225 27 E O NUVEER

SCANIA

2230 TOP VIEW

= M14x1,5 MI12
M20 "
ABM 1225 27
| 9
M [sp)
MAX. TORQUE 2
== M 14x1,5 - 20 Nm
M12 M 12 - 40 Nm
» ABM 225 27 E 15 OE NUVBER
SCANIA 463101
TOP VIEW BOTTOM VIEW
g! i
‘ ‘ |
! e
2x M12 M12
o CROSS REFERENCE
N GOODYEAR 1R11-827
N FIRESTONE 1715 IN-3
<: FIRESTONE ORDERNO W01 M58 7332
MAX. TORQUE &
M 14x1,5 -20Nm
@260 (max.@270) s M 20 ~50Nm
M 12 - 40 Nm
M 12 -60 Nm
PLASTIC PISTON
> ABM 226 28 B O NUMBER
SCANIA

2250 TOP VIEW
%ﬂﬁj | #
% MId 5

22628

MAX. TORQUE &

M 14x1,5 -20 Nm
> ABM 226 28 B 01 OE NUMBER
SCANIA 492680; 1440305
TOP VIEW BOTTOM VIEW
ﬁ‘ | E&?
M14x1,5
I
i N
\ CROSS REFERENCE
J | L 3 GOODYEAR 1R11-830
| - PHOENIX 1DF20A-2
T VIBRACOUSTIC V1DF20C-2
i e MAX. TORQUE 2
| M 14x1,5 -20 Nm
@205 FITTING KIT (h®
2270 (max.2280) STEEL PISTON NFK 036

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 226 28 B 02

TOP VIEW

J
ﬁh \ M14x1,5

290

2184
@270 (max.2280)

> ABM 226 28 B 03

TOP VIEW

|
§ ‘ Q M14x1,5
ABM 226 28

\
J | U
il

@270 (max.2280)

290

160

> ABM 226 28 B 04

E}; L j-[i
ABM‘ZZGZ& M14x1,5

290

| G
-
160

@205
@270 (max.280)

> ABM 226 28 C

2230 TOP VIEW

01 &
% M16x1,5

22628

430

@ bolt/stud O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
SCANIA

CROSS REFERENCE
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 14x1,5

FITTING KIT
NFK 036

OE NUMBER
SCANIA

CROSS REFERENCE
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 14x1,5

FITTING KIT (w0
NFK 036

OE NUMBER
SCANIA

CROSS REFERENCE
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE &
M 14x1,5

FITTING KIT (A
NFK 036

OE NUMBER
SCANIA

MAX. TORQUE &
M 16x1,5

® combination stud

470922; 1440304

1R11-829
1DF20 A1
V1 DF20C-1

-20Nm

1434506

1R11-832
1DF20 A4
V1DF20C-4

-20Nm

492678; 1440306

1R11-831
1DF20A-3
V1DF20C-3

-20 Nm

-20Nm



NECTEC

> ABM 226 28 C 01 OE NUMBER

SCANIA 1726241
. ‘ A TOP VIEW BOTTOM VIEW
M16x1,5
o
o~
M ~N
J U
i )
Il CROSS REFERENCE
e CONTITECH 6710 N P04
! = GOODYEAR 1R11-840
PHOENIX 1DF20 A
@205
@270 (max.2280) MAX. TORQUE /¥
STEEL PISTON M16¢1,5 ~20 Nm

> ABM 226 28 C 02 OE NUMBER

SCANIA 1726240
?ﬁh ] iﬁ? TOP VIEW BOTTOM VIEW
. M16x1,5
o
o~
| ~N
| g
\ ‘ /| =
li CROSS REFERENCE
I CONTITECH 6710 N P03
I = @119 GOODYEAR 1R11-834
PHOENIX 1DF20 A5
@184
@270 (max.2280) MAX. TORQUE /&
M 16x1.5 -20 Nm

STEEL PISTON

> ABM 226 28 C 03 OF NUVBER

SCANIA 1726243
TOP VIEW BOTTOM VIEW
{ M16x1,5
ABM 226 28
o
| &
U \ L 3
al ‘ -
3; CROSS REFERENCE
! GOODYEAR 1R11-838
@205
@270 (max.2280) MAX, TORQUE /%
STEEL PISTON M 16¢1.5 20 Nm

> ABM 226 28 C 04 OF NUVBER

SCANIA 1726242
TOP VIEW BOTTOM VIEW
i : i
; ABM‘ZZGZB : M]éx] 5
o
\ &
J /] Us
i 3 CROSS REFERENCE
= GOODYEAR 1R11-839
@205 MAX. TORQUE &
@270 (max.2280) STEEL PISTON M 16x1,5 -20Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 227 28 A OF NUMBER

@230 DAFADL
TOP VIEW
|
22728
|
! (@}
| 2
2 MAX. TORQUE /%
M12 M 16x1,5
‘ M10
M12

> ABM 227 28 A 21 OE NUMBER

DAFNDL
il

ABM! 227 28

TOP VIEW BOTTOM VIEW

| 3xM10
i “
‘ P
J L _ CROSS REFERENCE
| x o CONTITECH
~N
- o VIBRACOUSTIC

i M16x1,5 MAX, TORQUE /%
2241 M 16x1,5

M10
285 (mox.#275) PLASTIC PISTON M12

» ABM 227 28 B OE NUMBER

D550 DAFAVDL
I TOP VIEW
22728
!
! o
| 2
i . MAX, TORQUE /&
M12 76 M 22x1,5
M10

] 134
E M12

> ABM 227 28 B 21 OF NUVBER

DAFVDL
TOP VIEW BOTTOM VIEW
A
| 0
| (5]
\ L x CROSS REFERENCE
‘ CONTITECH
| MAX. TORQUE 2
M 22¢1,5
241 )
2 M 10
@265 (Mmox.2275) M2
PLASTIC PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud

-20Nm
-35Nm
- 60 Nm

1448543; 1698436

792 N P01
V1DK20C-8

-20 Nm
-35Nm
- 60 Nm

-20 Nm
- 35 Nm
- 60 Nm

1793526

792 N P02

-20Nm
-35Nm
- 60 Nm



NECTEC

> ABM 227 28 H OE NUMBER

IVECO

2230
TOP VIEW

450

MAX_TORQUE &

M 14x1,5 -20 Nm
M 10 - 35 Nm
M 12 -60 Nm
OF NUMBER
IVECO 99458555
i TOP VIEW BOTTOM VIEW
|
N
1/2"-13 UNC
% CROSS REFERENGE
) FIRESTONE 1T15 AAG
FIRESTONE ORDERNO W01 M58 7313
MAX_ TORQUE /%
M 14x1,5 -20Nm
@265 (Max.2275) M10 <35 Nm
PLASTIC PISTON 12" - 60 Nm
> ABM 227 28 L OF NUVEER
FRUEHAUF
@230 NEWAY
TOP VIEW SAMRO
MI12x1,5
M20x1,5
MAX, TORQUE /%
M 12¢1,5 - 20 Nm
M 20x1,5 - 40 Nm
M12 - 40 Nm

» ABM 227 28 L 31 previous number: ABM 227 28 A 31 | (e

FRUEHAUF M078580
NEWAY 905 572 33
TOP VIEW BOTTOM VIEW SAVRO 12501569
M12x1,5
M20x1,5 CROSS REFERENCE
GOODYEAR 1R11-773
3 FIRESTONE 1T15 MPW-7
3 FIRESTONE ORDERNO W01 M58 6317
PHOENIX 1DK20C-2
VIBRACOUSTIC V1DK20C-2
MAX. TORQUE &
M 12415 -20Nm
M 20x1,5 -40Nm
@265 (max.2275) M12 -40 Nm
PLASTIC PISTON M 12 -60 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 228 32 A 01

s

TOP VIEW

ABM 228 32
wn
o™
i [3p]
R
g
m 1/2-13 UNC
@270 1/4-18 NPTF
3/4-16 UNF-2A
@310 (max.2320)

> ABM 228 32 A 11

TOP VIEW
E—
[Ye}
o~
@
1/2-13 UNC
@270 1/4-18 NPTF
@310 (max.@320) 3/4-16 UNF-2A

> ABM 228 32 A 21

TOP VIEW
@% 1 wmw\
‘ 157,5
\

ABM'228 32
wn
&
1/2-13 UNC
2267 1/4-18 NPTF
@310 (max.2320) 3/4-16 UNF-2A
> ABM 234 28 A
©222 TOP VIEW

45

s
===
o
[ABM 234 28

—F
f
/
i
/

7

@130,0

385

I
;
f
+
T
:

@ bolt/stud O hole/threaded hole

BOTTOM VIEW

1/2-13 UNC

—

STEEL PISTON

BOTTOM VIEW

1/2-13 UNC

PLASTIC PISTON

BOTTOM VIEW

1/2-13 UNC

ALU PISTON

® air inlet

OE NUMBER
FREIGHTLINER

MAX. TORQUE /%
114"
34
112"
112"

OE NUMBER
FREIGHTLINER

LOADGUARD

Voo

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR
VIBRACOUSTIC

MAX, TORQUE /%
114"
34
112"
112"

OE NUMBER
FREIGHTLINER

LOADGUARD
Voo

CROSS REFFERENCE
AUTOMANN
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

TRIANGLE

TRP

MAX. TORQUE. ¥
14"

4

102"

102"

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX. TORQUE &
M 16x1,5

® combination stud

- 15 1b/fe
- 30 Ib/fe
- 30 Ib/fe
- 37 b/fe

16-15595-000, 16-14004-000, 16-13840-000,
16-16773-000, 16-14004-001, 16-13810-002
16-14377-000, A16-13668-002, 16-19468-000
16-19467-000, 16-13810-001, 16-15595-001
16-15595-002, 16-16825-000

SC 2750

85101151

9105-16 A 999
15 ZR-6

W01 358 9780
1R12-303

V1 DK 23 K-3780

- 15 Ib/fe
- 30 Ib/fe
- 30 Ib/fe
- 15 Ib/fe

16-15595-000, 16-14004-000, 16-13840-000
16-16773-000, A16-14004-000, 681-320-0017
16-13810-000, 16-19465-000, 16-19466-000
16-14004-001

SC 2750

85101151

1DF 23-9781
9105-16 A 382
1715 7R-6

W01 358 9781
1R12-603
AS-8382
AS9780A

- 15 b/t
- 30 Ib/fe

- 30 Ib/fe
- 30 Ib/fe

42558765

1718 270-23
207172

-20Nm



NECTEC

> ABM 234 28 A 01

4

ABM 234 28

|
\_ | @,

110

234

@190
@270 (max.2280)

TOP VIEW

> ABM 234 28 A 11

4

ABM 234 28

122

234

@194
@270 (max.2280)

> ABM 234 28 B

2222
45

e e
1

[ABM'234 28

385

(
i j

§
@ "I
o
o HHHHH

TOP VIEW

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

TOP VIEW

> ABM 234 28 B 01

N

ABM 234 28

|
\_ | w,

110

234

2190
@270 (max.2280)

TOP VIEW

@ bolt/stud

O hole/threaded hole

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER

IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE /%
M 16x1,5
M14

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX_ TORQUE /%
M 16x1,5
M14

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /%
M 16x1,5

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE /%
M 16x1,5
M14

41270462

175 270-23
206686
1T15LNR-4.5
W01 M58 8663

-20Nm
-80Nm

41270462

175 270-23
206686
1T15INR-4.5
W01 M58 8558

-20Nm
-70Nm

42559766

1715 270-23
207173

-20 Nm

41270463

1715 270-23
206687
1T15LNR-4.5
W01 M58 8662

-20 Nm
-80Nm

® combination stud



ABM series

> ABM 234 28 B 11

N
N
N
\
y

Q==

o

N\
FE

e

S

NN
>
=

THEE

1452

122

234

@270 (max.2280)

> ABM 234 28 C

2222

[ABM, 234 28
|
I

385

| 21300

TOP VIEW

BOTTOM VIEW

TOP VIEW

> ABM 234 28 C 01

110

234

@190
@270 (max.2280)

TOP VIEW

> ABM 234 28 C 11

C e

122

234

2194

@270 (max.2280)

@ bolt/stud

TOP VIEW

O hole/threaded hole

PLASTIC PISTON

BOTTOM VIEW

)
Y.

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

M14

® combination stud

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX, TORQUE /%
M 16x1,5
M14

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /%
M 16x1,5

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE /%
M 16x1,5
M14

OE NUMBER
IVECD

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO

MAX, TORQUE &
M 16x1,5
M 14

41270463

1715 270-23
206687
1T15LNR-4.5
W01 Ma8 8557

-20 Nm
-70 Nm

42559767

1715 270-23
207170

-20 Nm

41270465

175 270-23
206684
1T15LNR-4.5
W01 M58 8661

-20Nm
-80Nm

41270465

118 270-23
206684
1T15INR-4.5
W01 M58 8556

-20Nm
-70 Nm



NECTEC

2194
@270 (max.2280)

> ABM 236 28 A

@222
45

—— T -

23628

435

[ ——
=
=
| —

| 21300

> ABM 234 28 D OE NUVEER
%) IVECO 42559768
TOP VIEW
@23423
\ S CROSS REFERENCE
! CF GOMMA 175 270-23
} CF GOMMA CODE 207171
MAX, TORQUE /¥
M 16x1,5 -20 Nm
\ @130,0
> ABM 234 28 D 01 OE NUVBER
- IVECO 41270466

TOP VIEW BOTTOM VIEW

3 / \ CROSS REFERENCE
| N CF GOMMA 178 270-23
‘ o CF GOMMA CODE 206685
U ‘ Uks LN M4 FIRESTONE 1T15LNR-4.5
i FIRESTONE ORDERNO W01 M58 8660
MAX_ TORQUE /%
M 16x1,5 -20Nm
@190 STEEL PISTON W1 50Nm
@270 (max.2280)
> ABM 234 28 D 11 OF NUVEER
IVECO 41270466
TOP VIEW BOTTOM VIEW
> CROSS REFERENCE
& CF GOMMA 175 270-23
N CF GOMMA CODE 206685
W b FIRESTONE 1T15LNR-4.5
FIRESTONE ORDERNO W01 M58 8555

MAX. TORQUE /%

M16x1,5 -20 Nm
PLASTIC PISTON M14 -70Nm

OE NUMBER

IVECO

TOP VIEW

MAX. TORQUE /%
M 16x1,5 -20 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 236 28 A 15

O )

300

Ei
= r{ 5
!

2190
@270 (max.2280)

> ABM 236 28 B

2222

B

~3
§

===

23628

435

Wj B

21300

> ABM 236 28 B 15

’ N

ABM 236 28

300

C
160

1 H@;

2190
@270 (max.2280)

> ABM 237 27 F

D242

[ABM|237 27

@ bolt/stud

M16x1,5
M24x1,5

O hole/threaded hole

TOP VIEW

TOP VIEW

TOP VIEW

TOP VIEW

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

M14

® combination stud

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /¥
M 16x1,5
M14

OE NUMBER
IVECO

MAX, TORQUE
M 16x1,5

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /¥
M 16x1,5
M14

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5
M 24x1,5

41289377

1715 270-26
207530

-20Nm
-80Nm

-20 Nm

41299379

1715 270-26
207529

-20Nm
- 80 Nm

5.001.855.856

4315 N P03
V1DK18-1NP

-20Nm
- 40 Nm



NECTEC

» ABM 237 27 F 09 OE NUVBER
RENAULT 5.001.855.856; 5.010.294.309; 5.010.600.578;
ey TOP VIEW BOTTOM VIEW 7.421.978,500; 7.422.190.563
1 LL? VOO 20757 541; 22 025 613
M16x1,5
‘ meas M16x1,5
o~
i =
| CROSS REFERENCE
‘ o CONTITECH 4315 N PO
| b PHOENIX 10K 19-1
U ‘ 9 VIBRACOUSTIC V1 DK19-1
| MAX, TORQUE &
= M 16x1,5 -20 Nm
M 24¢1,5 ~40 Nm
@187 STEEL PISTON M 16x1.5 ~70Nm
@265 (max.2275)
> ABM 239 29 A 0E NUMEER
SCHMITZ
WEWELER
TOP VIEW
M12x1,5
M22x1,5 2X M8
2
CROSS REFERENCE
GOODYEAR 1R12-840
MAX_ TORQUE /%
M12x1,5 -20 Nm
M22x1,5 -40 Nm
M8 ~20 Nm
> ABM 239 29 A 22 OF NUMBER
SCHMITZ 016512
m TOP VIEW BOTTOM VIEW WEWELER US 06318F; US 86318F
@ |
j_‘
| M12x1,5
M22x1,5 2% M8 MI2
| CROSS REFERENCE
‘ 8 o FIRESTONE 1T15 MPW-9
Nl N FIRESTONE ORDERNO W01 M58 6318
GOODYEAR 1R12-837
‘ ‘ PHOENIX 1DK 231
s
i MAX, TORQUE /%
Bl M12¢1,5 -20 Nm
S M 22x1,5 - 40 Nm
- @205 | M8 - 20 Nm
2280 (max.2290) PLASTIC PISTON M12 60 Nm
> ABM 242 32 A OE NUMBER
FRUEHAUF
SMB
256 TOP VIEW
——— M12x1,5
Zmz M20x1.5 e CROSS REFERENCE
! CONTITECH 4159 N POS
\ FIRESTONE M5 MG
‘ - BN FIRESTONE ORDERNO W01 M58 0736
! S 8 GOODYEAR 1R12-761
i PHOENIX 1DK 21 B-5 NP
‘ VIBRACOUSTIC V1DK21B5
MAX. TORQUE &
M 12x1,5 ~20Nm
M 20x1,5 ~40Nm
M 12 ~40Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 242 32 A 03

400

XX
X3

CRRRXAXK

X

188

R

>
KR

@315 (max.2325)

TOP VIEW

M12x1,5
M20x1,5

2229

> ABM 242 32 A 04

,
T ==
I
ABM! 242 32

@315 (max.2325)

TOP VIEW

M12x1,5
M20x1,5

> ABM 242 32 A 05

i
QE g } L
|
'ABM, 242 32

400

193

|
‘ @260 ‘
@315 (max.@325)

TOP VIEW

> ABM 242 32 A 07

|
1 ==
o
o
<
o
&
v ; B
@258
@315 (Max.2325)
@ bolt/stud

M12x1,5
M20x1,5 .
12
o~
N
N
Q
TOP VIEW
M12x1,5
M20x1,5
M12
o~
N
N
Q

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

® air inlet

OE NUMBER
FRUEHAUF
SVB

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /%
M 12x1,5
M 20x1,5

OE NUMBER
FRUEHAUF
VIBERTI

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX, TORQUE /%
M 12¢1,5

M 20x1,5

M12

M12

FITTING KIT (A
NFK 002

OE NUMBER
CARDI
FRUEHAUF
SAMRO
SMB

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 12¢1,5

M 20x1,5

M12

M12

OE NUMBER
FRUEHAUF

SAMRO

SMB

CROSS REFERENCE
CONTITECH

CF GOMMA

CF GOMMA CODE
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 1215

M 20x1,5

M 12

M 12

FITTING KIT (m
NFK 027

® combination stud

UJA 0894-001
UJB 0894-001

4159 N P14
1715 M-9

W01 M58 7548
1DK21B-4
V1DK21B-4

-20Nm
-40Nm
-40Nm
-20Nm

M001782; UJB 0203-001
128140017

4159 N P07
1R12-702
V1DK21B-9

-20 Nm
- 40 Nm
- 40 Nm
- 60 Nm

58051210
M001774; UJB 0358-001
H2500324
UJB 0358

4159 N P09
M5 M-8

W01 M58 9131
1R12-721
1DK23 1-9131
V1DK23 -9131

-20 Nm
- 40 Nm
- 40 Nm
- 60 Nm

H2500425

4159 N P03

17 323-40
97306

115 M-8

W01 M58 7548
1R12-701
1DK23 L-27
V1 DK 23 1-40

-20 Nm
-40 Nm
-40 Nm
- 60 Nm



NECTEC

> ABM 242 32 C O
@256 TOP VIEW OMAR
m Z0RZI
I 1 |
; === M22K1 5 M10x1,25

24232

515

MAX. TORQUE /%

M 22x1,5 ~20Nm
M 10x1,25 ~30Nm
M12 ~60 Nm
> ABM 242 32 C 07 OENUVEER
VIBERTI 128147109
208 1008559
TOP VIEW BOTTOM VIEW
= g
o
g
CROSS REFERENCE
PHOENIX 1D23E2
o CF GOMMA 17 323-40
= CFGOMMACODE 93536
i ‘ TN MAX. TORQUE.
‘ \ ‘ M 22x1,5 ~20Nm
| @258 | M 10¢1,25 -30Nm
@315 (max.325) STEEL PISTON M 12 - 60 Nm
» ABM 242 32 C 09 e
CARDI 58050900
OMAR 11808
L TOP VIEW BOTTOM VIEW 2081 100655
[ 2AMIEXTS| - nnes REFERENCE
CF GOMMA 17323-40
CFGOMMACODE 98871
FIRESTONE 1715 M9
FIRESTONE ORDERNO W01 M58 6289
GOODYEAR 1R12-703
PHOENIX 1D23E3
VIBRACOUSTIC V1D23E3
MAX. TORQUE /%
M 22x1,5 ~20Nm
M 10x1,25 ~30Nm
@315 (max.0325) STEEL PISTON M 16x1,5 ~70Nm
> ABM 256 31 C OF NUMBER
SCANIA
VIEW
oot TOP VIE
7-&*7 ,f 3 M16x1,5
25531
| o
wn ),
I <
‘ [sp)
‘ 2XD11.9
| 21460 X TORQLE.
— M 16x1,5 -20Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 256

31C 35

TOP VIEW

M16x1,5

o

e

[s2)
N
3
@222
@300 (max.310)
> ABM 258 29 A
TOP VIEW
@230
M16x1,5
A7 80 M24§1,5
S
| M ‘
7 = i 2
—— - - N
ABMI 258 29 i S
\ - ‘
i 3
‘ ~
| | J$L
\
‘#T%
| 21308 * ng*
> ABM 258 29 A 38
TOP VIEW
M16x1,5
3 47, =80 M24c1.5
|
T
| o~
| 2 - S
A \
d 5% L |
i _ ~
; ; /®\
@197 o 1
@280 (max.2290) ‘fT |
Y
98
> ABM 260 29 A
@230 TOP VIEW
M16x1.,5
5 47, .80 M24§1,5

t
[ABM 260 29

380

—
[
T T

| 21308

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

216

® combination stud

OE NUMBER
SCANIA

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

MAX, TORQUE &
M 16x1,5

OE NUMBER
RENAULT

MAX, TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX, TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
Voo

MAX. TORQUE &
M 16x1,5
M 24x1,5

1726247

6712 N P02
1R12-814
1DF23 A3

-20Nm

-20 Nm
-40 Nm

21978 492; 20 908 153;
7.421.978.432;7.420.808.153

6632 N P01
1R11-859

-20 Nm
-40 Nm

-20 Nm
- 40 Nm



NECTEC

@ bolt/stud

O hole/threaded hole &

air inlet

> ABM 260 29 A 40 OE NUMBER
VWO 20 909 152; 21 977 974
, TOP VIEW BOTTOM VIEW
% N M16x1,5
= 47 .80 M24x1,5
(9 } @16
i
| | &
‘ S -+ S
\.J \ b & ‘ CROSS REFERENCE
AD - CONTITECH 6631 N P01
: = GOODYEAR 1R11-858
4 Triis
17 e &
~ | X1, - m
@280 (Max.29290) REEN STEEL PISTON M 24x1 5 ~40Nm
98
> ABM 262 29 A CE NGRS
2230 TOP VIEW
' 7 80 M16x1,5
~ I M24x1,5
S
L[
[ = |
. &
25229 ﬂ» g
| o |
‘ <
| ~
| B
===5 Nk%i MAX, TORQUE &
== N | M 16x1,5 -20 Nm
3130.8 } L;sg, M 24x1,5 -40Nm
> ABM 262 29 A 42 QENUVBER
VW0 20 909 150; 21 977 973
' TOP VIEW BOTTOM VIEW
~N
F ‘ S M16x1,5
El A7 80 M24x1,5
ﬁg 1 % @16
‘
\
‘ g ! S
‘ © ‘
! - ‘ CROSS REFERENCE
\J | L/ = - CONTITECH 6630 N PO1
! = GOODYEAR 1R11-857
| { J$L
Q NT% | MAX, TORQUE /&
= i M 16x1,5 -20 Nm
@197 Fse STEEL PISTON oD i
@280 (max.2250) 98
> ABM 262 29 C CE ML
TOP VIEW
230
1
; M16x1,5 M10
% M24x1'5
26229
| ]
‘ Q 8
‘ <
\ ‘ﬁ MAX. TORQUE ¥
MAX, TORQUE
= M 16x1,5 -20 Nm
v' 1 /’ M 24)(1,5 -40 Nm
| 21308 M10 -35Nm

® combination stud



ABM series

> ABM 262 29 C 42 OE NUMBER
Vowo 21321515
ﬁ | M TOP VIEW BOTTOM VIEW
Il
[ €
M16x1,5 M10
ﬂ \ M24x1'5 216
| 9
T @
! o
Ul ;
! J g S CROSS REFERENCE
! - CONTITECH 6630 N P02
GOODYEAR 1R11-851; 1R11-903
g MAX. TORQUE /&
3197 M 16x1,5 -20 Nm
@280 (Max.@290) M 24x1,5 -40Nm
max. _
STEEL PISTON m10 35 m
> ABM 264 33 D 40 OE NUMBER
HENDRICSON € 20010
BRAKE & WHEEL M3542
TOP VIEW BOTTOM VIEW RIDEWELL 1003589270C
Voo 85101147
WATSON & CHAUN ~ AS-0084
1/4-18 NPTF
3/4-16 UNF-2A 4% 1/2-13 UNC CROSS REFERENCE
2x 3/8-16 UNC AUTOMANN 1 DK 231-9270
< [ CONTITECH 910-13.55 433
& FIRESTONE 1T15 VP-4
FIRESTONE ORDERNO W01 358 9270
3 GOODYEAR 1R13-119
~ TRIANGLE £5-8433
TRP £592700
MAX. TORQUE
@320 (max.2330) 14’ - 15 1b/fe
34" - 30 Ib/ft
38" - 25 b/t
12 -30 b/t
STEEL PISTON
> ABM 268 32 D OE NUMBER.
HENDRICKSON
0256 TOP VIEW
l
)
E==s M12x1,5
@2&8 32 M22x1,5 -
12
o o~
3
MAX, TORQUE /%
M 12x1,5 -20 Nm
M 22x1,5 - 40 Nm
| M 12 - 40 Nm
> ABM 268 32 D 15 OE NUVBER
HENDRICKSON HA 100053
‘ TOP VIEW BOTTOM VIEW
| i
i Ak
! M12x1,5
M22x1,5
MI12
N 3
[se}
\J L./ o CROSS REFERENCE
| 2 N FIRESTONE 1715 M-6
| 8 FIRESTONE ORDERNO W01 M58 6288
| MAX. TORQUE /%
@200 M 12¢1,5 -20 Nm
M 22x1,5 - 40 Nm
@310 (m0x4®320) M12 - 40 Nm
M 12 - 40 Nm

PLASTIC PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 270 30 G

@252

M/Mlz

TOP VIEW

21

45

AE!

13.5

> ABM 270 30 G 44

@290 (max. @300)

> ABM 270 32 G

2252

| —M12
OﬂL@f/
O,

455

om

149

I

2240 *

@310 (max. @320)

@ bolt/stud

TOP VIEW

BOTTOM VIEW

45

B

L
40

STEEL PISTON

TOP VIEW

21

45

=

L
)

> ABM 270 32 G 46

TOP VIEW

BOTTOM VIEW

21

45
B

/ hE

STEEL PISTON

13.5

O hole/threaded hole

& air inlet

OE NUMBER
HENDRICKSON

MAX_ TORQUE /%

M 16x1,5 -20Nm

M 12 -60 Nm
OF NUMBER

HENDRICKSON HS 508439
CROSS REFERENCE

VIBRACOUSTIC V1D 236-4
MAX. TORQUE &

M 16x1,5 -20Nm

M 12 -60 Nm

OF NUMBER

HENDRICKSON

MAX, TORQUE /%

M 16x1,5 -20 Nm

M 12 - 60 Nm

OF NUMBER

HENDRICKSON HS 508440
CROSS REFERENCE

VIBRACOUSTIC V1D236-5
MAX. TORQUE &

M 16x1,5 -20Nm

M 12 -70 Nm

® combination stud



ABM series
> ABM 272 32 E 30

TOP VIEW BOTTOM VIEW

1/2-13 UNC
1/4-18 NPT

[*e)
o~

1/2-13 UNC

! 2
i ™
788 36
§ 157.5
[ 152
21 %
@254 v
@305 (max.2315) gT A ﬁ ﬂ@ = PLASTIC PISTON
> ABM 273 28 C
TOP VIEW
2230
M16x1,5

JNET—
@inazs
\
|

325

o185

> ABM 273 28 C 10

TOP VIEW BOTTOM VIEW

| M16x1,5
\ X D11,9
:

wn
[Ts)
| I3
J | 2
i 8
™%
2184
@270 (max.280)

STEEL PISTON

> ABM 274 28 C

2230 TOP VIEW

M16x1,5

ABM|274 28

335

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud

OE NUMBER

DAF/ VDL
HENDRICKSON
WATSON & CHALIN

CROSS REFERENCE
AUTOMANN
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

TRIANGLE

TRP

MAX_ TORQUE &
114"
112"

OE NUMBER
SCANIA

MAX. TORQUE %
M 16x1,5

OE NUMBER
SCANIA

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

MAX. TORQUE 2
M 16x1,5

OE NUMBER
SCANIA

MAX, TORQUE &
M 16x1,5

1403 451
57122-1, 67122-2
AS-0127-G, AS-0141

1 DK 23 M-9373
910-18.5P 519
1715 MT8

W01 358 9373
1R12-403
AS-8519
AS93730

-15 Ib/ft
- 30 Ib/f

-20Nm

1726239; 1726257; 2024284; 2024283;
2024285; 2024289

6716 N P02
1R11-896
1DF20C-4

-20Nm

-20 Nm



NECTEC

> ABM 274 28 C 07 OF NUMBER

SCANIA

TOP VIEW BOTTOM VIEW

|
\ M16x1,5
; i 2K B11,9

&
@200 CROSS REFERENCE
@270 (max.2280) GOODYEAR
MAX_TORQUE /%
M 16x1,5
STEEL PISTON
> ABM 276 28 C OE NUVBER
SCANIA
@230 TOP VIEW
is i
= M16x1,5
: :
27628
|
| 2
\
|
MAX_ TORQUE /%
M16x1,5
>) ABM 276 28 C 08 OE NUMBER
SCANIA
TOP VIEW BOTTOM VIEW
?’“ﬁj ; Eﬂ_g M16x1,5
ABM, 276 28
! o
| &
U | U 3
\ CROSS REFERENCE
CONTITECH
GOODYEAR
@185 PHOENIX
2270 (max.2280) N — &g
STEEL PISTON M 16x1,5
> ABM 276 28 C 11 0 g

jﬁjj | jﬁ TOP VIEW BOTTOM VIEW
AEIM‘27628

| S
i N
| ©
W | /| ©
] CROSS REFERENCE
CONTITECH
i 8 GOODYEAR
= PHOENIX
o184

MAX. TORQUE &
@270 (max.2280) M 16x1,5
STEEL PISTON

2024284

1R11-879

-20Nm

-20Nm

2024287; 2024288; 2024291

6715 N P02
1R11-869
1DF20A-10

-20 Nm

2024287; 2024290

6714 N P02
1R11-867
1DF20 A9

-20Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 278 29 B

0242 TOP VIEW
2x 310
M16x1,5
[ABM| 278 29 M24x1,5
|
\ & 2
| I
\
| 81
135,5
161
‘ @130,8
> ABM 278 29 B 09
TOP VIEW
Juif I m
1 2% @10
M1éx1,5 MI10
i M24x1.5
| &
i 2 §
-/ ‘ 3 B ‘ S
| L |
&
2197 81
@280 (max.2290) ]‘2?5
> ABM 286 28 A
@222
A TOP VIEW
? =]
[ABM| 286 28

420

[ ——
=
1T

| 21300

> ABM 286 28 A 17

ABM 286 28

285

W

2195
@270 (max.2280)

@ bolt/stud

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

M14
D14

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
Voo

MAX. TORQUE /%
M 16x1,5

M 24x1,5

M 10

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5

M 24x1,5

M 10

M14

OE NUMBER
IVECO

MAX. TORQUE &

M 16x1,5

OE NUMBER
IVECO

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX. TORQUE 2

M 16x1,5
M 14

® combination stud

-20Nm
-40Nm
-35Nm

22 058 738

4561 N P02

-20Nm
-40Nm
-35Nm
-80Nm

- 20 Nm

41297180

1715 270-25
207162

-20 Nm
-70 Nm



NECTEC

> ABM 286 28 B

2222

45

i

[ =

286 28

420

ABM 286 28,

285

W

2195

@270 (ma.

X.2280)

> ABM 289 29 F

2252

TOP VIEW

TOP VIEW

PLASTIC

TOP VIEW

M22x1,5

> ABM 289 29 F 22

1,

o

@205
@280 (max.2290)

K

400

TOP VIEW

@ bolt/stud

BOTTOM VIEW

PISTON

BOTTOM VIEW

"

PLASTIC PISTON

O hole/threaded hole

& air inlet

OE NUMBER

IVECO

MAX. TORQUE /%

M 16x1,5 -20 Nm

OF NUMBER

IVECO 41297179
CROSS REFERENCE

CF GOMMA 175 270-25
CF GOMMA CODE 207163
MAX, TORQUE /%

M 16x1,5 -20 Nm

M 14 -70Nm

OF NUMBER

WEWELER

MAX_TORQUE %

M 22x1,5 -20Nm

M 12 - 40 Nm

M 12 -60 Nm

OF NUMBER

WEWELER US 04300F
CROSS REFERENCE

FIRESTONE 1715 MPW-10

FIRESTONE ORDER NO W01 968 8178

MAX. TORQUE &

M22x1,5 -20 Nm
M12 -40 Nm
M12 - 60 Nm

® combination stud



ABM series
> ABM 292 27 C 48

: m | TOP VIEW BOTTOM VIEW
;“# =1 g

2x M16x1,5

370

185

@265 (max. @275)

STEEL PISTON

> ABM 294 25 H

2208

g@/ V0SS 232 TOP VIEW
| i

E===

[ABM|294 25

445

©2130,8
> ABM 294 25 H 35

VOSS 232 TOP VIEW BOTTOM VIEW

—x

T o
! Q
‘ N
| o
2
\J : \J
Ao
D168 45
@240 (max. @250) 130

STEEL PISTON

> ABM 296 27 C 48

?ﬂw <t g TOP VIEW BOTTOM VIEW

2X M16x1,5

@265 (max. @275)

STEEL PISTON

® bolt/stud O hole/threaded hole & air inlet

OE NUMBER
Z0RZI
CARDI
BARTOLETTI

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX. TORQUE /¥
M 22¢1,5

M 10x1,25

M 16

OE NUMBER
MERCEDES

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

OE NUMBER
ACERBI-VIBERTI
BERTOJA
ROLFO

Z0RZI

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /¥
M 22¢1,5
M 10x1,25

® combination stud

1006549
58050600
91619012

17280-30
93774

-20Nm
- 30 Nm
- 60 Nm

A'960 320 12 57

6121 N P44

431810
45402006
112063
1006555

17280-40
96692

-20Nm
- 30 Nm



NECTEC

> ABM 298 27 K OE NUVEER

MERCEDES

2208

V0SS 232 TOP VIEW
g

=

©f

M22x1,5

@29&27 M32x2
:
\
| %)
\ 3
|
|
\ 1 MAX, TORQUE &
M 32x2 - B0 Nm
21308
> ABM 298 27 K 36 OE NUMBER
MERCEDES A 960 320 06 57; A 960 320 7157
VOSS 232

TOP VIEW BOTTOM VIEW

A’ 9

M22x1,5
M32x2

M16x1,5

CROSS REFERENCE
CONTITECH 6123 N P40

400

e th

3
MAX, TORQUE /%
‘ M 32:2 -60Nm
S M 16x1,5 - 70 Nm

@265 (max. @275)

STEEL PISTON

> ABM 2125 27 A OE NUMBER

HINO
TOP VIEW
2218
i 3/8-19 BSPT
; J M20x1,5 M12x1,25
——+—+
[ABM| 2125 27
o
I el
‘ N
MAX, TORQUE /%
21200 3/8 BSPT -20 Nm
M 20x1,5 - 40 Nm
M 12x1,25 - 40 Nm

> ABM 2125 27 A 01 OE NUMEER

HINO

TOP VIEW BOTTOM VIEW

715
! | AL 3/8-19 BSPT
T M20x1,5 | ) M1251r25 &

190

65

2229

i
@225 U MAX. TORQUE /&

3/8 BSPT -20 Nm

@265 (mox. @275) M20X1,5 - 40 Nm
2x M12x1,25 M 12x1,25 -40 Nm

M 12x1,25 -40 Nm

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 2125 27 A 02 OE NUMBER

HINO

TOP VIEW BOTTOM VIEW

(@ﬁ 1 % 3/8-19 BSPT 2x M12x1,25
. _

190

65

2225

MAX, TORQUE /¥

@265 (max. @275) 3/8 BSPT -20Nm
M 20x1,5 - 40 Nm
M 12x1,25 - 40 Nm
M 12x1,25 - 40 Nm

STEEL PISTON

> ABM 2125 27 B OE NUMBER

HINO
TOP VIEW
2218
: f m 3/8-19 BSPT M12x1,25
% M20x1,5 "
212527
o
| v
\ A |
)
| <l‘r
MAX. TORQUE /¥
2120,0 3/8 BSPT -20Nm
M 20x1,5 - 40 Nm
M 12x1,25 - 40 Nm

> ABM 2125 27 B 03 OF NUMBER

HIND
TOP VIEW BOTTOM VIEW
! | ;
[ 3/8-19 BSPT 2x M12x1,25
A20X1.5 M12x1,25 X MLt

190

.

I

I
| "
| ~O
|
T

=
45

2225
@265 (max. @275) MAX. TORQUE ég
3/8 BSPT -20Nm
M 20x1,5 -40 Nm
M12x1,25 -40 Nm
STEEL PISTON M12x1,25 -40Nm

> ABM 2125 27 B 04 O NUVEER

HINO

TOP VIEW BOTTOM VIEW

I | ; 3/8-19 BSPT 2x M12x1,25
bl M20x1.5 M12x1,25
i

190

65,

i

===}

2225 MAX. TORQUE. ¥
@265 (max. @275) ’?A/BQ[B]SP'S ‘218 m
M 12¢1,25 - 40 Nm
M 12¢1,25 - 40 Nm

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 2130 27 C

2218

——

ABM|2130 27

300

2120,0

TOP VIEW

1/4-19 BSPT

> ABM 2130 27 C 11

80
!

R

H (] H N~
I

AT S
B [275077]

! o

o

[3p]

Jd |

T
@175
@265 (max.275)

> ABM 2136 27 C

2218

80‘
|

el
[ =
213627
|

R=a

360

2120,0

TOP VIEW

1/4-19 BSPT

TOP VIEW

1/4-19 BSPT

> ABM 2136 27 C 11

80

|

BT

\

\

| o
]

J

137

T
@175
@265 (Max.2275)

@ bolt/stud

TOP VIEW

1/4-19 BSPT

O hole/threaded hole

BOTTOM VIEW

(1)

STEEL PISTON

BOTTOM VIEW

(1)

STEEL PISTON

& air inlet

OFE NUMBER
up

MAX. TORQUE &
114"

OE NUMBER
up

MAX, TORQUE &
14
M 18¢1,5

OE NUMBER
up

MAX. TORQUE &
14"

OE NUMBER
up

MAX. TORQUE 2
14
M 18x1,5

-15 Ib/ft

- 15 Ib/fe
-90 Nm

- 15 1b/fe

- 15 1b/fe
-90 Nm

® combination stud



ABM series

> ABM 2340 29 C

@230

b

2340 29

400

7]
1

—F
7
i

t
2130.8

TOP VIEW

M16x1,5
M24x1,5

2229

> ABM 2340 29 C 40

|

e

Jd 7T U

b

120

270

@197
@280 (Max.@290)

TOP VIEW

M16x1,5
M24x1,5

2229

> ABM 2441 31 S 61

| |
‘ \
‘
!

140

330

T
2249 ‘
@300 (max.2310)

TOP VIEW

1/4-18 NPTF
3/4-16 UNF-2A

BOTTOM VIEW

@216

STEEL PISTON

BOTTOM VIEW

4x 1/2-13 UNC

> ABM 2445 34 A

TOP VIEW
@242
ft 5
3 RAUFOSS A 8mm
244534
|
f o
! Iro}
‘ <
@146,0
@ bolt/stud O hole/threaded hole

2200

& air inlet

PLASTIC PISTON

OFE NUMBER
Voo

MAX. TORQUE 2
M 16x1,5
M 24x1,5

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX. TORQUE &
M 16x1,5

M 24x1,5

M 10

OE NUMBER
™C

CROSS REFERENCE
GOODYEAR

MAX, TORQUE /&
114
34"
38"
12

OFE NUMBER
SCANIA

® combination stud

-20Nm
-40Nm

21321520

6635 N P01
1R11-852; 1R11-304

-20Nm
- 40 Nm
-35Nm

626104/642

1R12-642

- 15 Ib/fe
- 30 Ib/fe
- 25 Ib/fe

- 25 Ib/fe



NECTEC

> ABM 2445 34 A 04 OF NUVEER

SCANIA 1942148
TOP VIEW BOTTOM VIEW
2X@D11,9
U
| 3 g
‘ 8
|
L 9
<
@248
CROSS REFERENCE
330 (max. 2340 157 | CONTITECH 6702 N PO
GOODYEAR 1R13-751; 1R13-762

STEEL PISTON

> ABM 2456 31 F OF NUVBER

SCANIA

2242

% - TOP VIEW

[ABM 2456 31

565

MAX. TORQUE &
M 14x1,5 -20Nm
M10 -35Nm

> ABM 2456 31 F 03 OF NUMBER

SCANIA 1314905; 1865753; 255294; 345879
TOP VIEW BOTTOM VIEW
CROSS REFERENCE
CONTITECH 6706 N P01
3 GOODYEAR 1R12-713
~ FIRESTONE 1T15M-9
FIRESTONE ORDERNO ~ W01-M58-7308
PHOENIX 1DK 23 L-31
o VIBRACOUSTIC V1DK23 142
e}
MAX, TORQUE /%
M 14x1,5 -20 Nm
M10 - 35 Nm
M12 - 40 Nm
2305 (max.2315) PLASTIC PISTON
> ABM 2932 24 P OE NUMBER
IVECO
TOP VIEW
2196
|0
D
[ABM| 2932 24

| S

i [30]

== MAX. TORQUE 2

12 M7 -15Nm
- M10 -35Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

215

86

2220 ‘

@230 (max. &240)

> ABM 2932 24 R

D196
-1
D
[ABM| 2932 24
| 5
| 3o}
— J”
MI12

215

86

T
2220
@230 (max. &240)

> ABM 302 30 A

2252

|« T —
T —
302 30

| 21308

320

@ bolt/stud

> ABM 2932 24 P 50

TOP VIEW

TOP VIEW

> ABM 2932 24 R 50

TOP VIEW

TOP VIEW

O hole/threaded hole

OE NUMBER

IVECO 504190917
BOTTOM VIEW

CROSS REFERENCE

CF GOMMA 17 240-20

CF GOMMA CODE 207112

MAX_ TORQUE &

M7 -15Nm

M10 -35Nm
PLASTIC PISTON M12 - 60 Nm

OE NUMBER

IVECO

MAX. TORQUE %

M7 15 \m
M10 35 Nm
OF NUMBER
VECO 504190916
BOTTOM VIEW
MI12
< CAOSS REFERENGE
S CF GOMMA 17240.20
& j CFBOMMACODE 207113
MAX, TORQUE. ¥
M7 15 Nm
M10 35 Nm
PLASTIC PISTON M12 -60 Nm
OF NUMBER
VoL
MAX, TORQUE. /&
M16x1.5 20 Nm
M10 35 \m

® air inlet  ® combination stud



NECTEC

» ABM 302 30 A 01 OE NUVBER
() 20 554 762
TOP VIEW BOTTOM VIEW
160
O
I
CROSS REFERENCE
@225 CROSS REFERENCE
@290 (max.2300) CONTITECH 8613 N P01
MAX_ TORQUE /%
M 16x1,5 -20 Nm
STEEL PISTON M10 -35Nm
» ABM 314 30 A CE g
2252 TOP VIEW

314 30

385

MAX_ TORQUE /%

M 16x1,5 -20Nm

| 21308 M 10 -35Nm
> ABM 314 30 A 06 OF NUVBER
Voo 21961478; 21119077; 21161555
TOP VIEW BOTTOM VIEW
160
! N
\ &
\J ‘ \J E
| CROSS REFERENCE
1 CONTITECH 6617 N PO
0225 MAX, TORQUE /%
@290 (max.300) M16¢15 20 Nm
STEEL PISTON M0 -35Nm
> ABM 336 30 A GE
@252
TOP VIEW
160

MAX. TORQUE /%
M 16x1,5 -20 Nm
M10 -35Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 336 30 A 14 OF NUMBER
Voo 20 554 760; 20 580 705; 21 961 472
TOP VIEW BOTTOM VIEW
3
|
U \ U S
| CAOSS REFERENCE
CONTITECH 6612 N PO
MAX, TORQUE &
@290 ?230 @300) M 16x1,5 - 20 Nm
max. _
STEEL PISTON M0 85 Nm
> ABM 502 28 A OE NUMBER
SCANIA
TOP VIEW
@252
m M14x1,5
@50228
|
\
M
2146,0
MAX, TORQUE
M 14x1,5 - 20 Nm
> ABM 502 28 A 03 OF NUMBER
SCANIA 1440 860
TOP VIEW BOTTOM VIEW
I |
? ? M14x1,5
o CROSS REFERENCE
N FIRESTONE 1715 -4 (3)
J ! FIRESTONE ORDERNO W01 095 0405
& ‘ 3 GOODYEAR 1R11-187
l 1 - PHOENIX 1DF23B-2
f i MAX. TORQUE /%
@200 M 14x1,5 -20 Nm
@270 (Max.2280) FITTING KIT (3®
NFK 036
STEEL PISTON
> ABM 502 28 B 0 g

TOP VIEW

M16x1,5

e e
|
[ABM]| 502 28

315

|

|
—
—7

T Ia
[

©2146,0

MAX, TORQUE /¥
M 16x1,5 -20 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 502 28 B 03 OE NUMBER

SCANIA

TOP VIEW BOTTOM VIEW

?””ﬁﬁ% M16x1,5

ABM| 502 28
o
N
J .
ol 3
L
1—;00
@270 (max.2280) —— &9
STEEL PISTON M 16x1,5 -20Nm
> ABM 502 30 K CE g
TOP VIEW
@252
2x M10
& ) -
@150230 ! %
! Q i i g
\ @ N
|
! /
MI6xt.S MAX_TORQUE /&
21308 20 M 161 5 -20Nm
M10 -35Nm
> ABM 502 30 K 01 OF NUMBER
Voo 20 554 761
TOP VIEW BOTTOM VIEW
2x M10

C
C
100
@259
|
|

R ‘
% ® | S
: S CROSS REFERENCE
2225 - 26 CONTITECH 8603 N PO’
T
@290 (max.2300) / M16x1.5 MAX, TORQUE.
M 16x1.5 -20Nm
18 STEEL PISTON M10 -39 Mm
> ABM 502 32 A 0E NUMBER
SCANIA
TOP VIEW
2252
B M14x1.,5

T
t ;
SSs
,
[ABM| 502 32
|
i
;
]

315

MAX. TORQUE /¥
M 14x1,5 -20Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 502 32 A 01

TOP VIEW

ABM! 502 32

RN

255

M14x1,5

56

=

@230
@310 (max.@320)

> ABM 502 32 B

2252

I ==

+
——+
|
[ABM| 502 32

315

2x 11,9

TOP VIEW

M16x1,5

> ABM 502 32 B 01

TOP VIEW

.

ABM! 502 32

M16x1,5

=

2230
@310 (max.320)

> ABM 504 32 A

345

@ bolt/stud

TOP VIEW

M14x1,5

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER
SCANIA 470920; 1440301
CROSS REFERENGE

FIRESTONE 1715 VR-3
FIRESTONE ORDERNO W01 M58 8192
GOODYEAR 1R13-746
PHOENIX 1 DF 23 B-1
MAX_ TORQUE /%

M 14x1,5 -20Nm

FITTING KIT (' m

NFK 036

OF NUMBER

SCANIA

MAX_ TORQUE /%

M 16x1,5 -20Nm

OF NUMBER

SCANIA 1726237
CROSS REFERENCE

CONTITECH 6713 N P02
GOODYEAR 1R13-750
MAX, TORQUE &

M 16x1,5 -20 Nm

OF NUMBER

SCANIA

MAX_TORQUE /¥
M 14x1,5 -20 Nm

® combination stud



NECTEC

> ABM 504 32 A 02 OF NUBER
SCANIA 470921; 488266; 1440302; 1515499
TOP VIEW BOTTOM VIEW
M14x1,5 2x P11,9
| —
CROSS REFERENCE
FIRESTONE 1715 VPR-3
FIRESTONE ORDERNO W01 M58 8193
3 GOODYEAR 1R12-809
\ / PHOENIX 1DF 23 A1
MAX. TORQUE /%
S—= M 14x1,5 ~20Nm
@310 (max.2320) 140
FITTING KIT &
NFK 036
STEEL PISTON
> ABM 504 32 B OE NUEER
SCANIA
2252 TOP VIEW
- M16x1,5
50432
|
‘ ™
\
\‘ V’ i
?1460 MAX, TORQUE /%
M 16x1,5 -20Nm
> ABM 504 32 B 02 OF NUIVBER
SCANIA 1726238
TOP VIEW BOTTOM VIEW
?mﬁﬁ } % M16x1,5 2x@11,9
[ =)
o
Q
| 8
@229 S CROSS REFERENCE
@310 (max.2320) 140 GOODYEAR 1R12-813
MAX. TORQUE &
STEEL PISTON M 16x1,5 -920 Nm
> ABM 506 31D OF NUMBER
SOLARIS 1001.101.058
TOP VIEW
@‘50&31
| o
1 wn
‘ [sp]
) CROSS REFERENCE
‘ VIBRACOUSTIC V1 DF 25 A1 NP; V 1 DF 25 A-2 NP;
‘ V1 DF 25 A-1 NP
== MAX. TORQUE 2

M22x1,5 -20 Nm
M12 -40 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 506 31 D 04 OF NUMBER

SOLARIS 1001.101.046; 1001.101.040; 1001.101.050

TOP VIEW BOTTOM VIEW

M22x1,5 7 MI8x1.5
CROSS REFERENCE
VIBRACOUSTIC V1 DF 25 A-8; V 1 DF 25 A-21
MAX. TORQUE /%
M 22x1,5 -20Nm
M12 -40Nm
@325 M 18x1,5 -90 Nm
2300 (max.2310) FITTING KIT (3m
NFK 025
STEEL PISTON
> ABM 506 31 D 05 O Mg
SOLARIS 1001.101.044; 1001.101.047; 1001.101.080
TOP VIEW BOTTOM VIEW
M18x1,5
T 3 CROSS REFERENCE
J \ VIBRACOUSTIC V1 DF 25 A-7; V 1 DF 25 A-20
! NS
o~
! - MAX. TORQUE /%
S Weol M 22x1,5 -20Nm
! M12 ~40Nm
M 18x1,5 -90Nm
@225
@300 (max.2310) FTTING KIT 9B
STEEL PISTON NFK 025
> ABM 506 31 E E NUVEER
SOLARIS
TOP VIEW
@50531
\ o
i A
| 21508 == MAX, TORQUE. /¥
M12 -60 Nm
» ABM 506 31 E 03 0E NUMEER
SOLARIS 1001.101.045; 1001.101.042; 1001.101.052
TOP VIEW BOTTOM VIEW
M12x1,5
M18x1,5
‘ ‘ 2
o~
~ CROSS REFERENCE
8 FIRESTONE 1117 AR-3.0
FIRESTONE ORDERNO W01 M58 8378
PHOENIX 1DF 25 A12
VIBRACOUSTIC V1 DF 25 A-12
MAX, TORQUE /¥
@300 (max.2310) M12 -60Nm
M 1215 -40Nm
STEEL PISTON M18x1.5 -90Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 507 31 A

360

TOP VIEW

——

Mléx],SX

> ABM 507 31 A 01

g
-

133

270

T
@230
@300 (max.2310)

TOP VIEW

155

R )

M16x1 ,5><
X

28

> ABM 507 31 A 02

fpd)

; R
I
ABM|507 31

137

275

1
2230

@300 (max.3310)

TOP VIEW

-1

M16x1,5><
®

28
5

> ABM 507 31 A 03

Mt ]
S s
~ %

130

270

2230

@300 (max.@310)

3x M10

2259

TOP VIEW

——

M16x1 ,5><
®

28
5

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

—

M16

<

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
DAFVDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORGUE /&
M 16x1,5
M10

OE NUMBER
DAFNDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /%
M 16x1,5

M10

M 16

OE NUMBER
DAFADL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5

M 10

M 16

FITTING KIT (D ®
NFK 016

OE NUMBER
DAFNVDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5

M 10

M 16

FITTING KIT (A
NFK 016

67504

836 M

1717 AR-4.5
W01 M58 0776
1R12-700
1DF25-1NP
V1DF25-1

-20 Nm
-35Nm

388165; 388166

836 MK1

1717 AR-4.5
W01 M58 8722
1R12-712

1DF 25-11

V1 DF 25-11

-20Nm
-35Nm
-90Nm

526651

836 MB K6
1717 AR-4.5
W01 M58 8701
1R12-768
1DF25-15

V1 DF 25-15

-20Nm
- 35 Nm
-90 Nm

297721

836 M K7

1717 AR-4.5
W01 M58 8715
1R12-723
1DF25-12
V1DF25-12

-20Nm
-35Nm
-90 Nm

® combination stud



ABM series

> ABM 507 31 A 04

BOTTOM VIEW

M16
—

)

3x M10

2259

STEEL PISTON

3x M10

BOTTOM VIEW

M16
—

A

3x M10

2259

STEEL PISTON

3x M10

2259

TOP VIEW
i i
?% | i 155
»,_8;
o Misas !
x 304
J ! = 8
a1
| S
@220
@300 (max.@310)
> ABM 507 31 B
rs TOP VIEW
i
155
. 85
== . -
ABM| 507 31 M16x1,5 1
\ 3 |
i 3
| gl
L
21508
» ABM 507 31 B 05
TOP VIEW
155
85
-y
M16x1,5 !
d L
N { \9
©
8
e Qo
|
2230
@300 (max.2310)
> ABM 507 31C
2274 TOP VIEW
e m
i
- 155
== N
ABM| 507 31 1
‘ & \
! 3 m( ® |
o
i
| |
L—r—'—r—v |
~ i i 2x M16x1,5 ‘ 70
21508 1
@ bolt/stud

O hole/threaded hole

® air inlet

OE NUMBER
DAFNDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE /%
M 16x1,5

M10

M 16

FITTING KIT (pm
NFK 016

OE NUMBER
DAFNDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /%
M 16x1,5
M10

OE NUMBER
DAFVDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 16x1,5

M10

M 16

FITTING KIT (A
NFK 016

OE NUMBER
DAFNDL

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M10

® combination stud

1266 381; 1697 679

836 MK11
1717 AR-4.5
W01 M58 8714

-20Nm
-35Nm
-90Nm

513985

836 MB

1717 AR-4.5
W01 M58 0775
1R12-764

1 DF 25-4 NP
V1 DF25-4

-20Nm
-35Nm

377498

836 MB K4
1717 AR-4.5
W01 M58 8705
1DF25-14

V1 DF25-14

-20 Nm
-35Nm
-90 Nm

513982

836 M2

1717 AR-4.5
W01 Ma8 0777
1R12-710
1DF25-3NP
V1 DF25-3

-20Nm
-35Nm



NECTEC

> ABM 507 31

C 01

3x M10

2259

TOP VIEW
?ﬂ] i ik @\ 155
—5 |
| o 8, |
| | | o
| 3 o 1T
\ i |
2230 |
@300 (Mmax.2310) 2 MI6x1.5 |70,
145
> ABM 507 31 C 06
TOP VIEW

-

N

3x M10

2259

P
©
N
| wn
J \ Q
ﬁ 3 | %
-2 |
2230 S |
@300 (max.2310) X Miéxl.5 [70_]
145
> ABM 507 31F
TOP VIEW
@274
I L 155

‘ABM| 507 31

360

M22x1 ,5>§

28
5

©2150.8

F 01

TOP VIEW

3x M10

M22x1,5

270

= —
133

28
5

@230
@300 (max.2310)

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER

DAFNDL 388167; 383168
CROSS REFERENCE

CONTITECH 836 M2 K1
FIRESTONE 1T17 AR-4.5
FIRESTONE ORDERNO W01 M58 8721
GOODYEAR 1R12-711
PHOENIX 1 DF 25-13
VIBRACOUSTIC V1DF25-13
MAX. TORQUE /%

M 16x1,5 -20Nm
M10 -35Nm

M 16 -90 Nm
FITTING KIT (rm

NFK 016

OF NUMBER

DAFVDL 1622 849; 1697 683
CROSS REFERENCE

CONTITECH 836 N P09
MAX, TORQUE /%

M 16x1,5 -20 Nm
M10 -35Nm

M 16 -90 Nm

OF NUMBER

DAFVDL

MAX. TORQUE &

M 22x1,5 -20 Nm

M 10 -35Nm

OF NUMBER

DAF/VDL 1153 934
CROSS REFERENCE

CONTITECH 836 N P06
MAX. TORQUE &

M 22x1,5 -20Nm

M 10 -35Nm

M 16 -90 Nm

® combination stud



ABM series

> ABM 507 31 F 02

TOP VIEW

ol
F A==
U y

138

M22x1 ,5><

246

28
5

1
@230

@300 (max.3310)

> ABM 507 31

F 08

—

BOTTOM VIEW

3x M10

TOP VIEW

H T
ABM 507 31

J 7

Ny

130

246

28
5

1
@210

@300 (max.2310)

> ABM 507 31

F 09

130

—

M22x1 ,5><
X

STEEL PISTON

BOTTOM VIEW

3x M10

@259

TOP VIEW

277

28
5

@300 (max.@310)

> ABM 507 31 G

360

@ bolt/stud

. )

M22x1,5 !
>< |

X

e

STEEL PISTON

BOTTOM VIEW

3x M10

T 2259

TOP VIEW

O hole/threaded hole

STEEL PISTON

® air inlet

OE NUMBER
DAFNDL

CROSS REFERENCE
CONTITECH

MAX_ TORQUE /»
M 22¢1,5

M10

M 16

OE NUMBER
DAF/ VDL

CROSS REFERENCE
CONTITECH

MAX, TORQUE /%
M 22¢1,5

M 10

M 16

OE NUMBER
DAF / VDL

CROSS REFERENCE
CONTITECH

MAX, TORQUE /¥
M 22¢1,5

M 10

M 16

OE NUMBER
DAFNDL

MAX_TORQUE /¥
M 22¢1,5
M 10

® combination stud

1153933

836 N P05

-20Nm
-35Nm
-90Nm

5015 337; 4501 5337

836N P14

-20 Nm
-35Nm
-90 Nm

5015 338; 30 023 245; 45 015 338

836 N P16

-20Nm
-35Nm
-90 Nm

-20Nm
-35Nm



NECTEC

un)
‘

135

268

T
@230

@300 (max.2310)

> ABM 510 30 D

I
S S

ABM|510 30

140

311

@230
@290 (max.2300)

/ABM|514 29

380

> ABM 514 29 D

@ bolt/stud

> ABM 507 31 G 07

TOP VIEW

TOP VIEW

TOP VIEW

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

M16

—

A

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER
DAFNVDL 1794 420
CROSS REFERENCE

CONTITECH 836N P10
MAX. TORQUE /%

M 22x1,5 -20 Nm

M 10 -35Nm

M 16 -90 Nm
OF NUMBER

Voo

MAX_ TORQUE /%

M 16x1,5 -20Nm

M 10 -35Nm
OF NUMBER

Voo

CROSS REFERENCE

CONTITECH 4420 N PO
FIRESTONE 1717 BR-8
FIRESTONE ORDERNO W01 M358 9707
CF GOMMA 175 300-28
CF GOMNMA CODE 207774
MAX, TORQUE &

M 16x1,5 -20 Nm

M 10 -35Nm
OF NUMBER

)

MAX. TORQUE &

M 16x1,5 -20 Nm

M 10 -35Nm

1076 075; 1 076 076; 20 554 756

® combination stud



ABM series

> ABM 514 29 D 19 OE NUVBER
) 20573311
TOP VIEW BOTTOM VIEW
gﬂ;ﬂl <
\
e [57429]
| o
\ ]
U
\ B CROSS REFERENCE
‘ CONTITECH 6603 N P02
é%i MAX. TORQUE /¥
@280 (max.2290) m 20 Nm
M 10 ~35Nm
STEEL PISTON
> ABM 514 29 D 20 OE NUMBER
Vawo 3171693; 3 178 706; 20 573 312
TOP VIEW BOTTOM VIEW
g,;ﬂ;, <
\
| o
| X
P
| B CROSS REFERENGE
Lo CONTITECH 6603 N PO
2226
@280 (max.3290) MAX. TORQUE. /%
M 16x1,5 -20Nm
STEEL PISTON M10 -35Nm
> ABM 514 31 P OF NUMBER
VOO
2252 TOP VIEW
I, 0
il
514 31

92,4

380

MAX, TORQUE /%

M 16x1,5 -20 Nm
M10 -35Nm
> ABM 514 31 P 30 OE NUVBER
VOLVO 20 480 202; 20 573 113; 21 041 697;
21097 453; 70 313 734
TOP VIEW BOTTOM VIEW
110
EaR==ae
? ABM|514 31 g 2>< M]O
! i
uml
\_J ‘ e CROSS REFERENCE
! - CONTITECH 6602 N PO1; 6602 N P02
‘ i M
@19 U MAX, TORQUE /2
- M 16x1,5 -20 Nm
M10 -35Nm

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 516 30

2252

o
[

A\
— 1
———
=
ZAEM5153[7

420

J

<

TOP VIEW

M16x1,5

78
/g;
Lo
|
|

2259

TOP VIEW

M16x1,5

BOTTOM VIEW

@216

|
\
ABM|516 30/ !
o I 08
~ ‘ -lQ
™
‘ g -
U \ VE 47
b
i
2226 STEEL PISTON
@290 (Mmax.2300)
> ABM 516 30 J 42
] TOP VIEW BOTTOM VIEW
ﬂ & MI6XLS
1 I 216
’ 5 |
® fe@h ————— &
% 1 |
L © |
s
g i e 8847
é{j . | n 15
29% & 8J 1:( ‘ ‘ STEEL PISTON
@290 (max.2300) 130
> ABM 520 30 A
@252
TOP VIEW

ABM' 520 30

440

M16

@ bolt/stud

O hole/threaded hole

& air inlet

OF NUMBER
Voo

MAX.TORQUE &

M 16x1,5 -20 Nm

OF NUMBER

Voo 21451173
CROSS REFERENCE

CONTITECH 4580 N P02
MAX. TORQUE /%

M 16x1,5 -20 Nm

OF NUMBER

Voo 21451172
CROSS REFERENCE

CONTITECH 4580 N P01
MAX. TORQUE /%

M 16x1,5 -20 Nm

OE NUMBER

SAF 4.284.3006.00
CROSS REFERENCE

CONTITECH 4022 N P02
FIRESTONE 1117 BS-6
FIRESTONE ORDER NO W01 M58 0756
GOODYEAR 1R11-850; 1R11-709
PHOENIX 1DK 22 E-9 NP
VIBRACOUSTIC V1DK22 E-9NP
MAX. TORQUE &

M 22x1,5 -20 Nm

M12 -40 Nm

M 16 - 60 Nm

® combination stud



ABM series

> ABM 520 30 A 00

@290 (max.2300)

TOP VIEW

2x M12

BOTTOM VIEW

»> ABM 520 30 A 01

146

320

@290 (max.2300)

TOP VIEW

2x M12

> ABM 520 30 A 02

fr=rry
|

A

140

320

2240
@290 (max.2300)

TOP VIEW

2X M12

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

> ABM 520 30 A 11

150

351

@290 (max.300)

@ bolt/stud

TOP VIEW

O hole/threaded hole

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

® air inlet

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX, TORQUE &
M 22¢1,5
M12

FITTING KIT (D
NFK 006

OE NUMBER
SAF

CROSS REFERENCE
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE &
M 22¢1,5

M 12

M 12

FITTING KIT (A
NFK 012

OE NUMBER
SAF

MAX, TORQUE &
M 22¢1,5

M12

M12

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_TORQUE /%~
M 22¢1,5

M 12

M 16

® combination stud

3.229.0029.00; 3.229.2129.00; 3.229.2229.00;

3.229.2429.00; 3.229.0029.00

4022 N P03

1717 BS-6

W01 M58 6367
1R11-714; 1R11-751
1DK22 E-9
V1DK22E-8

- 20 Nm
- 40 Nm

3.229.0029.00

1R11-710
1DK22 E-6
V1DK22 E-6

-20 Nm
- 40 Nm
- 40 Nm

-20 Nm
- 40 Nm
- 40 Nm

3.229.0033.00

4022 N P05
1717 BS-6

W01 M58 8612
1R11-781

1DK 22 E-11
V1DK22E-10

-20Nm
-40Nm
-90 Nm



NECTEC

> ABM 520 30 A 12

; I
?“‘*LPI et
]
ABM1520 30

h

2290 (max.@300)

TOP VIEW

2x M12

> ABM 520 30 A 13

g T = |
ABM 520 30

I
SRR

h

421

2290 (max.@2300)

> ABM 520 30 B

2252

I

[ABM, 520 30

440

M16

TOP VIEW

TOP VIEW

M22x1,5

> ABM 520 30 B 00

f

4

h

2290 (max.2300)

@ bolt/stud

TOP VIEW

2x M12

O hole/threaded hole

BOTTOM VIEW

OE NUMBER
SAF

CROSS REFERENCE

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

CF GOMMA

CF GOMMA CODE
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
SAF

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
PHOENIX
VIBRACOUSTIC

MAX, TORQUE &
M 22¢1,5

M12

M 16

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /¥
M 22x1,5

M 12

M 16

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 22x1,5
M12

3.229.0038.00

17 300-37
207719
1DK22 E-13
V1DK22E-13

-20Nm
-40Nm
-90Nm

3.229.0033.00

17 300-37
207722
1DK22 E-14
V1DK22 E-14

-20 Nm
- 40 Nm
-90 Nm

4.284.3003.01

4004 N P02
1717 BS-6

W01 M58 0919
1R11-705
1DK22 E-5 NP
V1DK22 E-5NP

-20Nm
- 40 Nm
- 60 Nm

3.229.0007.00; 3.229.0007.01; 3.229.0007.02

4004 N P03

1717 BS-6

W01 M58 6366
1R11-713; 1R11-750
1DK22E-8
V1DK22E-8

-20 Nm
-40 Nm

® combination stud



ABM series

» ABM 520 30 B 01 OENUVBER
SAF 2.229.0007.00
TOP VIEW BOTTOM VIEW
G I 2x M12
T g g CROSS REFERENCE
fre{Ez0%] ' [ y CF GOMMA 17 300-33
CF GOMMA CODE 97722
| GOODYEAR 1R11-706
= PHOENIX 1DK 22 E-5
@ VIBRACOUSTIC V1DK22E-5
¥ MAX. TORQUE. /¥
- M 22x1,5 -20 Nm
! M12 - 40 Nm
2940 M12 -B0 Nm
@290 (Max.300) RITTING KIT G
STEEL PISTON NFK 012
> ABM 520 30 B 02 s
m TOP VIEW BOTTOM VIEW
ABM g
\
. o
S
g
|
L%J 90 Nm
@290 (max.2300) -40Nm
-40Nm
PLASTIC PISTON
> ABM 520 30 F 0 g
@252 TOP VIEW
M12x1,5
M20x1.5
@iszusn
| %
s -
|
MAX, TORQUE &
, M 12x1,5 -20 Nm
M 20x1,5 - 40 Nm
M12 - 40 Nm
M6 M 16 -60 Nm
» ABM 520 30 F 00 OF NUMBER
SAF 3.229.0040.00

TOP VIEW BOTTOM VIEW

M12x1,5
M20x1,5

4x 28

[ % CROSS REFERENCE
‘ CF GOMMA 1730037
w CFGOMMACODE 207717

MAX. TORQUE. ¥

@200

M12x1,5 -20Nm
@290 (max.2300) M 20415 o
PLASTIC PISTON M12 -40 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 520 30 F 02

ABM 520 30,

U

140

340

oo |

@290 (Max.2300)

TOP VIEW

M12x1,5
M20x1,5

2259

> ABM 520 30 F 11

ABM! 520 30

iy

150

340

i

@241
2290 (max.@2300)

TOP VIEW

M12x1,5
M20x1,5

> ABM 520 30 N 01

@290 (Max.2300)

> ABM 522 33

TOP VIEW

M16x1,5
M24x1,5

A 01

TOP VIEW

|
| K

146

381

M14x1,5
M20

T
\ @260 \
@320 (max.3330)

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

@200

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

4x M12x1,5

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER

SAF

MAX, TORQUE /%

M 12x1,5 -20 Nm

M 20x1,5 - 40 Nm

M 12 - 40 Nm

M 12 -20 Nm

OF NUMBER

SAF 3.229.1043.00
MAX_TORQUE /%

M 12x1,5 -20Nm

M 20x1,5 -40Nm

M 12 - 40 Nm

M 16 -90 Nm

OF NUMBER

HENDRICKSON 508 263
CROSS REFERENCE

GOODYEAR 1R11-847
MAX, TORGUE /&

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

M 12x1,5 - 40 Nm

OF NUMBER

HENDRICSON 251087
MERCEDES A 946 328 0401
CROSS REFERENCE

FIRESTONE 1717 BP-11
FIRESTONE ORDERNO W01 M58 8747
GOODYEAR 1R13-150
PHOENIX 1 DK 25-8747
VIBRACOUSTIC V1 DK 25-8747
MAX. TORQUE /¥

M 14x1,5 -20Nm

M 20 -B0 Nm

M12 -B0 Nm

® combination stud



ABM series
> ABM 522 33 B 02

BN
ABM!522 33

381

146

Q
N
w
¢}

@320 (max.2330)

> ABM 524 32 L

2252

ABM| 524 32

> ABM 524 32 L 33
1

|
2 | i \
|
ABM 524 32

420

190

@310 (max.2320)

> ABM 526 31 A

2252

510

@ bolt/stud

TOP VIEW

1/4-18 NPTF
3/4-16 UNF-2A

TOP VIEW

TOP VIEW

M12x1,5
2x M12

TOP VIEW

M14x1,5
M20

O hole/threaded hole

& air inlet

BOTTOM VIEW

4x 1/2-13 UNC

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

OF NUMBER
ERF 139855-0
HENDRICKSON 506500, C 20127
LOADGUARD SC 2761
NAVISTAR 1R13-247
CROSS REFERENCE

AUTOMANN 1 DK 25 C-9580
CONTITECH 1010-21 P 434
GOODYEAR 1R13-118
FIRESTONE 1117 CL-95
FIRESTONE ORDERNO W01 358 9580
TRIANGLE £5-8434

AP AS95800

MAX, TORQUE /%

14 - 15 lbfft

347 - 30 Ibfft

12 - 44 lofft

OF NUMBER

ROR

MAX, TORQUE

M 12¢1,5 -20Nm

M12 -40Nm

M12 -60Nm

OE NUMBER

ROR 21231515
CROSS REFERENCE

FIRESTONE 1717 BPZ11

FIRESTONE ORDERNO W01 R88 2244

MAX. TORQUE &

M12x1,5 -20Nm
Mm12 - 40 Nm
Mm12 - 60 Nm
OE NUMBER

HENDRICKSON

® combination stud



NECTEC

> ABM 526 31 A 03

‘
g |
ABM, 526 31

TOP VIEW BOTTOM VIEW

%

M14x1,5

400

145

@300 (max.310)

STEEL PISTON

> ABM 526 31 L

2252

P.| TOP VIEW
i

M12x1,5

L43

TOP VIEW BOTTOM VIEW

N |

\
I

[
1

400

@300 (max.3310)

PLASTIC PISTON

> ABM 526 31 L 44

TOP VIEW BOTTOM VIEW

I |
\
|

ABM | 526 31

[
1

I

400

I
|
@240 ‘

@300 (max.2310)

PLASTIC PISTON

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER
HENDRICKSON

MAX, TORQUE /¥

M 14x1,5 -20Nm
M 20 -60Nm
M12 -60Nm
OF NUMBER

ROR

MAX, TORQUE /¥

M12x15 -20 Nm
M 12 - 40 Nm
OF NUMBER

ROR 21229530
CROSS REFERENCE

FIRESTONE 1117 BPZ-10

FIRESTONE ORDERNO W01 M58 8671

MAX, TORQUE

M12x1,5 -20 Nm
M12 - 40 Nm
M12 - 40 Nm

OE NUMBER

ROR 21229455
CROSS REFERENCE

FIRESTONE 1717 BPZ-10

FIRESTONE ORDERNO W01 R88 8669

MAX. TORQUE /¥

M12x1,5 -20 Nm
M12 - 40 Nm
M12 - 40 Nm

® combination stud



ABM series
> ABM 527 31 M

2242

[ABM| 527 31

380
50

M16x1,5

| 213058

> ABM 527 31 M 30

9 H ——ABM‘52731 ﬂ K

125
245
50

M16x1,5
I |
@230

> ABM 528 32 K

2252

I

T
4
52832

575

E===

MI12

> ABM 528 32 K 31

A
AT TN

|

\ 3

! <
i o

i =

:

L oo |
@310 (max.2320)
@ bolt/stud

@300 (Max.@310) ———

TOP VIEW

92,3

TOP VIEW

92,3

TOP VIEW

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
Voo

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX

MAX, TORQUE /¥
M 16x1,5

OE NUMBER
Voo

CROEE REFERENCE
CONTITECH
GOODYEAR
PHOENIX

MAX_TORQUE /¥
M 16x1,5
M 10

OE NUMBER
WEWELER

MAX, TORQUE /¥
M 16x1,5
M 10

OE NUMBER
WEWELER

CROSS REFERENCE
FIRESTONE

20 703 452; 21 513 836; 21 057 939

6620 N PO1
1R12-826
1DF25C-1NP

-20Nm

70 311 683; 21 097 433; 21 513 833

6620 N P02
1R12-825
1DF 25 C-1

-20Nm
- 40 Nm

-20Nm
-40 Nm

US 04335F

1717 BL-12

FIRESTONE ORDERNO W01 968 8174

MAX. TORQUE &
M 22¢1,5

M 12

M 12

® combination stud

-20Nm
- 40 Nm
- 60 Nm



NECTEC

> ABM 530 30 A

2252

1

/
68 N

425

M22x1,5

»> ABM 530 30 A 05

1.

L
T
g i |
'ABM, 530 30

h

340

@290 (max.2300)

> ABM 530 30 A 07

L
?‘MQ

@290 (max.2300)

> ABM 530 30 A 19

L
?‘WQ

%%
oo %
9%
%a36%
UL
a -\
= <
7
% AN
Yz,

=

2

QUL
~_ |
o
R

e

AN

R
S

%
deSete2e%%s

XX
XX
KRS

RS
o

23

?,____-
%%
5

o

2%

150

340

| o0 |
290 (max.2300)

@ bolt/stud

TOP VIEW

TOP VIEW BOTTOM VIEW

2X M12

STEEL PISTON

TOP VIEW BOTTOM VIEW

2x M12

PLASTIC PISTON

TOP VIEW BOTTOM VIEW

2x M12

PLASTIC PISTON

O hole/threaded hole & air inlet

OF NUMBER
BPW 05.429.40.91.0
CROSS REFERENCE

CONTITECH 940 MB
FIRESTONE 1117 D-4.3
FIRESTONE ORDERNO W01 M58 8613
GOODYEAR 1R11-703
PHOENIX 1DK21K
VIBRACOUSTIC V1DK21K
MAX. TORQUE /%

M 22¢1,5 -20Nm

M12 -40Nm

M 16 -90Nm
FITTING KIT (3@

NFK 026

OF NUMBER

BPW 05.429.40.93.1; 05.429.42.41.1
CROSS REFERENCE

FIRESTONE 1117 D-4.3
FIRESTONE ORDERNO W01 M58 8609
GOODYEAR 1R11-763
PHOENIX 1DK21K-1
VIBRACOUSTIC V1DK21KX4
MAX, TORQUE &

M 22¢1,5 -20 N

M 12 - 40 Nm

M 16 -90 Nm
FITTING KIT (@

NFK 013

OF NUMBER

BPW 05.429.43.21.0; 05.429.43.37.0
CROSS REFERENCE

CONTITECH 940 MB P30
FIRESTONE 1717 D-4.3
FIRESTONE ORDERNO W01 M58 8585
GOODYEAR 1R11-752
PHOENIX 1DK 21 K-2
VIBRACOUSTIC V1 DK 21 KY-4
MAX. TORQUE &

M 22¢1,5 -20 Nm

M 12 - 40 Nm

M 16 -60 Nm
FITTING KIT (3 ®

NFK 013

OF NUMBER

BPW 05.429.43.86.0
CROSS REFERENCE

CONTITECH 940 MB P01
FIRESTONE 117078
FIRESTONE ORDERNO W01 M58 8073
PHOENIX 1DK21K-4
MAX. TORQUE &

M 22x1,5 -20 Nm

M 12 - 40 Nm

M 16 -90 Nm

® combination stud



ABM series
> ABM 530 30 E OF NUMBER

BPW 05.429.41.56.0

252
2 TOP VIEW

I M18x1.,5
53030 1/4"
|
| 8 o CAOSS REFERENCE
‘ < & CONTITECH 4940 N P02
\ S GOODYEAR 1R11-799
i VIBRACOUSTIC VDK 21K-4
‘ MAX. TORQUE /&
M 18x1,5 - 40 Nm
I M12 - 40 Nm
M16 M 16 -90 Nm
» ABM 530 30 E 05 LI
TOP VIEW BOTTOM VIEW
gﬂ 3 LLQ
M18x1,5
| /4" [
o
S
o
&
@ Q
MAX. TORQUE /%
M 18x1,5 - 40 Nm
@290 (max.a300) M12 -40Nm
M 16 -90 Nm
STEEL PISTON
» ABM 530 30 E 07 OF NUMBER
BPW 05.429.43.24.0; 05.429.43.32.0
TOP VIEW BOTTOM VIEW

M18x1,5

340

MAX, TORQUE

M 18x1,5 ~40Nm
@290 (max.300) M12 -40Nm
M 16 ~60Nm
PLASTIC PISTON
> ABM 530 30 F E NUMBER
BPW 05.429.41.77.0
@252 TOP VIEW
CROSS REFERENCE
CONTITECH 4960 N P02
: M12¢15 GOODYEAR 1R11-801
E= M20x1 5 : FIRESTONE 117 468
35030 FIRESTONE ORDERNO W01 M58 9704
PHOENIX 1DK21K3
. VIBRACOUSTIC V1DK21K3
o)
8 MAX, TORQUE /%
M12x1 5 -20Nm
M 20115 -40Nm
M12 -40Nm
M16 -30 Nm
FITTING KIT (pm
NFK 035

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 530 30 F 05

TOP VIEW

M12x1,5
M20x1,5

340

@290 (max.2300)

> ABM 530 30 F 07

e %

TOP VIEW

ABM 530 30 M20x1.5

340

150

@195
@290 (max.300)

> ABM 530 30 F 09

M12x1,5
| M20x1,5

360

170

‘ TOP VIEW
T ==

BOTTOM VIEW

o~
[Yp}
N
Q
STEEL PISTON
BOTTOM VIEW
o~
[v9)
o~
Q
PLASTIC PISTON
BOTTOM VIEW
.
R A
)
N
5 &

@200
@290 (max.2300)

> ABM 530 30 G

2252 TOP VIEW

]

i
530 30

425

2x M12

STEEL PISTON

@ bolt/stud O hole/threaded hole

M16

& air inlet

OE NUMBER
BPW

MAX. TORQUE /%
M 12¢1,5

M 20x1,5

M12

M 16

OE NUMBER
BPW

CROSS REFERENCE
GOODYEAR
VIBRACOUSTIC

MAX_ TORQUE /%
M 12¢1,5

M 20x1,5

M12

M 16

OE NUMBER
GIGANT

CROSS REFERENCE
VIBRACOUSTIC

MAX, TORQUE /¥
M 12x1,5

M 20x1,5

M12

M 16

OE NUMBER
BPW

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX_TORQUE ¥
M 22x1,5

M 12

M 16

-20Nm
-40Nm
-40Nm
-90Nm

05.429.43.23.0

1R11-823
V1DK21K-3Y8

-20Nm
-40Nm
-40Nm
-B60 Nm

166294

V1 DF 21 A2-166294

-20Nm
-40Nm
-40Nm
-90 Nm

05.429.42.04.0

4961 N P02
1R11-800
V1DK21K-6

-20Nm
-40Nm
-90Nm

® combination stud



ABM series

> ABM 530 30 G 05

ﬂ
ABM | 530 30,

P

h

@290 (max.2300)

148

340

TOP VIEW

OE NUMBER
BPW

BOTTOM VIEW

2x M12

> ABM 530 30 G 07

0
;“‘LH' T

h

340

2290 (max.300)

MAX. TORQUE /%

> ABM 530 30 R 09

> ABM 531 27 A

| |
g Lr = g
Q
[sp]
J LJ o
@200
@290 (max.3300)

2222

410

@ bolt/stud

M 22x1,5
M12
STEEL PISTON M16
OE NUMBER
BPW
TOP VIEW BOTTOM VIEW
2xX M12
MAX, TORQUE /%
M 22x1,5
M12
PLASTIC PISTON M 16
OE NUMBER
GIGANT
TOP VIEW BOTTOM VIEW
M1
%\
CROSS REFERENCE
VIBRACOUSTIC

TOP VIEW

MAX, TORQUE /¥
M 22x1,5
M 12

STEEL PISTON M 16

OE NUMBER
MAN

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
CONTITECH
VIBRACOUSTIC

O hole/threaded hole

MAX. TORQUE &
M 16x1,5
M 12x1,5

& air inlet

® combination stud

-20Nm
-40Nm
-90Nm

05.429.43.27.0; 05.429.43.28.0

-20 Nm
- 40 Nm
- 60 Nm

166292

V1 DF 21 A1-166292

-20Nm
-40 Nm
-90 Nm

81.43601.0060; 81.43601.0160

178 260-20
207764
4885 N1 P01
V1 DF19C-1

-20Nm
-40Nm



NECTEC

> ABM 531 27 A 01

TOP VIEW BOTTOM VIEW

\, \J

@260 (max.2270)

STEEL PISTON

> ABM 531 27 A 11

TOP VIEW BOTTOM VIEW

3
o
g
i
s
i
s
o
il
o

x| lv
@175

@260 (Max.@270)

PLASTIC PISTON

> ABM 533 28 C

@222

| M

TOP VIEW

ABM| 533 28

435

TOP VIEW BOTTOM VIEW

264

130

@270 (maox.2280)

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH

CF GOMMA

CF GOMMA CODE

MAX. TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

FITTING KIT (pm
NFK 031

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH

MAX_ TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5
M 12x1,5

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M12x15

M 18x2

FITTING KIT ('
NFK 038

81.43600.6044

4885 N1 P02
175 260-20
207764

-20Nm
- 40 Nm
-90Nm

4885 N1 P02

-20Nm
-40Nm
-90Nm

81.43601.0168

4862 N1 P01
V1 DF 16 B-1 NP

-20 Nm
-40 Nm

81.43600.6049

4862 N1 P02
V1 DF 16 B-1

-20 Nm
-40 Nm
-90Nm

® combination stud



ABM series
> ABM 533 28 C 11 OF NUMBER

MAN

TOP VIEW BOTTOM VIEW

CROSS REFERENCE
CONTITECH 4862 N1 P02

MAX, TORQUE /¥

@270 (max.2280) M 16x1,5 -20Nm
M12x15 -40Nm
M 18x2 -90 Nm
PLASTIC PISTON
> ABM 535 30 D OF NUVBER
VOO 1076 535
@252
TOP VIEW
M16x1,5
ABM 535 30
| 2
‘ <
‘ CROSS REFERENGE
| CONTITECH 4713 N P04
i GOODYEAR 1R12-763
MAX_ TORQUE /%
= M 16x1,5 -20Nm
- I A
D138 M10 35 Nm
» ABM 535 30 D 10 OE NUMBER
VOO 1076 534; 20 554 755
TOP VIEW BOTTOM VIEW
CROSS REFERENCE
CONTITECH 4713 N P02
‘ FIRESTONE 1717 BR-8
- FIRESTONE ORDERNO W01 M58 9706
3 GOODYEAR 1R12-762
| PHOENIX 1DF22C1
! VIBRACOUSTIC V1 DF22C-1
W, | /3
4‘ MAX, TORQUE /%
H M 16x1,5 -20 Nm
hilg M10 -35Nm
@200 ,
@290 (max.2300) - - FITTING KIT (3D
STEEL PISTON NFK 020
> ABM 535 30 D 17 OF NUMEER
VLo 20554770
TOP VIEW BOTTOM VIEW
B [55550]
el
< )
;%7 MAX, TORQUE /&
M 16x1,5 -20 Nm
@290 (max.2300) M 10 %5 N

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 535 30 D 18 OE NUMBER
() 20 554 768
| ‘ g TOP VIEW BOTTOM VIEW
ABM 535 30,
| _
i 3
\J /3
S
MAX_ TORQUE /P
2197 M 16x1.5 -20Nm
@290 (max.2300) M10 -35Nm
STEEL PISTON
» ABM 536 30 K O g e
5752 VoLV 107971
‘ TOP VIEW
53530
\
\ o
| N
‘ <
\ CROSS REFERENCE
i CONTITECH 4718 N P02
MAX_ TORQUE /%
M 16x1,5 -20 Nm
M10 -35Nm
OF NUMBER
VOLvO 20 554 759
TOP VIEW BOTTOM VIEW
CROSS REFERENCE
CONTITECH 4718 N P01
MAX. TORQUE &
M 16x1,5 -20Nm
M10 -35Nm
@290 (max. @300) FITTING KIT (b ®
NFK 020
STEEL PISTON
> ABM 537 30 A 0 g
@252 TOP VIEW WEWELER
I
@153;30‘ -
CROSS REFERENCE
GOODYEAR 1R11-878
MAX, TORQUE &
M 22x1,5 -20 Nm
M 12 -40 Nm
M 12 -B0 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 537 30 A 15

L
W?

400

U

171

Y\

@290 (max.2300)

> ABM 537 30 B

[ABM)| 537 30 M22X1,5

475

MI12

> ABM 537 30 B 15
i

S

ABM, 537 30

400

175

@290 (Max.2300)

> ABM 537 30 C

2252

i
53730

@ bolt/stud O hole/threaded hole

TOP VIEW

2x M12

TOP VIEW

TOP VIEW

2x M12

TOP VIEW

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

® air inlet

OF NUMBER

MERCEDES A 946 328 1401
ROR 2122 1307
WEWELER US 07364
CROSS REFERENCE

CONTITECH 4157 N P04
CF GOMMA 11300-40

CF GOMMA CODE 207463
FIRESTONE 1T15 MPW-7
FIRESTONE ORDERNO W01 M58 6297
GOODYEAR 1R11-111
PHOENIX 1DK21C-4
VIBRACOUSTIC V10K 24 A4
MAX. TORQUE /%

M 22¢1,5 -20 Nm
M12 - 40 Nm
M12 - 40 Nm

OF NUMBER

MERCEDES

MAX, TORQUE /%

M 22¢1,5 -20Nm
M12 - 40 Nm

OF NUMBER

MERCEDES A 946 328 1401
CROSS REFERENCE

CONTITECH 4157 NP14
MAX. TORQUE /%

M 22¢1,5 -20 Nm
M12 - 40 Nm
M12 - 40 Nm

OF NUMBER

WEWELER

CROSS REFERENCE

GOODYEAR 1R11-877
MAX. TORQUE /%

M 22¢1,5 -20 Nm
M10 -35Nm
M12 -60Nm

® combination stud



NECTEC

ABM 537 30,

400

193

@213

@260

@290 (max.2300)

> ABM 537 30 F

2252

%%@

[ABM, 537 30

ABM, 537 30

400

L

171

@290 (max.300)

‘ =
|

122

330

T
@241 ‘
@290 (max.300)

@ bolt/stud

> ABM 537 30 C 20

TOP VIEW

TOP VIEW

M12x1,5
M20x1,5

> ABM 537 30 F 15

iy

> ABM 537 30 F 21

[oN
[vo)
N
Q
TOP VIEW
M12x1,5
M20x1,5
TOP VIEW
M12x1,5
M20x1,5
(o
n
N
Q

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
WEWELER

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_TORQUE /%
M 22¢1,5

M10

M12

FITTING KIT (0
NFK 009

OE NUMBER
FRUEHAUF
NEWAY
SVB

CROSS REFERENCE
GOODYEAR
VIBRACOUSTIC

MAX_ TORQUE /%
M 12¢1,5

M 20x1,5

M12

M12

OE NUMBER
FRUEHAUF
NEWAY
SMB

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX. TORQUE /%
M12x15

M 20x1,5

M12

M12

FITTING KIT (A
NFK 003

QE NUMBER
FRUEHAUF
NEWAY
SAMRO

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORQUE /%
M12x15

M 20x1,5

M12

M12

FITTING KIT (@
NFK 018

US 06316

4157 N P06
1715 MPW-7
W01 M58 8186
1R11-764
1DK20 A1
V1DK20A-1

-20Nm
-35Nm
-B60 Nm

1R11-753
V1 DK20A-1NP

-20Nm
-40Nm
-40Nm
-B60 Nm

4157 N P03
1R11-881

-20 Nm
- 40 Nm
- 40 Nm
- 40 Nm

4157 N P08
V1DK20C-2

-20 Nm
-40 Nm
-40 Nm
-60Nm

® combination stud



ABM series

> ABM 537 30 F 22
?”ﬁ ? @“\
i Moonl 2
s
[ ois
2290 (max.2300)
> ABM 537 30 H
@252

M12x1,5
M22x1,5

J)

@290 (max.2300)

> ABM 537

M12x1,5
M22x1,5

8

<

30 H 16

M12x1,5
M22x1,5

8

<

@290 (max.2300)

@ bolt/stud

TOP VIEW

2259

TOP VIEW

2259

TOP VIEW

TOP VIEW

2259

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

® air inlet

OE NUMBER
FRUEHAUF
SVB

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /¥
M 12¢1,5

M 20x1,5

M12

M12

FITTING KIT (P
NFK 018

OE NUMBER
ROR
WEWELER

CROSS REFERENCE
GOODYEAR

MAX, TORQUE /%
M 12¢1,5

M 22¢1,5

M12

M12

OE NUMBER
WEWELER

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR
VIBRACOUSTIC

MAX, TORQUE /¥
M 12¢1,5

M 22¢1,5

M12

M12

FITTING KIT (p®
NFK 003

OE NUMBER
ROR
WEWELER

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 12x1,5

M 22¢1,5

M12

FITTING KIT ('
NFK 003

® combination stud

UJB 0975
M060924

4157 NP10
1R11-772
1715 MPW-7
W01 M58 6315
1DK20A-51
V1DK20A-51

-20Nm
-40Nm
-40Nm
-40Nm

1R11-761

-20 Nm
- 40 Nm
- 40 Nm
- 60 Nm

US 07074C; US 07074P; US 08840

4157 N P05
1715 MPW-7
W01 M58 8840
1R11-882
V1DK21A3

-20Nm
-40Nm
-40Nm
-40Nm

2122 2442
US 07074

4157 N P03
1715 MPW-7
W01 M58 7074
1R11-106
1DK21A-31
V1DK21A-31

-20Nm
-40Nm
-40Nm
-40Nm



NECTEC

> ABM 537 30 L O NUMEER

2252

ROR

TOP VIEW

M12x1,5

[ABM) 537 30

[
<
MAX, TORQUE /¥
M 12¢1,5 -20 Nm
M 12 - 40 Nm
M 12 -60 Nm
M12
» ABM 537 30 L 15 OE NUMBER
ROR 21229214
ﬂ TOP VIEW BOTTOM VIEW
I I
== T ==i
? § M12x1,5
o
3 o
N CROSS REFERENCE
% FIRESTONE 1117047
J L ~ FRESTONE ORDERNO WO M58 8508
N PHOENIX 1DK 22 D-1
MAX_TORQUE  /~
M 12x1,5 -20Nm
M12 - 40 Nm
@290 (max.@300) PLASTIC PISTON M 12 - 40 Nm
» ABM 539 29 A E NUVEER
MAN 81.43601.0152; 81.43601.0174; 81.43601.0175
2242 TOP VIEW
CROSS REFERENCE
CONTITECH 4884 N1 PO
GOODYEAR 1R11-820
VIBRACOUSTIC V1 DF 19 B-1 NP
MAX. TORQUE /¥
M 16x1,5 -20 Nm
M 12¢1,5 - 40 Nm
> ABM 539 29 A 02 OE NUMBER
MAN 81.43600.6035; 81.43600.6055
TOP VIEW BOTTOM VIEW
CROSS REFERENCE
CONTITECH 4884 N1 P0G
L MI8x2 FIRESTONE 1717 TWR-8
/ FIRESTONE ORDERNO W01 M58 9880
/ GOODYEAR 1R11-861
/ A VIBRACOUSTIC V1DF19B-1
MAX. TORQUE /%
M 16x1,5 -20Nm
M 12¢1,5 -40Nm
M 18x2 -90 Nm
@280 (max.290)
FITTING KIT (3B
STEEL PISTON NFK 038

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
> ABM 539 29 A 12 OF NUMBER

MAN

TOP VIEW BOTTOM VIEW

‘ R CROSS REFERENCE
— CONTITECH 4884 N1 P0G
| o FIRESTONE 1717 TWR-8
i I FIRESTONE ORDERNO WO M58 9880
i i GOODVEAR 1R11-861
; ik . VIBRACOUSTIC V1DF1981
@200
@280 (max.2290) MAX, TORQUE /¥
M 16x1,5 ~20 Nm
M12¢1,5 ~40Nm
PLASTIC PISTON M8 - 90Nm
> ABM 539 29 B OF NUMBER
MAN
242
TOP VIEW
M12x1,5
2x M16x1,5
%
S 8
MAX_TORQUE
M 16x1,5 -20 Nm
M 12¢1,5 - 40 Nm
©130,8
> ABM 539 29 B 03 OF NUVBER
MAN 81.43600.8041

TOP VIEW BOTTOM VIEW

2x M16x1,5

Y CROSS REFERENCE
CONTITECH 4884 N1 P07
% GOODYEAR 1R11-885
N
Q
MAX, TORQUE /%
M 16x1,5 -20 Nm

M12x1,5 - 40 Nm
M 18x2 -90 Nm

70,

@280 (max.2290) FITTING KIT (3

STEEL PISTON NFK 038
» ABM 540 28 N VEROEDES.
D222 TOP VIEW
VOSS 232
ﬁ/ [
=
@154026
135 MAX, TORQUE /¥
180 M 16x1,5 -20Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 540 28 N 40 OF NUMBER

MERCEDES A 960 320 77 21; A 960 320 01 57;
A 960 320 68 57
TOP VIEW BOTTOM VIEW
VOSS 232
; i 4 “‘“*‘E 25 M16x1,5
M22x1,5
32
T o
1 Q0
‘ N
1 o
O
| )2
,@}m CROSS REFERENCE
3203 CONTITECH 6122 N P47
@270 (max.2280) MAX TORQUE &
STEEL PISTON M 16x1,5 -20 Nm

> ABM 540 28 R OF NUVBER

MERCEDES

@222
VOSS 232 TOP VIEW

S

[ABM) 540 28

‘ ©130,8

> ABM 540 28 R 40 OF NUMBER

MERCEDES A 950 320 00 57; A 960 320 70 21;
A950 320 67 57
TOP VIEW BOTTOM VIEW
VOSS 232
L
g M22x1,5
@32 | @5
! o \ %
I ) JE—
| o \ 8
| o |
~O
o O R |
AR \
2203 50 _|
@270 (max.2280) 135 CROSS REFERENCE
STEEL PISTON CONTITECH 6122 N P46

> ABM 541 27 B O NUVEER

MAN 81.43601.0151; 81.43601.0176
2222
TOP VIEW
@54127

| o
i X CROSS REFERENCE
1 CONTITECH 4882 N1 P01
‘ GOODYEAR 1R10-702
i VIBRACOUSTIC V1 DF 16-2 NP
| 60_| MAX, TORQUE. &
% M 16x1,5 -20 Nm

== M12x1,5 -40Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 541 27 B 01

\

ot |

I
ABM 541 27,

./

@260 (Max.@270)

TOP VIEW

> ABM 541 27 B 11

@260 (max.270)

@175

> ABM 543 29 A

T
—
—F—F
—F—++

[ABM|543 29

2242

505

©2130.8

TOP VIEW

TOP VIEW

> ABM 543 29 A 02

\_J/

|
|
|
‘
|
fl

1
2200

@280 (Max.2290)

@ bolt/stud

TOP VIEW

O holefthreaded hole @ air inlet

BOTTOM VIEW

M18x2

D

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

M18x2

oA
L/

STEEL PISTON

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

FITTING KIT (pm
NFK 038

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M 12x1,5

OE NUMBER
MAN

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
CONTITECH

MAX. TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

® combination stud

81.43601.6036; 81.43601.6056

4882 N1 P05
1717 TWR-8
W01 M58 9880
1R10-709

V1 DF16-2

-20Nm
- 40 Nm
-90Nm

4882 N1 P05
1717 TWR-8
W01 M58 9880
1R10-709

V1 DF16-2

-20Nm
-40Nm
-90Nm

81.43601.0153

4883 N1 P01
1R11-804
V1DF19C-1

-20Nm
-40Nm

81.43600.6038

175 290-30
207763
4883 N1 P07

-20Nm
-40Nm
-90Nm



NECTEC

> ABM 543 29 A 03

328

@280 (Max.3290)

TOP VIEW

> ABM 543 29 A 12

g
g
%
d
4
7K g

1l }
@200

2280 (max.2290)

> ABM 545 28 M

2252

TOP VIEW

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

TOP VIEW

M12x1,5
M22x1,5

> ABM 545 28 M 15

I

?‘—0—‘ T »—w?
i

400

@270 (max.280)

TOP VIEW

M12x1,5
M22x1,5

@ bolt/stud

BOTTOM VIEW

PLASTIC PISTON

O hole/threaded hole

& air inlet

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5

M 12x1,5

M 18x2

FITTING KIT (pm
NFK 037

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH

MAX, TORQUE /%
M 16x1,5

M 12¢1,5

M 18x2

OE NUMBER
MERCEDES

MAX, TORQUE /%
M 12¢1,5

M 22¢1,5

M12

M12

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

MAX, TORQUE /¥
M12x15

M 22x1,5

M12

M12

81.43600.6037

4883 N1 P06

-20Nm
- 40 Nm
-90Nm

4883 N1 P07

-20 Nm
- 40 Nm
-90 Nm

-20 Nm
- 40 Nm
- 40 Nm
- 60 Nm

A946 328 25 01

4162 N P01

-20 Nm
- 40 Nm
- 40 Nm
- 40 Nm

® combination stud



ABM series

> ABM 545 30 A CE g
2252
i TOP VIEW
4 |/
i M22x1,5

MAX_TORQUE /¥
M 22x1,5 -20Nm
M 12 - 40 Nm
M 12 -60 Nm
> ABM 545 30 A 22 OE NUVBER
WEWELER US 04200F
0. TOP VIEW BOTTOM VIEW
?“*’ il §
|
\
| o
\ Q
CROSS REFERENCE
J FIRESTONE 1117 DJ-8
| | - FIRESTONE ORDERNO W01 968 8540
Ll MAX. TORQUE. %
W R M 22x1.5 -20Nm
@205 M12 - 40 Nm
M 12 -60 Nm
@290 (max.@300) PLASTIC PISTON
» ABM 545 30 L OF NUVBER
ROR
@252
TOP VIEW
M12x1,5
MAX, TORQUE /%
M 12¢1,5 -20Nm
M 12 - 40 Nm
M12 -60Nm
> ABM 545 30 L 15 0E NUMEER
ROR 21229626; 21229214
ﬂ TOP VIEW BOTTOM VIEW
I I
== T HJQ
? M12x1,5
i
8
<
CROSS REFERENCE
FIRESTONE 1117 D7
FIRESTONE ORDERNO WO R88 8583
MAX. TORQUE /%
M 12x1,5 -20 Nm
2290 (max.2300) PLASTIC PISTON m E 33 m

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 547 29 P O NUMEER

RENAULT

@242 TOP VIEW

M16x1,5
M24x1,5

' = MAX. TORQUE 2
21308 M 16x1,5 -20Nm
M 24x1,5 - 40 Nm
» ABM 547 29 P 45 0

TOP VIEW BOTTOM VIEW

ﬁ ; i
| ,\ M16x1,5

M24x1,5
D16
: a4
o~
DU e
\J ! /| 2
1 CROSS REFERENCE
CONTITECH 4929 N PO
@200 MAX, TORQUE. %
@280 (max.2290) M 16x1,5 -20Nm
M 24x1,5 -40 Nm
STEEL PISTON
» ABM 547 29 S OF NUVEER
DAFADL
TOP VIEW
@242
MAX, TORQUE. /%
M22x15 -20 Nm
M10 - 40 Nm
> ABM 547 29 S 03 0F NUMEER
DAFADL 30023248; 45015340; 5015340
TOP VIEW BOTTOM VIEW
ﬁqﬁl Lol
T §
M16
j >
Jd 7
3 CROSS REFERENCE
2 CONTITECH 929 N P01
|
@]‘%M MAX. TORQUE. /f©
M22x1,5 -20 Nm
@280 (max. @290) M10 - 40 Nm
STEEL PISTON M 16 -90Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

> ABM 549 29 P OE NUMBER
RENAULT
@242
TOP VIEW
M
D
P\
| = M16x1,5
[z 54929 M24x1,5
| o)
| &
i <
] MAX, TORQUE &
= M 16x1,5 -20 Nm
21908 M 24x1,5 -40 Nm
> ABM 549 29 P 50 OENUMBER.
RENAULT 5.010.557.622; 5.010.630.457; 7.421.978.484
Voo 21978 490; 20 735 220
TOP VIEW BOTTOM VIEW
|
gﬂ | Ig
M16x1,5
| M24x1,5
D16
o \\
N
| 3
\J | J ~
Aj CROSS REFERENCE
CONTITECH 4919 N P01
@200
MAX. TORAUE
@280 (Max.2290) M 1815 » o0
M 24x1,5 - 40 Nm
STEEL PISTON
> ABM 550 30 A OE NUMBER
BPW 05.429.40.03.0
@252
<m—> TOP VIEW
—— CROSS REFERENCE
- CONTITECH 941 MB
; i FIRESTONE 1717 D-8.3
[RBi|e50%0 M22x1,5 FIRESTONE ORDERNO W01 M58 8620
******* T . GOODYEAR 1R11-700
PHOENIX 10K21
VIBRACOUSTIC VDK 21
MAX, TORQUE /¥
M 22x1,5 -20 Nm
M12 - 40 Nm
M 16 -90 Nm
FITTING KIT (3®
NFK 026
> ABM 550 30 A 06 OF NUMBER
BPW 05.429.40.10.1; 05.429.40.28.1; 05.429.40.36.1
05.429.40.52.1; 05.429.40.64.1
. TOP VIEW BOTTOM VIEW
F T
CROSS REFERENCE
0 FIRESTONE 1717 D-8.3
FIRESTONE ORDERNO W01 M58 8513
GOODYEAR 1R11-762
o PHOENIX 1DK21-1
3 VIBRACOUSTIC V1 DK 21 X1
MAX, TORQUE /¥
M 22x1,5 -20 Nm
M12 - 40 Nm
M 16 -90 Nm
FITTING KIT '®
NFK 013

STEEL PISTON

2290 (max.2300)

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 550 30 A 25

\
il

ABM, 550 30

195

400

2195

@290 (max.300)

TOP VIEW

2x M12

> ABM 550 30 A 29

)

X0
XXX
oo

o
QR

3
35
6%

.,,
o2

R RRRTTT
KKK
(00000,
96%6%

et

o

%

195

385

2290 (max.@300)

> ABM 550 30 E

2252

T
+
+
+
t

|
[ABM| 550 30

e

TOP VIEW

2x M12

TOP VIEW

M18x1,5
1/4"

> ABM 550 30 E 06

ABM 550 30,

i

\

Xz
N

N

SSANNNN

it

193

400

@290 (max.2300)

o

wn

I

Q

TOP VIEW

M18x1,5
1/4"

[N

wn

I

Q

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER
BPW

CROSS REFERENCE

CONTITECH 941 MB P30
FIRESTONE 1117 D-8.3
FIRESTONE ORDERNO WO M58 8668
GOODYEAR 1R11-743
PHOENIX 10K 21-2
VIBRACOUSTIC V1DK21Y1
MAX. TORQUE /&

M 22¢1,5 -20Nm

M12 -40Nm

M 16 -60Nm
FITTING KIT (3@

NFK 013

OF NUMBER

BPW 05.429.43.85.0
CROSS REFERENCE

CONTITECH 941 MB P01
FIRESTONE 174118
FIRESTONE ORDERNO W01 M58 8072
PHOENIX 10K21-4
MAX, TORQUE /%

M22x1,5 -20Nm

M12 -40Nm

M 16 -90 Nm

OF NUMBER

BPW 05.429.41.25.0
CROSS REFERENCE

CONTITECH 4941 N P02
GOODYEAR 1R11-802
VIBRACOUSTIC V1 DK 24-4
MAX. TORQUE /%

M 18x1,5 - 40 Nm

M12 - 40 Nm

M 16 -90 Nm

OF NUMBER

BPW

MAX, TORQUE. /¥

M 18x1,5 - 40 Nm

M12 - 40 Nm

M 16 -90 Nm

® combination stud

05.429.43.20.0; 05.429.43.34.0; 05.429.43.56.0



ABM series

> ABM 550

30 E 25

i

gzg g |
|
I

ABM, 550 30

%

M18x1,

400

195

2195

> ABM 550

30 F

TOP VIEW

5

2252
l TOP VIEW
‘ A\
@M‘ssz‘lso‘ M12x1,5
M20x1'5
|
‘ [o
|
|
> ABM 550 30 F 06
;ﬂ@ | ﬂ,_g TOP VIEW
\ E2
M12x1,5
| M20x1'5
§ o~
8
%4
%4 &
v,
@290 (max.2300)
> ABM 550 30 F 25
;”ﬁ ‘ ML—% TOP VIEW
} ==
| M12x1,5
‘ M20x1'5
o
8
o
Q
| y S
| g
|
2195
3290 (max.@300)
@ bolt/stud O hole/threaded hole

BOTTOM VIEW

OE NUMBER
BPW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

MAX. TORQUE /&2
M18x1,5

M12

M16

OF NUMBER
BPW

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX TORQUE /2
M12x1,5

M 20x1,5

M12

M 16

OE NUMBER
BPW

MAX TORQUE /&
M 12315

M 20x1,5

M 12

M 16

OE NUMBER
BPW

PLASTIC PISTON

& air inlet

MAX TORQUE /&
M 12x1,5

M 20x1,5

M 12

M16

® combination stud

05.429.43.25.0

-40Nm
-40Nm
-60Nm

05.429.42.54.0

4963 N P01
V1DK21-6

-20 Nm
- 40 Nm
- 40 Nm
-90 Nm

-20Nm
-40Nm
-40Nm
-90 Nm

-20Nm
-40Nm
-40Nm
-B60 Nm



NECTEC

> ABM 550 30 G

2252

]

T
—
[ABM, 550 30

TOP VIEW

> ABM 550 30 G 06

I

g F

h

2290 (max.2300)

400

TOP VIEW

2x M12

> ABM 550 30 G 25

L
? i

h

195

400

2195
2290 (max.@300)

> ABM 551 30 M

2252

@116,5

@ bolt/stud

TOP VIEW

2x M12

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
BPW

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
BPW

MAX. TORQUE /%
M22x1,5

M12

M 16

OE NUMBER
BPW

MAX. TORQUE /%
M 22x1,5

M12

M 16

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE &
M 22x1,5
M 12

05.429.42.03.0

4962 N P02
1R11-803
V1DK21-5

-20Nm
-40Nm
-90Nm

-20Nm
-40Nm
-90Nm

05.429.43.29.0; 05.429.43.30.0

-20 Nm
-40 Nm
-B60Nm

246169

724 N P01
1R11-711
V1 DF 21-246169

-20 Nm
- 40 Nm

® combination stud



ABM series

> ABM 553 30 C

2252

55330

TOP VIEW

C 20

193

400

@13

@260
2290 (max.300)

> ABM 570 30 A

2252

FTI

TOP VIEW

TOP VIEW

> ABM 570 30 A 06

]

|
Ll
==i
|

A

440

@290 (Max.2300)

@ bolt/stud

TOP VIEW

2x M12

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

® air inlet

OE NUMBER
SCHMITZ
WEWELER

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX, TORQUE /¥
M 22¢1,5
M10

OE NUMBER
SCHMITZ
WEWELER

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX_TORQUE
M 22¢1,5

M10

M12

FITTING KIT (3w
NFK 009

OE NUMBER
BPW

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

MAX. TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
BPW

CROSS REFERENCE
GOODYEAR

MAX, TORQUE /¥
M 22¢1,5
M 12

® combination stud

4158 N P02
1715 MPW-9
W01 M58 6257
1R12-748
1DK20B-1NP
V1DK20B-1NP

-20Nm
-35Nm

750999
US 06285

4158 N P03
1715 MPW-9
W01 M58 8185
1R12-743
1DK20B-1
V1DK20B-1

-20Nm
-35Nm
-B60 Nm

05.429.40.72.0

951 MB

1m17 D12
W01 M58 8621
1R11-704

-20Nm
-40Nm
-90Nm

05.429.41.20.1

1R11-715

-20Nm
-40Nm
-90Nm



NECTEC

> ABM 570 30 A 25

.

P‘DIJ

@290 (max.2300)

ABM' 570 30
I

195

440

@195

TOP VIEW

2x M12

> ABM 570 30 A 26

1

OOV TN

@290 (max.2300)

192

440

@207

> ABM 580 30 M

2252

l

> ABM 582 30 N

e

e ——
I
58030

425

21165

2242

VOSS 232
q@ J I

56230

340

2130.8

TOP VIEW

2X M12

TOP VIEW

TOP VIEW

135

180

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

20

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet

OE NUMBER
BPW

MAX. TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
BPW

CROSS REFERENCE
GOODYEAR

MAX, TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX, TORQUE /%
M 22¢1,5
M12

OE NUMBER
MERCEDES

MAX. TORQUE /%
M 16x1,5

-20Nm
-40Nm
-60Nm

1R11-715

-20 Nm
- 40 Nm
- 60 Nm

166271; 247104

4007 N PO1
V1 DF 21 A-247104

-20 Nm
- 40 Nm

-20 Nm

® combination stud



ABM series
> ABM 582 30 N 37

TOP VIEW

VOSS 232

AA
2225

@290 (max. @300)

> ABM 582 30 R

2242

VOSS 232
q@ 1m

58230

TOP VIEW

340

|_21308

> ABM 582 30 R 37

@259

VOSS 232 TOP VIEW
b
g M22x1,5
ABM| 582 30 @32
| 3
i N
wn
«©
AlA !
2225 |
@290 (max. @300) i

> ABM 585 30 K 18

TOP VIEW

2197

@290 (max.2300)

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER

MERCEDES A9603200121

CROSS REFERENCE
CONTITECH 6126 N P40

MAX. TORQUE /%
M 16x1,5 -20 Nm

OE NUMBER
MERCEDES

OE NUMBER
MERCEDES A960 320 02 21

CROSS REFERENCE
CONTITECH 6126 N P41

OE NUMBER
Voo 1629780

MAX. TORQUE /%
M 16x1,5 -20Nm
M 10 -35Nm

® combination stud



NECTEC

> ABM 586 30 N

242
VOSS 232
q@/ R TOP VIEW
"’“ % M22x1,5 2 M16xT,S
i 232
| . R
i o)
\ ¥ | 8
| |
\ |
| A»‘
135
2130,8 180
> ABM 586 30 N 38
VOSS 232
TOP VIEW

ABM, 586 30

280

AR
2225
@290 (max. @300)

> ABM 586 30 R

D242

@%’Mvoss 232
[ |

]
566 30

TOP VIEW

465

135

|_21308

> ABM 586 30 R 38

VOSS 232

TOP VIEW

!

.
\ (
M22x1,5

‘ @32

280

@}@
@225
@290 (max. @300)

@ bolt/stud

O hole/threaded hole

OE NUMBER
MERCEDES

MAX. TORQUE /%

M 16x1,5 -20Nm

OE NUMBER

MERCEDES A960 320 13 57
BOTTOM VIEW

CROSS REFERENCE

CONTITECH 6120 N P48

MAX. TORQUE /%
M 16x1,5 -20 Nm

STEEL PISTON

OE NUMBER
MERCEDES

OE NUMBER
MERCEDES A'960 320 1757

BOTTOM VIEW

CROSS REFERENCE
CONTITECH 6120 N P49

STEEL PISTON

@ air inlet  ® combination stud



ABM series
> ABM 594 32 R

2256
VOSS 232

o

[ABM| 594 32

TOP VIEW

450

|
—F
—F
—7
1
1

|_213038
» ABM 594 32 R 39

VOSS 232 TOP VIEW

i
e
! €

303

\ | /

AR

155

@225
@310 (max. @320) 135

> ABM 5441 33 T 40

TOP VIEW

| ]
2‘* ‘ WK 2x 1/4-18 NPT
‘ 3/4-16 UNF
i

@320 (Max.2330)

> ABM 5456 31 M

2242

TOP VIEW

<+

TABM| 5456 31 M12x1,5
M22x1,5

555

2259

M~

@ bolt/stud O hole/threaded hole

& air inlet

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

4x 1/2-13 UNC

STEEL PISTON

OE NUMBER
MERCEDES

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

OE NUMBER
WATSON & CHALIN

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE ORDER NO
AUTOMANN

TRP

TRIANGLE

MAX, TORQUE /¥
114"
34
112"

OE NUMBER
SCHMITZ

MAX, TORQUE /¥
M 12¢1,5

M 22¢1,5

M8

® combination stud

A 960 320 34 57; A 960 320 76 57

6131 N P40

AS-0107-G

1010-16S 724
1R13-155
W01-358-8637
1DK25E-8637
AS07243
AS-8724

- 19 Ib/ft
- 30 Ib/fe
- 30 Ib/fe

-20Nm
-40Nm
-20Nm



NECTEC

> ABM 5456 31 M 46

.

ABM) 5456 31

N

415

176

I
2229

@305 (max.2315)

TOP VIEW

M12x1,5
M22x1,5

2x M8

2259

> ABM 5545 29 S

TOP VIEW

> ABM 5545 29 S 51

m;h,

b haid

ABM , 5545 29,
I

’

h

311

144

T
|

2260

@280 (max.2290)

TOP VIEW

60,5

> ABM 5648 35 C 04

TOP VIEW

| m
T g
I

ABM 15648 35,

K

370

145

M16x1,5
M24x1,5

2260

@340 (max.@350)

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OF NUMBER

SCHMITZ 1077928

CROSS REFERENCE

GOODYEAR 1R12-851

MAX. TORQUE 2

M 12x1.,5 -20 Nm

M 22x1.,5 - 40 Nm

M8 -20 Nm

M 12 - 40 Nm

OF NUMBER

RENAULT

Voo

MAX. TORQUE 2

M 16x1,5 -20 Nm

M 12 - 40 Nm

OF NUMBER

RENAULT 22 025 580; 5.010.630.800; 5.010.305.391;
7.422.025.580

Voo 22025612; 20722409; 25379286

CROSS REFERENCE

CONTITECH 4927 N PO

MAX, TORQUE &

M 16x1,5 -20 Nm

M 12 - 40 Nm

M 12 - 40 Nm

OF NUMBER

RENAULT 5.010.388.723

CROSS REFERENCE

FIRESTONE 111768

FIRESTONE ORDERNO W01 455 8712

MAX. TORQUE &

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

M 12x1,25 -30 Nm

M 12x1,25 -30 Nm

® combination stud



ABM series

> ABM 630 32 A OF NUMBER
MAN 81436010158
2256
TOP VIEW
==s=- Mi2x1,5
63032

CROSS REFERENCE
CONTITECH 4916 N1 PO
MAX. TORQUE %
M 16x1,5 -20 Nm
M12¢1,5 - 40 Nm
» ABM 630 32 A 01 OE NUMBER
MAN 81.43600.6042; 81.43601.0158

TOP VIEW BOTTOM VIEW

M18x2

KJ CROSS REFERENCE

CONTITECH 4916 N1 P07

|
=z
I

@210
@310 (max. @320)

MAX_ TORQUE /%

M 16x1,5 -20 Nm
STEEL PISTON M12x1,5 -40Nm
M 18x2 -90 Nm
» ABM 640 32 A OE NUMBER
D05 MAN 81.43601.0155
TOP VIEW
— M12x1,5
64032
i
| o
i 3
w CROSS REFERENCE
\ CONTITECH 4705 N1 PO
i VIBRACOUSTIC V1 DF 26-1 NP
L % MAX. TORQUE /&
== M 16x1,5 -20 Nm
T @15*(')8 M 12x1,5 - 40 Nm
> ABM 640 32 A 01 OE NUMBER
MAN 81.43600.6039

TOP VIEW BOTTOM VIEW

/\ ><2
CROSS REFERENCE
CONTITECH 4705 N1 PO3
VIBRACOUSTIC V1 DF 26-1

328

| 8
\ \ -
‘ MAX. TORQUE &
2210 M 16x1,5 -20Nm
@310 (max. @320) M12x1,5 -40 Nm
STEEL PISTON M8 -90Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 640 32 A 02

@310 (max. @320)

TOP VIEW

> ABM 718 35 J 66

[ —
TS

260

@340 (Max.@350)

TOP VIEW

2x 1/4-18 NPTF
3/4-16 UNF-2A

> ABM 719 35 J 65

il il

?‘—'—‘ T ;HK
I

T

105

260

T
2292

@340 (max.@350)

TOP VIEW

2x 1/4-18 NPTF
3/4-16 UNF-2A

STEEL PISTON

BOTTOM VIEW

M18x2

BOTTOM VIEW

4x 1/2-13 UNC

ALU PISTON

BOTTOM VIEW

4% 1/2-1

> ABM 719 35 P 67

!

120

240

@258
@340 (max.2350)

@ bolt/stud

TOP VIEW

2x 1/4-18 NPTF
3/4-16 UNF-2A

O hole/threaded hole

@200

3UNC

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OE NUMBER
MAN

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5

M 12x1,5

M 18x2

OF NUMBER
BRAKE & WHEEL
DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR

REYCO

SAF

Voo

WATSON & CHALIN
CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
AP

TRIANGLE

MAX. TORQUE &
114

34

12

OE NUMBER
HENDRICKSON

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

MAX, TORQUE &
114
34"
172

OE NUMBER
HENDRICKSON

CROSS REFERENCE
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE 2
e
e
e

81.43600.6040

4705 N1 P04
1717 AR-10.5
W01 M58 8376
V1 DF 26-2

-20Nm
-40Nm
-90 Nm

M3510

3528050

B-12514-013; 5-4771; B-4771; 36514-13
562052

1685174C1; 1R14-241

23631-01

57008050

3130498

AS-0039

1110.5C-16 A 320
1R14-039

1719 J-6

W01 358 8050
AS80500
AS-8320  AUTOMANN 1DK 28 A-8050
- 15 Ib/ft

- 30 Ib/ft

- 25 Ib/ft

4771;12514-013

1110.5C-16 A 320
1719 J-6

W01 358 8050
1R14-039

- 15 Ib/fe
- 30 Ib/fe
- 30 Ib/fe

119 LC-6
W01 455 8083

- 15 1b/fe
- 30 Ib/fe
- 30 Ib/fe

® combination stud



ABM series

> ABM 722 34 A OE NUMBER
DAFDL
3269 TOP VIEW HENDRICKSON
NEWAY
I l ROR
h —— SAF
ABM‘72234
B
\ ¥ CROSS REFERENCE
| CONTITECH 810 MB/0
| GOODYEAR 1R14-868
! PHOENIX 1D 28 A5 NP
— MAX, TORQUE. /2
M 22x1,5 -20 Nm
o158 M 12 - 40 Nm
> ABM 722 34 A 35 QENUMBER
DAFAVDL 1384273
HENDRICKSON 506 243; 506 243 / 01; 785 168
NEWAY 212156 32
BOTTOM VIEW
I N TOP VIEW ROR 21208082; 21215632
= SAF 2,228.0002.00; 2.228.2102.00; 2.228.2202.00;
2,028.2402.00
CROSS REFERENCE
‘ CONTITECH 810 VB
| FIRESTONE mM9L7
‘ Q FIRESTONE ORDERNO W01 M58 6345
| @ GOODYEAR 1R14-716
PHOENIX 1D 28A2
! Q VIBRACOUSTIC V1D28A2
| = MAX. TORQUE. 2
‘ M 22¢1,5 -20 Nm
‘ ‘ w ‘ ‘ M 12 - 40 Nm
260 M12 -60 Nm
FITTING KIT ('®
330 (max. !
%] (max.2340) NFK 004
STEEL PISTON
> ABM 722 34 B E NUIBER
DAFAVDL
2269 HEW@CKSUN
0 ‘ i TOP VIEW O
= 5 SAF
@72234
! CROSS REFERENCE
} CONTITECH 810 MB/0
| GOODYEAR 1R14-868
‘ PHOENIX 1D 28 A5 NP
! MAX. TORQUE &
M 22¢1,5 ~20 Nm
M 12 - 40 Nm
M 12 ~60 Nm
OF NUMBER
DAFAVDL 1384273
TOP VIEW BOTTOM VIEW HENDRICKSON 506 243; 506 243 / 01; 785 168
NEWAY 212156 32
I | I ROR 21208082; 21215632
; e § SAF 2.228.0002.00; 2.228.2102.00; 2.228.2202.00;
\ 2,028.2402.00
CROSS REFERENCE
CONTITECH 810 MB
FIRESTONE mMgL7
FIRESTONE ORDERNO W01 M58 6345
GOODYEAR 1R14-716
PHOENIX 1D28A2
VIBRACOUSTIC V1D28A2
MAX, TORQUE &
‘ M 22¢1,5 ~20 Nm
2260 M12 - 40 Nm
@330 (max.2340) M 12 ~60 Nm
STEEL FISTON ITTING KIT (7®
NFK 004

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 722 34 B 39

|
; = =

A

J

oo

U

140

340

.

2260

@330 (max.2340)

> ABM 722 34 B 40

I
7

@330 (max.2340)

> ABM 722 34 C

2269

I

[ABM]| 722 34

> ABM 722 34 C 35

435

i

?W ==
ABM| 72234

i
ERRIILIR

N

140

340

T
@260

@330 (max.2340)

@ bolt/stud

TOP VIEW

TOP VIEW

TOP VIEW

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

4X M12

74N\
N\~
@

i

@200

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
ACERBI-VIBERTI
BERTOJA
Z0RZI

CROSS REFERENCE
CF GOMMA
CF GOMMA CODE

MAX, TORQUE /¥
M 22¢1,5

M 12

M 16

OF NUMBER
SAF

MAX. TORQUE &
M 22¢1,5

M 12

M 12

OE NUMBER
SAF

CROSS REFERENCE
PHOENIX

MAX, TORQUE &
M 22¢1,5

M12

M12

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE

FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE &
M 22x1,5

M 12

M 12

FITTING KIT (D
NFK 012

128147109
46311001
1006546

1T19E1
96884

-20Nm
- 40 Nm
-90 Nm

-20Nm
-40Nm
-40Nm

1D 28 A-10NP

-20 Nm
- 40 Nm
- 60 Nm

3.229.0027.00; 3.229.2127.00; 3.229.2227.00

4810 N P05
M9 L7

W01 M58 6338
1R14-730
1D28A-10
V1D28A-10

-20 Nm
-40 Nm
-B60 Nm

® combination stud



ABM series
> ABM 722 34 C 36

ABM 722 34

P
|

140

340

1
2260

@330 (max.2340)

ﬁ%

2260

@330 (max.2340)

4

340

140

@330 (max.2340)

d.

ABM!722 34

h

340

140

T
2260

@330 (max.2340)

@ bolt/stud

TOP VIEW

> ABM 722 34 C 37

TOP VIEW

2x M12
M22x1,5

2287

> ABM 722 34 C 40

TOP VIEW

> ABM 722 34 C 41

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

70.7
50
30

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

PLASTIC PISTON

& air inlet

OF NUMBER
WEWELER US 07337RP
CROSS REFERENCE

GOODYEAR 1R14-825
FIRESTONE mM9L7
FIRESTONE ORDERNO WO M58 6222
PHOENIX 1D28A13
MAX. TORQUE /%

M 22¢1,5 -20 Nm

M12 - 40 Nm

M12 -60 Nm

OF NUMBER

SAF 3.228.1027.00
CROSS REFERENCE

CONTITECH 4810 N P08
MAX, TORQUE &

M 22¢1,5 - 20 Nm

M12 - 40 Nm

M 16 -90 N

OF NUMBER

SAF

MAX, TORQUE &

M 22¢1,5 -20 N

M12 - 40 N

M12 - 40 Nm

OF NUMBER

SAF 3.229.0042.00
MAX. TORQUE &

M 22x1,5 - 20 Nm

M 12 - 40 Nm

M 16 -50 Nm

® combination stud



NECTEC

> ABM 722 34 P OF NUVEER

ACERBI-VIBERTI

2269 TOP VIEW

1

E' I 2x M10x1,25
ABM| 722 34

| "
™
‘ ~
=== MAX. TORQUE. 2
M 22x1.,5 -20 Nm
M 10x1,25 -30 Nm
M12
> ABM 722 34 P 30 O NUVBER
ACERBI-VIBERTI 128147128
TOP VIEW BOTTOM VIEW
O 2% M10x1,25
T
o
<
o CROSS REFERENCE
CF GOMMA 1T 1961
Q CF GOMMA CODE 206643
MAX, TORQUE /&
M 22x1,5 -20 Nm
. M 10x1,25 -30 Nm
@330 (Max.2340) STEEL PISTON M 16x1,5 - 70 Nm

> ABM 722 34 S OF NUMBER

GRANNING

D269 TOP VIEW

m i l ) M12x1,5
% M20x1,5

I
[ABM| 722 34

435

MAX, TORQUE /¥

12x1,5 -20Nm
M 20x1,5 -40 Nm
M12 -40 Nm

> ABM 722 34 S 40 OF NUVBER

GRANNING 11903; 16120
TOP VIEW BOTTOM VIEW
m } ﬂ M12x1,5
? ‘ g M20x1,5
o
& CROSS REFERENCE
FIRESTONE mMaL7
FIRESTONE ORDERNO W01 681 7329
MAX_TORQUE /¥
12x1,5 -20Nm
M 20x1,5 -40 Nm
M12 -40Nm
@330 (max.2340) PLASTIC PISTON M12 -40 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
» ABM 722 34 Y

2269

360

@330 (max.340)

> ABM 722 34 U

2269

=
=

340

140

T
2260

@330 (max.340)

@ bolt/stud

TOP VIEW

1/4-18 NPTF
3/4-16 UNF-2A

1/2-13 UNC

TOP VIEW BOTTOM VIEW
1/4-18 NPTF
3/4-16 UNF-2A 1/2-13UNC 4 1/2.13 UNC

STEEL PISTON

TOP VIEW

BOTTOM VIEW

STEEL PISTON

O holefthreaded hole  ® air inlet

OE NUMBER
BRAKE & WHEEL
DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR
NEWAY

REYCO

SAF

Voo

WATSON & CHALIN

MAX, TORQUE &

OE NUMBER
BRAKE & WHEEL
DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR
NEWAY

REYCO

SAF

Voo

WATSON & CHALIN
CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
TRP

TRIANGLE
AUTOMANN

OE NUMBER

CROSS REFERENCE

MAX, TORQUE /%
34
M 12

OE NUMBER

CROSS REFERENCE

MAX, TORQUE /¥
63/4-14
M 12

® combination stud

- 15 b/fe
- 30 Ib/fe
- 30 Ib/fe

M3517
352-9121
5-13160
5C2040
554773C1
90557110
6424

90557018; 80557010; 90557052; 90557078;
90557083; 90557110; 90557324; 90044702;

90054060
3130503
AS-0013

1110.5-17 A317
1R14-215
1m8eL7

W01 358 9141
AS91210
AS-8317
1D286-9121

- 30 Ib/fe
-40 Nm

-20Nm
- 40 Nm
- 60 Nm

MAX. TORQUE /&

4
3/4"
17"
17"

- 15 1b/fe
- 30 Ib/fe
- 30 Ib/fe
- 30 Ib/fe



NECTEC

> ABM 728 33 B

D269

T—
==

72833

465

TOP VIEW

> ABM 728 33 B 35

l .1
C o )
\

340

@320 (max.3330)

> ABM 728 33 C

2269

I

J

72833

TOP VIEW

TOP VIEW

> ABM 728 33 C 35

I

4 |
?‘u# == g
I

ABM, 728 33

RRERLRLR
ogosasslotetotels|
<5 2039
[RXXREENIN

140

340

@320 (Max.@330)

@ bolt/stud

TOP VIEW

2x M12
M22x1,5

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
ROR

MAX_ TORQUE /%

M 22x1,5 -20Nm

M 12 - 40 Nm

OF NUMBER

ROR 21225331
CROSS REFERENCE

FIRESTONE me L7
FIRESTONE ORDERNO W01 M58 8773
MAX_ TORQUE /%

M 22x1,5 -20Nm

M 12 - 40 Nm

M 12 -60 Nm

OF NUMBER

SCHMITZ

WEWELER

MAX, TORQUE /%

M 22x1,5 -20 Nm

M 12 - 40 Nm

M 12 -60 Nm

OF NUMBER

SCHMITZ 016010
WEWELER US 733765T2
CROSS REFERENCE

GOODYEAR 1R14-783
FIRESTONE M9 L7
FIRESTONE ORDERNO W01 M58 6225
PHOENIX 1D28A12
VIBRACOUSTIC V1D28A12
MAX_TORQUE &

M 22x1,5 -20Nm

M 12 - 40 Nm

M 12 -60 Nm

® combination stud



ABM series
> ABM 728 33 C 42 OE NUMBER

SAF 3.229.0036.00

TOP VIEW BOTTOM VIEW

m

. 4

KA Ly
ABM 1728 33
IR .
3R ozi

K& 4 °
XXt 7 \i ;
S CROSS REFERENGE
e FIRESTONE 1119 1B-8
FIRESTONE ORDERNO W01 M58 6216
; : PHOENIX 1D 281
@260 CF GOMMA 1T19E-1
3320 (Max.2330) CFGOMMACODE 205868
STEEL PISTON VIBRACOUSTIC V1D28A-16
» ABM 740 33 A OE NUMBER
AYATS
EVO (KASSBOHRER-SETRA)
@269 TOP VIEW HENDRIGKSON
I I NEWAY
- : = RENAULT V..
BER . 1588 _ ROR
@M‘NON
! CROSS REFERENCE
\ CONTITECH 813 MB/0
| o FIRESTONE M9 F-11
! o FIRESTONE ORDERNO W01 M58 7238
\ GOODYEAR 1R14-867
! PHOENIX 1D 28 B-5 NP
} VIBRACOUSTIC V1D28B-2NP
—
\ i / MAX. TORQUE &
N | M22x1,5 -20Nm
1565 M12 - 40 Nm
> ABM 740 33 A 45 OE NUMBER
AYATS
EVO (KASSBOHRER-SETRA) 4.731.030.000; 4.731.033.000
TOP VIEW BOTTOM VIEW HENDRICKSON 505 859; 505 859/ 01; 785 170
g RENAULT 5.000.790.692; 5.010.130.825
? ; SAF 2.229.0003.00; 2.229.2103.00; 2.229.2403.00;
e 2.229.2603.00
WEWELER US 07345; US 87408
CROSS REFERENCE
- CONTITECH 813 MB
S GOODYEAR 1R14-705
PHOENIX 1D 28B-2
! VIBRACOUSTIC V1D28B-2
| o MAX, TORGUE
i ~ M 22¢1,5 -20 N
‘ M12 - 40 N
M12 -60 Nm
‘ 2260 \ FITTING KIT (3@
STEEL PISTON NFK 004
@320 (max.2330)
> ABM 740 33 B OE NUMBER
AYATS
EVO (KASSBOHRER-SETRA]
@269 TOP VIEW HENDRICKSON
NEWAY
0, 1 RENAULT V..
R b ROR
WEWELER
CROSS REFERENCE
CONTITECH 813 MB/0
FIRESTONE 1T19F-11
2 FIRESTONE ORDERNO W01 M58 7238
GOODYEAR 1R14-867
PHOENIX 1D 28 B-5 NP
VIBRACOUSTIC V1D28B-2NP
] MAX. TORQUE. &
i M 22x1,5 -20 Nm
M12 - 40 Nm
M12 -60 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 740 33 B

@260 ‘
@320 (Max.2330)

> ABM 740 33 B
[

45

TOP VIEW

TOP VIEW

%ng
;

420

178

@320 (Max.2330)

> ABM 740 33 C

e

510

> ABM 740 33 C

oty

hall
i

ABM 740 33,

420

: ‘ ;
\ @260 \
@320 (max.2330)

TOP VIEW

a5

TOP VIEW

2x M12
M22x1,5

@287

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

PLASTIC PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
AATS

EVO (KASSBOHRER-SETRA) 4.731.030.000; 4.731.033.000

HENDRICKSON
RENAULT
SAF

WEWELER

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE 2
M 22¢1,5

M 12

M12

OE NUMBER
SAF

MAX. TORQUE &
M 22¢1,5

M12

M12

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
PHOENIX

MAX, TORQUE /%
M 22¢1,5

M12

M12

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

505 858; 505 859/ 01; 785 170
5.000.790.692; 5.010.130.925

2.229.0003.00; 2.229.2103.00; 2.229.2403.00;
2.229.2603.00

US 07345; US 87408

813 MB
1R14-705
1D288B-2
V1D28B-2

-20Nm
-40 Nm
-60 Nm

-20Nm
-40Nm
-40Nm

4023 N P06
mMIL-NM

W01 M58 6335
1D 28B-10 NP

-20 Nm
- 40 Nm
- 60 Nm

3.229.0031.00; 3.229.2131.00; 3.229.2231.00;
3.229.2431.00

4023 N P03
1R14-729

M8 k11

W01 M58 6348
1D28B-10
V1D28B-10

® combination stud



ABM series
> ABM 740 33 C 46

TOP VIEW

‘

0.

a
‘

2x M12

M22x1,5

420

178

BOTTOM VIEW

@287

@320 (Max.2330)

> ABM 740 33 C 60

TOP VIEW

m\
o

g ‘
ABM, 740 33

N

2x M12
M22x1,5

420

178

STEEL PISTON

BOTTOM VIEW

2287

|

@320 (max.2330)

> ABM 740 33 D

2269

TOP VIEW

[ABM, 740 33

PLASTIC PISTON

510

I
2156,5

> ABM 740 33 D 45

TOP VIEW

BOTTOM VIEW

420

178

@320 (max.2330)

@ bolt/stud O hole/threaded h

STEEL PISTON

ole ®airinlet & combination stud

OE NUMBER
SAF

CROSS REFERENCE
CONTITECH

MAX. TORQUE /¥
M 22¢1,5

M 12

M 16

FITTING KIT (b
NFK 004

OE NUMBER
SAF

MAX_TORQUE &
M 22x1,5

M 12

M 12

OE NUMBER
SCANIA

CROSS REFERENCE
FIRESTONE
FIRESTONE ORDER NO

MAX, TORQUE &
M 14x1,5
M 10

OE NUMBER
SCANIA

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 14x1,5

FITTING KIT ('
NFK 014

3.228.1031.00

4023 N P08

-20Nm
-40Nm
-50Nm

-20Nm
-40Nm
-40Nm

KEISK
W01 M58 0918

-20Nm
-35Nm

255293; 255295; 298568; 325748; 1107674,
1314906

4813 N P07
msLNM

W01 M58 7358
1R14-727
1D28B9
V1D28B-3

-20Nm
-35Nm
-60Nm



NECTEC

> ABM 740 33 E

2269

i E—

[ABM, 740 33

510

TOP VIEW

> ABM 740 33 E 45

PR

!
‘
‘

178

420

‘®260‘

@320 (max.2330)

> ABM 740 33 R

D269
N 0
@M‘NO%

510

TOP VIEW

BOTTOM VIEW

STEEL PISTON

TOP VIEW

3x M10x1,25

> ABM 740 33 R 45

| —

T

ABM 1740 33

178

400

@320 (max.@330)

TOP VIEW

3x M10x1,25

@ bolt/stud

20

[Mléxl,S

920

flv\léx],S

BOTTOM VIEW

STEEL PISTON

O hole/threaded hole

& air inlet

OE NUMBER
SCANIA

CROSS REFERENCE
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE 2
M 14x1,5

M 10

M 12

OFE NUMBER
SCANIA

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE &
M 14x1,5

M 10

M 12

OE NUMBER
DAFADL
RENAULT

MAX, TORQUE /¥
M 16x1,5
M 10x1,25

OE NUMBER
DAFNVDL
RENAULT

CROSS REFERENCE
CF GOMMA

CF GOMMA CODE
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5

M 10x1,25

M12

meLNM
W01 M58 0918

-20Nm
- 35 Nm
- 60 Nm

255293; 255295; 298568; 325748; 1107674;

1314906

4813 N PO7
ML

W01 M58 7358
1R14-727
102889
V1D28B-3

-20Nm
-35Nm
- 60 Nm

-20Nm
- 30 Nm

526823
5.000.745.918

1T19E-2
203878
1R14-719
V1D28B-7

-20Nm
-30 Nm
- 60 Nm

® combination stud



ABM series

» ABM 740 33 T OF NUMBER
CARDI
ROLFO
026 TOP VIEW VIVERTI
i 20821
1
74033
| =
} w0
MAX. TORQUE /%
M 12x1,5 -20 Nm
M 10x1,25 -30Nm
—M2 M12 -60Nm
» ABM 740 33 T 50 OE NUMBER
CARDI 58051000
ROLFO 112064
VIVERTI 128147117
TOP VIEW BOTTOM VIEW 081 fdessy
2x M10x1,25
M12x1,5 ) 2x M16x1.5
w
o
N - CROSS REFERENCE
S GOODYEAR 1R14-707
S CF GOMMA T19E-2
CF GOMMA CODE 206746
MAX, TORQUE &
M 12x1,5 -20 Nm
M 10x1,25 -30 Nm
M 16x1,5 -70 Nm
@320 (max.330) STEEL PISTON
> ABM 740 34 C previous number: ABM 740 35 C| o wvsm
SAF
@269 TOP VIEW
.
I o
74034
| o
¥ )
——F—F
\ i MAX_TORQUE &
¥ ; M22x1,5 -20 Nm
! M12 -40Nm
156,
‘ 21565 M12 -60 Nm

» ABM 740 34 C 61 previous number: ABM 740 35 C 61 0l

SAF 3.229.0028.00; 3.229.0041.00
4 2t i g

TOP VIEW BOTTOM VIEW

420

K BAS @ CROSS REFERENCE
o & S
o - PHOENIX 1D 28B-11
..iﬂ' L »H.’. MAX. TORQUE &
3260 M 22x1.,5 -20 Nm
PLASTIC PISTON M12 -40 Nm

@330 (max.2340)

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 740 34 F

|
ABM|740 34

|

|

420

i 2260 A

@330 (max.2340)

> ABM 740 34 G

2269

I

S

[ABM)| 740 34

510

" om0

@330 (max.2340)

@ bolt/stud

TOP VIEW

90

3x M10x1,25

TOP VIEW

90

3x M10x1,25

TOP VIEW

90

3x M10x1,25

[M22><1 5

TOP VIEW

20

3x M10x1,25

fM22x1 5

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

& air inlet

OE NUMBER
DAFNDL
RENAULT

MAX. TORQUE /%

M 22x1,5 -20 Nm

M 10x1,25 -30 Nm

OF NUMBER

DAFVDL 1384274
RENAULT 5.000.745.918
CROSS REFERENCE

CONTITECH 811 VB
FIRESTONE M9 F-11
FIRESTONE ORDERNO W01 M58 6359
GOODYEAR 1R14-718
MAX, TORQUE /%

M 22x1,5 -20 Nm

M 10x1,25 -30 Nm

M 12 -60 Nm

OF NUMBER

DAFNVDL

RENAULT

MAX. TORQUE /%

M 22x1,5 -20 Nm

M 10x1,25 -30 Nm

M 12 -B0 Nm

OF NUMBER

DAF/VDL 1384274
RENAULT 5.000.745.918
CROSS REFERENCE

CONTITECH 811 VB
FIRESTONE M9 F-11
FIRESTONE ORDERNO W01 M38 6359
GOODYEAR 1R14-718
MAX. TORQUE &

M 22x1,5 -20Nm

M 10x1,25 -30Nm

M 12 -60 Nm

® combination stud



ABM series

> ABM 742 33 B

D269

—
—
—

74233

525

TOP VIEW

158.8

— 2 e

> ABM 742 33 B 44

I I

|
g o i
9 ] Q
'ABM 742 33

460

@260
@320 (Max.2330)

TOP VIEW

> ABM 742 33 B 45

I I

|
? == T (==} K
i

460

T g0

@320 (Max.2330)

> ABM 742 33

2269

=

[ABM, 74233

525

M12

@ bolt/stud

C

TOP VIEW

TOP VIEW

O hole/threaded hole

OE NUMBER

ROR
SAF

MAX_TORQUE /¥

M 22x1,5 -20 Nm
M12 - 40 Nm
M12 -60 Nm
CROSS REFERENCE

FIRESTONE M9 L1

FIRESTONE ORDERNO W01 M58 6364

MAX, TORQUE /¥

M22x1,5 -20 Nm
M12 - 40 Nm

M12 -60 Nm

OF NUMBER

ROR 21222239

CROSS REFERENCE

CONTITECH 4028 N P05
GOODYEAR 1R14-710; 1R14-721
PHOENIX 1D28B-12
VIBRACOUSTIC V1D28F7

MAX, TORQUE /¥

M 22¢1,5 -20 Nm

M 12 - 40 Nm

M 12 -60 Nm

FITTING KIT (9 ®

NFK 004

OF NUMBER

SCHMITZ

WEWELER

MAX_TORQUE /¥

M 22x1,5 -20Nm
M12 -40 Nm
M12 - 60 Nm

® combination stud



NECTEC

> ABM 742 33 C 45 OF NUMBER

SCHMITZ 015323
‘ L | K TOP VIEW BOTTOM VIEW WEWELER US 04028
CROSS REFERENCE
CONTITECH 4028 N P02
i FIRESTONE Mg 112
! FIRESTONE ORDERNO W01 M58 8106
\ o GOODYEAR 1R14-782
T 3 PHOENIX 1D 28F-1
B N VIBRACOUSTIC V1D 28F1
0::
MAX. TORQUE /%
o M 22¢1,5 -20Nm
N M12 - 40 Nm
M12 -60 Nm
| @260 | STEEL PISTON %“‘m
@320 (Max.@330)
> ABM 742 33 E OF NUMBER
SCANIA
2269 TOP VIEW
Il = )
v ——— 158.8
@iuzss
| 2
! w
MAX_ TORQUE /%
M 14x1,5 -20Nm
MI2 M10 -35Nm
> ABM 742 33 E 60 OF NUMBER
SCANIA
‘ | ‘ TOP VIEW BOTTOM VIEW
PN
: g
<
CROSS REFERENCE
L) FIRESTONE 1119 1B-12
‘ R FIRESTONE ORDERNO W01 M58 7358
! MAX. TORQUE /%
} M 14x1,5 -20 Nm
‘ @263 ‘ M10 -35Nm
@320 (max.@330) PLASTIC PISTON M12 -40Nm
» ABM 742 33 P previous number: ABM 740 33 P %ﬂ
@269 TOP VIEW
g 2x M10x1,25
74233

525

MAX. TORQUE &

M22x1,5 -20 Nm
M10x1,25 - 30 Nm
M12 - 60 Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series
» ABM 742 33 P 50 previous number: ABM 740 33 P 50 | 0:Muus

CARDI
TOP VIEW BOTTOM VIEW
2x M10x1,25
CROSS REFERENCE
FIRESTONE 1T19 111
FIRESTONE ORDERNO W01 M58 6361
CF GOMMA 1T 19E-2
CF GOMMA CODE 204371
MAX, TORQUE &
M 22x1,5 - 20 Nm
) M 10x1,25 - 30 Nm
@320 (max.2330) STEEL PISTON M16x1,5 - 70 Nm
> ABM 742 34 A OE NUVBER
FRUEHAUF
SMB
@269
T i TOP VIEW WEWELER
L Il
‘\
@M‘uzu
| 0
! S
;
\ ‘ MAX. TORQUE &
N | M 22x1,5 -20 Nm
‘ 21565 M12 - 40 Nm
> ABM 742 34 A 47 OE NUMBER
FRUEHAUF UJB 0305-001
SMB UJB 0305
TOP VIEW BOTTOM VIEW WEWELER US 07980
|
i CROSS REFERENCE
‘ © CONTITECH 4008 N P01
= FIRESTONE 1T19F-12
| FIRESTONE ORDERNO W01 M58 7380
\ \_/ PHOENIX 1028012
i = VIBRACOUSTIC V1D28C-12
‘ MAX TORQUE /%
| @200 M 22¢1,5 ~20 Nm
‘ i 1 ‘ M12 - 40 Nm
2260 STEEL PISTON M12 - B0 Nm
@330 (max.@340)
» ABM 742 35 C OENUVBER
MERCEDES
SAF
2269 TOP VIEW SCHMITZ
0, WEWELER

==

[ABM| 74235

525

MAX, TORQUE /¥

M22x1,5 -20Nm
M12 -40Nm
M16 M16 -90Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 742 35 C 38

TOP VIEW

?‘“M”\

400

L e |

@340 (max.@350)

> ABM 742 35 C 46

TOP VIEW

2x M12
M22x1,5

400

178

1 { 1
2260
@340 (max.2350)

2287

> ABM 744 32 H

2269

o

\w

74432

545

%éM]éx],S

TOP VIEW

M16x1,5
M24x1,5

40,

> ABM 744 32 H 50

TOP VIEW

?“%

ABM 744 32

@310 (max.2320)

M16x1,5
7 3| M24x1,5
‘ o
‘ =4 ~
\J | s | g 2
| |
- |
@228 90 |
165

@ bolt/stud

O hole/threaded hole

BOTTOM VIEW
70.7
50

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

M16x1,5

e

STEEL PISTON

& air inlet

OE NUMBER
MERCEDES
SCHMITZ
WEWELER

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /¥
M 22¢1,5

M12

M12

OE NUMBER
SAF

CROSS REFERENCE
GOODYEAR

MAX_TORQUE  /~
M 22¢1,5

M12

M 16

OE NUMBER
RENAULT

CROSS REFERENCE
GOODYEAR

MAX. TORQUE &
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX_TORQUE /%~
M 16x1,5
M 24x1,5
M 16x1,5

A 946 328 15 01
017 924
US 04030

4035 N P02
1R14-823
msLnm

W01 M58 6223
1DK28 F-3
V1DK28F-3

-20Nm
-40Nm
-60Nm

3.229.0028.00

1R14-815

-20Nm
- 40 Nm
-90 Nm

1R13-715

-20 Nm
-40Nm
-60 Nm

5.010.294.308.C

4311 N P03
1R13-714

-20Nm
-40Nm
- 60 Nm

® combination stud



ABM series

> ABM 744 32 L

2269
\ i

=

74432

545

|
I
T
|
|
L
7

E M16x1,5

TOP VIEW

M16x1,5
M24x1,5

> ABM 744 32 L 50

|
T and Q
g |
ABM!744 32

210

347

@310 (max.2320)

TOP VIEW

M16x1,5
M24x1,5

¢

30

> ABM 744 32 L A

2269

74432

545

TOP VIEW

M16x1,5
M24x1,5

30

2287

> ABM 744 32 L 50 A

T

ABM 744 32

210

347

@310 (max.@320)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

30

@287

O hole/threaded hole

& air inlet

BOTTOM VIEW

M16x1.,5

—_

A

STEEL PISTON

BOTTOM VIEW

M16x1,5

—

S

STEEL PISTON

OE NUMBER
RENAULT

MAX, TORQUE /¥
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
GOODYEAR

MAX_TORQUE
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT
VOLvo

MAX, TORQUE &
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT
Voo

CROSS REFERENCE
CONTITECH

MAX_TORQUE /¥
M 16x1,5
M 24x1,5
M 16x1,5

® combination stud

-20Nm
-40Nm
-60Nm

5.010.557.356

4911 N P04
1R13-755

-20Nm
-40Nm
-B60 Nm

-20 Nm
- 40 Nm
- 60 Nm

5.010.600.439; 21 978 435
207267689; 25372810

4911 N P06

-20Nm
-40Nm
- 60 Nm



NECTEC

> ABM 744 35 K

2269

744 35

545

> ABM 744 35 K 45

[——

- \
|
ABM |744 35

N

178

380

| @260

@340 (max.@350)

> ABM 760 32 H

2269

605

M16x1,5
BELALLL LSS

M16x1,5
M24x1,5

> ABM 760 32 H 50

I .
N

210

412

@310 (max.320)

M16x1,5
M24x1,5

@ bolt/stud

TOP VIEW

TOP VIEW

TOP VIEW

TOP VIEW

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

M16x1,5

e

STEEL PISTON

& air inlet

OE NUMBER
SCHMITZ
WEWELER

CROSS REFERENCE
GOODYEAR

MAX, TORQUE /¥
M 22¢1,5

M 12

M 16

OE NUMBER
SCHMITZ
WEWELER

CROSS REFERENCE
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX, TORQUE /¥
M 22¢1,5

M 12

M12

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /¥
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
FIRESTONE
FIRESTONE ORDER NO
GOODYEAR

PHOENIX
VIBRACOUSTIC

MAX. TORQUE &
M 16x1,5
M 24x1,5
M 16x1,5

1R14-864

-20 Nm
- 40 Nm
-90 Nm

017 323; 017 685;
US 04031P

maLn

W01 M58 8107
1R14-784
1D28F-5
V1D28F5

-20 Nm
- 40 Nm
- 60 Nm

5.001.832.067

4312 N P08
1R13-713
V1DK28 F-4 NP

-20Nm
- 40 Nm
- 60 Nm

5.010.294.307.C

4912 N P07
M9 F-14

W01 M58 8786
1R13-711
1DK28 F-4
V1DK28 F-4

-20 Nm
-40 Nm
- 60 Nm

® combination stud



ABM series

> ABM 760 32 L

2269
\ i

=

760 32

605

E M16x1,5

TOP VIEW

M16x1,5
M24x1,5

> ABM 760 32 L 50

Il
| =
!
!

210

412

@310 (max.2320)

> ABM 760 32 L A

2269

605

TOP VIEW

M16x1,5
M24x1,5

30

BOTTOM VIEW

M16x1,5

/)

TOP VIEW

M16x1,5
M24x1,5

30

STEEL PISTON

2287

> ABM 760 32 L 50 A

| |

| =
!

!

210

412

@310 (max.@320)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

30

O hole/threaded hole

BOTTOM VIEW

M16x1,5

N

S

STEEL PISTON

& air inlet

OE NUMBER

RENAULT

MAX, TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT

CROSS REFERENCE
CONTITECH
GOODYEAR
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT
Voo

MAX, TORQUE
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
RENAULT
Voo

CROSS REFERENCE
CONTITECH

MAX, TORQUE /¥
M 16x1,5
M 24x1,5
M 16x1,5

® combination stud

-20 Nm
- 40 Nm
- 60 Nm

5.010.557.355

4912N P10
1R13-753
1DK28F-5
V1DK28 F-8

-20 Nm
- 40 Nm
- 60 Nm

-20 Nm
- 40 Nm
- 60 Nm

5.010.600.328; 21 978 434
20726768; 25372795

4312NP13

-20Nm
- 40 Nm
- 60 Nm



NECTEC

> ABM 760 33 C OE NUMBER

SAF

D269
m TOP VIEW

o

[ABM, 760 33

MAX_ TORQUE /%

M22x1,5 -20 Nm
M12 -40Nm
> ABM 760 33 C 49 OF NUVBER
SAF 3.229.0047.00
yﬂ# - g TOP VIEW BOTTOM VIEW
AN
25 S
s °
<
K
R %%
’:’»’0’0‘4 :’:‘ 2
' o MAX. TORQUE /%
: s M 22x1,5 -20 Nm
| I ! | M12 -40Nm
0262 M16 -70Nm
@320 (max.@330) PLASTIC PISTON
> ABM 760 34 A OE NUMBER
HENDRICKSON
ROR
D267 TOP VIEW SAF
Il I
&
1]
@M‘EOCM
| 0
! <
ﬁﬁﬁ* MAX. TORQUE /&
\ M 22¢1,5 -20Nm
N 1 M12 -40Nm
| 21565
> ABM 760 34 A 47 OF NUMBER
HENDRICKSON 507782
I ROR 21222673
tHy TOP VIEW BOTTOM VIEW SAF 3.229.0013.00
4xM12| CAOSSREFERENCE
i CONTITECH 912 N P02
‘ GOODYEAR 1R14-758
i FIRESTONE 1914
! ] FIRESTONE ORDERNO W01 M58 8766
o PHOENIX 1D28D-2
VIBRACOUSTIC V1D 28 D-4
~ MAX. TORQUE 2
o M 22x1,5 -20 Nm
M12 - 40 Nm
b w i " EITTING KIT (3@
©260 NFK 004
@330 (max.2340) STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

» ABM 760 34 C 0 e
2269 WEWELER
i TOP VIEW
I L

[ABM| 760 34 M22x1 /5

: [¥9)
| 3
MAX, TORQUE &
M 22x1,5 -20 Nm
Vi M 12 ~40Nm
» ABM 760 34 C 47 OENUMBER
SAF 3.229.0030.00
i WEWELER US 073856572
gm‘ = 1 g TOP VIEW BOTTOM VIEW
2x M12
; M22x1,5
\ CROSS REFERENCE
! CONTITECH 912 N PO
3 GOODVEAR 1R14.728
B b PHOENIX 1D 28D-10
: § VIBRACOUSTIC V1028010
! | MAX, TORGUE %
} & M 22x1,5 ~20Nm
| M12 ~40Nm
| o220 | FITTING KIT (m
NFK 012
@330 (max.2340) STEEL PISTON
> ABM 771 33 K OE NUMBER
SCANIA 1379393
0269 TOP VIEW
B
77’33 M16x1,5
‘ CROSS REFERENCE
\ CONTITECH 4313 N P04
i o FIRESTONE M9 114
! 3 FIRESTONE ORDERNO W01 095 0365
| GOODYEAR 1R14-755
‘ PHOENIX 1D 28 H-16 NP
\ VIBRACOUSTIC V1D 28 H-16 NP
= MAX, TORQUE /%
\EE=: M 16x1,5 -20 Nm
v, M 16 -0 Nm
|
» ABM 771 33 K 55 OE NUMBER
SCANIA 1379392; 1440294
; ‘ ‘ TOP VIEW BOTTOM VIEW
= ‘ b nd
—-m 2 CROSS REFERENCE
CONTITECH 4913 N P02
i GOODYEAR 1R14-753
! FIRESTONE 1T19F-14
| FIRESTONE ORDERNO W01 095 0366
‘ = PHOENIX 1D28H-16
| ~ VIBRACOUSTIC V1D28H-16
M A MAX, TORQUE /&
I M 16x1,5 -20Nm
M 16 ~90 Nm
@226
@320 (max.330) HTTING KIT (hm
STEEL PISTON NFK 024

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 771 33 N 55 0 NUVEER

SCANIA 1903608; 1944314
‘ L TOP VIEW BOTTOM VIEW
U N
| M1éx1,5
N 8
‘ ~
| = CROSS REFERENCE
! o~
" | LJ CONTITECH 6700 N P02
f%@\ GOODYEAR 1R14-869
~ i FIRESTONE ORDERNO W01 M58 8535
3226 MAX. TORQUE ¥
M 16x1,5 -20 Nm
@320 (max.2330) STEEL PISTON M 16 -90 Nm
> ABM 773 33 K OE NUVBER
SCANIA 1379393
TOP VIEW
@269
| i
o D
738 CROSS REFERENCE
i CONTITECH 4913 N P04
! FIRESTONE M9 114
\ =) FIRESTONE ORDERNO W01 035 0365
w e GOODYEAR 1R14-755
\ PHOENIX 1D 28 H-1B NP
i VIBRACOUSTIC V1D 28 H-16 NP
‘ MAX, TORQUE. /%
s M 16x1,5 -20 Nm
=== M 16 -90 Nm
M16
|——————
> ABM 773 33 K 55 OF NUVEER
SCANIA 1379392; 1440294
TOP VIEW BOTTOM VIEW
iy 4
; ! % 105
— 212 CROSS REFERENCE
! : [ CONTITECH 4913 N P02
GOODYEAR 1R14-753
- FIRESTONE T9F-14
! 3 FIRESTONE ORDERNO W01 095 0366
\ PHOENIX 1D 28 H-18
i 2 VIBRACOUSTIC V1D 28H-16
\ i W, MAX. TORQUE
M 16x1,5 -20 Nm
M 16 -90 Nm
@226 FITTING KIT 3B
@320 (max.2330) STEEL PISTON NFK 024
» ABM 773 33 N 55 OF NUBER
SCANIA 1903608; 1944314
n TOP VIEW BOTTOM VIEW
I ; e g
| M16x1,5
o
[32)
<
o CROSS REFERENCE
UK CONTITECH 6700 N P02
GOODYEAR 1R14-889
FIRESTONE ORDERNO W01 M58 8535
MAX, TORQUE /%
@226 M 16x1,5 -20 Nm
@320 (max.2330) STEEL PISTON M6 -90Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABM series

» ABM 773 33 W 55 OE NUMBER
SCANIA 1903508; 1944314
‘ 0 TOP VIEW BOTTOM VIEW
| MI16x1.5
‘ 3
‘ ~
| 2 CROSS REFERENCE
\J \ ) CONTITECH 6700 N P02
Jn GOODYEAR 1R14-869
h ?% FIRESTONE ORDERNO W01 M58 8535
Q,EJ% 155 MAX, TORQUE /&
M 16x1,5 -20 Nm
@320 (Mmax.2330) STEEL PISTON M 16 -90 Nm
>» ABM 775 32 M OF NUVEER
SCANIA
@269 TOP VIEW
——
$0_
SRS ‘ 2x M16x1,5
@77532 ‘
| 9 -
| : 3
‘ 8
\ MAX, TORQUE &
‘ s 40 M 16x1,5 -20 Nm
> ABM 775 32 M 56 E NUMBER
SCANIA 1434933
e TOP VIEW BOTTOM VIEW
7§
0
i 2x M16x1,5
L 216
‘ &
‘ [sp]
i = o
W, | )= &
" CROSS REFERENCE
FIRESTONE 1T17 HR-8
\ P VI FIRESTONE ORDERNO W01 M58 8633
@2*20 MAX. TORQUE %
0 M 16x1,5 -20 Nm
1 232 )
@310 (Max.2320) STEEL PISTON M 16 90 Nm
> ABM 930 36 A OF NUMBER
BPW 05.429.41.01.0
@304
r_l TOP VIEW
|
e CROSS REFERENCE
CONTITECH 4881 N P02
; GOODYEAR 1R14-701
(755035 FIRESTONE 1166 D-7.0
FIRESTONE ORDERNO W01 M58 8601
PHOENIX 1DK 32K
VIBRACOUSTIC V1DK32K
MAX. TORQUE &
M 22¢1,5 -20 Nm
M 12 - 40 Nm
M 16 -90 Nm
FITTING KIT (9'm
NFK 026

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 930 36 A 60

TOP VIEW

I

;‘ﬂué

(
W
148

M22x1,5

@257
@350 (max.2360)

BOTTOM VIEW

> ABM 930 36 A 70

TOP VIEW

ABM, 930 36

L
;w‘&

2x M12
M22x1,5

340

@350 (Max.2360)

STEEL PISTON

BOTTOM VIEW

> ABM 931 36 B

2304

1

93136

425

2304

430

TOP VIEW

TOP VIEW

M16x1,5
M24x1,5 4

70 107

@ bolt/stud

O hole/threaded hole

PLASTIC PISTON

& air inlet

OE NUMBER
BPW

CROSS REFERENCE
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX. TORQUE /%
M 22x1,5

M12

M 16

FITTING KIT
NFK 013

OE NUMBER
BPW

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO

MAX. TORQUE &
M 22¢1,5

M12

M 16

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH

CROSS REFERENCE
M22x1,5
M12

OE NUMBER
RENAULT

MAX. TORQUE &
M 16x1,5
M 24x1,5
M12x1,5

05.429.41.22.1

1R14-724

1766 D-7.0

W01 M58 8602
V1DK32KX 1

-20Nm
-40Nm
-90Nm

05.429.43.41.0; 05.429.43.44.0

4881 N P30
1R14-757

1766 F-7.0
W01 M58 8666

-20Nm
-40Nm
-B60 Nm

247103

4725 N PO1

-20Nm
- 40 Nm

-20 Nm
- 40 Nm
- 40 Nm

® combination stud



ABM series
> ABM 940 36 C 01 OF NUMBER

RENAULT 5.010.211.724
TOP VIEW BOTTOM VIEW
@rﬁ | |
T ad
' M16x1,5
CROSS REFERENCE
CONTITECH 902 MB
FIRESTONE 1M96-12
FIRESTONE ORDERNO W01 M58 9910
y e MAX. TORQUE. ¥
! ‘ X1, M 16x1,5 -20Nm
o ?3056360) M24x1.5 - M 24x1,5 -40Nm
max. 107 M 12x1,5 -40Nm
STEEL PISTON M 12x1,25 - 40 Nm
> ABM 950 36 A OE NUMBER
BPW 05.429.40.01.0; 05.429.40.02.0
@304
TOP VIEW
CROSS REFERENCE
CONTITECH 881 MB
GOODYEAR 1R14-708
FIRESTONE 1766 D-108
FIRESTONE ORDERNO W01 M58 8978
PHOENIX 10K 32
i VIBRACOUSTIC V10K 32
wn
MAX_TORQUE /¥
M 22x1,5 -20Nm
M12 -40Nm
M 16 -90 Nm
FITTING KIT (5B
NFK 026
» ABM 950 36 A 61 0E NUVEER
BPW 05.429.40.08.1; 05.429.41.36.1; 05.429.41.54.0
;“H—“ ; g TOP VIEW BOTTOM VIEW
CROSS REFERENCE
GOODYEAR R14-712
FIRESTONE 1166 D-10.8
- FIRESTONE ORDERNO W01 M58 8986
2 PHOENIX 1K 32-1
VIBRACOUSTIC V1DK32 %9
o MAX. TORQUE. /¥
= M 22x1,5 -20Nm
M12 -40Nm
M 16 ~90Nm
FITTING KIT (3B
@350 (max.2360) STEEL PISTON NFK 013
> ABM 950 36 A 75 OF NUVEER
BPW 05.429.4351.0
F-I TOP VIEW BOTTOM VIEW
L LL ; g
( 2M12 CROSS REFERENCE
' CONTITECH 881 MB P30
GOODYEAR 1R14-748
FIRESTONE 1166 F-10.8
FIRESTONE ORDERNO W01 M58 8667
ole PHOENIX 10K 322
fffff S VIBRACOUSTIC V1DK32Y9
- MAX. TORQUE &
S M 22x1,5 -20Nm
M12 - 40 Nm
o M 16 -60 Nm
@254 PLASTIC PISTON HTTING KIT
@350 (max.2360) NFK D13

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABM 950 36

M
fﬂﬁm%

193

TOP VIEW

M22x1,5

415

\\\\\\\\\\\\\‘i“-li‘i\\\\\\\\\\\\\l

@257
@350 (max.2360)

> ABM 950 36

B 63

TOP VIEW

M22x1,5

@257
@350 (Max.2360)

> ABM 951 36

@304

FTI

TOP VIEW

==

[ EM 95136

525

BOTTOM VIEW

M20

4
N

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

> ABM 960 38

C

2304

TOP VIEW

——

——F
T
+
+
t

960 38

[ ——

N

560

M16x1,5

M24x1,5 | 40|
70 107

21950

@ bolt/stud

O hole/threaded hole

& air inlet

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 22¢1,5

M12

M 20

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX, TORQUE /%
M 22¢1,5

M12

M 16

OE NUMBER
GIGANT

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX. TORQUE /%
M 22x1,5
M12

OE NUMBER
RENAULT

MAX. TORQUE /%
M 16x1,5
M 24x1,5
M12x15

166217

725 N P02
1R14-747; 1R14-814
1766 F-10.8

W01 M58 8969

1DF 32

V1 DF 32-166217

-20 Nm
- 40 Nm
- 130 Nm

166252

725 N P03
1R14-756; 1R14-814
1766 F-10.8

W01 Ma8 8610

V1 DF 32-166252

-20 Nm
- 40 Nm
-90 Nm

246149

725 NPO1
1R14-704

V1 DF 32-246149

-20Nm
-40Nm

-20 Nm
-40 Nm
-40 Nm

® combination stud



ABM series

> ABM 960 38 C 01

SRR RRRRRT 0%
ISR
SO

145

345

@370 (max.380)

> ABM 970 36 A

2304

600

M16x1,5
M24x1,5

> ABM 970 36 A 65

1

'ABM!' 970 36

P“‘H—"

h

@350 (Max.2360)

213

440

M22x1,5

@ bolt/stud

TOP VIEW

BOTTOM VIEW

40
70 107
TOP VIEW

STEEL PISTON

TOP VIEW

2x M12

BOTTOM VIEW

O hole/threaded hole

STEEL PISTON

® air inlet

OF NUMBER
RENAULT

CROSS REFERENCE

CONTITECH 901 MB

MAX, TORQUE

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

M 12¢1,5 - 40 Nm

M 12¢1,25 - 40 Nm

OF NUMBER

BPW 05.429.40.05.0
CROSS REFERENCE

CONTITECH 942 MB
GODDYEAR 1R14-700
FIRESTONE 1166 D-13.5
FIRESTONE ORDERNO W01 M58 8611
PHOENIX 1DK32L
VIBRACOUSTIC V1DK32L
MAX, TORQUE

M 22¢1,5 -20 Nm

M 12 - 40 Nm

M 16 -90 Nm
FITTING KIT (' ®

NFK 026

OF NUMBER

BPW 05.429.41.69.0
CROSS REFERENCE

GOODYEAR 1R14-781
FIRESTONE 1766 F-13.5
FIRESTONE ORDERNO W01 M58 8584
PHOENIX 1DK32 11
VIBRACOUSTIC V1DK 32 1X-14
MAX, TORQUE /¥

M 22¢1,5 -20 Nm

M 12 - 40 Nm

M 16 -90 Nm

® combination stud

5.010.052.722; 5.010.130.683



NECTEC



NECTEC

ABV series



NECTEC

> ABV 243 A

[ABV 243

370

- 2130,8

> ABV 243 A 01

—
240

145

@275 (mox.2285)

> ABV 243 D

2242

> ABV 243 D 01

145

@275 (max.2285)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW
M16x1,5
M24x1,5

TOP VIEW
M16x1,5
M24x1,5

M16x1,5

M16x1,5

O hole/threaded hole

BOTTOM VIEW

M16x1,5

STEEL PISTON

BOTTOM VIEW

M16x1,5

STEEL PISTON

& air inlet

OF NUMBER
MERCEDES £942 328 06 01
CROSS REFERENCE

CONTITECH 4391 N1

MAX. TORQUE /%

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

OF NUMBER

MERCEDES A 942 320 06 21; A 942 320 53 21
CROSS REFERENCE

CONTITECH 4391 N PO1; 4391 N P21

MAX_ TORQUE /%

M 16x1,5 -20Nm

M 24x1,5 - 40 Nm

M 16x1,5 -90Nm

FITTING KIT (®

NFK 019

OF NUMBER

MERCEDES A 942 328 07 01

CROSS REFERENCE

CONTITECH 4391N2

MAX, TORQUE /%

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

OF NUMBER

MERCEDES A 942 320 07 21; A 942 320 54 21

CROSS REFERENCE

CONTITECH 4391 N P02; 4391 N P22
MAX. TORQUE /%

M 16x1,5 -20Nm

M 24x1,5 - 40 Nm

M 16x1,5 -90Nm

® combination stud



ABV series
> ABV 247 A

@242

445

> ABV 247 A 02

282

165

f
@200
@275 (max.285)

> ABV 247 A 03

282

155

\/ J

@275 (max.2285)

> ABV 247 B

2242

@ bolt/stud

O hole/threaded hole

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5
M16x1,5
O

STEEL PISTON

TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5
M16x1,5
O

STEEL PISTON

TOP VIEW

M16x1,5
M24x1,5

® air inlet

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX_ TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX, TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5
M 24x1,5

® combination stud

A942 328 00 01

4330 N1

9507
1R7Z-440-290-B
W01 M58 0904
1KF21-1NP
V1KF21-1NP

-20Nm
- 40 Nm

A 942320 0121;A942 320 48 21;
A942320 28 21

4390 N PO1; 4390 N P21
9505

1R7Z-440-290-B

W01 M58 8514
1KF21-1

V1KF21-1

-20Nm
-40Nm
-90Nm

A942 32003 21; A942 320 51 21

4390 N P04; 4390 N P24
V1KF21-3

-20 Nm
- 40 Nm
-90 Nm

4390 N2

-20Nm
-40Nm



NECTEC

» ABV 247 B 02 OENUVBER
MERCEDES A 942320 02 21; A 942 320 29 21;
TOP VIEW BOTTOM VIEW A 94232050 21
- ] CROSS REFERENCE
: CONTITECH 4390 N P02; 4390 N P22
M16x1,5 GOODYEAR 9506
M24x1,5 Miéx1.5 | FIRESTONE 1R7Z-440-290-C
N FIRESTONE ORDERNO W01 M58 8513
Q PHOENIX 1KF21-2
‘ VIBRACOUSTIC V1KF21-2
3 O
| - MAX. TORQUE /%
1 M 16x1,5 -20 Nm
| M 24x1,5 - 40 Nm
2200 M 16¢1,5 ~90Nm
@275 (max.0285)
FITTING KIT G
STEEL PISTON NFK 019
> ABV 247 B 03 OE NUVBER
MERCEDES A 942320 04 21; A 942 320 52 21
TOP VIEW BOTTOM VIEW
T - \
M16x1,5
M24x1,5 M16x1,5
o™
[o0]
i o~
| 3 S
\J | \J CROSS REFERENCE
W CONTITECH 4390 N P03; 4390 N P23
@190
MAX, TORQUE
@275 (max.2285) m ﬁ 20 Nm
M 24x1,5 -40Nm
STEEL PISTON M 1615 “90Nm
> ABV 247 D OE NUMBER
MERCEDES A942 328 0101
TOP VIEW
M1éx1,5
M24x1,5 CROSS REFERENCE
CONTITECH 4390 N2
GOODYEAR 9508
FIRESTONE 1R7Z-440-290-C
FIRESTONE ORDERNO W01 M58 8514
PHOENIX 1KF 21-1 NP
VIBRACOUSTIC V1KF21-1NP
MAX, TORQUE /%
M 16x1,5 -20 Nm
M 24x1,5 -40Nm
> ABV 247 D 02 OF NUMBER
MERCEDES
TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5 M16x1.,5
N
@
i N
‘ 3
\ ‘ L/
i
2200 MAX, TORQUE %
2275 (max.0285) M 16x1,5 -20 Nm
M 24x1,5 -40Nm
STEEL PISTON M 16x15 -90 Nm

@ bolt/stud

O hole/threaded hole

& air inlet

® combination stud



ABV series
> ABV 261 C

> ABV 261 C 01

‘

115
197

VAN VAN
‘ 2280 ‘
@295 (max.@305)

> ABV 263 A

@263

-~

|
263

Y
T
———
T

455

310

2295 (max.2305)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW

M16x1,5
M24x1,5

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

M16x1,5

M16x1.,5

STEEL PISTON

® air inlet

® combination stud

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX, TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /&
M 16x1,5
M 24x1,5
M 16x1,5

A942327 0401

4759 N

-20Nm
- 40 Nm

A 94232002 17; A 942 320 44 21

4759 N'P01; 4759 N P21

-20Nm
-40Nm
-90Nm

A974 328 00 01

4757 N2

9518
1R71-460-305-B
W01 Ma8 0910
1KF 24-2 NP

V1 KF 24-2-232 NP

-20 Nm
- 40 Nm

A942320 32 21, A974 320 04 17

4757 N P29; 4757 N P09
9520

1R77-460-305-B

W01 M58 8522

1KF 24-29

V1 KF 24-2-232

-20 Nm
-40Nm
-90Nm



NECTEC

> ABV 263 C

2263

Al

——r T
o e e
e e

> ABV 263 C 02

|
Vi 4

310

2280

2295 (max.2305)

> ABV 264 C

_o1308

455

> ABV 264 C 02

Hl

=

155

310

VAN ¥

2280

|/
.

@340 (Max.2350)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

&
2155

TOP VIEW

M16x1,5
M24x1,5

TOP VIEW

M16x1,5
M24x1,5

&

2155

TOP VIEW

M16x1,5
M24x1,5

@155

O hole/threaded hole

BOTTOM VIEW

STEEL PISTON

BOTTOM VIEW

STEEL PISTON

M16x1,5

M16x1,5

& air inlet

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
PHOENIX
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

MAX. TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

A942 3270001

4757 N1

9517
1R7Z-460-305-A
W01 M58 0909
1KF24-1NP

V 1 KF 24-1-232NP

-20Nm
- 40 Nm

A 942320 0117;A942 32043 21

4757 N'P01; 4757 N P21
9519

1R7Z-460-305-A

W01 M58 8521
1KF24-1

V1 KF24-1-232

-20Nm
-40Nm
-90Nm

-20 Nm
- 40 Nm

A 942 320 48 21; A 945 320 00 17

4758 N'P01; 4758 N P21
V1 KF23-1-232

-20Nm
-40Nm
-90Nm

® combination stud



ABV series
> ABV 264 C 03 OE NUMBER

MERCEDES A 942 320 06 17; A 942 320 33 21

TOP VIEW BOTTOM VIEW

M16x1.,5
ABV 1264 M24x1,5 M16x1
wn
N
‘ 8 O
! /| 2 CROSS REFERENCE
\ CONTITECH 4758 N P03; 4758 N P23
\ 2280 \ MAX TORQUE. /%
@340 (Mmax.2350) M16x1,5 -20 Nm
M 24x1,5 -40Nm
M 16x1,5 -90 Nm
STEEL PISTON
> ABV 265 C OF NUMBER
MERCEDES
@263 TOP VIEW
fm”l’z—“
SR M16x1,5
M24x1,5
wn
& td
S
CROSS REFERENCE
CONTITECH 473N
MAX_TORQUE  /~
M 16x1,5 -20Nm
M 24x1,5 -40Nm
OE NUMBER
MERCEDES A 946 320 03 21; A 946 320 37 21
TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5 M16x1.5
[92]
O
1 N
\_J \ /3 . CROSS REFERENCE
CONTITECH 4737 NPO1; 4737 N P21
! GOODYEAR 9523
T
ge \AX. TORQUE /¥
@325 (Max.@335) M 16015 20 Nm
M 24x1,5 -40Nm
STEEL PISTON M18x1.5 -390 tim
» ABV 265 C 05 OF NUMBER
MERCEDES A 946 320 05 21; A 946 320 39 21
TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5 M16x1.5
[o0]
| &
\_J | /3 CROSS REFERENCE
- CONTITECH 4737 N PO2; 4737 N P22
GOODYEAR 9524
T
@190 MAX, TORQUE /¥
@325 (max.335) M 16x1,5 -20Nm
M 24x1,5 -40Nm
M 16x1,5 -90 Nm

STEEL PISTON

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC

> ABV 265 C 06

248

155

|
T
\ @280 \
@325 (max. @335)

> ABV 267 C

> ABV 267 C 01

345

C
200

|
NV
T
@223
@325 (Max.2335)

> ABV 267 C 02

345

200

@325 (max.2335)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

)
155

@

TOP VIEW

M16x1,5
M24x1,5

%)
55

D1

TOP VIEW

M16x1,5
M24x1,5

D155

TOP VIEW

M16x1.,5
M24x1.,5

O hole/threaded hole

BOTTOM VIEW

M16x1,5

STEEL PISTON

BOTTOM VIEW

M16x1,5

STEEL PISTON

BOTTOM VIEW

M16x1,5

STEEL PISTON

& air inlet

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

MAX. TORQUE /%
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX, TORQUE /&
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE ORDER NO
VIBRACOUSTIC

MAX, TORAUE. /&
M 16x1,5
M 24x1,5
M 16x1,5

OE NUMBER
MERCEDES

CROSS REFERENCE
CONTITECH

GOODYEAR
VIBRACOUSTIC

MAX. TORQUE 2
M 16x1,5
M 24x1,5
M 16x1,5

A 957320 03 17; A 957 320 01 17

4737 N P25; 4737 N P03

-20Nm
- 40 Nm
-90Nm

A946 328 00 01

1R7-595-330-A
W01 M58 0912
V1 KF 25-1-232 NP

-20 Nm
- 40 Nm

A942 320 38 21; A 946 320 04 21

4838 N PO1; 4838 N P21
9521

1R7-595-330-A

W01 M58 8512

V1 KF 25-1-232

-20 Nm
-40 Nm
-90Nm

A 942 320 36 21; A 946 320 02 21;
A'942 320 01 21; A 946 320 35 21

4838 N P02; 4838 N P22; 4838 N P03;

4838 N P23
9522, 9536
V1 KF 25-2-232

-20 Nm
-40 Nm
-90Nm

® combination stud



ABYV series

> ABV 275 G OF NUMBER
MERCEDES £ 9743280201
TOP VIEW
@276
M16x1,5
AEV‘275 M24x1,5
| ~
| g L/ 3 8
' < [ 10 I g
i CROSS REFERENCE
! 40 CONTITECH 4185 N
EEEEESa MAX, TORQUE /2
‘ M 16x1,5 -20Nm
150, '
21508 M 24x1,5 -40Nm
» ABV 275 G 01 OE NUMBER
MERCEDES A 942 320 30 21; A §74 320 00 21
TOP VIEW BOTTOM VIEW
| M16x1,5
M24x1,5 M16x1,5
3 N
o YERY
10 ] o
\J CROSS REFERENCE
CONTITECH 4185 N P01; 4185 N P21
40 MAX. TORQUE /%
@315 (max.2325) m ;E’&}g ig m
STEEL PISTON M18x1.5 - 90 Nm
> ABV 293 F OF NUMBER
MERCEDES
2298 TOP VIEW
b
f MHH‘H\ M16x1.5
@v‘zgx M24x1.5 M16x1,5
| g %
! <
{ 40
S MAX, TORGUE /&
= M 16x1,5 - 20 Nm
@150,8 M 24x1,5 - 40 Nm
> ABV 293 F 11 OE NUMBER
MERCEDES A 942 32017 21; A 942 320 25 21;
£ 94232071 21
TOP VIEW BOTTOM VIEW
M16x1,5
M24x1,5 M16x1,5
>
O
CROSS REFERENCE
CONTITECH 4186 N P02; 4186 N P22; 4186 N P24
@335 (max.@345) 40 W & .
M 24x1,5 -40Nm
M 16x1,5 -90 Nm

STEEL PISTON

® bolt/stud O hole/threaded hole & air inlet

® combination stud



NECTEC

> ABV 295 F

I

280

165

2265

@335 (max.345)

> ABV 295 G

2298

=

—
———
e e e
e

[ABV| 295

470

280

165

@335 (max.2345)

@ bolt/stud

TOP VIEW

M16x1,5
M24x1,5

39

M16x1,5

40

TOP VIEW

M16x1,5
M24x1,5

40

TOP VIEW

M16x1,5
M24x1,5

2180

40

TOP VIEW

M16x1,5
M24x1,5

|
)

2180

40

O hole/threaded hole

STEEL PISTON

STEEL PISTON

BOTTOM VIEW

M16x1,5

BOTTOM VIEW

M16x1,5

& air inlet

OF NUMBER

MERCEDES

CROSS REFERENCE

CONTITECH 4183 N1

VIBRACOUSTIC V1 KF 32-23-232 NP

MAX. TORQUE /%

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

OF NUMBER

MERCEDES A 942 320 23 21; A 942 320 22 21;
A 942 320 05 57; A 942 320 13 21;
£942 32069 21

CROSS REFERENCE

CONTITECH 4183 N P24; 4183 N P22; 4183 N P23;
4183 N P26; 4183 N P28

PHOENIX 1KF 32-23

VIBRACOUSTIC V1 KF 32-23-232

MAX, TORQUE /%

M 16x1,5 -20Nm

M 24x1,5 - 40 Nm

M 16x1,5 -90 Nm

FITTING KIT (3@

NFK 019

OF NUMBER

MERCEDES

MAX, TORQUE /%

M 16x1,5 -20Nm

M 24x1,5 - 40 Nm

OF NUMBER

MERCEDES 94232018 21; A 942 320 26 21;
£942 3207221

CROSS REFERENCE

CONTITECH 4187 N PO1; 4187 N P21; 4187 N P23

MAX. TORQUE /%

M 16x1,5 -20 Nm

M 24x1,5 - 40 Nm

M 16x1,5 -90 Nm

FITTING KIT (3@

NFK 019

® combination stud



ABV series
> ABV 408 L K 04

2157
@220 (max.230)

> ABV 408 S K 04

! <
AT &
\J \ L/
@157
@220 (max.230)
» ABV 445 C
2218
f ===t
@‘445
|
| 0
i 3
|

2205
2290 (max.2300)

@ bolt/stud

previous number: ABV 408 L | JENUVBER

TOP VIEW

M10x1
M18x1,5

O

MERCEDES

BOTTOM VIEW

M10x1
M18x1,5

MAX. TORQUE /¥
M 10x1

M 18x1,5

M 10x1

STEEL PISTON M18¢1.5

previous number: ABV 408 § | (ENUMBER

TOP VIEW

M10x1
M18x1,5

TOP VIEW

M16x1,5
M24x1,5

@155

TOP VIEW

M16x1,5
M24x1,5

O hole/threaded hole

® air inlet

MERCEDES
BOTTOM VIEW

M10x1
M18x1,5

A
\l/

1
MAX_TORQUE /%~
M 10x1
M 18x1,5
M 10x1

STEEL PISTON M 18x1,5

OE NUMBER
EVO (DO

CROSS REFERENCE
CONTITECH
GOODYEAR
VIBRACOUSTIC

MAX, TORQUE /%
M 16x1,5
M 24x1,5

OE NUMBER
MERCEDES
BOTTOM VIEW

M16x1,5

/)

CROSS REFERENCE
CONTITECH
VIBRACOUSTIC

MAX. TORGUE /&
M 16x1,5
M 24x1,5

STEEL PISTON M 16x1.5

® combination stud

-20Nm
- 40 Nm
- 30 Nm
- 60 Nm

-20Nm
- 40 Nm
- 30 Nm
- 60 Nm

A629 327 00 01

4644N
9561
V1 KE 22-1 NP

-20 Nm
- 40 Nm

A629 320 00 25

4644 N P02; 4644 N P22
V1 KF 22-1

-20 Nm
- 40 Nm
-90 Nm



NECTEC



NECTEC

ABT series



NECTEC

> ABT 3225 A 02 OF NUMBER

FLOOR

GRANNING
TOP VIEW BOTTOM VIEW ROR

ABT | 3225

|
|
206

CROSS REFERENCE
CONTITECH
FIRESTONE ORDER NO
PHOENIX

@160
max. @250 MAX. TORQUE. &
114"
M 10
M 10

> ABT 3225 B 01 OF NUMBER

GRANNING
ROR
TOP VIEW BOTTOM VIEW SCHMITZ
VOLVO
WEWELER

G 1/4

CROSS REFERENCE
CONTITECH
FIRESTONE ORDER NO

max. @250 MAX, TORQUE /&
14
M8
M8

> ABT 3225 C 01 O NUMBER

GIGANT

TOP VIEW BOTTOM VIEW

G 3/4"

[ ABT| 3225

|
|
206

CROSS REFERENCE
CONTITECH
PHOENIX

T
2160 38.1
max. @250

MAX. TORQUE &
Py
M8
M8

> ABT 3225 D 02 OF NUMBER

GRANNING
SAF
SCANIA

TOP VIEW BOTTOM VIEW

M12x1.5

[ABT|3225 CROSS REFERENCE

CONTITECH
GOODYEAR
FIRESTONE ORDER NO
PHOENIX

|
|
206

R —— -87, MAX. TORQUE &
max. @250 M 12x1,5

M10
M10

13586
1371; 15603
21221385; 21222663

FD 200-19 1/4 M10
W01 M58 7887
SP2B12R

-15 I/t
-35Nm
-35Nm

15670
21221356
016808
365461
US 07394

FD 200-19 1/4 M8
W01 Ma8 7679

- 15 Ib/fe
-20 Nm
-20 Nm

1901 30; 700130130

FD 200-19 3/4 M8
SP2B12R-1

- 20 Ib/fe
-20Nm
-20Nm

15599
4.229.1004.00
1319761; 1387289; 1723523

FD 200-19 P04
2B9-700

W01 M58 7894
SP2B12R-5

-20Nm
-35Nm
-35Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



ABT series
> ABT 3225 E 03 OE NUMBER

SCANIA 1863244

TOP VIEW BOTTOM VIEW

M14x1.5
[ABT|3225
el
-— = o
N
CROSS REFERENCE
% CONTITECH FD 200-19 M14 M10
‘ GOODYEAR 2B9-729
2160 _| 445 |
. mox. 2255 | MAX, TORQUE. /%
M 14x1,5 -20 Nm
M 10 - 35 Nm
M 10 - 35 Nm
> ABT 3225 F 02 O NUVBER
HENDRICKSON HS505613; HS508264; HS507487; HS506118;
HS508345
TOP VIEW BOTTOM VIEW MERCEDES 942 320 58 21; A 942 327 06 01
M24x1.5
M16x1.5
CROSS REFERENCE
CONTITECH FD 200-19 P02
GOODYEAR 2B9-234
FIRESTONE ORDERNO W01 M58 7756
PHOENIX SP2B12R-17
MAX, TORQUE /¥
M 16¢1,5 -20 Nm
M 24x1,5 - 40 Nm
M 10 -35Nm

® bolt/stud O hole/threaded hole  ® air inlet  ® combination stud



NECTEC



NECTEC

ABC series



NECTEC

> ABC 2001
OE NUMBER
SCANIA
286
12,5
i ﬁ
I
!
[
i 3
‘ N
\
| 3
D6 wrFEe |
AIR IN i
T
D44,9
@110 (max.2120)
CROSS REFERENCE
SACHS
MONROE
> ABC 2002
OE NUMBER
SCANIA
286 ‘
e 212,5
|
|
e
g ! @
[
. |
) |
i \
B44,5 AIR IN
@110 (max.2120)
CROSS REFERENCE
MONROE

481002
(B 0066

CB 0030

> ABC 2001 A1

M12

D6
ARIN

214

> ABC 2002 A1

M12

245

295

OE NUMBER
SCANIA

CROSS REFERENCE
SACHS

MONRQE

OE NUMBER
SCANIA

@6
AIR IN

370227; 393257,
550365; 1116535;
1117320; 1117326;
1331620; 1331621,
1331626; 1331634;
1331635; 1348117,
1348118; 1348211

105831; 105845;
112320
(CB0065-+CBO06G

1381904; 1397400;
1397400



Sa103u

ABC series
> ABC 2002 A2

> ABC 2003
OE NUMBER

OE NUMBER

SCANIA 1381906; 1382826; SCANIA
1382829; 1397392
1435856; 1476415

M12

245
235

M16
CROSS REFERENCE
MONROE CB0O77
> ABC 2003 A1 > ABC 2003 A2
OE NUMBER OE NUMBER
SCANIA 1382827

SCANIA 1363122; 1381904
1397396; 1424228

MI12
M12

n
[\¢]
N 19}
[s¢]
N o
CROSS REFERENCE
CROSS REFERENCE SACHS 105873
MONROE CB 0059

SACHS 105871



NECTEC

» ABC 2004 > ABC 2004 A1
OF NUMBER OF NUMBER
SCANIA 1424231 SCANIA
M12
@86
<—>'
@12 ‘
22
|
| |
|
@
= i Kl ‘
@45,1 @6
26 AR IN
@110 (max.@120 AR IN
CROSS REFERENCE
SACHS 310619
MONROE CB 0067
» ABC 2005 > ABC 2005 A1
OF NUMBER OF NUMBER
SCANIA 1502468; 1502471 SCANIA 1502468; 1502474
@86 L M12
R — ]
@12,5 i
\ |
i1 |
|
| |
. | |
& | R |
| ) |
N |
2 N
‘ X ‘ AN @6
j N < AR IN
— Ve 26 | "
2440 ARRIN s
@110 (max.@120) + X
S
CROSS REFERENCE
MONROE CB0074
GOODYEAR 1AS-006 CROSS REFERENCE
FIRESTONE ORDER NO W02 M58 8010 MONROE CB0074

PHOENIX €07514101M PHOENIX CD 075141011



ABC series
> ABC 2006 A1 > ABC 2007 A1

OE NUMBER OE NUMBER
MERCEDES 942.890.29.19 MAN 81.41722.6049;
81.41722.6052

2110 (max.120)

< @110 (max.2120)
S =
@86 8
i*%
n Yo}
o el
(30) N
N
:r /
"~ 2 ; AR IN
AR IN =
T |
Hj:, [
Al
Ire) Q
N
Q
CROSS REFERENCE CROSS REFERENCE
SACHS 105392 SACHS 105856
» ABC 2012 > ABC 2014 A1
OF NUMBER O NUMBER
RENAULT MERCEDES 942.890.02.19
@110 (max.2120)
86 =
L 8
o
@82 \
|
|
o |
o~
N |
¥ |
X
@10 |
AR ‘ %
——_
268 e AR IN
@105 (Mmax.2110) B
i
.
Q
CROSS REFERENCE
CONTITECH 5750-9 P02 CROSS REFERENCE

MONROE CBO075 SACHS 105409



NECTEC

> ABC 2015 A1

OE NUMBER
MAN 81.41722.6048,;
81.41722.6051
@110 (max.2120)
<
286 8
_ 7\
-
|
2 |
[v]
N
|
N
A
|
‘ @6
AIR IN
(@] |
N
L M2
CROSS REFERENCE
SACHS 105855
OE NUMBER
IVECO 500357351
SACHS 310820
@110 (max.2120)
286 N
i Q
FT
R| o |
s S ‘
|
|
‘ 26
| AIR IN
\ o
N
‘ Q
[
T
- |
\ CROSS REFERENCE
FIRESTONE ORDER NO W02 M58 8022
PHOENIX CD 075124 011

> ABC 2016 A1

OE NUMBER
IVECO 500357352;
97383886
SACHS 310821
@110 (max.@120) °
286 a
ﬂ ‘ N
i **H
q i
|
o
o
m
0
o
~—
26
AR IN
CROSS REFERENCE
FIRESTONE ORDER NO W02 M58 8023
PHOENIX CD 075 124 012
OE NUMBER
RENAULT 5010 615 879
@110 (max.2120)
{
|
2
© % ‘
b=
|
| 26
‘ AR IN
fei
1
o
Q
CROSS REFERENCE

SACHS 313072



ABC series
> ABC 2019 A1

OE NUMBER
RENAULT
2110 (max.120)
286
s
[Yp)
[Yp)
I
X
o ! i
. |
I35) | @6
i AIR IN
|
\
i o
N
Q
pzs774) e =
N/ j 7] w2z
130
CROSS REFERENCE

MONROE CB0118

Sa103U




NECTEC



NECTEC

PROBLEMY/ROZWIAZANIA

PROBLEM/SOLUTION; PROBLEM/LOSUNG; NMPOBNEMbI/PELLIEHNA; PROBLEMAS/SOLUCION



NECTEC

PROBLEM

Problem / Prablem / Mpo6nema /
Problemas / Problemes

ROZWIAZANIE

Solution / Lésung / PeweHne /
Solucién / Solutions

Deformacja stopki

Deformed air spring

Deformierten Luftfeder

[edopmauma cTbika

Deformacion del talén

Déformation du talon

PROBLEM

Problem / Prablem / Mpo6nema /
Problemas / Problemes

<8

Odpowiednie zabezpieczenie wyrobu
w trakcie transportu i przetadunku

Correct product protection during
transport, handling and storage

Versichern Sie einen angemessenen
Schutz des Produkts beim Transport

O6ecneyvTs TPAGHCMNOPTMPOBKY, NEPErpy3sKy
N XpaHEeHWE NpopyKuun
B COOTBETCTBYHLMX YCNOBUAX

Proteccion adecuada del producto
durante el transporte

Protection appropriée du produit durant
son transport

ROZWIAZANIE

Solution / Lésung / PeweHne /
Solucién / Solutions

Nadmierne rozciggniecie,
przekroczenie max wysokosci
pracy

Overextension

Uberdehnung

YpesmepHoe pacTAXeHue,
npeBbIlWeHe Makc. paboyero
Ovano3oHa nsgenua

Estiramiento excesivo, Super-
acion de la altura maxima de
trabajo

Etirement excessif, dépasse-
ment de la hauteur de travail
maximale

Sprawdzenie stanu amortyzatordw.
Prawidtowa regulacja zaworéw poziomu-
jacych odpowiedni dobdér wyrobu zgodny
z numerem OE

Check the state of shock absorbers. Ad-
just level control valves. Make the right
cross accordingly to OE part number

Uberprifen Sie den Zustand der StofB-
démpfer. Beachten Sie die Einstellung
der Niveauregulierung. Das Produkt soll
den OE-Nummer entsprechen

MpoBeEpLTE COCTOAHVE aMOPTU3aTOPOB.
OTperynupyiTe knanaHbl ¥ KpaHbl B MHEB-
MonogBecke aBToMobuna/npuuena. Boi-
BpaHHbIN apTyKyn MHEBMOPECCOPLI AOSIXEH
cooTBeTcTBOBaTh Homepam OE npoussoam-
TENA TPaHCMNOPTHOrO CPeQCTBa

Comprobacion del estado de los amor-
tiguadores, ajuste correcto de las véalvu-
las de nivelacién, seleccién adecuada del
producto conforme al numero OE

Vérification de I'état des amortisseurs,
réglage correct des vannes de mise a
niveau, sélection appropriée du produit
en fonction du numéro oe



NECTEC

PROBLEM ROZWIAZANIE

Prablem / Problem / Mpo6nema / Solution / Lésung / PeweHne /
Problemas / Problemes Solucion / Solutions

Przetarcie
warstwy gumowej

Abrasion

Abrieb

CtupaHne pesnHoBoro
cnoA

Rozadura de la capa de caucho

Frottement de la couche de
caoutchouc

Prawidtowy dobdér wyrobu zgodny
z numerem OE. Usuwanie ciat obcych,
kamieni, brudu i piachu mogacych
prowadzi¢ do przetaré¢ czesci gumowej

Make the right cross accordingly to OE
part number. Remove foreign objects,
stones, pollution and sand between
bellow and piston

Beachten Sie ob das Produkt den
OE-Nummer entspricht. Kontrolieren
Sie regelmaBig, ob sich Fremdkérper
zwischen Balg und Kolben befinden und
entfernen Sie diese

BbibpaHHbI apTuKyn NHEBMOPECCOopbI
LOSIKEH CooTBETCTBOBaTL HoMepam OE
NpPoOV3BOAMUTENA TPAHCMOPTHOro CPeacTsa.
Hanuune Ha membpaHe NHEBMOPECCOPSI
VNHOPOAHBIX TEN, KaMHEW, rPA3N 1 necka
MOXET NPUBECTN K NPexXAeBpeMEHHOMY
CTUPaHWNI0 PE3NHbI

Seleccién apropiada del producto
conforme al numero OE. Eliminaciéon de
cuerpos extrafnos, piedras, suciedad y
arena gue puedan provocar rozaduras en
la parte de caucho

Selection correcte du produit, conforme
au nombre oe, enlevement des corps
etrangers, des pierres, des saletes et
du sable pouvant entrainer le frottement
de la partie en caoutchouc

PROBLEM ROZWIAZANIE

Prablem / Prablem / Mpo6nema / Solution / Lésung / PeweHne /
Problemas / Problemes Solucion / Solutions

Rozerwanie w wyniku
przetadowania

Overloading

Uberladung

Pa3pbiB B pesynestaTe neperpysku

Rotura por sobrecarga

Déchirement d{ a une
surcharge

Nie dopuszczenie do przekroczenia dmc
pojazdu

Keep the total maximum weight of the
vehicle

Vermeiden Sie Uberladung des Fah-

rzeuges

He npeBbiWwaTb 4ONYCTUMYH OCEBYHO
Harpysky

No rebasar la MMA del vehiculo

Ne pas permettre de dépasser le dmc du
véhicule




NECTEC

PROBLEM

Problem / Problem / Mpobnema /
Problemas / Problemes

ROZWIAZANIE

Solution / Lésung / Pewenne /
Solucién / Solutions

Ukrecenie przytgcza powietrza,
szpilek montazowych

Broken air inlets, bolts, threads

Zu hohes Anzugsmoment

I'Ioapexp,eHme KONMayKoBbIX raek,
wnwunek

Atornillar la conexiéon de aire,
pernos de montaje

Vissage sur le raccordement
d’'air, goupilles de montage

PROBLEM

Prablem / Problem / Mpobnema /
Problemas / Problemes

Przestrzeganie zalecanych maksymalnych
momentéw dokrecania. Nie uzywanie
smaru do tego typu potgczen gwintowych

Compliance with maximum torgue
tightening. Do not use oil and lubricants
for this type threaded connections

Baechten Sie das empfohlene
Drehmoment far die Montage. Kein
Schmiermittel fur die Montage vervenden

CobntopaTe MakcUMarsbHbI MOMEHT
3aTaxkn. He ncnonbayinte cmasky gna
3TOro Tna pesbboBbIX COeauHEHN

Cumplir los pares de apriete maximos re-
comendados. No utilizar lubricantes para
este tipo de conexiones roscadas.

Respect des couples de serrage maxi re-
commandés. pas d’utilisation de graisse
pour ce type de raccords filetés

ROZWIAZANIE

Solution / Lésung / Pewetwe /
Solucion / Solutions

Uszkodzenia mechaniczne czesci
gumowej, przeciecia

Mechanical damages & cuts

Mechanische Schaden

MexaHunyeckoe noBpexpeHune
pe3nHOBON YacTu, paspes

Danos mecanicos en las partes
de caucho, cortes

Dommages mécaniques a la
partie en caoutchouc, coupures

Odpowiednie zabezpieczenie wyrobu
podczas transportu i przetadunku.
Zwracanie uwagi na wymagane cisnienie
powietrza w miechu podczas jazdy

Suitable product protection during
transport and handling. Keep the
required air pressure in the air
suspension during the ride

Versichern Sie einen angemessenen
Schutz des Produkts beim Transport.
Beachten sie die Druckluftleitungen

Y6enuteck B NpaBusbHOM
TPaHCMNOPTUPOBKE NMHEBMOPECCOP.
O6paTtTe BHUMaHVe Ha OaBneHne BO3Oyxa
B NHEBMOPECCopax

Proteccion adecuada del producto du-

rante el transporte y la carga. Prestar
atencion a los requisitos de presién de
aire en el fuelle durante la marcha

Protection adéquate du produit lors du
transport et de la manutention. préter
attention a la pression d’air requise dans
le soufflet durant le voyage




NECTEC

Cross list



NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
PRODUCER OE NUMBER NEQOTEC PAGE BPW 05.428.43.44.0 | ABM 83036 A 70 | 160
ACERBI-VIBERTI 431810 ABM 296 27 C 48 | 81 BPW 05.428.42.54.0 ABM 550 30 F 127
ACERBI-VIBERTI 128147104 ABM 296 27 C 48 | 81 BPW 05.428.43.86.0 | ABM 530 30A 19 | 108
ACERBI-VIBERTI 128147109 ABM 722 34 B 39 | 138 BPW 05.429.43.24.0 | ABM 530 30 EO7 | 109
ACERBI-VIBERTI 128147128 ABM 722 34 P 30 | 140 BPW 05.428.43.32.0 | ABM 530 30 EO7 | 109
ACERBI-VIBERTI ABM 722 34 P 140 BPW 05.428.43.27.0 | ABM53030G 07 | 111
AUTOSAN AB 406 5 BPW 05.428.43.28.0 | ABM53030G 07 | 111
AYATS 30201085 ABK 888 L M 08 37 BPW 05.429.43.25.0 | ABM 550 30 E 25 | 127
AYATS ABM 740 33 A45 | 143 BPW 05.428.43.28.0 | ABM55030G 25 | 128
AYATS ABM 740 33 B 45 | 144 BPW 05.428.43.30.0 | ABM 55030G 25 | 128
AYATS ABM 740 33 A 143 BPW ABM 530 30 EO5 | 108
AYATS ABM 740 33 B 143 BPW ABM 530 30F 05 | 110
BARTOLETTI 91619012 ABM 292 27 C 48 | 81 BPW ABM 53030G 05 | 111
BARTOLETTI 9160190012 ABM 292 27 C 48 | 81 BPW ABM 550 30 EO0B | 126
BARTOLETTI 916018024 ABM 537 30H 16 | 117 BPW ABM 550 30 F06 | 127
BARTOLETTI ABM 740 33T 147 BPW ABM 550 30 F 25 | 127
BARTOLETTI ABM 740 33T 50 | 147 BPW ABM 55030 G 06 | 128
BERTOJA 45402004 ABM 222 32 C 10 | 57 BPW ABM 570 30 A 25 | 130
BERTOJA 46311001 ABM 722 34 B 39 | 138 BRAKE & WHEEL M3517 ABM 722 34 Y 68 | 141
BERTOJA 45402006 ABM 296 27 C 48 | 81 BRAKE & WHEEL M3510 ABM 718 35 J 66 | 136
BERTOJA 446311005 AB 448 XL 20 BRAKE & WHEEL M3542 ABM 264 33D 40 | 75
BERTOJA ABM 222 32 C 57 BRAKE & WHEEL ABM 722 34 Y 141
BOGDAN AB 445 SL 18 BREDAMENARINIBUS 5001800 AB 448 S 18
BPW 05.428.40.03.0 ABM 550 30 A 125 BREDAMENARINIBUS D034273 AB 444 SL 16
BPW 05.429.40.91.0 ABM 530 30 A 108 BUSSING 536805265 AB 445 18
BPW 05.428.40.93.1 | ABM 530 30 A05 | 108 BUSSING 546905134 AB 888 28
BPW 05.428.42.41.1 | ABM 530 30 A05 | 108 BUSSING 831120144 AB 888 28
BPW 05.428.43.21.0 | ABM 530 30 A07 | 108 BUSSING AB 538 26
BPW 05.429.43.37.0 | ABM 530 30 A07 | 108 CARDI 58050800 ABM 242 32C09 | 72
BPW 05.428.41.77.0 ABM 530 30 F 108 CARDI 58051210 ABM 242 32 A05 | 71
BPW 05.428.40.10.1 | ABM 550 30 A06 | 125 CARDI 58051000 ABM 740 33T50 | 147
BPW 05.428.40.28.1 | ABM 55030 A 06 | 125 CARDI 58050600 ABM 292 27 C 48 | 81
BPW 05.429.40.36.1 | ABM 550 30 A06 | 125 CARDI 58051400 ABM 222 32 C 10 | 57
BPW 05.428.43.20.0 | ABM 55030 A 25 | 126 CARDI ABM 222 32 C 57
BPW 05.428.43.34.0 | ABM 550 30 A 25 | 126 CARDI ABM 242 32 C 72
BPW 05.428.43.56.0 | ABM 550 30 A 25 | 126 CARDI ABM 740 33 T 147
BPW 05.429.43.85.0 | ABM 55030 A 29 | 126 CARDI ABM 742 33 P 150
BPW 05.428.40.01.0 ABM 850 36 A 161 CARDI ABM 742 33 P 50 | 151
BPW 05.428.40.02.0 ABM 850 36 A 161 DAF / VDL 67 504 ABM 507 31 A 94
BPW 05.428.41.01.0 ABM 830 36 A 158 DAF / VDL 297 721 ABM 507 31 A03 | 84
BPW 05.428.41.22.1 | ABM 830 36 AB0 | 160 DAF / VDL 377 488 ABM 507 31 B05 | 85
BPW 05.428.40.05.0 ABM 870 36 A 163 DAF / VDL 388 165 ABM 507 31 A01 | 84
BPW 05.428.41.68.0 | ABM 870 36 AB5 | 163 DAF / VDL 388 166 ABM 507 31 A01 | 84
BPW 05.428.40.08.1 | ABM 850 36 AB1 | 161 DAF / VDL 388 167 ABM 507 31 C01 | 86
BPW 05.429.41.36.1 | ABM 850 36 AB1 | 161 DAF / VDL 388 168 ABM 507 31 C01 | 86
BPW 05.428.41.54.0 | ABM 850 36 AB1 | 161 DAF / VDL 392 022 ABM 214 28 A01 | 47
BPW 05.428.43.51.0 | ABM 850 36 A 75 | 161 DAF / VDL 513 982 ABM 507 31 C 95
BPW 02.200.24.40.0 AB 445 18 DAF / VDL 513 983 ABM 214 28 A 47
BPW 02.200.24.60.0 AB 538 26 DAF / VDL 513985 ABM 507 31 B 95
BPW 02.200.24.10.0 AB 455 A 21 DAF / VDL 526 651 ABM 507 31 A02 | 94
BPW 02.200.24.20.0 AB 538 26 DAF / VDL 526 823 ABM 740 33 R 45 | 146
BPW 02.200.24.00.0 AB 545 L 27 DAF / VDL 578 361 AB 538 26
BPW 05.429.40.72.0 ABM 570 30 A 128 DAF / VDL 627 584 AB 455 S 21
BPW 05.428.41.20.1 | ABM 57030 A 26 | 130 DAF / VDL 638 148 AB 545 27
BPW 05.428.41.20.1 | ABM 57030 A06 | 129 DAF / VDL 644 425 AB 539 26
BPW 05.428.40.52.1 | ABM 55030 A 06 | 125 DAF / VDL 688 677 AB 445 18
BPW 05.429.40.64.1 | ABM 550 30 A06 | 125 DAF / VDL 818 225 AB 545 L 27
BPW 05.429.41.56.0 ABM 530 30 E 108 DAF / VDL 1141 525 ABM 214 28 A03 | 47
BPW 05.428.42.04.0 ABM 530 30 G 110 DAF / VDL 1 153 933 ABM 507 31 F02 | 97
BPW 05.428.41.25.0 ABM 550 30 E 126 DAF / VDL 1 153 934 ABM 507 31 F01 | 96
BPW 05.429.42.03.0 ABM 550 30 G 128 DAF / VDL 1153 935 ABM 21428 C 03 | 48
BPW 05.428.43.23.0 | ABM 530 30F07 | 110 DAF / VDL 1154 761 ABM 214 28 A03 | 47
BPW 05.428.43.41.0 | ABM 830 36 A 70 | 160 DAF / VDL 1 240 503 ABM 214 28 A 04 | 48




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
DAF / VDL 1 266 381 ABM 507 31 A04 | 95 EVO (DC) A 383 327 00 01 AB 455 S 21
DAF / VDL 1 266 382 ABM 214 28 A05 | 48 EVO (DC) A 628 327 00 01 ABV 445 C 175
DAF / VDL 1276 846 ABM 216 28 B 51 EVO (DC) A 628 320 00 25 ABV 445 C 01 175
DAF / VDL 1279 141 ABM 21628 B 02 | 51 EVO (KASSBOHRER-SETRA)|  4.731.012.000 AB 888 28
DAF / VDL 1384 273 ABM 722 34 A 35 | 137 EVO (KASSBOHRER-SETRA)|  4.731.013.000 AB 538 26
DAF / VDL 1384 273 ABM 722 34 B 35 | 137 EVO (KASSBOHRER-SETRA)| 4.731.030.000 | ABM 740 33 A45 | 143
DAF / VDL 1384 274 ABM 740 34 F 45 | 148 EVO (KASSBOHRER-SETRA)| 4.731.031.000 AB 888 28
DAF / VDL 1384 274 ABM 740 34 G 45 | 148 EVO (KASSBOHRER-SETRA)|  4.731.032.000 AB 545 L 27
DAF / VDL 1 403 451 ABM 272 32 E30 | 77 EVO (KASSBOHRER-SETRA)| 4.731.033.000 | ABM 740 33 B 45 | 144
DAF / VDL 1 448 543 ABM 227 28 A21 | B3 EVO (KASSBOHRER-SETRA)|  4.731.042.000 AB 888 28
DAF / VDL 1 622 848 ABM 507 31 C06 | 96 EVO (KASSBOHRER-SETRA)| 4.771.143.000 AB 445 18
DAF / VDL 1697 679 ABM 507 31 A04 | 95 EVO (KASSBOHRER-SETRA)|  4.771.427.000 AB 888 28
DAF / VDL 1 697 682 ABM 214 28 A 05 | 48 EVO (KASSBOHRER-SETRA)|  4.771.440.000 AB 888 28
DAF / VDL 1 697 683 ABM 507 31 C06 | 96 EVO (KASSBOHRER-SETRA)| 4.771.441.000 AB 445 18
DAF / VDL 1 697 684 ABM 214 28 A01 | 47 EVO (KASSBOHRER-SETRA) ABM 740 33 A 143
DAF / VDL 1697 685 ABM 214 28 A04 | 48 EVO (KASSBOHRER-SETRA) ABM 740 33 B 143
DAF / VDL 1698 434 ABM 216 28 B 02 | 51 FLOOR FL75028B ABK 538 A F 01 36
DAF / VDL 1 698 436 ABM 227 28 A21 | B3 FLOOR 00861 ABK 545 A F 01 36
DAF / VDL 1 793 526 ABM 227 28 B 21 | B3 FLOOR 13586 ABT 3225 A 02 178
DAF / VDL 1794 420 ABM 507 31 G0O7 | 98 FREIGHTLINER 16-13810-000 | ABM 228 32 A21 | 65
DAF / VDL 1784 425 ABM 21428 D06 | 49 FREIGHTLINER 16-13810-001 ABM 228 32 A 11 | B5
DAF / VDL 1794 428 ABM 21428 D01 | 49 FREIGHTLINER 16-13810-002 | ABM 228 32 A 11| 65
DAF / VDL 1818 225 AB 545 L 27 FREIGHTLINER 16-13840-000 | ABM 228 32 A 11| 65
DAF / VDL 5015 337 ABM 507 31 F08 | 97 FREIGHTLINER 16-13840-000 | ABM 228 32 A21 | 65
DAF / VDL 5015 338 ABM 507 31 F09 | 97 FREIGHTLINER 16-14004-000 | ABM 22832 A 11 | B5
DAF / VDL 5015 340 ABM 547 29 S 03 | 124 FREIGHTLINER 16-14004-000 | ABM 228 32 A21 | 65
DAF / VDL 30 023 245 ABM 507 31 F0S | 97 FREIGHTLINER 16-14004-001 ABM 228 32 A 11 | 65
DAF / VDL 30 023 246 ABM 547 29 S 03 | 124 FREIGHTLINER 16-14004-001 ABM 228 32 A21 | 65
DAF / VDL 41 141 525 ABM 214 28 A 03 | 47 FREIGHTLINER 16-14377-000 | ABM 228 32 A11 | B5
DAF / VDL 41 154 761 ABM 214 28 A03 | 47 FREIGHTLINER 16-15585-000 | ABM 228 32 A 11| 65
DAF / VDL 45 015 337 ABM 507 31 F08 | 97 FREIGHTLINER 16-15585-000 | ABM 228 32 A21 | 65
DAF / VDL 45 015 338 ABM 507 31 F08 | 97 FREIGHTLINER 16-15585-001 ABM 228 32 A 11 | B5
DAF / VDL 45 015 340 ABM 547 28 S 03 | 124 FREIGHTLINER 16-15595-002 | ABM 228 32 A11 | B5
DAF / VDL ABM 214 28 C 48 FREIGHTLINER 16-16773-000 | ABM 228 32 A 11 | 65
DAF / VDL ABM 214 28 D 49 FREIGHTLINER 16-16773-000 | ABM 228 32 A21 | 65
DAF / VDL ABM 227 28 A 63 FREIGHTLINER 16-16825-000 | ABM 228 32 A11 | 65
DAF / VDL ABM 227 28 B 63 FREIGHTLINER 16-19465-000 | ABM 228 32 A21 | B5
DAF / VDL ABM 507 31 F 96 FREIGHTLINER 16-19466-000 | ABM 228 32 A21 | 65
DAF / VDL ABM 507 31 G g7 FREIGHTLINER 16-19467-000 | ABM 228 32 A 11| 65
DAF / VDL ABM 722 34 A 137 FREIGHTLINER 16-19468-000 | ABM 228 32 A 11 | 65
DAF / VDL ABM 722 34 B 137 FREIGHTLINER 681-320-0017 | ABM 228 32 A21 | 65
DAF / VDL ABM 740 33 R 146 FREIGHTLINER A16-13668-002 | ABM 228 32 A 11 | 65
DAF / VDL ABM 740 34 F 148 FREIGHTLINER A16-14004-000 | ABM 228 32 A21 | 65
DAF / VDL ABM 740 34 G 148 FREIGHTLINER ABM 228 32 A01 | 65

DAYTON 352-9422 ABM 204 28 L 46 | 40 FRUEHAUF M001472 ABM 222 32 A0B | 56
DAYTON 952-9121 ABM 722 34Y 68 | 141 FRUEHAUF M001774 ABM 242 32 A05 | 71
DAYTON 3528050 ABM 718 35 J 66 | 136 FRUEHAUF M001782 ABM 242 32 A04 | 71
DAYTON ABM 722 34 Y 141 FRUEHAUF MO078580 ABM 227 28 L 31 | 64

DENNIS BUS 656 300/2 AB 314 L 8 FRUEHAUF UJA 0884-001 ABM 242 32 A03 | 71

DENNIS BUS 656 606/2 AB 314 L 8 FRUEHAUF UJB 0203-001 ABM 242 32 A04 | 71

DENNIS BUS 611 896/12 AB 314 8 FRUEHAUF UJB 0207-001 ABM 222 32 A06 | 56

DENNIS BUS 656 289/2 AB 640 L 28 FRUEHAUF UJB 0305-001 ABM 742 34 A 47 | 151

DENNIS BUS 650 282/8 AB 640 27 FRUEHAUF UJB 0358-001 ABM 242 32 A05 | 71

DENNIS BUS 650 883/4 AB 640 27 FRUEHAUF UJB 0975 ABM 537 30F 22 | 117

DENNIS BUS 650 883/7 AB 640 27 FRUEHAUF AB 445 18

DENNIS BUS 656 298/2 AB 640 SL 28 FRUEHAUF AB 538 26

DROEGMOELLER [440320200002-00 AB 888 28 FRUEHAUF AB 545 L 27
DROEGMOELLER AB 445 18 FRUEHAUF ABM 222 32 A 55
ERF 139855-0 ABM 522 33 B 02 | 105 FRUEHAUF ABM 222 32 A02 | 56

EVO (DC) A 000 328 00 01 AB 414 12 FRUEHAUF ABM 222 32 A 11 | 56
EVO (DC) A 000 327 01 01 AB 445 18 FRUEHAUF ABM 222 32 B 08 | 57
EVO (DC) A 307 328 00 01 AB 445 18 FRUEHAUF ABM 242 32 A 70
EVO (DC) A 327 328 00 01 AB 445 18 FRUEHAUF ABM 242 32 A07 | 71




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
FRUEHAUF ABM 537 30 F 116 HENDRICKSON c20127 ABM 522 33 B 02 | 105
FRUEHAUF ABM 537 30F 15 | 116 HENDRICKSON HA100001 ABM 222 32 A01 | 55
FRUEHAUF ABM 537 30F 21 | 116 HENDRICKSON HA100016 ABM 222 32D 11| 58
FRUEHAUF ABM 742 34 A 151 HENDRICKSON HA100053 ABM 268 32D 15 | 75
GIGANT 166205 AB 545 L 27 HENDRICKSON HS5508438 ABM 27030G 44 | 76
GIGANT 166217 ABM 850 36 B 62 | 162 HENDRICKSON HS508440 ABM 27032 G 46 | 76
GIGANT 166252 ABM 850 36 B 63 | 162 HENDRICKSON HS505613 ABT 3225 F 02 178
GIGANT 166271 ABM 580 30 M 130 HENDRICKSON HS506118 ABT 3225 F 02 178
GIGANT 166292 ABM 530 30R 09 | 111 HENDRICKSON HS5507487 ABT 3225 F 02 1789
GIGANT 166284 ABM 53030 F09 | 110 HENDRICKSON HS508264 ABT 3225 F 02 178
GIGANT 196035 AB 538 26 HENDRICKSON HS508345 ABT 3225 F 02 178
GIGANT 196036 AB 545 L 27 HENDRICKSON S5-13160 ABM 722 34 Y 68 | 141
GIGANT 196043 AB 545 27 HENDRICKSON ABM 222 32 A 55
GIGANT 246149 ABM 851 36 B 162 HENDRICKSON ABM 222 32 B 56
GIGANT 246169 ABM 551 30 M 128 HENDRICKSON ABM 222 32 D 57
GIGANT 247103 ABM 831 36 B 160 HENDRICKSON ABM 270 30 G 76
GIGANT 247104 ABM 580 30 M 130 HENDRICKSON ABM 526 31 A 105
GIGANT 700190130 ABT 3225 C 01 178 HENDRICKSON ABM 526 31 A 03 | 106
GIGANT 18 01 30 ABT 3225 C 01 178 HENDRICKSON ABM 719 35 P67 | 136
GIGANT ABM 851 36 B 162 HENDRICKSON ABM 722 34 A 137
GRANNING 1358 ABM 222 32 B 08 | 57 HENDRICKSON ABM 722 34 B 137
GRANNING 1371 ABT 3225 A 02 178 HENDRICKSON ABM 722 34 Y 141
GRANNING 1528 ABM 222 32 B 08 | 57 HENDRICKSON ABM 740 33 A 143
GRANNING 2727 ABM 222 32 B 08 | 57 HENDRICKSON ABM 740 33 B 143
GRANNING 11903 ABM 722 34 S 40 | 140 HENDRICKSON ABM 760 34 A 156
GRANNING 15598 ABT 3225 D 02 178 HINO AB 475 23
GRANNING 15603 ABT 3225 A 02 178 HINO ABM 2125 27 A 82
GRANNING 15635 ABM 722 34 A 35 | 137 HINO ABM 2125 27 A 01| 82
GRANNING 15635 ABM 722 34 B 35 | 137 HINO ABM 2125 27 A 02| 83
GRANNING 15670 ABT 3225 B 01 178 HINO ABM 2125 27 B 83
GRANNING 16120 ABM 722 34 S 40 | 140 HINO ABM 2125 27 B 03| 83
GRANNING ABM 222 32 B 56 HINO ABM 2125 27 B 04| 83
GRANNING ABM 722 34 A 137 IKARUS B 510040 AB 416 13
GRANNING ABM 722 34 B 137 IKARUS AB 445 18
GRANNING ABM 722 34 S 140 IKARUS AB 888 28
HANOMAG 546905134 AB 445 18 IKARUS AB 538 26
HANOMAG 536905265 AB 888 28 IKARUS AB 538 26
HANOMAG AB 538 26 IKARUS AB 418 13
HENDRICKSON 4771 ABM 718 35 J 65 | 136 INBUS 4840001 AB 448 20
HENDRICKSON 4771 ABM 718 35 J 66 | 136 INBUS 4840005 AB 448 20
HENDRICKSON 251 087 ABM 522 33 A 01 | 104 INBUS 4880001 AB 448 20
HENDRICKSON 505 859 ABM 740 33 A 45 | 143 INBUS 5 001 051 AB 445 S 17
HENDRICKSON 505 859 ABM 740 33 B 45 | 144 INBUS AB 445 A 18
HENDRICKSON 506 243 ABM 722 34 A 35 | 137 IRIS 5.000.296.816 AB 888 L 28
HENDRICKSON 506 243 ABM 722 34 B 35 | 137 IRIS 5.000.786.640 AB 414 S 11
HENDRICKSON 506 500 ABM 522 33 B 02 | 105 IRIS 5.000.786.641 AB 414 S 11
HENDRICKSON 507 782 ABM 760 34 A 47 | 156 IRIS 5.000.805.284 AB 414 S 11
HENDRICKSON 508 263 ABM 520 30 N 01 | 104 IRIS 5.000.818.517 AB 535 26
HENDRICKSON 785 168 ABM 722 34 A 35 | 137 IRIS 5.000.954.175 AB 430 B 14
HENDRICKSON 785 168 ABM 722 34 B 35 | 137 IRIS 5.000.954.176 AB 445 L 19
HENDRICKSON 785 170 ABM 740 33 A 45 | 143 IRIS 5.001.021.414 AB 523 23
HENDRICKSON 785 170 ABM 740 33 B 45 | 144 IRIS 5.001.157.038 ABK 515 S N 01 34
HENDRICKSON 12514-013 ABM 718 35 J 66 | 136 IRIS 5.001.829.866 AB 888 28
HENDRICKSON 12514-013 ABM 719 35 J 65 | 136 IRIS 5.001.843.640 AB 526 25
HENDRICKSON 505 859 /01 ABM 740 33 A 45 | 143 IRIS 5.001.857.612 AB 515 S 23
HENDRICKSON 505 859 /01 ABM 740 33 B 45 | 144 IRIS 5.006.172.377 ABK 523 N 02 35
HENDRICKSON 506 243 /01 ABM 722 34 A 35 | 137 IRIS 5.006.172.527 ABK 523 N 04 35
HENDRICKSON 506 243 /01 ABM 722 34 B 35 | 137 IRIS 5.010.073.847 ABK 888 L M 09 37
HENDRICKSON 57122-1 ABM 272 32E 30 | 77 IRIS 5.010.151.379 ABK 414 F 01 32
HENDRICKSON 57122-2 ABM 272 32E30 | 77 IRIS 5.010.294.385 AB 415 S 12
HENDRICKSON B 13032 ABM 204 28 L 46 | 40 IRIS 5.010.347.891 ABK 526 N 03 36
HENDRICKSON B 2066 ABM 222 32 B 08 | 57 IRIS 5.010.531.180 ABK 515 S N 04 35
HENDRICKSON C20010 ABM 264 33D 40 | 75 IRIS 503.130.261 AB 888 S 28




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
IRIS AB 445 18 IVECO 93166132 AB 412 11
ISUZU 1-52110223-0 | ABKB40SLO 02 | 37 IVECO 97105922 AB 408 S 9
ISUZU 8-98197587-0 ABK 314 S 0 01 32 IVECO 98411807 AB 407 L 9
ISUzU AB 314 S 8 IVECO 98445471 AB 408 S g
IsuzU AB 640 SL 28 IVECO 98478789 AB 415 13
IVECO 198563 AB 448 S 18 IVECO 99458555 ABM 227 2B H05 | 64
IVECO 577443 AB 448 SL 20 IVECO 99458166 AB 448 L 20
IVECO 577472 AB 408 S 8 IVECO 99482948 AB 444 SL 16
IVECO 4714025 AB 445 A 18 IVECO 99482949 AB 444 SL 16
IVECO 4716888 AB 448 XL 20 IVECO 500301452 AB 444 L 17
IVECO 4722525 AB 448 20 IVECO 500301776 AB 408 10
IVECO 4738008 AB 445 A 18 IVECO 500324088 AB 450 21
IVECO 4746733 AB 888 28 IVECO 500324514 AB 450 21
IVECO 4763473 AB 535 26 IVECO 500324515 AB 450 21
IVECO 4823495 AB 448 SL 20 IVECO 500330231 AB 450 21
IVECO 4827211 AB 448 SL 20 IVECO 500330232 AB 450 21
IVECO 4843220 AB 448 SL 20 IVECO 500357351 ABC 2017 A1 186
IVECO 4843255 AB 890 SL 29 IVECO 500364686 AB 444 XL 17
IVECO 4847671 AB 890 SL g IVECO 500367184 AB 890 29
IVECO 6144040 AB 448 S 18 IVECO 500379055 ABM 221 31 P51 | 54
IVECO 6453741 AB 640 27 IVECO 500380648 AB 408 10
IVECO 6657150 AB 448 20 IVECO 504157038 ABK 515 S N 01 34
IVECO 8139068 AB 8390 29 IVECO 504180916 ABM 2832 24 R 50| 87
IVECO 8160165 AB 447 18 IVECO 504180917 ABM 2932 24 P 50| 87
IVECO 8188526 AB 444 17 IVECO 5000787632 AB 444 L 17
IVECO 8188539 AB 444 L 17 IVECO 5000869178 AB 444 L 17
IVECO 41008928 AB 444 S 16 IVECO 5000854176 AB 444 L 17
IVECO 41022620 AB 890 L 30 IVECO 5006204504 AB 450 21
IVECO 41031246 AB 444 S 16 IVECO 5006204505 AB 450 21
IVECO 41214813 AB 444 17 IVECO 5006228624 AB 450 21
IVECO 41214814 AB 444 17 IVECO 5006228625 AB 450 21
IVECO 41214820 AB 444 17 IVECO 5006228736 AB 450 21
IVECO 41214821 AB 444 17 IVECO 5006228737 AB 450 21
IVECO 41218558 AB 444 S 16 IVECO 5006228740 AB 444 SL 16
IVECO 41218560 AB 444 S 16 IVECO 5006228741 AB 444 SL 16
IVECO 41218562 AB 444 S 16 IVECO 5006306036 AB 448 SL 20
IVECO 41218563 AB 444 S 16 IVECO 5006306037 AB 448 SL 20
IVECO 41218567 AB 444 S 16 IVECO 5010073847 AB 444 | 17
IVECO 41218577 AB 444 XL 17 IVECO 5010151698 AB 444 L 17
IVECO 41270462 ABM 234 28 A01 | 66 IVECO 8010000336 AB 448 20
IVECO 41270462 ABM 234 28 A 11 | B6 IVECO AB 445 A 18
IVECO 41270463 ABM 234 28 B 01 | B6 IVECO AB 445 18
IVECO 41270463 ABM 234 28B 11 | 67 IVECO AB 455 A 21
IVECO 412704865 ABM 23428 C01 | 67 IVECO AB 455 A 21
IVECO 41270465 ABM 234 28C 11 | 67 IVECO ABC 2016 A1 186
IVECO 41270466 ABM 234 28D 01 | 68 IVECO ABC 2016 A1 186
IVECO 41270466 ABM 234 28D 11 | 68 IVECO ABM 221 31 P 54
IVECO 41288377 ABM 236 28 A 15 | B8 IVECO ABM 227 28 H 64
IVECO 41287178 ABK 880 L C 01 38 IVECO ABM 236 28 A 68
IVECO 41287178 ABM 286 28B 17 | 80 IVECO ABM 236 28 B 69
IVECO 41297180 ABM 28628 A 17 | 79 IVECO ABM 286 28 A 79
IVECO 41297720 AB 448 S 18 JELCZ ABM 286 28 B 80
IVECO 41287721 AB 448 S 18 KAMAZ AB 430 L 14
IVECO 41298379 ABM 236 28 B 15 | B9 KASSBOHRER K-303-6 ABM 204 28 L 46 | 40
IVECO 41822247 AB 538 26 KENWORTH K-303-14 ABM 204 28 L 46 | 40
IVECO 42531994 AB 444 SL 16 KENWORTH K-303-15 ABM 204 28 L 46 | 40
IVECO 42534924 AB 415 S 12 KENWORTH K-303-18 ABM 202 28 M 44 | 40
IVECO 42558765 ABM 234 28 A 65 KENWORTH K-303-28 ABM 202 28 K 44 | 40
IVECO 42558766 ABM 234 28 B 66 KOEGEL 4.731.032.000 AB 545 L 27
IVECO 42558767 ABM 234 28 C 67 KOEGEL AB 538 26
IVECO 42559768 ABM 234 28 D 68 KOEGEL AB 545 27
IVECO 75028786 AB 448 20 KOEGEL AB 640 L 28
IVECO 93166129 AB 408 S 9 L.A.G AB 420 14




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
LIAZ ABK 418 B 12 34 MAN 81.43601.0091 AB 545 27
LIAZ ABK 418 C 13 34 MAN 81.43601.0082 AB 443 16

LOADGUARD SC2040 ABM 722 34Y 68 | 141 MAN 81.43601.0083 AB 443 16

LOADGUARD SC2050 ABM 204 28 L 46 | 40 MAN 81.43601.0094 AB 443 16

LOADGUARD 5C2052 ABM 718 35 J 66 | 136 MAN 81.43601.0085 AB 455 21

LOADGUARD SC2750 ABM 228 32 A 11 | B5 MAN 81.43601.0086 AB 455 XL 22

LOADGUARD SC2750 ABM 228 32 A21 | 65 MAN 81.43601.0087 AB 455 21

LOADGUARD SC2761 ABM 522 33 B 02 | 105 MAN 81.43601.0098 AB 455 XL 22

LOADGUARD ABM 722 34 Y 141 MAN 81.43601.0099 AB 443 16

MAGIRUS-DEUTZ 02498667 AB 888 28 MAN 81.43601.0100 AB 455 21
MAGIRUS-DEUTZ 041822247 AB 888 28 MAN 81.43601.0101 AB 455 XL 22
MAGIRUS-DEUTZ 4456111 AB 535 26 MAN 81.43601.0102 AB 455 21
MAGIRUS-DEUTZ 2491566 AB 448 20 MAN 81.43601.0103 AB 443 16
MAN 81.41722.6048 ABC 2015 A1 186 MAN 81.43601.0104 AB 415 13
MAN 81.41722.6049 ABC 2007 A1 185 MAN 81.43601.0105 AB 455 21
MAN 81.41722.6051 ABC 2015 A1 186 MAN 81.43601.0106 AB 415 S 12
MAN 81.41722.6052 ABC 2007 A1 185 MAN 81.43601.0108 AB 415 S 12
MAN 81.43600.6035 | ABM 53929 A02 | 118 MAN 81.43601.0109 AB 415 13
MAN 81.43600.6036 | ABM 541 27 B 01 | 121 MAN 81.43601.0110 AB 415 L 13
MAN 81.43600.6037 | ABM 543 29 A03 | 122 MAN 81.43601.0111 AB 415 13
MAN 81.43600.6038 | ABM 543 28 A02 | 121 MAN 81.43601.0113 AB 535 26
MAN 81.43600.6039 | ABM 640 32 A01 | 135 MAN 81.43601.0114 AB 545 27
MAN 81.43600.6040 | ABM 640 32 A02 | 136 MAN 81.43601.0115 AB 535 26
MAN 81.43600.6041 | ABM53929B03 | 119 MAN 81.43601.0116 AB 545 27
MAN 81.43600.6042 | ABM 630 32 A01 | 135 MAN 81.43601.0117 AB 535 26
MAN 81.43600.6044 | ABM 53127 A01 | 112 MAN 81.43601.0121 AB 443 16
MAN 81.43600.6049 | ABM 53328 C01 | 112 MAN 81.43601.0123 AB 415 13
MAN 81.43600.6055 | ABM 53929 A02 | 118 MAN 81.43601.0125 AB 415 13
MAN 81.43600.6056 | ABM 54127 B 01 | 121 MAN 81.43601.0126 AB 455 21
MAN 81.43601.0017 AB 445 18 MAN 81.43601.0127 AB 455 XL 22
MAN 81.43601.0018 AB 538 26 MAN 81.43601.0128 AB 415 L 13
MAN 81.43601.0032 AB 443 16 MAN 81.43601.0132 AB 443 16
MAN 81.43601.0033 AB 455 A 21 MAN 81.43601.0138 AB 455 XL 22
MAN 81.43601.0036 AB 455 A 21 MAN 81.43601.0140 AB 415 13
MAN 81.43601.0037 AB 455 A 21 MAN 81.43601.0150 AB 415 13
MAN 81.43601.0039 AB 432 15 MAN 81.43601.0151 ABM 541 27 B 120
MAN 81.43601.0040 AB 432 15 MAN 81.43601.0152 ABM 539 29 A 118
MAN 81.43601.0049 AB 538 26 MAN 81.43601.0153 ABM 543 28 A 121
MAN 81.43601.0051 AB 538 26 MAN 81.43601.0155 ABM 640 32 A 135
MAN 81.43601.0052 AB 538 26 MAN 81.43601.0158 ABM 630 32 A 135
MAN 81.43601.0056 AB 545 27 MAN 81.43601.0160 ABM 531 27 A 111
MAN 81.43601.0057 AB 545 27 MAN 81.43601.0163 AB 888 29
MAN 81.43601.0058 AB 545 27 MAN 81.43601.0168 ABM 533 28 C 112
MAN 81.43601.0059 AB 535 26 MAN 81.43601.0174 ABM 538 28 A 118
MAN 81.43601.0060 AB 535 26 MAN 81.43601.0175 ABM 538 28 A 118
MAN 81.43601.0061 AB 535 26 MAN 81.43601.0176 ABM 541 27 B 120
MAN 81.43601.0065 AB 443 16 MAN 81.43601.6060 AB 432 15
MAN 81.43601.0066 AB 415 S 12 MAN 81.43601.6069 AB 432 15
MAN 81.43601.0067 AB 443 16 MAN 81.43601.6071 ABM 531 27 A 111
MAN 81.43601.0068 AB 415 S 12 MAN 81.43601.6075 AB 432 15
MAN 81.43601.0069 AB 415 S 12 MAN 81.43601.6089 AB 443 16
MAN 81.43601.0070 AB 443 16 MAN 80.83112.0144 AB 888 28
MAN 81.43601.0071 AB 415 L 13 MAN ABM 53127 A 11 | 112
MAN 81.43601.0072 AB 415 L 13 MAN ABM 53328C 11 | 113
MAN 81.43601.0075 AB 535 26 MAN ABM 538928 A 12 | 119
MAN 81.43601.0076 AB 545 27 MAN ABM 539 28 B 118
MAN 81.43601.0078 AB 535 26 MAN ABM 541 27 B 11 | 121
MAN 81.43601.0079 AB 545 27 MAN ABM 722 34 A 137
MAN 81.43601.0081 AB 535 26 MAN ABM 722 34 B 137
MAN 81.43601.0082 AB 545 27 MAZ ABK 414 S A 11 33
MAN 81.43601.0083 AB 535 26 MCW AB 445 A 18
MAN 81.43601.0084 AB 545 27 MENARINI 178739 AB 434 B 15
MAN 81.43601.0080 AB 535 26 MENARINI 192709 AB 408 S 9




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
MENARINI 252933 AB 407 9 MERCEDES A 842 320 54 21 ABV 243 D 01 166
MENARINI D020930 AB 444 SL 16 MERCEDES A 842 320 58 21 ABT 3225 F 02 178
MENARINI 178623 AB 448 20 MERCEDES A 842 320 69 21 ABV 295 F 01 174
MENARINI 325983 AB 448 20 MERCEDES A 842 320 71 21 ABV 2893 F 11 173
MENARINI 178741 AB 448 XL 20 MERCEDES A 842 320 72 21 ABV 285 G 01 174
MENARINI 55001051 AB 448 S 18 MERCEDES A 842 320 73 21 ABV 295 F 01 174
MERCEDES A 000 328 01 01 AB 408 S 5 MERCEDES A 842 327 00 01 ABV 263 C 170
MERCEDES A 318 328 00 01 AB 432 B 15 MERCEDES A 842 327 04 01 ABV 261 C 168
MERCEDES A 337 327 00 01 AB 448 20 MERCEDES A 842 327 06 01 ABT 3225 F 02 1789
MERCEDES A 363 328 00 01 AB 535 26 MERCEDES A 842 328 00 01 ABV 247 A 167
MERCEDES A 363 328 02 01 AB 430 14 MERCEDES A 842 328 01 01 ABV 247 D 168
MERCEDES A 382 327 71 01 AB 538 26 MERCEDES A 842 328 06 01 ABV 243 A 166
MERCEDES A 382 327 72 01 AB 445 L 19 MERCEDES A 842 328 07 01 ABV 243 D 166
MERCEDES A 383 327 00 01 AB 455 S 21 MERCEDES A 842 890 02 19 ABC 2014 A1 185
MERCEDES A 387 328 01 01 AB 455 A 21 MERCEDES A 842 880 29 19 ABC 2006 A1 185
MERCEDES A 393 328 01 01 AB 434 B 15 MERCEDES A 845 32000 17 ABV 264 C 02 170
MERCEDES A B28 323 00 92 AB 415 SB 12 MERCEDES A 846 320 01 21 ABV 267 C 02 172
MERCEDES A 655 327 00 01 AB 455 A 21 MERCEDES A 846 320 02 21 ABV 267 C 02 172
MERCEDES A 658 328 00 01 AB 415 S 12 MERCEDES A 846 320 03 21 ABV 265 C 04 171

MERCEDES A 658 328 01 01 AB 443 16 MERCEDES A 946 320 04 21 ABV 267 C 01 172
MERCEDES A B67 328 00 01 | ABK 408 S E 05 32 MERCEDES A 8946 320 05 21 ABV 265 C 05 171

MERCEDES A 667 328 01 01 | ABK 408 S D 04 32 MERCEDES A 846 328 00 01 ABV 267 C 172
MERCEDES A 674 328 00 01 AB 434 L 16 MERCEDES A 846 328 14 01 | ABM53730B 15 | 115
MERCEDES A 674 328 01 01 AB 455 L2 22 MERCEDES A 946 328 25 01 | ABM 54528 M 15 | 122
MERCEDES A B74 328 03 01 AB 412 L 11 MERCEDES A 857 32001 17 ABV 265 C 06 172
MERCEDES A 842 32001 17 ABV 263 C 02 170 MERCEDES A 857 320 03 17 ABV 265 C 06 172
MERCEDES A 842 320 01 21 ABV 247 A 02 167 MERCEDES A 860 320 00 57 | ABM 54028 R 40 | 120
MERCEDES A 842 320 02 17 ABV 261 C 01 168 MERCEDES A 960 320 01 21 | ABM 582 30N 37 | 131

MERCEDES A 842 320 02 21 ABV 247 B 02 168 MERCEDES A 860 320 01 57 | ABM 540 28 N 40 | 120
MERCEDES A 842 320 03 21 ABV 247 A 03 167 MERCEDES A 860 320 02 21 | ABM 582 30R 37 | 131

MERCEDES A 842 320 04 21 ABV 247 B 03 168 MERCEDES AB8B032003 21 | ABM21225H 34 | 44

MERCEDES A 842 320 05 57 ABV 295 F 01 174 MERCEDES A 960 320 06 57 | ABM 288 27 K36 | 82

MERCEDES A 842 32008 17 ABV 264 C 03 171 MERCEDES A 860 320 12 57 | ABM 294 25 H 35 | 81

MERCEDES A 842 320 06 21 ABV 243 A 01 166 MERCEDES A 960 320 13 57 | ABM 586 30N 38 | 132
MERCEDES A 942 320 07 21 ABV 243 D 01 166 MERCEDES A 98B0 3201757 | ABM 586 30R 38 | 132
MERCEDES A 842 320 13 21 ABV 295 F 01 174 MERCEDES A 960 320 34 57 | ABM 584 32 R 39 | 133
MERCEDES A 842 320 14 21 ABV 295 F 01 174 MERCEDES A 860 320 62 57 | ABM 294 25 H 35 | 81

MERCEDES A 842 320 17 21 ABV 293 F 11 173 MERCEDES A 860 320 67 57 | ABM 54028 R 40 | 120
MERCEDES A 842 320 18 21 ABV 295 G 01 174 MERCEDES A 860 320 68 57 | ABM 54028 N 40 | 120
MERCEDES A 842 320 19 21 ABV 295 F 01 174 MERCEDES A 960 320 70 21 | ABM 54028 R 40 | 120
MERCEDES A 842 320 22 21 ABV 295 F 01 174 MERCEDES A 9B0 320 71 57 | ABM 298 27 K36 | 82

MERCEDES A 842 320 23 21 ABV 295 F 01 174 MERCEDES A 960 320 76 57 | ABM 584 32 R 39 | 133
MERCEDES A 842 320 25 21 ABV 293 F 11 173 MERCEDES A 860 32077 21 | ABM 54028 N 40 | 120
MERCEDES A 842 320 26 21 ABV 295 G 01 174 MERCEDES A 974 320 00 21 ABV 275 G 01 173
MERCEDES A 842 320 27 21 ABV 295 F 01 174 MERCEDES A 974 32004 17 ABV 263 A 02 168
MERCEDES A 842 320 28 21 ABV 247 A 02 167 MERCEDES A 874 328 00 01 ABV 263 A 168
MERCEDES A 842 320 29 21 ABV 247 B 02 168 MERCEDES A 8974 328 02 01 ABV 275 G 173
MERCEDES A 842 320 30 21 ABV 275 G 01 173 MERCEDES ABM 212 25 H 44

MERCEDES A 942 320 32 21 ABV 263 A 02 169 MERCEDES ABM 214 25 H 46

MERCEDES A 842 320 33 21 ABV 264 C 03 171 MERCEDES ABM 294 25 H 81

MERCEDES A 842 320 35 21 ABV 267 C 02 172 MERCEDES ABM 288 27 K 82

MERCEDES A 842 320 36 21 ABV 267 C 02 172 MERCEDES ABM 537 30 B 115
MERCEDES A 942 320 37 21 ABV 265 C 04 171 MERCEDES ABM 540 28 N 118
MERCEDES A 842 320 38 21 ABV 267 C 01 172 MERCEDES ABM 540 28 R 120
MERCEDES A 842 320 39 21 ABV 265 C 05 171 MERCEDES ABM 545 28 M 122
MERCEDES A 842 320 43 21 ABV 263 C 02 170 MERCEDES ABM 582 30 N 130
MERCEDES A 942 320 44 21 ABV 261 C 01 169 MERCEDES ABM 582 30 R 131

MERCEDES A 842 320 48 21 ABV 264 C 02 170 MERCEDES ABM 586 30 N 132
MERCEDES A 842 320 49 21 ABV 247 A 02 167 MERCEDES ABM 586 30 R 132
MERCEDES A 842 320 50 21 ABV 247 B 02 168 MERCEDES ABM 594 32 R 133
MERCEDES A 942 320 51 21 ABV 247 A 03 167 MERCEDES ABV 247 B 167
MERCEDES A 842 320 52 21 ABV 247 B 03 168 MERCEDES ABV 247 D 02 168
MERCEDES A 842 320 53 21 ABV 243 A 01 166 MERCEDES ABV 264 C 170




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
MERCEDES ABV 265 C 171 PEGASO 795097 AB 640 L 28
MERCEDES ABV 293 F 173 PEGASO AB 445 S 17
MERCEDES ABV 295 F 174 PEZZAIOLI 70102100 ABM 296 27 C 48 | 81
MERCEDES ABV 295 G 174 PEZZAIOLI ABM 222 32 C 57
MERCEDES (DISCOS) | A 8946 328 04 01 | ABM 522 33 A01 | 104 PEZZAIOLI 1006550 ABM 222 32 C 10 | 57
MERCEDES (DISCOS) | A 846 328 1501 | ABM 742 35C 38 | 152 PEZZAIOLI AB 445 A 18
MERCEDES (DISCOS) ABM 537 30 A 114 PORTESI 700176 AB 448 20
MERCEDES (DISCOS) ABM 742 35 C 151 PORTESI 5.000.452.938 | ABM 722 34 A35 | 137
MERCEDES (DISCOS) AB 455 A 21 RENAULT V.I. 21 978 484 ABM 760 32 L 50 A| 155
MOW 554762C-1 ABM 204 28 L 46 | 40 RENAULT V.I. 21 978 485 ABM 744 32 L 50 A| 153
NAVISTAR ABM 722 34 Y 141 RENAULT V.1. 22 025 580 ABM 5545 28 5 51| 134
NAVISTAR 554773C1 ABM 722 34Y 68 | 141 RENAULT V.I. 74218784892 ABM 2568 29 A 38 | 73
NAVISTAR 1685174C1 ABM 718 35 J 66 | 136 RENAULT V.I. 5.000.288.982 AB 414 12
NAVISTAR 1R14-241 ABM 718 35 J 66 | 136 RENAULT V.I. 5.000.301.452 AB 415 S 12
NAVISTAR 1R13-247 ABM 522 33 B 02 | 105 RENAULT V.1. 5.000.452.939 | ABM 722 34 B 35 | 137
NEOPLAN 1001 10 300 AB 445 18 RENAULT V.I. 5.000.640.398 ABK 888 L M 09 37
NEOPLAN 1001 12 254 AB 445 18 RENAULT V.I. 5.000.738.516 ABK 888 L M 09 37
NEOPLAN 1001 12 250 AB 888 28 RENAULT V.I. 5.000.745.918 | ABM 740 34 F 45 | 148
NEOPLAN 1001 00 1 AB 888 28 RENAULT V.1. 5.000.745.918 | ABM 740 34 G 45 | 148
NEOPLAN 1001 10 200 AB 538 26 RENAULT V.I. 5.000.786.641 AB 407 g
NEOPLAN 1001 12 251 AB 538 26 RENAULT V.1. 5.000.787.632 AB 445 L 19
NEOPLAN AA 10-01-002 AB 538 26 RENAULT V.I. 5.000.787.901 AB 640 B 27
NEOPLAN AA 10-21-300 AB 538 26 RENAULT V.1. 5.000.790.682 | ABM 740 33 A 45 | 143
NEOPLAN 1001 12 300 AB 455 A 21 RENAULT V.I. 5.000.790.682 | ABM 740 33 B 45 | 144
NEOPLAN 1021 00 300 AB 538 26 RENAULT V.1. 5.000.805.998 AB 407 9
NEOPLAN 1001 10 100 AB 545 L 27 RENAULT V.I. 5.000.818.517 AB 535 26
NEOPLAN 1021 00 200 AB 545 L 27 RENAULT V.1. 5.000.868.179 AB 445 L 18
NEOPLAN 1001 12 100 AB 412 L 11 RENAULT V.I. 5.000.954.176 AB 445 L 18
NEWAY 11808 ABM 242 32C09 | 72 RENAULT V.1. 5.001.832.067 ABM 760 32 H 154
NEWAY 90557110 ABM 722 34Y 68 | 141 RENAULT V.I. 5.001.855.856 ABM 237 27 F 69
NEWAY 212 156 32 ABM 722 34 B 35 | 137 RENAULT V.1. 5.010.052.722 | ABM 96038 C 01 | 163
NEWAY 212 156 33 ABM 740 33 A 45 | 143 RENAULT V.I. 5.010.130.683 | ABM 96038 C 01 | 163
NEWAY 212 156 33 ABM 740 33 B 45 | 144 RENAULT V.1. 5.010.130.797.G ABC 2012 185
NEWAY 805 570 27 ABM 222 32 B 08 | 57 RENAULT V.I. 5.010.130.925 | ABM 740 33 A 45 | 143
NEWAY 805 570 33 ABM 222 32 B 08 | 57 RENAULT V.1. 5.010.130.925 | ABM 740 33 B 45 | 144
NEWAY 805 570 37 ABM 222 32 B 08 | 57 RENAULT V.I. 5.010.211.724 | ABM 94036 C 01 | 161
NEWAY 805 570 54 ABM 222 32 B 08 | 57 RENAULT V.1. 5.010.238.180 AB 415 8 12
NEWAY 805 570 75 ABM 222 32 B 08 | 57 RENAULT V.I. 5.010.294.157 AB 415 S 12
NEWAY 805 572 33 ABM 227 28 L 31 | 64 RENAULT V.1. 5.010.294.307 | ABM 760 32 H 50 | 154
NEWAY M0557048 ABM 221 31 P51 | 54 RENAULT V.I. 5.010.294.307.C | ABM 760 32 H 50 | 154
NEWAY ABM 222 32 A01 | 55 RENAULT V.I. 5.010.294.308.C | ABM 744 32 H50 | 152
NEWAY ABM 221 31 P 54 RENAULT V.I. 5.010.294.308 | ABM 23727 F039 | 70
NEWAY ABM 222 32 A 55 RENAULT V.1. 5.010.294.385 AB 444 L 17
NEWAY ABM 222 32 B 56 RENAULT V.I. 5.010.294.385 .B| ABK 415 SAG 24 | 33
NEWAY ABM 537 30 F 116 RENAULT V.I. 5.010.305.381 |ABM 554529 S 51| 134
NEWAY ABM 537 30F 21 | 116 RENAULT V.I. 5.010.305.438 | ABM 221 31 R43 | 55
NEWAY ABM 722 34 A 137 RENAULT V.1. 5.010.488.756 | ABK 415 5AG24 | 33
NEWAY ABM 722 34 B 137 RENAULT V.I. 5.010.488.757 ABK 464 G 25 34
NEWAY ABM 722 34 Y 141 RENAULT V.I. 5.010.531.180 ABK 515 S N 04 35
NEWAY ABM 740 33 A 143 RENAULT V.I. 5.010.557.355 | ABM 760 32 L 50 | 155
NEWAY ABM 740 33 B 143 RENAULT V.1. 5.010.557.356 | ABM 744 32 L 50 | 153
OPTARE R5800001 AB 204 8 RENAULT V.I. 5.010.557.622 | ABM 54929 P 50 | 125
PAZ AB 411 S 10 RENAULT V.I. 5.010.600.328 |ABM 760 32 L 50 A| 155
PAZ AB 411 10 RENAULT V.I. 5.010.600.438 |ABM 744 32 L 50 A| 153
PEGASO ABM 740 33 A 143 RENAULT V.I. 5.010.600.570 | ABM 221 31 R43 | 55
PEGASO ABM 740 33 B 143 RENAULT V.I. 5.010.600.578 | ABM 237 27 F0S | 70
PEGASO AB 445 XL 18 RENAULT V.I. 5.010.628.414 ABC 2012 185
PEGASO AB 415 S 12 RENAULT V.I. 5.010.630.457 | ABM 54828 P 50 | 125
PEGASO AB 455 A 21 RENAULT V.1. 5.010.630.800 |ABM 554529 S 51| 134
PEGASO AB 415 L 13 RENAULT V.I. 5.810.111.355 AB 407 g
PEGASO AB 415 L 13 RENAULT V.I. 7.420.809.153 | ABM 256828 A38 | 73
PEGASO 47486740 AB 434 B 15 RENAULT V.I. 7.421.878.484 | ABM 548 29 P 50 | 125
PEGASO 794686 AB 640 L 28 RENAULT V.I. 7.421.878.500 | ABM 23727 F08 | 70




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
RENAULT V.I. 7.421.978.506 | ABM 221 31 R43 | 55 ROR ABM 537 30 L 118
RENAULT V.I. 7.422.190.563 | ABM 23727 F09 | 70 ROR ABM 545 30 L 123
RENAULT V.I. AB 412 L 11 ROR ABM 722 34 A 137
RENAULT V.I. AB 464 22 ROR ABM 722 34 B 137
RENAULT V.I. AB 526 L 25 ROR ABM 728 33 B 142
RENAULT V.I. ABK 640 B A 01 37 ROR ABM 740 33 A 143
RENAULT V.I. ABM 547 28 P 124 ROR ABM 740 33 B 143
RENAULT V.I. ABM 547 28 P 45 | 124 ROR ABM 742 33 B 148
RENAULT V.I. ABM 549 29 P 125 ROR ABM 742 34 A 151
RENAULT V.I. ABM 5545 29 § 134 ROR ABM 760 34 A 156
RENAULT V.I. ABM 5648 35 C 04| 134 SAE 8403 /102 ABM 740 33 B 45 | 144
RENAULT V.I. ABM 722 34 A 137 SAE ABM 740 33 B 143
RENAULT V.I. ABM 722 34 B 137 SAF 90044702 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 740 33 A 143 SAF 90054060 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 740 33 B 143 SAF 90557010 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 740 34 F 148 SAF 90557018 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 740 34 G 148 SAF 90557052 ABM 722 34 Y B8 | 141
RENAULT V.I. ABM 744 32 H 152 SAF 90557078 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 744 32 L 153 SAF 90557083 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 744 32 LA | 153 SAF 90557110 ABM 722 34 Y 68 | 141
RENAULT V.I. ABM 760 32 L 155 SAF 90557324 ABM 722 34 Y B8 | 141
RENAULT V.I. ABM 760 32 L 155 SAF 2.228.0002.00 | ABM 722 34 A35 | 137
RENAULT V.I. ABM 760 32 LA | 155 SAF 2.228.2102.00 | ABM 722 34 A35 | 137
RENAULT V.I. ABM 760 32 LA | 155 SAF 2.228.2102.00 | ABM 722 34 B 35 | 137
REYCO 6424 ABM 722 34Y 68 | 141 SAF 2.228.2202.00 | ABM 722 34 A35 | 137
REYCO 23631-01 ABM 718 35 J 66 | 136 SAF 2.228.2202.00 | ABM 722 34 B 35 | 137
REYCO ABM 722 34 Y 141 SAF 2.228.2402.00 | ABM 722 34 A35 | 137
RIDEWELL 1003588270C | ABM 264 33D 40| 75 SAF 2.228.2402.00 | ABM 722 34 B 35 | 137
ROLFO ABM 740 33 T 147 SAF 2.228.2602.00 | ABM 722 34 A35 | 137
ROLFO 112064 ABM 740 33T 50 | 147 SAF 2.228.2602.00 | ABM 722 34 B 35 | 137
ROLFO 112063 ABM 296 27 C 48 | 81 SAF 2.229.0003.00 | ABM 740 33 A 45 | 143
ROR 21208082 ABM 722 34 B 35 | 137 SAF 2.229.0007.00 | ABM 520 30B 01 | 103
ROR 21208839 ABM 222 32 B 08 | 57 SAF 2.228.2103.00 | ABM 740 33 A 45 | 143
ROR 21215632 ABM 722 34 A 35 | 137 SAF 2.229.2103.00 | ABM 740 33 B 45 | 144
ROR 21215632 ABM 722 34 B 35 | 137 SAF 2.229.2403.00 | ABM 740 33 A 45 | 143
ROR 21215633 ABM 740 33 A 45 | 143 SAF 2.229.2403.00 | ABM 740 33 B 45 | 144
ROR 21215633 ABM 740 33 B 45 | 144 SAF 2.228.2603.00 | ABM 740 33 A 45 | 143
ROR 21215761 ABM 222 32 A01 | 55 SAF 2.229.2603.00 | ABM 740 33 B 45 | 144
ROR 21215891 ABM 242 32 A03 | 71 SAF 3229 0028 00 | ABM 742 35C 46 | 152
ROR 21216135 ABM 222 32 A06 | 56 SAF 3229 0028 00 | ABM 742 35 C 46 | 152
ROR 21221307 ABM 537 30A 15 | 115 SAF 3.228.1027.00 | ABM 722 34 C 37 | 138
ROR 21221356 ABT 3225 B 01 178 SAF 3.228.1031.00 | ABM 740 33 C 46 | 145
ROR 21221395 ABT 3225 A 02 178 SAF 3.229.0007.00 | ABM 520 30B 00 | 102
ROR 21222238 ABM 742 33 B 45 | 149 SAF 3.229.0007.01 | ABM 520 30 B 00 | 102
ROR 21222442 ABM 537 30H 16 | 117 SAF 3.229.0007.02 | ABM 520 30B 00 | 102
ROR 21222663 ABT 3225 A 02 178 SAF 3.228.0013.00 | ABM 760 34 A 47 | 156
ROR 21222673 ABM 760 34 A 47 | 156 SAF 3.229.0028.00 | ABM 74034 C 61 | 147
ROR 21225331 ABM 728 33 B 35 | 142 SAF 3.229.0029.00 | ABM 520 30 A00 | 101
ROR 21226039 ABM 242 32 A03 | 71 SAF 3.229.0030.00 | ABM 76034 C 47 | 157
ROR 21228214 ABM 537 30L 15 | 118 SAF 3.228.0031.00 | ABM 74033 C 45 | 144
ROR 21229455 ABM 526 31 L 44 | 106 SAF 3.229.0033.00 | ABM52030A 11| 101
ROR 21229530 ABM 526 31 L 43 | 106 SAF 3.229.0036.00 | ABM 728 33 C 42 | 143
ROR 21228626 ABM 545 30 L 15 | 123 SAF 3.229.0038.00 | ABM 520 30 A 12 | 102
ROR 21231515 ABM 524 32 L 33 | 105 SAF 3.228.0038.00 | ABM 520 30 A 13 | 102
ROR ABM 222 32 A 55 SAF 3.229.0040.00 | ABM 520 30 F 00 | 103
ROR ABM 222 32 A06 | 56 SAF 3.229.0041.00 | ABM 74034 C 61 | 147
ROR ABM 222 32 A 11 | 56 SAF 3.229.0042.00 | ABM 72234 C 41 | 138
ROR ABM 222 32 B 56 SAF 3.228.0047.00 | ABM 760 33 C 49 | 156
ROR ABM 524 32 L 105 SAF 3.229.1043.00 | ABM52030F 11 | 104
ROR ABM 526 31 L 106 SAF 3.229.2127.00 | ABM 722 34 C 35 | 138
ROR ABM 537 30 A 114 SAF 3.229.2129.00 | ABM 520 30 A00 | 101
ROR ABM 537 30F 15 | 116 SAF 3.228.2131.00 | ABM 74033 C 45 | 144
ROR ABM 537 30 H 117 SAF 3.229.2227.00 | ABM 722 34 C 35 | 138




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
SAF 3.229.2229.00 | ABM 520 30 A00 | 101 SCANIA 1314805 ABM 2456 31 F 03| 86
SAF 3.229.2231.00 | ABM 740 33 C 45 | 144 SCANIA 1314906 ABM 740 33 D 45 | 145
SAF 3.229.2429.00 | ABM 520 30 A00 | 101 SCANIA 1314906 ABM 740 33 E 45 | 146
SAF 3.229.2431.00 | ABM 740 33 C 45 | 144 SCANIA 1348117 ABC 2001 A1 182
SAF 4.228.1004.00 ABT 3225 D 02 178 SCANIA 1348118 ABC 2001 A1 182
SAF 4.284.3003.01 ABM 520 30 B 102 SCANIA 1348121 ABC 2001 182
SAF 4.284.3006.00 ABM 520 30 A 100 SCANIA 1362145 ABM 208 33 A 02 | 42
SAF ABM 520 30 A01 | 101 SCANIA 1362147 ABM 210 33 A03 | 43
SAF ABM 520 30 A 02 | 101 SCANIA 1363122 ABC 2003 A1 183
SAF ABM 520 30 B 02 | 103 SCANIA 1370743 ABM 208 33 A 02 | 42
SAF ABM 520 30 F 103 SCANIA 1370744 ABM 210 33 A03 | 43
SAF ABM 520 30 F 02 | 104 SCANIA 1379392 ABM 771 33K 55 | 157
SAF ABM 722 34 A 137 SCANIA 1379392 ABM 773 33 K55 | 158
SAF ABM 722 34 B 137 SCANIA 1378393 ABM 773 33 K 158
SAF ABM 722 34 B 40 | 138 SCANIA 1378393 ABM 771 33 K 157
SAF ABM 722 34 C 138 SCANIA 1381918 ABC 2002 182
SAF ABM 722 34 C 40 | 139 SCANIA 1382827 ABC 2003 A2 183
SAF ABM 722 34 Y 141 SCANIA 1386198 ABM 206 33 A01 | 42
SAF ABM 728 33 C 142 SCANIA 1386198 ABM 208 33 A 02 | 42
SAF ABM 740 33 A 143 SCANIA 1386200 ABM 210 33 A 03 | 43
SAF ABM 740 33 B 143 SCANIA 1384897 ABM 225 27 D05 | 59
SAF ABM 740 33 B 60 | 144 SCANIA 1387392 ABC 2002 A2 183
SAF ABM 740 33 C 144 SCANIA 1387396 ABC 2003 A1 183
SAF ABM 740 33 C 60 | 145 SCANIA 1397400 ABC 2002 A1 182
SAF ABM 740 34 C 147 SCANIA 1402423 ABM 225 27 D05 | 59
SAF ABM 742 33 B 148 SCANIA 1424228 ABC 2003 A1 183
SAF ABM 742 33 B 44 | 149 SCANIA 1424231 ABC 2004 184
SAF ABM 742 35 C 151 SCANIA 1434506 ABM 226 28 B 03 | 61
SAF ABM 760 33 C 156 SCANIA 1434930 ABM 216 25G 21 | 51
SAF ABM 760 34 A 156 SCANIA 1434833 ABM 775 32 M 56 | 159
SAF ABM 760 34 C 157 SCANIA 1435856 ABC 2002 A2 183

SAMRO H2500324 ABM 242 32 A05 | 71 SCANIA 1440294 ABM 771 33K 55 | 157
SAMRO H2500425 ABM 242 32 A07 | 71 SCANIA 1440294 ABM 773 33 K55 | 158
SAMRO H2501122 ABM 237 27 F09 | 70 SCANIA 1440301 ABM 502 32 A01 | 91
SAMRO H2501869 ABM 227 28 L 31 | 64 SCANIA 1440302 ABM 504 32 A02 | 82
SAMRO ABM 537 30F 21 | 116 SCANIA 1440303 ABM 224 28 B 06 | 58
SCANIA 16010 ABM 728 33 C 35 | 142 SCANIA 1440304 ABM 226 28 B 02 | 61
SCANIA 255293 ABM 740 33 D 45 | 145 SCANIA 1440305 ABM 226 28 B 01 | 60
SCANIA 255283 ABM 740 33 E 45 | 146 SCANIA 1440306 ABM 226 28 B 04 | 61
SCANIA 255284 ABM 2456 31 F 03| 86 SCANIA 1440307 ABM 206 28 B 03 | 41
SCANIA 255285 ABM 740 33 D 45 | 145 SCANIA 1440860 ABM 502 28 A03 | 89
SCANIA 255285 ABM 740 33 E 45 | 146 SCANIA 1440860 ABM 206 28 B 03 | 41
SCANIA 298568 ABM 740 33 D 45 | 145 SCANIA 14751086 ABM 224 28 B 06 | 58
SCANIA 298568 ABM 740 33 E 45 | 146 SCANIA 1476415 ABC 2002 182
SCANIA 325748 ABM 740 33 D 45 | 145 SCANIA 1502468 ABC 2005 184
SCANIA 325748 ABM 740 33 E 45 | 146 SCANIA 1502474 ABC 2005 A1 184
SCANIA 402315 AB 640 L 28 SCANIA 1515498 ABM 504 32 A02 | 82
SCANIA 411623 AB B40 L 28 SCANIA 1521114 ABM 224 28 B 06 | 58
SCANIA 411627 AB 314 L 8 SCANIA 1726237 ABM 502 32 B 01 | 91
SCANIA 434932 AB 640 27 SCANIA 1726238 ABM 504 32 B 02 | 92
SCANIA 463101 ABM 225 27 E15 | 60 SCANIA 1726238 ABM 224 28 C 06 | 59
SCANIA 470920 ABM 502 32 A01 | 91 SCANIA 1726238 ABM 27328C 10 | 77
SCANIA 470821 ABM 504 32 A02 | 92 SCANIA 1726240 ABM 226 28 C 02 | B2
SCANIA 470822 ABM 226 28 B 02 | B1 SCANIA 1726241 ABM 226 28 C 01 | 62
SCANIA 488263 ABM 224 28 B 06 | 58 SCANIA 1726242 ABM 226 28 C 04 | 62
SCANIA 488266 ABM 504 32 A02 | 92 SCANIA 1726243 ABM 226 28 C 03 | 62
SCANIA 492678 ABM 226 28 B 04 | 61 SCANIA 1726246 ABM 2068 28 C 03 | 41
SCANIA 492680 ABM 226 28 B 01 | 60 SCANIA 1726247 ABM 256 31 C35 | 73
SCANIA 523229 AB 445 XL 18 SCANIA 1726257 ABM 27328C 10 | 77
SCANIA 1107674 ABM 740 33 D 45 | 145 SCANIA 1863244 ABT 3225 E 03 178
SCANIA 1107674 ABM 740 33 E 45 | 146 SCANIA 1865753 ABM 2456 31 F 03| 86
SCANIA 1117320 ABC 2001 A1 182 SCANIA 1865759 ABM 225 27 D05 | 59
SCANIA 1314803 ABM 225 27 D05 | 59 SCANIA 1903608 ABM 773 33 N 55 | 158




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
SCANIA 1803608 ABM 771 33 N 55 | 158 SCHMITZ 750 208 AB 888 28
SCANIA 1842148 ABM 2445 34 A 04| 86 SCHMITZ 750 208 AB 538 26
SCANIA 1844314 ABM 773 33 N 55 | 158 SCHMITZ 750 212 AB 545 27
SCANIA 1844314 ABM 771 33 N 55 | 158 SCHMITZ 750 215 AB 545 L 27
SCANIA 2024283 ABM 27328C 10 | 77 SCHMITZ 750 998 ABM 553 30C 20 | 129
SCANIA 2024284 ABM 27428 C07 | 78 SCHMITZ 1077928 ABM 5456 31 M 46| 134
SCANIA 2024284 ABM 27328C 10 | 77 SCHMITZ ABM 238 28 A 70
SCANIA 2024285 ABM 27328C 10 | 77 SCHMITZ ABM 5456 31 M | 133
SCANIA 2024287 ABM 276 28C 11| 78 SCHMITZ ABM 553 30 C 128
SCANIA 2024287 ABM 27628C08 | 78 SCHMITZ ABM 728 33 C 142
SCANIA 2024288 ABM 27628 C08 | 78 SCHMITZ ABM 742 33 C 148
SCANIA 2024289 ABM 27328C 10 | 77 SCHMITZ ABM 742 35 C 151
SCANIA 2024290 ABM 276 28C 11| 78 SCHMITZ ABM 744 35 K 154
SCANIA 2024291 ABM 27628 C08 | 78 SICCA 488 00 01 AB 445 S 17
SCANIA 2406164 ABM 530 30 A 108 SICCA 484 00 01 AB 448 S 18
SCANIA AB 414 S 11 SICCA 484 00 05 AB 448 S 19
SCANIA AB 445 18 SMB UJB 0884-001 ABM 242 32 A03 | 71
SCANIA AB 445 XL 18 SMB UJB 0358 ABM 242 32 A05 | 71
SCANIA AB 455 S 21 SMB UJB 0305 ABM 742 34 A 47 | 151
SCANIA AB 535 26 SMB uJB 0207 ABM 222 32 A01 | 55
SCANIA ABC 2003 183 SMB UJB 0207 ABM 222 32 A06 | 56
SCANIA ABC 2004 A1 184 SMB M060824 ABM 537 30F 22 | 117
SCANIA ABC 2005 184 SMB M001472 ABM 222 32 A0B | 56
SCANIA ABM 206 28 B 40 SMB ABM 222 32 A01 | 55
SCANIA ABM 206 28 C 41 SMB ABM 242 32 A07 | 71
SCANIA ABM 206 33 A 41 SMB AB 445 18
SCANIA ABM 208 33 A 42 SMB AB 538 26
SCANIA ABM 210 33 A 42 SMB AB 545 L 27
SCANIA ABM 216 25 G 50 SMB ABM 242 32 A 70
SCANIA ABM 21625 G20 | 51 SMB ABM 222 32 A02 | 56
SCANIA ABM 224 28 B 58 SMB ABM 222 32 A 11 | 56
SCANIA ABM 224 28 C 59 SMB ABM 222 32 A 55
SCANIA ABM 225 27 D 59 SMB ABM 537 30 F 116
SCANIA ABM 225 27 E 60 SNVI ABM 742 34 A 151
SCANIA ABM 226 28 B 60 SOLARIS 1001.101.040 | ABM 506 31 D04 | 83
SCANIA ABM 226 28 C 61 SOLARIS 1001.101.042 | ABM 506 31 E03 | 83
SCANIA ABM 2456 31 F 86 SOLARIS 1001.101.044 | ABM 506 31 D05 | 93
SCANIA ABM 256 31 C 72 SOLARIS 1001.101.045 | ABM 506 31 E03 | 83
SCANIA ABM 274 28 C 77 SOLARIS 1001.101.046 | ABM 506 31 D04 | 83
SCANIA ABM 276 28 C 78 SOLARIS 1001.101.047 | ABM 506 31 D05 | 83
SCANIA ABM 502 28 A 89 SOLARIS 1001.101.050 | ABM 506 31 D04 | 83
SCANIA ABM 502 28 A03 | 88 SOLARIS 1001.101.052 | ABM 506 31 E03 | 83
SCANIA ABM 502 28 B 89 SOLARIS 1001.101.058 ABM 506 31 D 92
SCANIA ABM 50228 B 03 | S0 SOLARIS 1001.101.060 | ABM 506 31 D05 | 83
SCANIA ABM 722 34 A 137 TITAN 916 8770 0000 | ABM 740 33 A 45 | 143
SCANIA ABM 722 34 B 137 TITAN 816 8770 0000 | ABM 740 33 B 45 | 144
SCANIA ABM 722 34 B 35 | 137 TITAN ABM 740 33 A 143
SCANIA ABM 740 33 A 143 TITAN ABM 740 33 B 143
SCANIA ABM 740 33 B 143 TRAILER 65046466 ABM 722 34 B 35 | 137
SCANIA ABM 740 33 B 45 | 144 TRAILER ABM 722 34 A 137
SCANIA ABM 740 33 D 145 TRAILER ABM 722 34 B 137
SCANIA ABM 740 33 E 146 TRAILER 0036158E ABM 740 33 A 45 | 143
SCANIA ABM 742 33 E 150 TRAILER 65023482 ABM 740 33 A 45 | 143
SCANIA ABM 773 33K 55 | 158 TRAILER 003B6158E ABM 740 33 B 45 | 144
SCANIA ABM 775 32 M 158 TRAILER 65022347Y ABM 740 33 B 45 | 144
SCANIA ABT 3225 D 02 178 TRAILER 65023482 ABM 740 33 B 45 | 144
SCHMITZ 13 769 ABM 530 30 A 108 TRAILER ABM 740 33 A 143
SCHMITZ 015 323 ABM 742 33 C 45 | 150 TRAILER ABM 740 33 B 143
SCHMITZ 016512 ABM 23929 A22 | 70 TRANSPART 520728 ABM 222 32 B 08 | 57
SCHMITZ 16 808 ABT 3225 B 01 178 TROUILLET-PIACENZA HB 10315 ABM 722 34 A 35 | 137
SCHMITZ 017 323 ABM 744 35 K45 | 154 TROUILLET-PIACENZA HB 10315 ABM 722 34 B 35 | 137
SCHMITZ 017 685 ABM 744 35 K45 | 154 TROUILLET-PIACENZA ST 225-675 ABM 740 33 A 45 | 143
SCHMITZ 017 924 ABM 742 35 C 38 | 152 TROUILLET-PIACENZA ST 225-675 ABM 740 33 B 45 | 144




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
TROUILLET-PIACENZA ABM 722 34 A 137 VOLVO 6 787 168 AB 455 L 22
TROUILLET-PIACENZA ABM 722 34 B 137 VOLVO 20 374 510 ABM 216 25 A 02 | 50
TROUILLET-PIACENZA ABM 740 33 A 143 VOLVO 20 374 511 ABM 214 25 A01 | 46
TROUILLET-PIACENZA ABM 740 33 B 143 VOLVO 20 427 800 ABM 220 29 A 04 | 53

uD ABM 2130 27 C 84 VOLVO 20 427 803 ABM 220 29 A 04 | 53
uD ABM 213027 C 11| 84 VOLVO 20 452 136 ABM 336 30 A 14 | 89
uD ABM 2136 27 C 84 VOLVO 20 452 142 ABM 336 30A 14 | 89
uD ABM 213627 C 11| 84 VOLVO 20 456 150 ABM 220 29 A 04 | 53

VAN HOOL 624319-860 AB 414 S 11 VOLVO 20 456 152 ABM 216 25 A 02 | 50

VAN HOOL 624318-420 AB 445 18 VOLVO 20 456 156 ABM 214 25 A 01 | 46

VAN HOOL 624318-610 AB 445 18 VOLVO 20 480 202 ABM 514 31 P30 | 98

VAN HOOL 624318-670 AB 888 28 VOLVO 20 531 984 ABM 220 29 A 04 | 53

VAN HOOL 624319-690 AB 888 28 VOLVO 20 531 985 ABM 216 25 A 02 | 50

VAN HOOL 624318-860 AB 455 S 21 VOLVO 20 531 987 ABM 214 25 A 01 | 46

VAN HOOL 624318-640 AB 545 27 VOLVO 20 535 875 AB 414 SL 12

VAN HOOL 624318-560 AB 412 L 11 VOLVO 20 535 876 ABK 414 SL0O22 | 33

VIBERTI 644 285 ABM 740 33 A 45 | 143 VOLVO 20 535 877 ABK 414 5L 023 | 33
VIBERTI 644 285 ABM 740 33 B 45 | 144 VOLVO 20 540 789 AB 445 SN 18
VIBERTI 128140017 ABM 242 32 A04 | 71 VOLVO 20 540 782 AB 413 11
VIBERTI 128147109 ABM 242 32 C07 | 72 VOLVO 20554755 ABM 535 30D 10 | 113
VIBERTI 128147117 ABM 740 33T 50 | 147 VOLVO 20 554 756 ABM 51030D 13 | 98
VIBERTI 128 147 122 ABM 740 33 A 45 | 143 VOLVO 20 554 759 ABM 536 30K 14 | 114
VIBERTI 128 147 122 ABM 740 33 B 45 | 144 VOLVO 20 554 760 ABM 336 30 A 14 | 89
VIBERTI 128147123 ABM 242 32 A05 | 71 VOLVO 20 554 761 ABM 502 30K 01 | S0
VIBERTI ABM 740 33 A 143 VOLVO 20 554 762 ABM 302 30 A01 | 88
VIBERTI ABM 740 33 B 143 VOLVO 20554768 ABM 53530D 18 | 114
VIBERTI ABM 740 33 T 147 VOLVO 20 554 770 ABM 53530D 17 | 113
VOLVO 0 134 445 AB 445 18 VOLVO 20573108 ABM 212 26 E08 | 45
VOLVO 1 075 290 AB 434 15 VOLVO 20573109 ABM 212 25 E08 | 44
VOLVO 1076 075 ABM 51030D 13 | 98 VOLVO 20573 113 ABM 514 31 P30 | 98
VOLVO 1 076 076 ABM 51030 D 13 | 98 VOLVO 20 573 305 ABK 530 0 40 36
VOLVO 1076 416 ABM 216 25 A02 | 50 VOLVO 20 573 306 ABK 530 0 40 36
VOLVO 1076 418 ABM 214 25 A01 | 46 VOLVO 20573 311 ABM 51429 D 18 | 99
VOLVO 1 076 584 ABM 535 30D 10 | 113 VOLVO 20573 312 ABM 51428 D20 | 99
VOLVO 1 076 595 ABM 535 30 D 113 VOLVO 20 580 705 ABM 336 30 A 14 | 89
VOLVO 1079718 ABM 536 30 K 114 VOLVO 20 582 206 ABM 22028 A 04 | 53
VOLVO 1080 707 ABM 722 34 B 35 | 137 VOLVO 20 582 208 ABM 218 29 A 03 | 52
VOLVO 1 082 085 AB 415 L 13 VOLVO 20 582 212 ABM 218 28 A 06 | 52
VOLVO 1134 445 AB 445 18 VOLVO 20 582 213 ABM 212 25 A05 | 43
VOLVO 1134 446 AB 545 27 VOLVO 20 582 214 ABM 214 25 A 01 | 46
VOLVO 1137 888 AB 888 28 VOLVO 20 582 215 ABM 2168 25 A02 | 50
VOLVO 1 199 893 AB 445 18 VOLVO 20 583 420 ABM 223 28 A 07 | 58
VOLVO 1 590 136 AB 455 A 21 VOLVO 20 703 452 ABM 527 31 M 107
VOLVO 1 593 842 AB 432 15 VOLVO 20 712 428 ABM 527 31 M 107
VOLVO 1611776 AB 455 S 21 VOLVO 20 722 409 ABM 5545 29 5 51| 134
VOLVO 1612 455 AB 430 B 14 VOLVO 20 726 768 ABM 760 32 L 50 A| 155
VOLvVO 1622 116 AB 455 L 22 VOLVO 20 726 769 ABM 744 32 L 50 A| 153
VOLVO 1629 193 AB 455 A 21 VOLVO 20 735 220 ABM 549 29 P 50 | 125
VOLVO 1629 780 ABM 585 30K 18 | 131 VOLVO 20 737 947 ABM 223 28 A 07 | 58
VOLVO 3027 271 AB 525 4W 24 VOLVO 20 757 541 ABM 237 27 F09 | 70
VOLVO 3027 271 AB 525 24 VOLVO 20 758 818 ABM 221 31 R43 | 55
VOLVO 3027 272 AB 528 4W 26 VOLVO 20 836 533 AB 445 SN 18
VOLVO 3027 272 AB 528 25 VOLVO 20 843 253 ABM 26028 A40 | 74
VOLVO 3111277 AB 410 10 VOLVO 20 906 186 ABC 2012 185
VOLVO 3 116 354 AB 314 8 VOLVO 20 908 150 ABM 262 28 A 42 | 74
VOLVO 3116 883 AB 640 27 VOLVO 20 908 152 ABM 26028 A40 | 74
VOLVO 3 130 498 ABM 718 35 J 66 | 136 VOLVO 20 908 153 ABM 258 28 A38 | 73
VOLVO 3 130 503 ABM 722 34Y 68 | 141 VOLVO 21 041 687 ABM 514 31 P30 | 98
VOLVO 3171682 ABM 22029 A04 | 53 VOLVO 21 097 433 ABM 527 31 M 30 | 107
VOLVO 3171 693 ABM 51428 D20 | 99 VOLVO 21 097 453 ABM 514 31 P30 | 98
VOLVO 3171 695 ABM 214 25 A01 | 46 VOLVO 21 102 227 AB 445 L 18
VOLVO 3178 706 ABM 51428 D20 | 99 VOLVO 21119 077 ABM 314 30 A06 | 88
VOLVO 6 782 726 AB 412 L 11 VOLVO 21 161 555 ABM 314 30 A06 | 88




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
VOLVO 21 224 745 ABM 22029 B 11 | 54 VOLVO ABM 514 31 P 99
VOLVO 21 224 747 ABM 21829 B 07 | 53 VOLVO ABM 516 30 J 100
VOoLvVOo 21 224 750 ABM 214 25 B 08 | 46 VOLVO ABM 549 29 P 125
VOLVO 21 321 515 ABM 26228 C42 | 75 VOLVO ABM 722 34 A 137
VOLVO 21321520 ABM 2340 29 C 40| 85 VOLVO ABM 722 34 B 137
VOLVO 21 347 075 AB 413 11 VOLVO ABM 722 34 Y 141
VOoLvVOo 21 451 172 ABM 516 30 J 42 | 100 VOLVO ABM 744 32 LA | 153
VOLVO 21 451 173 ABM 516 30J 41 | 100 VOLVO ABM 760 32 LA | 155
VOLVO 21513 833 ABM 527 31 M 30 | 107 WACKENHUT US 7337GST2 ABM 728 33 C 35 | 142
VOLVO 21 513 836 ABM 527 31 M 107 WATSON & CHALIN AS-0013 ABM 722 34 Y 68 | 141
VOoLvVOo 21 836 531 AB 413 11 WATSON & CHALIN AS-0038 ABM 718 35 J 66 | 136
VOLVO 21 861 458 ABM 223 28 A07 | 58 WATSON & CHALIN AS-0084 ABM 264 33D 40 | 75
VOLVO 21961 472 ABM 336 30 A 14 | 89 WATSON & CHALIN AS-0127-G ABM 272 32E30 | 77
VOLVO 21861 478 ABM 314 30 A06 | 88 WATSON & CHALIN AS-0141 ABM 272 32 E30 | 77
VOoLvVOo 21877 973 ABM 262 29 A 42 | 74 WATSON & CHALIN ABM 722 34 Y 141
VOLVO 21877 974 ABM 26029 A40 | 74 WEWELER US 00622 ABM 722 34 A 35 | 137
VOLVO 21978 480 ABM 548 29 P 50 | 125 WEWELER US 00622 ABM 722 34 B 35 | 137
VOLVO 21 978 482 ABM 258 29 A 38 | 73 WEWELER US 04028 ABM 742 33 C 45 | 150
VOLvVO 21 978 504 ABM 760 32 L 50 A| 155 WEWELER US 04030 ABM 742 35C 38 | 152
VOLVO 21878510 ABM 221 31 R43 | 55 WEWELER US 04031P ABM 744 35 K45 | 154
VOLVO 22 025 612 ABM 554529 5 51| 134 WEWELER US 04200F ABM 545 30 A 22 | 123
VOLVO 22 025 613 ABM 237 27 F09 | 70 WEWELER US 04300F ABM 289 29 F 22 | 80
VOLVO 22 056 630 ABM 214 25 B 08 | 46 WEWELER US 04335F ABM 528 32 K 31 | 107
VOLVO 22 058 737 ABM 22029B 11 | 54 WEWELER US 06285 ABM 553 30C 20 | 129
VOLVO 22 058 738 ABM 27828 B09 | 79 WEWELER US 06316 ABM 537 30C 20 | 116
VOLVO 22 058 739 ABM 218 29 B 07 | 53 WEWELER US 06318F ABM 23828 A22 | 70
VOLvVOo 25 372 785 ABM 760 32 L 50 A| 155 WEWELER Us 07074 ABM 537 30H 16 | 117
VOLVO 25 372 810 ABM 744 32 L 50 A| 153 WEWELER US 07074C ABM 537 30H 15 | 117
VOLVO 25 379 286 ABM 554529 S 51| 134 WEWELER US 07074P ABM 537 30H 15 | 117
VOLVO 70 311 683 ABM 527 31 M 30 | 107 WEWELER US 07337. ABM 722 34 A 35 | 137
VOLVO 70313 718 ABM 212 25 E08 | 44 WEWELER USs 073371 ABM 722 34 B 35 | 137
VOLVO 70313 734 ABM 514 31 P30 | 99 WEWELER US 07337RP ABM 722 34 C 36 | 139
VOLVO 70 321 680 ABM 212 26 F 09 | 45 WEWELER US 07345 ABM 740 33 A 45 | 143
VOLVO 70 321 692 ABM 212 26 E08 | 45 WEWELER US 073451 ABM 740 33B 45 | 144
VOLVO 70 321 685 ABM 214 25 A01 | 46 WEWELER USs 07364 ABM 537 30 A 15 | 115
VOLVO 70 376 911 ABM 212 26 F 08 | 45 WEWELER US 07380 ABM 742 34 A 47 | 151
VOLVO 70 376 918 ABM 212 26 E08 | 45 WEWELER US 07385GST2 | ABM 760 34 C 47 | 157
VOLVO 70 377 052 ABK 525 A 0 08 35 WEWELER US 07384 ABT 3225 B 01 178
VOLVO 70 377 054 AB 527 25 WEWELER US 08840 ABM 537 30H 15 | 117
VOLVO 70 377 054 AB 525 A 24 WEWELER US 09361F ABM 222 32 B 08 | 57
VOLVO 85 101 147 ABM 264 33D 40 | 75 WEWELER US 35864 ABM 222 32 A01 | 55
VOLVO 85 101 148 ABM 204 28 L 46 | 40 WEWELER US 86318F ABM 23828 A22 | 70
VOLVO 85 101 151 ABM 228 32 A 11 | B5 WEWELER US 87408 ABM 740 33 A 45 | 143
VOLVO 85 101 151 ABM 228 32 A21 | 65 WEWELER US 87408 ABM 740 33 B 45 | 144
VOLVO ABM 212 25 A 43 WEWELER Us 87413 ABM 722 34 A 35 | 137
VOLVO ABM 212 25 E 43 WEWELER UsS 87413 ABM 722 34 B 35 | 137
VOLvVO ABM 212 26 E 44 WEWELER US 874131 ABM 722 34 A 35 | 137
VOLVO ABM 212 26 F 45 WEWELER US 87306 ABM 222 32 B 08 | 57
VOLVO ABM 214 25 A 45 WEWELER 2120 8082 ABM 722 34 A 35 | 137
VOLVO ABM 214 25 B 46 WEWELER 2120 8082 ABM 722 34 B 35 | 137
VOLVO ABM 216 25 A 49 WEWELER ABM 222 32 A 55
VOLVO ABM 216 25 B 50 WEWELER ABM 222 32 B 56
VOLVO ABM 218 29 A 52 WEWELER ABM 238 28 A 70
VOLVO ABM 218 29 B 52 WEWELER ABM 289 29 F 80
VOLVO ABM 220 29 A 53 WEWELER ABM 528 32 K 107
VOLVO ABM 220 29 B 53 WEWELER ABM 537 30 C 115
VOLVO ABM 260 29 A 73 WEWELER ABM 537 30F 15 | 1186
VOLVO ABM 262 29 A 74 WEWELER ABM 537 30 H 117
VOLVO ABM 278 29 B 79 WEWELER ABM 545 30 A 123
VOLVO ABM 302 30 A 87 WEWELER ABM 553 30 C 128
VOLVO ABM 336 30 A 88 WEWELER ABM 722 34 A 137
VOLVO ABM 502 30 K 90 WEWELER ABM 722 34 B 137
VOLVO ABM 510 30 D 98 WEWELER ABM 728 33 C 142




NECTEC

PRODUCER OE NUMBER NEOTEC PAGE PRODUCER OE NUMBER NEOTEC PAGE
WEWELER ABM 740 33 A 143 Z0RZI 1006546 ABM 722 34 B 39 | 138
WEWELER ABM 740 33 B 143 ZORZI 1006548 ABM 292 27 C 48 | 81
WEWELER ABM 742 33 C 149 ZORZI 1006550 ABM 222 32 C 10 | 57
WEWELER ABM 742 34 A 151 Z0ORZI 1006554 ABM 740 33T 50 | 147
WEWELER ABM 742 35 C 151 Z0RZI 1006555 ABM 296 27 C 48 | 81
WEWELER ABM 744 35 K 154 ZORZI 1006558 ABM 242 32 C07 | 72
WEWELER ABM 760 34 C 157 ZORZI ABM 222 32 C 57
ZF 502312548 AB 204 8 ZORZI ABM 242 32 C 72
ZF 1006551 ABM 242 32C09 | 72 Z0RZI ABM 740 33 T 147
CONTITECH NEOTEC PAGE CONTITECH NEOTEC PAGE
644 N AB 445 18 836 N P09 ABM 507 31 C 06 96
661 N AB 888 28 836 N P10 ABM 507 31 G 07 98
662 N AB 538 26 836 N P14 ABM 507 31 F 08 87
673 N AB 455 S 21 836 N P16 ABM 507 31 F 09 57
701 N AB 416 13 838 N AB 434 L 16
708 N1 AB 455 XL 22 873 N AB 455 L2 22
713 N AB 455 L 22 876 MB ABK 888 L M 08 37
715 N AB 535 26 876 N AB 888 L 29
716 N AB 432 15 881 MB ABM 850 36 A 161
719 N AB 545 L 27 881 MB P30 ABM 850 36 A 75 161
720 N AB 455 A 21 882 N1 AB 443 16
724 N PO1 ABM 551 30 M 128 883 N1 AB 415 L 13
725 N PO1 ABM 951 36 B 162 884 N AB 415 S 12
725 N P02 ABM 850 36 B 62 162 884 N P04 ABK 415 SA G 24 33
725 N PO3 ABM 850 36 B 63 162 887 M ABM 214 28 A 47
727 N AB 545 27 887 M K1 ABM 214 28 A 01 47
728 N AB 545 27 887 M K2 ABM 214 28 A 04 48
737 N AB 434 B 15 887 M K3 ABM 214 28 A 05 48
746 N AB 432 B 15 887 N PO3 ABM 214 28 C 03 48
757 N AB 430 14 887 N P04 ABM 214 28 A 03 47
762 N AB 538 26 887 N POB ABM 214 28 D 01 49
768 N AB 430 B 14 887 N P09 ABM 214 28 D 06 49
768 N AB 414 S 11 888 M ABM 216 28 B 51
782 N AB 445 L 19 888 M K2 ABM 216 28 B 02 51
788 N AB 412 L 11 896 N AB 314 L 8
792 N PO1 ABM 227 28 A 21 63 897 N AB 640 L 28
792 N PO2 ABM 227 28 B 21 63 901 MB ABM 960 38 C 01 163
810 MB ABM 722 34 A 35 137 902 MB ABM 840 36 C 01 161
810 MB ABM 722 34 B 35 137 912 N PO1 ABM 760 34 C 47 157
810 MB/O ABM 722 34 A 137 912 N PO2 ABM 760 34 A 47 156
810 MB/O ABM 722 34 B 137 916 N1 AB 455 21
811 MB ABM 740 34 F 45 148 921 MB ABK 414 F 01 32
811 MB ABM 740 34 G 45 148 921N AB 414 12
813 MB ABM 740 33 A 45 143 927 N AB 314 8
813 MB ABM 740 33 B 45 144 928 N AB 640 27
813 MB/O ABM 740 33 A 143 928 N PO1 ABM 547 29 S 03 124
813 MB/O ABM 740 33 B 143 940 MB ABM 530 30 A 108
819 MB ABK 408 S D 04 32 940 MB P30 ABM 530 30 A 07 108
818 N AB 408 S 9 941 MB ABM 550 30 A 125
818 N PO1 ABK 408 S E 05 32 941 MB PO1 ABM 550 30 A 29 126
836 M ABM 507 31 A 84 941 MB P30 ABM 550 30 A 25 126
836 M K1 ABM 507 31 A 01 94 942 MB ABM 870 36 A 163
836 M K11 ABM 507 31 A 04 95 942 MB P01 ABM 870 36 A 65 163
836 M K7 ABM 507 31 A 03 84 943 N AB 445 S 17
836 M2 ABM 507 31 C 95 944 N AB 445 A 18
836 M2 K1 ABM 507 31 C 01 96 945 N AB 445 XL 1E
836 MB ABM 507 31 B 95 946 N AB 415 SB 12
836 MB K4 ABM 507 31 B 05 85 951 MB ABM 570 30 A 129
836 MB K6 ABM 507 31 A 02 84 876 N AB 204 8
836 N PO5 ABM 507 31 F 02 97 1415 N AB 523 23
836 N POB ABM 507 31 F 01 96 1415 N PO1 ABK 523 N 02 35




NECTEC

CONTITECH NEOTEC PAGE CONTITECH NEOTEC PAGE
1415 N P02 ABK 523 N 04 35 4187 N P22 ABV 295 F 01 174
1416 N AB 888 S 28 4187 N P23 ABV 2395 G 01 174
1421 N AB 434 15 4187 N P24 ABV 295 F 01 174
1720 N AB 455 A 21 4380 N PO1 ABV 247 A 02 167
1782 N1 AB 515 S 23 4380 N P02 ABV 247 B 02 168
1782 N1 PO1 ABK 515 S N 04 35 4380 N P03 ABV 247 B 03 168
1782 N1 PO2 ABK 515 S N 01 34 4380 N P04 ABV 247 A 03 167
1788 N AB 412 11 4380 N P21 ABV 247 A 02 167
1884 N1 AB 415 13 4380 N P23 ABV 247 B 03 168
1885 N1 AB 415 13 4380 N P24 ABV 247 A 03 167
1888 N AB 888 29 4380 N1 ABV 247 A 167
1824 N1 AB 526 25 4380 N2 ABV 247 D 168
1924 N1 P05 ABK 526 N 03 36 4381 N P01 ABV 243 A 01 166
4004 N P02 ABM 520 30 B 102 4381 N P02 ABV 243 D 01 166
4004 N P03 ABM 520 30 B 00 102 4381 N P21 ABV 243 A 01 166
4004 N P05 ABM 520 30 B 01 103 4381 N P22 ABV 243 D 01 166
4007 N PO1 ABM 580 30 M 130 4381 N1 ABV 243 A 166
4008 N PO1 ABM 742 34 A 47 151 4381 N2 ABV 243 D 166
4022 N P02 ABM 520 30 A 100 4420 N P01 ABM 510 30D 13 98
4022 N P03 ABM 520 30 A 00 101 4560 N P02 ABM 220 28 B 11 54
4022 N P05 ABM 520 30 A 11 101 4561 N P02 ABM 278 28 B 09 79
4023 N P03 ABM 740 33 C 45 144 4562 N PO3 ABM 218 28 B 07 53
4023 N P06 ABM 740 33 C 144 4570 N P02 ABM 216 25 B 08 50
4023 N P08 ABM 740 33 C 46 145 4571 N P02 ABM 214 25 B 08 46
4028 N PO2 ABM 742 33 C 45 150 4580 N P01 ABM 516 30 J 42 100
4028 N P05 ABM 742 33 B 45 149 4580 N P02 ABM 516 30 J 41 100
4035 N P02 ABM 742 35 C 38 152 4644 N ABV 445 C 175
4154 N P06 ABM 221 31 R 43 55 4644 N P02 ABV 445 C 01 175
4156 N PO5 ABM 222 32 A 55 4644 N P22 ABV 445 C 01 175
4156 N P06 ABM 222 32 A 01 55 4705 N1 PO1 ABM 640 32 A 135
4156 N PO7 ABM 222 32 A 02 56 4705 N1 P03 ABM 640 32 A 01 135
4156 N P08 ABM 222 32 A 06 56 4705 N1 P04 ABM 640 32 A 02 136
4156 N P10 ABM 222 32 D 11 58 4713 N PO2 ABM 535 30D 10 113
4156 N P14 ABM 222 32 B 08 57 4713 N P04 ABM 535 30 D 113
4156 N P15 ABM 222 32 A 01 55 4718 N P01 ABM 536 30K 14 114
4157 N P03 ABM 537 30 F 15 116 4718 N P02 ABM 536 30 K 114
4157 N P04 ABM 537 30 A 15 115 4725 N P01 ABM 931 36 B 160
4157 N PO5 ABM 537 30 H 15 117 4737 N ABV 265 C 171
4157 N P06 ABM 537 30 C 20 116 4737 N P01 ABV 265 C 04 171
4157 N P08 ABM 537 30 F 21 116 4737 N P02 ABV 265 C 05 171
4157 N POS ABM 537 30 H 16 117 4737 N P05 ABV 265 C 086 172
4157 N P10 ABM 537 30 F 22 117 4737 N P21 ABV 265 C 04 171
4157 N P14 ABM 537 30 B 15 115 4737 N P22 ABV 265 C 05 171
4158 N P02 ABM 553 30 C 129 4737 N P25 ABV 265 C 06 172
4158 N PO3 ABM 242 32 A 07 71 4757 N P01 ABV 263 C 02 170
4158 N PO5 ABM 242 32 A 70 4757 N P08 ABV 263 A 02 169
4159 N PO7 ABM 242 32 A 04 71 4757 N P21 ABV 263 C 02 170
4159 N P0OS ABM 242 32 A 05 71 4757 N P29 ABV 263 A 02 169
4158 N P14 ABM 242 32 A 03 71 4757 N1 ABV 263 C 170
4162 N PO1 ABM 545 28 M 15 122 4757 N2 ABV 263 A 168
4183 N P23 ABV 295 F 01 174 4758 N P01 ABV 264 C 02 170
4183 N P24 ABV 295 F 01 174 4758 N P03 ABV 264 C 03 171
4183 N P26 ABV 285 F 01 174 4758 N P21 ABV 264 C 02 170
4183 N P28 ABV 2395 F 01 174 4758 N P23 ABV 264 C 03 171
4183 N1 ABV 295 F 174 4759 N ABV 261 C 168
4185 N ABV 275 G 173 4759 N PO1 ABV 261 C 01 169
4185 N P01 ABV 275 G 01 173 4759 N P21 ABV 261 C 01 169
4185 N P21 ABV 275 G 01 173 4810 N P05 ABM 722 34 C 35 138
4186 N P02 ABV 293 F 11 173 4810 N PO8 ABM 722 34 C 37 138
4186 N P22 ABV 293 F 11 173 4813 N PO7 ABM 740 33 D 45 145
4186 N P24 ABV 293 F 11 173 4813 N PO7 ABM 740 33 E 45 146
4187 N PO1 ABV 285 G 01 174 4838 N ABV 267 C 172
4187 N P21 ABV 295 G 01 174 4838 N P01 ABV 267 C 01 172




NECTEC

CONTITECH NEOTEC PAGE CONTITECH NEOTEC PAGE
4838 N P02 ABV 267 C 02 172 6604 N PO3 ABM 212 26 F 09 45
4838 N P03 ABV 267 C 02 172 6605 N PO1 ABM 220 28 A 04 53
4838 N P21 ABV 267 C 01 172 6606 N PO1 ABM 218 29 A 03 52
4838 N P22 ABV 267 C 02 172 6606 N PO2 ABM 218 29 A 06 52
4838 N P23 ABV 267 C 02 172 6607 N PO1 ABM 214 25 A 01 46
4862 N1 P01 ABM 533 28 C 112 6608 N PO1 ABM 216 25 A 02 50
4862 N1 PO2 ABM 533 28 C 01 112 6609 N PO1 ABM 502 30 K 01 90
4862 N1 P02 ABM 53328 C 11 113 6610 N PO1 ABK 530 0 40 36
4881 N PO2 ABM 830 36 A 168 6611 N AB 527 25
4881 N P30 ABM 830 36 A 70 160 6611 N PO1 ABK 525 A 0 08 35
4882 N1 PO1 ABM 541 27 B 120 6612 N PO1 ABM 336 30 A 14 89
4882 N1 P05 ABM 541 27 B 11 121 6613 N PO1 ABM 302 30 A 01 88
4882 N1 P05 ABM 541 27 B 01 121 6614 N PO1 ABM 223 28 A 07 58
4883 N1 PO1 ABM 543 28 A 121 6617 N PO1 ABM 314 30 A 06 88
4883 N1 POB ABM 543 28 A 03 122 6620 N PO1 ABM 527 31 M 107
4883 N1 PO7 ABM 543 28 A 02 121 6620 N PO2 ABM 527 31 M 30 107
4884 N1 PO1 ABM 539 29 A 118 6621 N AB 414 SL 12
4884 N1 PO6 ABM 538 28 A 12 119 6621 N PO1 ABK 414 SL O 22 33
4884 N1 POB ABM 538 28 A 02 118 6621 N PO2 ABK 414 SL 0 23 33
4884 N1 PO7 ABM 538 28 B 03 119 6623 N AB 413 11
4885 N1 PO1 ABM 531 27 A 111 6630 N PO1 ABM 262 28 A 42 74
4885 N1 P02 ABM 531 27 A 01 112 6630 N PO2 ABM 262 29 C 42 75
4885 N1 PO2 ABM 531 27 A 11 112 6631 N P01 ABM 260 29 A 40 74
4911 N P03 ABM 744 32 H 50 162 6632 N PO1 ABM 258 28 A 38 73
4911 N P04 ABM 744 32 L 50 163 6635 N PO1 ABM 2340 29 C 40 85
4911 N P06 ABM 744 32 L 50 A 153 6700 N PO2 ABM 773 33 N 55 158
4912 N PO7 ABM 760 32 H 50 154 6700 N PO2 ABM 771 33 N 55 158
4912 N P08 ABM 760 32 H 154 6701 N PO1 ABM 210 33 A 03 43
4912 N P10 ABM 760 32 L 50 165 6702 N PO1 ABM 2445 34 A 04 86
4912 N P13 ABM 760 32 L 50 A 155 6703 N PO1 ABM 206 33 A 01 42
4913 N P02 ABM 773 33 K 55 158 6704 N PO1 ABM 208 33 A 02 42
4913 N P02 ABM 771 33 K55 157 6705 N PO1 ABM 225 27 D 05 59
4913 N P04 ABM 773 33 K 168 6706 N PO1 ABM 2456 31 F 03 86
4913 N P04 ABM 771 33 K 157 6708 N PO2 ABM 504 32 B 02 92
4915 N P03 ABM 237 27 F 69 6710 N PO3 ABM 226 28 C 02 62
4915 N P06 ABM 237 27 F 09 70 6710 N PO4 ABM 226 28 C 01 62
4916 N1 PO1 ABM 630 32 A 135 6711 N PO2 ABM 206 28 C 03 41
4916 N1 PO7 ABM 630 32 A 01 135 6712 N PO2 ABM 256 31 C 35 73
4919 N PO1 ABM 549 29 P 50 125 6713 N PO2 ABM 502 32 B 01 91
4927 N PO1 ABM 5545 28 S 51 134 6714 N PO2 ABM 276 28 C 11 78
4928 N P01 ABM 547 29 P 45 124 6715 N PO2 ABM 276 28 C 08 78
4940 N PO2 ABM 530 30 E 109 6716 N PO2 ABM 273 28 C 10 77
4941 N P02 ABM 550 30 E 126 9 10-13.5 S 433 ABM 264 33 D 40 75
4960 N P02 ABM 530 30 F 109 910-18.5 P 519 ABM 272 32 E 30 77
4961 N PO2 ABM 530 30 G 110 9 10S-16 A 382 ABM 228 32 A 21 65
4962 N P02 ABM 550 30 G 128 9 10S-16 A 998 ABM 228 32 A 11 65
4963 N PO1 ABM 550 30 F 127 98-10 P 576 ABM 202 28 K 44 40
6120 N P48 ABM 586 30 N 38 132 98-12 P 314 ABM 204 28 L 46 40
6120 N P49 ABM 586 30 R 38 132 9 9-8 P 860 ABM 202 28 M 44 40
6121 N P44 ABM 294 25 H 35 81 10 10-21 P 434 ABM 522 33 B 02 105
6122 N P46 ABM 540 28 R 40 120 11 10.5-17 A 317 ABM 722 34 Y 68 141
6122 N P47 ABM 540 28 N 40 120 11 10.5C-16 A 320 ABM 718 35 J 66 136
6123 N P40 ABM 298 27 K 36 82 FD 200-19 1/4 M10 ABT 3225 A 02 178
6126 N P40 ABM 582 30 N 37 131 FD 200-18 1/4 M8 ABT 3225 B 01 178
6126 N P41 ABM 582 30 R 37 131 FD 200-18 3/4 M8 ABT 3225 C 01 178
6127 N P40 ABM 212 25 H 34 44 FD 200-18 M14 M10 ABT 3225 E 03 179
6131 N P40 ABM 594 32 R 39 133 FD 200-18 P02 ABT 3225 F 02 179
6600 N PO1 ABM 212 25 E 08 44 FD 200-19 P04 ABT 3225 D 02 178
6600 N PO2 ABM 212 25 A 05 43 RZ 415-25 AB 525 4W 24
6602 N PO1 ABM 514 31 P 30 99 RZ 415-28 AB 528 4W 26
6603 N PO1 ABM 514 29 D 20 99 S5Z 50-8 N P02 ABC 2012 185
6603 N PO2 ABM 514 28 D 19 99

6604 N PO1 ABM 212 26 E 08 45




NECTEC

GOODYEAR NEOTEC PAGE GOODYEAR NEOTEC PAGE
8012 AB 445 A 18 8536 ABV 267 C 02 172
8013 AB 445 L 19 9553 ABK 414 SL O 22 33
8015 AB 535 26 8560 ABV 267 C 172
8017 AB 445 18 9561 ABV 445 C 175
8018 AB 888 28 8562 ABK 523 N 02 35
8028 AB 640 L 28 9574 ABK 414 SL O 22 33
8037 AB 314 8 8575 ABK 414 SL 0 23 33
8040 AB 314 L 8 1R10-702 ABM 541 27 B 120
8042 AB 640 27 1R10-704 ABM 216 25 A 02 50
8043 AB 414 12 1R10-707 ABM 214 25 A 01 46
8053 AB 414 S 11 1R10-708 ABM 541 27 B 01 121
8117 AB 545 27 1R11-028 ABM 204 28 L 46 40
8118 AB 545 L 27 TR11-106 ABM 537 30 H 16 117
8314 AB 888 L 29 1R11-111 ABM 537 30 A 15 115
9001 AB 445 S 17 1R11-187 ABM 502 28 A 03 89
9002 AB 415 S 12 1R11-219 ABM 202 28 M 44 40
9003 AB 415 13 1R11-221 ABM 202 28 K 44 40
9004 AB 525 24 1R11-700 ABM 550 30 A 125
9005 AB 528 25 1R11-703 ABM 530 30 A 108
9006 AB 416 13 1R11-704 ABM 570 30 A 129
9007 AB 538 26 1R11-705 ABM 520 30 B 102
9008 AB 455 A 21 1R11-706 ABM 520 30 B 01 103
9010 AB 538 26 1R11-708 ABM 520 30 A 100
9011 AB 418 13 1R11-710 ABM 520 30 A 01 101
9012 AB 415 L 13 TR11-711 ABM 551 30 M 128
9013 AB 445 L 19 1R11-713 ABM 520 30 B 00 102
9014 AB 445 XL 19 1R11-714 ABM 520 30 A 0O 101
9015 AB 455 21 1R11-715 ABM 570 30 A 26 130
9043 AB 414 SL 12 1R11-743 ABM 550 30 A 25 126
9048 AB 443 16 1R11-750 ABM 520 30 B 00 102
9051 AB 455 S 21 1R11-751 ABM 520 30 A 0O 101
9066 AB 455 L 22 1R11-752 ABM 530 30 A 07 108
9067 AB 455 XL 22 1R11-753 ABM 537 30 F 116
9068 AB 455 A 21 1R11-761 ABM 537 30 H 117
9072 AB 434 15 1R11-762 ABM 550 30 A 06 125
9073 AB 432 15 1R11-763 ABM 530 30 A 05 108
9074 AB 434 L 16 1R11-764 ABM 537 30 C 20 116
9075 AB 434 B 15 1R11-772 ABM 537 30 F 22 117
9076 AB 432 B 15 1R11-773 ABM 227 28 L 31 64
9077 AB 430 14 1R11-781 ABM 520 30 A 11 101
9078 AB 430 B 14 1R11-796 ABM 214 28 A 47
9080 AB 414 SL 12 1R11-797 ABM 214 28 A 03 47
9081 AB 445 SN 18 1R11-798 ABM 214 28 A 01 47
9112 AB 413 11 1R11-799 ABM 530 30 E 109
9113 AB 526 25 1R11-800 ABM 530 30 G 110
9133 AB 413 11 1R11-801 ABM 530 30 F 109
9134 AB 445 SN 18 1R11-802 ABM 550 30 E 126
9138 AB 525 A 24 1R11-803 ABM 550 30 G 128
9146 AB 414 SL 12 1R11-804 ABM 543 29 A 121
9501 ABK 414 SL O 22 33 1R11-805 ABM 220 28 A 04 53
9502 ABK 414 SL O 23 33 1R11-820 ABM 539 29 A 118
9505 ABV 247 A 02 167 1R11-823 ABM 530 30 F 07 110
9506 ABV 247 B 02 168 1R11-826 ABM 225 27 D 05 59
9507 ABV 247 A 167 1R11-827 ABM 225 27 E 15 60
9508 ABV 247 D 168 1R11-828 ABM 226 28 B 02 61
9517 ABV 263 C 170 1R11-830 ABM 226 28 B 01 60
9518 ABV 263 A 168 1R11-831 ABM 226 28 B 04 61
9519 ABV 263 C 02 170 1R11-832 ABM 226 28 B 03 61
9520 ABV 263 A 02 169 1R11-833 ABM 224 28 B 06 58
9521 ABV 267 C 01 172 1R11-834 ABM 226 28 C 02 62
9522 ABV 267 C 02 172 1R11-837 ABM 224 28 C 06 59
9523 ABV 265 C 04 171 1R11-838 ABM 226 28 C 03 62
9524 ABV 265 C 05 171 1R11-838 ABM 226 28 C 04 62




NECTEC

GOODYEAR NEOTEC PAGE GOODYEAR NEOTEC PAGE
1R11-840 ABM 226 28 C 01 62 TR12-851 ABM 5456 31 M 46 134
1R11-841 ABM 206 28 C 03 41 1R13-118 ABM 522 33 B 02 105
1R11-842 ABM 216 28 B 51 1R13-118 ABM 264 33 D 40 75
1R11-843 ABM 216 28 B 02 51 1R13-150 ABM 522 33 A 01 104
1R11-845 ABM 206 28 B 03 41 TR13-711 ABM 760 32 H 50 154
1R11-847 ABM 520 30 N 01 104 1R13-713 ABM 760 32 H 154
1R11-848 ABM 218 28 A 03 52 1R13-714 ABM 744 32 H 50 152
1R11-850 ABM 520 30 A 100 1R13-715 ABM 744 32 H 152
1R11-851 ABM 262 28 C 42 75 1R13-744 ABM 208 33 A 02 42
1R11-852 ABM 2340 28 C 40 85 1R13-745 ABM 210 33 A 03 43
1R11-857 ABM 262 28 A 42 74 1R13-746 ABM 502 32 A 01 91
1R11-858 ABM 260 29 A 40 74 1R13-747 ABM 206 33 A 01 42
1R11-858 ABM 258 28 A 38 73 1R13-750 ABM 502 32 B 01 91
1R11-861 ABM 538 28 A 02 118 1R13-751 ABM 2445 34 A 04 86
1R11-867 ABM 276 28 C 11 78 1R13-753 ABM 760 32 L 50 185
1R11-868 ABM 276 28 C 08 78 1R13-755 ABM 744 32 L 50 163
1R11-871 ABM 273 28 C 10 77 1R13-762 ABM 2445 34 A 04 86
1R11-877 ABM 537 30 C 115 1R14-038 ABM 718 35 J 66 136
1R11-878 ABM 537 30 A 114 1R14-215 ABM 722 34 Y 68 141
1R11-878 ABM 274 28 C 07 78 1R14-700 ABM 970 36 A 163
1R11-881 ABM 537 30 F 15 116 TR14-701 ABM 930 36 A 158
1R11-882 ABM 537 30 H 15 117 1R14-704 ABM 851 36 B 162
1R11-885 ABM 538 28 B 03 119 1R14-705 ABM 740 33 A 45 143
1R11-888 ABM 273 28 C 10 77 1R14-705 ABM 740 33 B 45 144
1R11-890 ABM 212 26 E 08 45 1R14-707 ABM 740 33 T 50 147
1R11-896 ABM 27328 C 10 77 1R14-708 ABM 850 36 A 161
1R11-801 ABM 273 28 C 10 77 1R14-710 ABM 742 33 B 45 149
1R11-903 ABM 262 28 C 42 75 1R14-712 ABM 950 36 A 61 161
1R11-904 ABM 2340 29 C 40 85 1R14-716 ABM 722 34 A 35 137
1R12-092 ABM 222 32 B 08 57 1R14-716 ABM 722 34 B 35 137
1R12-303 ABM 228 32 A 11 65 1R14-718 ABM 740 34 F 45 148
1R12-403 ABM 272 32 E 30 77 1R14-718 ABM 740 34 G 45 148
1R12-461 ABM 222 32 D 11 58 1R14-719 ABM 740 33 R 45 146
1R12-603 ABM 228 32 A 21 65 1R14-721 ABM 742 33 B 45 149
1R12-642 ABM 2441 31 S 61 85 1R14-724 ABM 830 36 A 60 160
1R12-700 ABM 507 31 A 94 1R14-727 ABM 740 33 D 45 145
1R12-701 ABM 242 32 A 07 71 1R14-727 ABM 740 33 E 45 146
1R12-702 ABM 242 32 A 04 71 1R14-728 ABM 760 34 C 47 157
1R12-703 ABM 242 32 C 09 72 1R14-728 ABM 740 33 C 45 144
1R12-706 ABM 222 32 A 06 56 1R14-730 ABM 722 34 C 35 138
1R12-710 ABM 507 31 C 95 1R14-747 ABM 850 36 B 62 162
1R12-711 ABM 507 31 C 01 86 1R14-748 ABM 950 36 A 75 161
1R12-712 ABM 507 31 A 01 84 1R14-753 ABM 771 33 K55 157
1R12-713 ABM 2456 31 F 03 86 1R14-753 ABM 773 33 K 55 158
1R12-715 ABM 242 32 A 04 71 1R14-755 ABM 773 33 K 158
1R12-716 ABM 222 32 A 01 55 1R14-755 ABM 771 33 K 1857
1R12-718 ABM 222 32 A 06 56 1R14-756 ABM 850 36 B 63 162
1R12-721 ABM 242 32 A 05 71 1R14-757 ABM 830 36 A 70 160
1R12-723 ABM 507 31 A 03 94 1R14-758 ABM 760 34 A 47 156
1R12-748 ABM 553 30 C 129 1R14-781 ABM 970 36 A 65 163
1R12-748 ABM 553 30 C 20 129 1R14-782 ABM 742 33 C 45 150
1R12-761 ABM 242 32 A 70 1R14-783 ABM 728 33 C 35 142
1R12-762 ABM 535 30 D 10 113 1R14-784 ABM 744 35 K 45 154
1R12-763 ABM 535 30 D 113 1R14-813 ABM 850 36 B 62 162
1R12-764 ABM 507 31 B 95 1R14-814 ABM 950 36 B 63 162
1R12-768 ABM 507 31 A 02 84 1R14-815 ABM 742 35 C 46 152
1R12-808 ABM 504 32 A 02 92 1R14-823 ABM 742 35 C 38 162
1R12-813 ABM 504 32 B 02 82 1R14-825 ABM 722 34 C 36 138
1R12-814 ABM 256 31 C 35 73 1R14-864 ABM 744 35 K 154
1R12-825 ABM 527 31 M 30 107 1R14-867 ABM 740 33 A 143
1R12-826 ABM 527 31 M 107 1R14-867 ABM 740 33 B 143
1R12-837 ABM 238 28 A 22 70 1R14-868 ABM 722 34 A 137
1R12-840 ABM 238 28 A 70 1R14-868 ABM 722 34 B 137




NECTEC

GOODYEAR NEOTEC PAGE FIRESTONE NEOTEC PAGE
1R14-869 ABM 773 33 N 55 158 1T15 LNR-3 ABM 218 29 A 03 52
1R14-869 ABM 771 33 N 55 158 1T15 LNR-4.5 ABM 234 28 A 01 66
2B9-234 ABT 3225 F 02 179 1T15 LNR-4.5 ABM 234 28 A 11 66
2B9-700 ABT 3225 D 02 178 1715 LNR-4.5 ABM 234 28 B 01 66
2B9-729 ABT 3225 E 03 179 1T15 LNR-4.5 ABM 234 28 B 11 67

1T15 LNR-4.5 ABM 234 28 C 01 67

1T15 LNR-4.5 ABM 234 28 C 11 67

FIRESTONE NEOTEC PAGE 1715 LNR-4.5 ABM 234 28 D 01 68
1R1A 260-285 AB 445 S 17 1T15 LNR-4.5 ABM 234 28 D 11 68
1R1A 370-285 AB 455 S 21 1T15 LNR-6.0 ABM 220 29 A 04 53
1R1A 380 260 AB 414 S 11 1715 LP-3 ABM 225 27 D 05 59
1R1A 380-295 AB 445 18 1T15 M-4 ABM 221 31 P 51 54
1R1A 415-260 AB 414 12 1T15 M-B6 ABM 222 32 A 01 55
1R1A 415-285 AB 445 L 19 1715 M-6 ABM 222 32 B 08 57
1R1A 460-290 AB 445 XL 19 1715 M-6 ABM 268 32 D 15 75
1R1A 480-330 AB 434 B 15 1T15 M-9 ABM 2456 31 F 03 86
1R1B 390 270 AB 444 17 1T15 M-9 ABM 242 32 C 09 72
1R1B 415 270 AB 415 S 12 1715 M-9 ABM 242 32 A 05 71
1R1C 335-310 AB 535 26 1715 M-9 ABM 242 32 A 70
1R1C 380-310 AB 888 28 1715 M-9 ABM 242 32 A 07 71
1R1D 355-355 AB 538 26 1T15 M-9 ABM 242 32 A 03 71
1R1J 415-285 AB 314 8 1TM5 MB - 7.5 ABM 222 32 A 11 56
1R1J 520-285 AB 314 L 8 1T15 MPW-10 ABM 289 29 F 22 80
1R1K 380-320 AB 640 27 1T15 MPW-7 ABM 537 30 A 15 115
1R1K 440-320 AB 640 L 28 1T15 MPW-7 ABM 227 28 L 31 64
1R1S 350 225 AB 408 S g 1T15 MPW-7 ABM 537 30 H 16 117
1R1T 320-195 AB 204 8 1T15 MPW-7 ABM 537 30 F 22 117
1R2A 380-305 AB 430 14 1T15 MPW-7 ABM 537 30 C 20 116
1R2A 380-330 AB 430 B 14 1T15 MPW-7 ABM 537 30 H 15 117
1R2A 445-280 AB 415 13 1T15 MPW-9 ABM 553 30 C 20 129
1R2A 450-305 AB 432 15 1715 MPW-9 ABM 553 30 C 129
1R2A 460-295 AB 455 A 21 1T15 MPW-9 ABM 239 29 A 22 70
1R2A 490-305 AB 434 15 1T15 MT8 ABM 272 32 E 30 77
1R2D 380-360 AB 539 26 1715 UR-6.0 ABM 214 25 A 01 46
1R2D 460-360 AB 545 27 1715 UR-9 ABM 216 25 G 21 51
1R2D 470-360 AB 545 27 1715 UR-9 ABM 216 25 G 20 51
1R2D 530-360 AB 545 L 27 1T15 UR-9 ABM 216 25 A 02 50
1R3M 340-340 AB 416 13 1715 VPR-3 ABM 504 32 A 02 92
1R4R 4865 260 AB 443 16 1T15 VR-3 ABM 502 32 A 01 91
1R4U 395-260 AB 410 10 1715 ZR-6 ABM 228 32 A 11 65
1R5P 345-290 AB 525 24 1T15 ZR-B6 ABM 228 32 A 21 65
1R5P 410-290 AB 528 25 1T15LN-3 ABM 225 27 E 15 60
1R7Z 440-290-B ABV 247 A 02 167 1T15LNR-3 ABM 214 28 D 01 49
1R7Z 440-290-B ABV 247 A 1687 1T15LNR-3 ABM 214 28 C 03 48
1R7Z 440-290-C ABV 247 B 02 168 1T15VP-4 ABM 264 33 D 40 75
1R7Z 440-290-C ABV 247 D 168 1T17 AR-10.5 ABM 640 32 A 02 136
1R7Z 460-305-A ABV 263 C 02 170 1717 AR-3.0 ABM 506 31 D 05 93
1R7Z 460-305-A ABV 263 C 170 1717 AR-3.0 ABM 506 31 E 03 93
1R7Z 460-305-B ABV 263 A 189 1T17 AR-3.0 ABM 506 31 D 04 93
1R7Z 480-305-B ABV 263 A 02 169 1T17 AR-4.5 ABM 507 31 A 94
1R7Z 595-330-A ABV 267 C 01 172 1717 AR-4.5 ABM 507 31 A 01 94
1R7Z 595-330-A ABV 267 C 172 1T17 AR-4.5 ABM 507 31 A 03 94
1T15 AAB ABM 227 28 H 05 B4 1T17 AR-4.5 ABM 507 31 C 01 96
1T15 L15 ABM 204 28 L 46 40 1T17 AR-4.5 ABM 507 31 B 05 95
1T15 L4 (3) ABM 502 28 A 03 89 1717 AR-4.5 ABM 507 31 A 02 94
1T15 LA ABM 202 28 K 44 40 1T17 AR-4.5 ABM 507 31 C 95
1T15 LA-1 ABM 202 28 M 44 40 1T17 AR-4.5 ABM 507 31 B 95

1715 LLR-5 ABM 216 28 B 02 51 1717 AR-4.5 ABM 507 31 A 04 95

1715 LNR-3 ABM 214 28 A 47 1T17 BL-12 ABM 528 32 K 31 107

1T15 LNR-3 ABM 214 28 A 03 47 1T17 BP-11 ABM 522 33 A 01 104

1T15 LNR-3 ABM 214 28 A 01 47 1T17 BPZ-10 ABM 526 31 L 43 106

1T15 LNR-3 ABM 214 28 A 04 48 1T17 BPZ-10 ABM 526 31 L 44 106

1T15 LNR-3 ABM 214 28 A 05 48 1T17 BPZ11 ABM 524 32 L 33 105




NECTEC

FIRESTONE NEOTEC PAGE FIRESTONE NEOTEC PAGE
1717 BR-8 ABM 535 30D 10 113 1766 D-7.0 ABM 930 36 A 60 160
1T17 BR-8 ABM 510 30D 13 88 1T66 F-10.8 ABM 850 36 A 75 161
1T17 BS-6 ABM 520 30 A 11 101 1766 F-10.8 ABM 850 36 B 62 162
1T17 BS-6 ABM 520 30 B 102 1766 F-10.8 ABM 950 36 B 63 162
1717 BS-6 ABM 520 30 B 00 102 1766 F-13.5 ABM 970 36 A 65 163
1717 BS-6 ABM 520 30 A 00 101 1766 F-7.0 ABM 830 36 A 70 160
1T17 BS-6 ABM 520 30 A 100 2R2A 460 285 AB 455 21
1717 C-8 ABM 5648 35 C 04 134
1717 D-12 ABM 570 30 A 128
1T17 D-4.3 ABM 530 30 A 108
1T17 D-4.3 ABM 530 30 A 05 108 FIRESTONE ORDER NO NEOTEC PAGE
1T17 D-4.3 ABM 530 30 A 07 108 W01 095 0021 AB 888 28
1717 D-8.3 ABM 550 30 A 125 W01 095 0030 AB 538 26
1717 D-8.3 ABM 550 30 A 06 125 W01 095 0063 AB 445 XL 18
1T17 D-8.3 ABM 550 30 A 25 126 W01 095 0087 AB 535 26
1T17 DJ7 ABM 545 30 L 15 123 W01 095 0118 AB 445 18
1717 DJ-7 ABM 537 30 L 15 118 W01 095 0121 AB 444 17
1717 DJ-8 ABM 545 30 A 22 123 W01 095 0145 AB 432 15
1T17 HR-8 ABM 775 32 M 56 189 W01 095 0174 AB B40 L 28

1T17 J-11.8 ABM 550 30 A 29 126 W01 095 0189 AB 445 S 17
1717 J-7.8 ABM 530 30 A 19 108 W01 095 0190 AB 538 26

1717 JR-7.2 ABM 538 28 A 12 119 W01 095 0191 AB 545 27

1T17 JR-7.2 ABM 538 28 A 02 118 W01 095 0182 AB 545 L 27

1717 TWR-8 ABM 541 27 B 11 121 W01 095 0185 AB 455 A 21

1T17 TWR-8 ABM 541 27 B 01 121 W01 095 0197 AB 445 L 19
1T17CL-9.5 ABM 522 33 B 02 105 W01 095 0198 AB 455 S 21
1T18 F-11 ABM 740 33 A 143 W01 095 0204 AB 414 S 11
1T18 F-11 ABM 740 33 B 143 W01 095 0205 AB 416 13
1719 F-11 ABM 740 34 F 45 148 W01 095 0211 AB 434 B 15
1T18 F-11 ABM 740 34 G 45 148 W01 095 0212 AB 430 14
1T18 F-11 ABM 740 33 C 45 144 W01 095 0213 AB 430 B 14
1T18 F-12 ABM 742 34 A 47 151 W01 095 0226 AB 414 12
1T19 F-14 ABM 760 32 H 50 154 W01 095 0228 AB 640 27
1T189 F-14 ABM 771 33 K 55 157 W01 095 0244 AB 314 8
1T18 F-14 ABM 773 33 K 55 158 W01 095 0245 AB 314 L 8
1T18 G-12 ABM 840 36 C 01 161 W01 095 0285 AB 415 S 12
1718 J-6 ABM 718 35 J 66 136 W01 095 0365 ABM 773 33 K 158
1719 L-11 ABM 742 33 P 50 151 W01 095 0365 ABM 771 33 K 157
1T19 L-11 ABM 740 33 C 144 W01 095 0366 ABM 771 33 K55 1857
1T19 L-11 ABM 742 33 B 44 149 W01 095 0366 ABM 773 33 K 55 158
1719 L-11 ABM 740 33 D 145 W01 095 0381 AB 525 24
1719 L-11 ABM 740 33 E 146 W01 095 0382 AB 528 25
1T19 L-11 ABM 744 35 K 45 154 W01 095 0405 ABM 502 28 A 03 89
1T19 L-11 ABM 742 35 C 38 162 W01 095 0419 AB 545 27
1718 L-12 ABM 742 33 C 45 150 W01 095 0429 AB 415 13
1718 L-14 ABM 773 33 K 158 W01 095 0435 AB 443 16
1T19 L-14 ABM 771 33 K 157 W01 095 0437 AB 204 8
1718 L-4 ABM 760 34 A 47 156 W01 095 0453 AB 410 10
1719 L-7 ABM 722 34 A 35 137 W01 095 0472 AB 434 15
17189 L-7 ABM 722 34 B 35 137 W01 095 0543 AB 408 S 9
1T18 L-7 ABM 722 34 S 40 140 W01 095 0555 AB 455 21
1T18 L-7 ABM 728 33 B 35 142 W01 358 8050 ABM 718 35 J 66 136
1719 L-7 ABM 722 34 C 35 138 W01 358 9082 ABM 222 32 B 08 57
1718 L-7 ABM 722 34 Y 68 141 W01 358 8141 ABM 722 34 Y 68 141
1718 L-7 ABM 728 33 C 35 142 W01 358 9270 ABM 264 33 D 40 75
1T18 L-7 ABM 722 34 C 36 139 W01 358 9361 ABM 222 32 A 01 55

1T19 LB-12 ABM 742 33 E 60 150 W01 358 9373 ABM 272 32 E 30 77
1718 LC-6 ABM 719 35 P 67 136 W01 358 9422 ABM 204 28 L 46 40
1T19LB-8 ABM 728 33 C 42 143 W01 358 9617 ABM 202 28 M 44 40

1766 D-10.8 ABM 850 36 A 161 W01 358 9675 ABM 202 28 K 44 40

1766 D-10.8 ABM 950 36 A 61 161 W01 358 9781 ABM 228 32 A 21 65

1766 D-13.5 ABM 870 36 A 163 W01 455 8083 ABM 719 35 P 67 136
1766 D-7.0 ABM 830 36 A 159 W01 455 8712 ABM 5648 35 C 04 134




NECTEC

FIRESTONE ORDER NO NEOTEC PAGE FIRESTONE ORDER NO NEOTEC PAGE
W01 681 7329 ABM 722 34 S 40 140 W01 M58 8376 ABM 640 32 A 02 136
W01 868 8174 ABM 528 32 K 31 107 W01 M58 8377 ABM 506 31 D 05 93
W01 868 8178 ABM 289 29 F 22 80 W01 M58 8378 ABM 506 31 E 03 93
W01 868 8540 ABM 545 30 A 22 123 W01 M58 8379 ABM 506 31 D 04 93
W01 D08 8686 ABM 214 28 A 04 48 W01 M58 8472 ABM 220 28 A 04 53
W01 M58 0736 ABM 242 32 A 70 W01 M58 8473 ABM 214 25 A 01 46
W01 M58 0756 ABM 520 30 A 100 W01 M58 8474 ABM 216 25 A 02 50
W01 M58 0775 ABM 507 31 B 85 W01 M58 8477 ABM 218 29 A 03 52
W01 M58 0776 ABM 507 31 A 94 W01 M58 8512 ABV 267 C 01 172
W01 M58 0777 ABM 507 31 C 85 W01 M58 8513 ABV 247 B 02 168
W01 M58 0780 ABM 214 28 A 47 W01 M58 8514 ABV 247 A 02 167
W01 M58 0904 ABV 247 A 167 W01 M58 8521 ABV 263 C 02 170
W01 M58 0905 ABV 247 D 168 W01 M58 8522 ABV 263 A 02 169
W01 M58 0908 ABV 263 C 170 W01 M58 8549 ABM 214 28 D 01 49
W01 M58 0910 ABV 263 A 169 W01 M58 8555 ABM 234 28 D 11 68
W01 M58 0912 ABV 267 C 172 W01 M58 8556 ABM 234 28 C 11 67
W01 M58 0918 ABM 740 33 D 145 W01 M58 8557 ABM 234 28 B 11 67
W01 M58 0918 ABM 740 33 E 146 W01 M58 8558 ABM 234 28 A 11 66
W01 M58 0918 ABM 520 30 B 102 W01 M58 8584 ABM 970 36 A 65 163
W01 M58 5785 ABM 214 28 A 03 47 W01 M58 8585 ABM 530 30 A 07 108
W01 M58 6216 ABM 728 33 C 42 143 W01 M58 8601 ABM 930 36 A 158
W01 M58 6222 ABM 722 34 C 36 139 W01 M58 8602 ABM 930 36 A 60 160
W01 M58 6223 ABM 742 35 C 38 152 W01 M58 8608 ABM 537 30 L 15 118
W01 M58 6225 ABM 728 33 C 35 142 W01 M58 8609 ABM 530 30 A 05 108
W01 M58 6251 ABM 225 27 D 05 59 W01 M58 8610 ABM 850 36 B 63 162
W01 M58 6257 ABM 553 30 C 129 W01 M58 8611 ABM 870 36 A 163
W01 M58 6288 ABM 268 32 D 15 75 W01 M58 8612 ABM 520 30 A 11 101
W01 M58 6288 ABM 242 32 C 09 72 W01 M58 8613 ABM 530 30 A 108
W01 M58 6297 ABM 537 30 A 15 115 W01 M58 8619 ABM 550 30 A 06 125
W01 M58 6315 ABM 537 30 F 22 117 W01 M58 8620 ABM 550 30 A 125
W01 M58 6317 ABM 227 28 L 31 64 W01 M58 8621 ABM 570 30 A 129
W01 M58 6318 ABM 238 28 A 22 70 W01 M58 8633 ABM 775 32 M 56 189
W01 M58 6335 ABM 740 33 C 144 W01 M58 8653 ABM 216 25 G 21 51
W01 M58 6338 ABM 722 34 C 35 138 W01 M58 8660 ABM 234 28 D 01 68
W01 M58 6345 ABM 722 34 A 35 137 W01 M58 8661 ABM 234 28 C 01 67
W01 M58 6345 ABM 722 34 B 35 137 W01 M58 8662 ABM 234 28 B 01 66
W01 M58 6348 ABM 740 33 C 45 144 W01 M58 8663 ABM 234 28 A 01 66
W01 M58 6358 ABM 740 34 F 45 148 W01 M58 8666 ABM 930 36 A 70 160
W01 M58 6358 ABM 740 34 G 45 148 W01 M58 8667 ABM 950 36 A 75 161
W01 M58 6361 ABM 742 33 P 50 1561 W01 M58 8668 ABM 550 30 A 25 126
W01 M58 6364 ABM 742 33 B 44 148 W01 M58 8669 ABM 526 31 L 44 106
W01 M58 6366 ABM 520 30 B 00 102 W01 M58 8671 ABM 526 31 L 43 106
W01 M58 6367 ABM 520 30 A 00 101 W01 M58 8679 ABM 216 28 B 02 51
W01 M58 7074 ABM 537 30 H 16 117 W01 M58 8682 ABM 214 28 C 03 48
W01 M58 7238 ABM 740 33 A 143 W01 M58 8683 ABM 214 28 A 01 47
W01 M58 7238 ABM 740 33 B 143 W01 M58 8701 ABM 507 31 A 02 94
W01 M58 7308 ABM 2456 31 F 03 86 W01 M58 8705 ABM 507 31 B 05 95
W01 M58 7313 ABM 227 28 H 05 64 W01 M58 8714 ABM 507 31 A 04 95
W01 M58 7358 ABM 742 33 E 60 150 W01 M58 8715 ABM 507 31 A 03 94
W01 M58 7380 ABM 742 34 A 47 151 W01 M58 8721 ABM 507 31 C 01 96
W01 M58 7385 ABM 760 34 A 47 156 W01 M58 8722 ABM 507 31 A 01 94
W01 M58 7392 ABM 225 27 E 15 60 W01 M58 8747 ABM 522 33 A 01 104
W01 M58 7548 ABM 242 32 A 03 71 W01 M58 8766 ABM 760 34 A 47 156
W01 M58 7548 ABM 242 32 A 07 71 W01 M58 8773 ABM 728 33 B 35 142
W01 M58 7887 ABT 3225 A 02 178 W01 M58 8786 ABM 760 32 H 50 154
W01 M58 8072 ABM 550 30 A 29 126 W01 M58 8840 ABM 537 30 H 15 117
W01 M58 8073 ABM 530 30 A 19 108 W01 M58 8966 ABM 950 36 A 61 161
W01 M58 8106 ABM 742 33 C 45 150 W01 M58 8969 ABM 950 36 B 62 162
W01 M58 8107 ABM 744 35 K 45 154 W01 M58 8973 ABM 221 31 P 51 54
W01 M58 8185 ABM 553 30 C 20 129 W01 M58 8978 ABM 850 36 A 161
W01 M58 8186 ABM 537 30 C 20 116 W01 M58 8089 ABM 222 32 A 11 56
W01 M58 8192 ABM 502 32 A 01 91 W01 M58 9131 ABM 242 32 A 05 71
W01 M58 8193 ABM 504 32 A 02 82 W01 M58 8704 ABM 530 30 F 108




NECTEC

FIRESTONE ORDER NO NEOTEC PAGE PHOENIX NEOTEC PAGE
W01 M58 9708 ABM 535 30 D 10 113 1 DF 23 B-2 ABM 502 28 A 03 89
W01 M58 9707 ABM 510 30 D 13 98 1 DF 23 B-3 ABM 206 33 A 01 42
W01 M58 9879 ABM 538 29 A 12 118 1 DF 23 B-5 ABM 208 28 C 03 41
W01 M58 9880 ABM 541 27 B 01 121 1 DF 23 C-1 ABM 208 33 A 02 42
W01 M58 9810 ABM 840 36 C 01 161 1 DF 23 D-1 ABM 210 33 A 03 43
W01 R88 2244 ABM 524 32 L 33 105 1 DF 25 A-1 ABM 508 31 D 05 93
W01 R88 8583 ABM 545 30 L 15 123 1 DF 25 A-12 ABM 506 31 E 03 93
W01-358-9580 ABM 522 33 B 02 105 1 DF 25 A-2 ABM 506 31 D 04 93
W01-358-9780 ABM 228 32 A 11 65 1 DF 25 C-1 ABM 527 31 M 30 107

1 DF 25 C-1 NP ABM 527 31 M 107
— — — 1 DF 25-1 NP ABM 507 31 A 94
1 DF 25-11 ABM 507 31 A 01 94
1D23E2 ABM 242 32 C 07 72 1 DF 25-12 ABM 507 31 A 03 94
1D23E-3 ABM 242 32 C 08 72 1 DF 25-13 ABM 507 31 C 01 96
1D28A-10 ABM 722 34 C 35 138 1 DF 2514 ABM 507 31 B 05 95
1D 28 A-12 ABM 728 33 C 35 142 1 DF 25.3 NP ABM 507 31 G 95
1D 28 A-13 ABM 722 34 C 36 139 1 DF 25-4 NP ABM 507 31 B 95
1D28 A2 ABM 722 34 A 35 137 T DF 32 ABM 950 35 B B2 162
1D 28 A-5 NP ABM 722 34 A 137 1 DK 19-1 ABM 237 27 F 09 -0
1D 28 A-5 NP ABM 722 34 B 137 1 DK 20 A-1 ABM 537 30 C 20 116
1D28B-10 ABM 740 33 C 45 144 1 DK 20 A-51 ABM 537 30 F 22 117
1D28B-11 ABM 740 34 C B1 147 1 DK 20 B-1 NP ABM 553 30 C 129
1D28B-12 ABM 742 33 B 45 149 TDK 20 G2 ABM 227 28 L 31 54
1D 28 B-2 ABM 740 33 A 45 143 1 DK 21 ABM 550 30 A 195
1D288-2 ABM 740 33 B 45 144 1 DK 21 A-31 ABM 537 30 H 16 117
1D=28B-5NP ABM 740 33 A 143 1 DK 21 A-4 ABM 537 30 A 15 115
102888 ABM 740 33 E 45 146 1 DK 21 C-4 ABM 537 30 A 15 115
1D28C-12 ABM 742 34 A 47 151 1 DK 21 K ABM 530 30 A 108
1D28D-2 ABM 760 34 A 47 156 1 DK 21 K-2 ABM 530 30 A 07 108
1D28F-1 ABM 742 33 C 45 150 1DK 21 K-4 ABM 530 30 A 19 108
1D28H-16 ABM 771 33 K 55 157 T DK 212 ABM 550 30 A 25 128
1D28H-16 NP ABM 773 33 K 158 1 DK 22 E-11 ABM 520 30 A 11 101
1D28H-16NP ABM 771 33 K 157 1 DK 22 E-13 ABM 520 30 A 12 102
1DF 17 A1 ABM 214 25 A 01 46 1DK 22 E-14 ABM 520 30 A 13 102
1DF17B-1 ABM 216 25 A 02 50 1 DK 22 E-5 ABM 520 30 B 01 103
1DF 17-1 ABM 212 26 E 08 45 1 DK 22 E-5 NP ABM 520 30 B 102
1DF 20 A-1 ABM 226 28 B 02 61 1 DK 22 E-6 ABM 520 30 A 01 101
1DF20A-2 ABM 226 28 B 01 60 1 DK 22 E-8 ABM 520 30 A 00 101
1DF 20 A-3 ABM 226 28 B 04 61 1 DK 22 E-S NP ABM 520 30 A 100
1 DF 20 A-4 ABM 226 28 B 03 61 1 DK 23 K1 ABM 222 32 A 01 55
1DF20 A5 ABM 226 28 C 02 62 1 DK 23 K-28 ABM 222 32 A 02 56
1DF20 A6 ABM 226 28 C 01 62 1 DK 23 K-54 ABM 222 32 A 06 56
1DF20A8 ABM 276 28 C 11 78 1 DK 23 K-9082 ABM 222 32 B 08 57
1 DF 20 C-1 ABM 224 28 B 06 58 1T DK 23 L1 ABM 239 29 A 22 -0
1DF20C-2 ABM 224 28 C 0B 58 1 DK 23 L-25 ABM 242 32 A 04 71
1DF20C-4 ABM 27328 C 10 77 1 DK 23 L-27 ABM 242 32 A 07 71
1DF 20 D-1 ABM 220 29 A 04 53 1 DK 23 L-31 ABM 2456 31 F 03 86
1DF 20 E-1 ABM 218 29 A 03 52 1 DK 23 L-9131 ABM 242 32 A 05 71
1 DF 22 C-1 ABM 53530 D 10 113 1 DK 23-7308 ABM 2458 31 F 03 86
1 DF 23 A-1 ABM 504 32 A 02 82 1 DK 25-8747 ABM 522 33 A 01 104
1DF 23 A2 ABM 504 32 B 02 82 1 DK 28 F-3 ABM 742 35 C 38 152
1DF 23 A-3 ABM 256 31 C 35 73 1 DK 28 F-4 ABM 760 32 H 50 154
1DF23B-1 ABM 502 32 A 01 81 1DK 28 F-5 ABM 760 32 L 50 155




NECTEC

PHOENIX NEOTEC PAGE PHOENIX NEOTEC PAGE
1 DK 32 ABM 950 36 A 161 C 075 123 021 ABC 2001 182
1 DK 32 K ABM 930 36 A 159 C 075 138 011 ABC 2002 182
1 DK 32 K-1 ABM 830 36 A 60 160 C 075 140 011 ABC 2004 A1 184
1DK32L ABM 870 36 A 163 C 075 141 011 ABC 2005 184
1 DK 32 L-1 ABM 870 36 A B5 163 C 075 185 ABC 2012 185
1 DK 32-1 ABM 950 36 A 61 161 CD 039 245 011 ABC 2001 A1 182
1 DK 32-2 ABM 850 36 A 75 161 CD 075 120 011 ABC 2007 A1 185
1E10C AB 204 8 CD 075 121 011 ABC 2015 A1 186
1E17 AB 414 12 CD 075 122 011 ABC 2006 A1 185
1E18 AB 414 S 11 CD 075 123 011 ABC 2014 A1 185
1E18C AB 413 11 CD 075 141 011 ABC 2005 A1 184
1E18D AB 414 SL 12 SP2B12R ABT 3225 A 02 178
1 E 18 D-01 ABK 414 SL O 22 33 SP2B 12 R-1 ABT 3225 C 01 178
1E21B AB 445 SN 18 SP2B 12 R-17 ABT 3225 F 02 179
1E21C AB 445 XL 19 SP2B12R-5 ABT 3225 D 02 178
1E21D AB 445 L 19
1E21-6 AB 445 18
CF GOMMA NEOTEC PAGE
1E21-6 AB 445 A 18
1E 23 A-1 ABK 523 N 02 35 1§ 215-22 AB 408 S 9
1E25 AB 888 o8 15 215-23 AB 408 10
1E25A AB 888 S 28 1S 240-30 BB AB 407 9
1E26 AB 4186 13 15 270-19 AB 444 S 16
1E2BA AB 418 13 1S 270-20 V AB 444 SL 16
1E27 AB 430 B 14 15 270-23C AB 444 17
1E 32 AB 538 26 1S5 270-25 C AB 444 L 17
1E32F ABK 538 A F 01 36 15 270-26 AB 444 XL 17
1F 16 AB 443 18 1S 285-18 AB 448 S 19
1F20A AB 415 S 12 15 285-18 C AB 447 19
1F20B AB 415 13 1S 285-20 AB 448 SL 20
1F21 AB 455 A 21 1S 285-22 AB 448 20
1F21A AB 455 S 21 1S 285-22 C AB 448 SL 20
1F210C-2 AB 415 L 13 1S 285-23 V AB 448 L 20
1F210C-5 AB 455 21 1S 285-24 AB 445 18
1F21D AB 455 L 20 1S 285-25 AB 448 XL 20
1F25 AB 535 26 1S 290-23 V AB 450 21
1F 26 AB 434 B 15 1S 310-28 RF AB 888 28
1F 26 B-1 AB 432 15 1S 323-25 AB 890 SL 29
1F26C AB 430 14 1S 323-34 AB 890 29
1F26D AB 434 L 18 1S 323-36 AB 890 L 30
1F32 AB 539 o6 1S 323-36 C ABK 890 L C 01 38
1F32A AB 545 27 1SC 250-28 AB 443 16
1F 32 AF ABK 545 A F 01 36 18C 260-32 AB 407 L 9
1F32B AB 545 L 27 1SC 270-28 AB 415 S 12
1 KF21-1 ABV 247 A 02 167 18C 270-30 AB 415 13
1 KF 21-1 NP ABV 247 A 167 1SC 290-30 AB 455 A 21
1 KF21-2 ABV 247 B 02 168 1SC 290-30 AB 455 21
1 KF 21-2 NP ABV 247 D 168 1SC 300-34 AB 432 15
1 KF 24-1 ABV 263 C 02 170 18C 310-16 AB 535 26
1 KF 24-1 NP ABV 263 C 170 1SC 320-23 AB 434 B 15
1 KF 24-2 NP ABV 263 A 169 18C 360-30 AB 538 26
1 KF 24-21 ABV 263 C 02 170 1SC 360-30 AB 539 26
1 KF 24-29 ABV 263 A 02 169 1SC 360-34 AB 545 27
1 KF 24-9 ABV 263 A 02 189 1T 19 E-1 ABM 722 34 B 39 138
1 KF 32-23 ABV 295 F 01 174 1T 19 E-2 ABM 742 33 P 50 151
1 KF 32-23 NP ABV 295 F 174 1T 19E-1 ABM 722 34 P 30 140
2E18A AB 314 L 8 1T 19E-1 ABM 722 34 A 35 137
2E18B AB 314 8 1T 19E-1 ABM 722 34 B 35 137
2 E 23 AB 640 L o8 1T 19E-1 ABM 722 34 C 35 138
2E23A AB B40 27 1T 19E-1 ABM 722 34 C 37 139
2F 18 AB 526 o5 1T 19E-2 ABM 740 33 T 50 147
2F 18-1 ABK 526 N 03 36 1T 19E-2 ABM 740 33 R 45 146
2G 20 AB 525 24 1T 19E-2 ABM 740 33 A 45 143
2G20A AB 528 o5 1T 19E-2 ABM 740 33 B 45 144




NECTEC

CF GOMMA NEOTEC PAGE CF GOMMA CODE NEOTEC PAGE
1T 19E-2 ABM 740 33 C 45 144 87408 ABM 740 33 A 45 143
1T 19E-2L ABM 760 34 C 47 157 87408 ABM 740 33 B 45 144
1T 19E-3 ABM 742 34 A 47 151 87413/1 ABM 722 34 A 35 137
1T 18E-83 ABM 771 33 K 55 167 87413/1 ABM 722 34 B 35 137
1T 19E-93 ABM 773 33 K 55 158 88786 AB 448 20
1T 19E-93 ABM 773 33 K 158 88802 AB 455 A 21
1T 19E-93 ABM 771 33 K 157 88802 AB 455 21
1T 240-20 ABM 2932 24 R 50 87 88802 AB 455 A 21
1T 240-20 ABM 2832 24 P 50 87 88806 AB 434 B 15
1T 280-30 ABM 292 27 C 48 81 88809 AB 448 S 18
1T 280-40 ABM 296 27 C 48 81 90608 AB 408 S 5
1T 300-33 ABM 520 30 B 01 103 91016 AB 888 28
1T 300-37 ABM 537 30 F 15 116 92477 AB 880 23
1T 300-37 ABM 520 30 A 11 101 92548 AB 432 15
1T 300-37 ABM 520 30 B 00 102 92574 AB 445 18
1T 300-37 ABM 520 30 A 00 101 92575 AB 545 27
1T 300-37 ABM 520 30 A 12 102 92584 AB 538 26
1T 300-37 ABM 520 30 A 13 102 92594 AB 538 26
1T 300-37 ABM 520 30 F 00 103 93518 AB 535 26
1T 300-40 ABM 537 30 A 15 115 93536 ABM 242 32 C 07 72
1T 323-32 ABM 222 32 A 01 55 93774 ABM 292 27 C 48 81
1T 323-33 ABM 222 32 C 10 57 96534 AB 448 SL 20
1T 323-40 ABM 242 32 C 09 72 96541 AB 890 SL 29
1T 323-40 ABM 242 32 A 04 71 96692 ABM 296 27 C 48 81
1T 323-40 ABM 242 32 A 07 71 96871 ABM 242 32 C 09 72
1T 323-40 ABM 242 32 C 07 72 96873 ABM 222 32 C 10 57

17C 300-30 ABM 530 30 A 108 96884 ABM 722 34 B 38 138

1TC 300-36 ABM 550 30 A 06 125 96987 AB 407 L 8

17C 300-36 ABM 550 30 A 25 126 97042 AB 443 16

17C 300-38 ABM 537 30 H 16 117 97043 AB 415 S 12

17C 300-38 ABM 537 30 H 15 117 97261 AB 447 1E

1TC 360-45 ABM 850 36 A 161 97306 ABM 242 32 A 07 71

17C 360-45 ABM 850 36 A 61 161 97326 AB 407 S

17C 360-45 ABM 850 36 A 75 161 97393 ABM 742 34 A 47 151

1TS 260-20 ABM 531 27 A 01 112 97555 AB 448 XL 20

1TS 270-23 ABM 234 28 A 65 97608 AB 444 L 17

1TS 270-23 ABM 234 28 A 01 66 97618 AB 444 17

1TS 270-23 ABM 234 28 A 11 66 97722 ABM 520 30 B 01 103

1TS 270-23 ABM 234 28 B 66 201732 AB 444 S 16

1TS 270-23 ABM 234 28 B 01 66 202189 AB 408 10

1TS 270-23 ABM 234 28 B 11 67 202265 AB 415 13

1TS 270-23 ABM 234 28 C 67 202302 ABM 242 32 A 04 71

1TS 270-23 ABM 234 28 C 01 67 202728 AB 448 L 20

1TS 270-23 ABM 234 28 C 11 67 202773 AB 444 SL 16

1TS 270-23 ABM 234 28 D 68 203715 ABM 520 30 B 00 102

1TS 270-23 ABM 234 28 D 01 68 203833 AB 830 L 30

1TS 270-23 ABM 234 28 D 11 68 203878 ABM 740 33 R 45 146

1TS 270-25 ABM 286 28 A 17 78 203933 AB 444 XL 17

1TS 270-25 ABM 286 28 B 17 80 204371 ABM 742 33 P 50 151

1TS 270-26 ABM 236 28 B 15 69 204427 AB 450 21

1TS 270-26 ABM 236 28 A 15 69 204530 ABM 850 36 A 161

1TS 290-28 ABM 538 28 A 12 119 204676 ABM 740 33 C 45 144

1TS 290-28 ABM 538 28 A 02 118 205170 ABM 550 30 A 06 125

1TS 290-30 ABM 543 29 A 02 121 205456 ABM 722 34 C 35 138

1T7S 300-28 ABM 535 30 D 10 113 205536 ABM 530 30 A 108

1TS 300-28 ABM 510 30D 13 98 205598 ABM 537 30 H 16 117

1VS 285-30 ABV 247 A 02 167 205800 ABM 850 36 A 61 161

1VS 285-30 ABV 247 B 02 168 206201 ABM 771 33 K 55 157

1VSC 285-30 ABV 247 B 03 168 206201 ABM 773 33 K 55 158
1VSC 285-30 ABV 247 A 03 167 206333 ABM 760 34 C 47 157
206340 ABM 520 30 A 00 101
206356 ABM 550 30 A 25 126
206357 ABM 850 36 A 75 161




NECTEC

CF GOMMA CODE NEOTEC PAGE VIBRACOUSTIC NEOTEC PAGE
206585 ABM 520 30 A 11 101 V1D28F-1 ABM 742 33 C 45 150
206643 ABM 722 34 P 30 140 V1D28F5 ABM 744 35 K 45 154
206684 ABM 234 28 C 01 67 V1D28F7 ABM 742 33 B 45 149
206684 ABM 234 28 C 11 67 V1D28H-16 ABM 771 33 K 55 157
206685 ABM 234 28 D 01 68 V1D28H-16 ABM 773 33 K 55 158
206685 ABM 234 28 D 11 68 V1 D28 H-16 NP ABM 773 33 K 158
206686 ABM 234 28 A 01 66 V1 D28 H-16 NP ABM 771 33 K 157
206686 ABM 234 28 A 11 66 V 1 DF 16 B-1 ABM 533 28 C 01 112
206687 ABM 234 28 B 01 66 V 1 DF 16 B-1 NP ABM 533 28 C 112
206687 ABM 234 28 B 11 67 V 1 DF 16 C-1 ABM 214 25 A 01 46
206746 ABM 740 33 T 50 147 V 1 DF 16 D-1 ABM 216 25 A 02 50
206778 ABM 535 30 D 10 113 V1 DF 16 E-1 ABM 212 26 E 08 45
206781 ABV 247 A 03 167 V 1 DF 16-2 ABM 541 27 B 11 121
206783 ABV 247 B 03 168 V 1 DF 16-2 ABM 541 27 B 01 121
207112 ABM 2832 24 P 50 87 V 1 DF 16-2 NP ABM 541 27 B 120
207113 ABM 2932 24 R 50 87 V 1 DF 18-2 ABM 214 28 A 01 47
207162 ABM 286 28 A 17 78 V 1 DF 18-3 ABM 214 28 A 03 47
207163 ABM 286 28 B 17 80 V 1 DF 18-3 NP ABM 214 28 A 47
207170 ABM 234 28 C 67 V 1 DF 18 B-1 ABM 538 28 A 12 119
207171 ABM 234 28 D 68 V 1 DF 18 B-1 ABM 538 28 A 02 118
207172 ABM 234 28 A 65 V 1 DF 18 B-1 NP ABM 539 29 A 118
207173 ABM 234 28 B 66 V 1 DF 19 C-1 ABM 543 29 A 121
207313 ABK 890 L C 01 38 V 1 DF 20 A-1 ABM 218 28 A 03 52
207463 ABM 537 30 A 15 115 V 1 DF 20 B-1 ABM 220 28 A 04 53
207528 ABM 236 28 B 15 69 V 1 DF 20 C-1 ABM 226 28 B 02 61
207530 ABM 236 28 A 15 69 V 1 DF 20 C-2 ABM 226 28 B 01 60
207702 ABM 539 28 A 12 118 V 1 DF 20 C-3 ABM 226 28 B 04 61
207702 ABM 539 29 A 02 118 V 1 DF 20 C-4 ABM 226 28 B 03 61
207717 ABM 520 30 F 00 103 V 1 DF 21 A1-166292 ABM 530 30 R 09 111
207718 ABM 520 30 A 12 102 V 1 DF 21 A2-166294 ABM 530 30 F 09 110
207722 ABM 520 30 A 13 102 V 1 DF 21 A-247104 ABM 580 30 M 130
207733 ABM 722 34 C 37 138 V 1 DF 21-246169 ABM 551 30 M 128
207763 ABM 543 29 A 02 121 V 1 DF 22 C-1 ABM 535 30D 10 113
207764 ABM 531 27 A 01 112 V 1 DF 25 A-1 ABM 506 31 D 05 93
207765 ABV 247 A 02 167 V 1 DF 25 A-11 ABM 506 31 E 03 93
207766 ABV 247 B 02 168 V 1 DF 25 A-2 NP ABM 506 31 D 92
207768 ABM 537 30 F 15 116 V 1 DF 25 A-21 ABM 506 31 D 04 93
207772 ABM 773 33 K 158 V 1 DF 25-1 ABM 507 31 A 94
207772 ABM 771 33 K 157 V 1 DF 25-11 ABM 507 31 A 01 94
207774 ABM 510 30D 13 88 V 1 DF 25-12 ABM 507 31 A 03 94
207777 ABM 222 32 A 01 55 V 1 DF 25-13 ABM 507 31 C 01 96

V 1 DF 25-14 ABM 507 31 B 05 95

V 1 DF 25-15 ABM 507 31 A 02 94

VIBRACOUSTIC NEOTEC PAGE V 1 DF 253 ABM 507 31C 95
V1D23E-3 ABM 242 32 C 09 72 V 1 DF 25-4 ABM 507 31 B 95
V1 D23G-4 ABM 270 30 G 44 76 V 1 DF 26-1 ABM 640 32 A 01 135
V1D23G-5 ABM 270 32 G 46 76 V 1 DF 26-1 NP ABM 640 32 A 135
V1 D28 A-10 ABM 722 34 C 35 138 V 1 DF 26-2 ABM 640 32 A 02 136
V1D28A-12 ABM 728 33 C 35 142 V 1 DF 32-166217 ABM 850 36 B 62 162
V1D28A-16 ABM 728 33 C 42 143 V 1 DF 32-166252 ABM 850 36 B 63 162
V1D 28 A-2 ABM 722 34 A 35 137 V 1 DF 32-246149 ABM 851 36 B 162
V1D28A-2 ABM 722 34 B 35 137 V 1 DK 18-1 ABM 237 27 F 09 70
V1 D28B-10 ABM 740 33 C 45 144 V 1 DK 18-1 NP ABM 237 27 F 69
V1 D28B-2 ABM 740 33 A 45 143 V 1 DK 20 A-1 ABM 537 30 C 20 116
V1 D28 B-2 ABM 740 33 B 45 144 V 1 DK 20 A-1 NP ABM 537 30 F 116
V1 D28B-2NP ABM 740 33 A 143 V 1 DK 20 A-51 ABM 537 30 F 22 117
V1D 28 B-2 NP ABM 740 33 B 143 V 1 DK 20 B-1 ABM 553 30 C 20 129
V1D28B-7 ABM 740 33 R 45 1486 V 1 DK 20 B-1 NP ABM 553 30 C 128
V1 D28 B-9 ABM 740 33 D 45 145 V1 DK 20 C-2 ABM 227 28 L 31 64
V1D28B-9 ABM 740 33 E 45 146 V 1 DK 20 C-8 ABM 227 28 A 21 63
V1D28C-12 ABM 742 34 A 47 151 V 1 DK 21 ABM 550 30 A 125
V1 D28 D-10 ABM 760 34 C 47 167 V1 DK21 A-3 ABM 537 30 H 15 117
V1De28D-4 ABM 760 34 A 47 156 V1 DK 21 A-31 ABM 537 30 H 16 117




NECTEC

VIBRACOUSTIC NEOTEC PAGE VIBRACOUSTIC NEOTEC PAGE
V 1 DK 21 A-4 ABM 537 30 A 15 115 V1F20A AB 415 S 12
V1 DK 21 B-4 ABM 242 32 A 03 71 V1 F20A-1 ABK 415 SA G 24 33
V 1 DK21B-5 ABM 242 32 A 70 V1F20B AB 415 13
V 1 DK 21 B-8 ABM 242 32 A 04 71 V1F21 AB 455 A 21
V1 DK21K ABM 530 30 A 108 V1F21A AB 455 S 21
V1DK21KX4 ABM 530 30 A 05 108 V1F210C-2 AB 415 L 13
V1DK21KY4 ABM 530 30 A 07 108 V1F21C-5 AB 455 21
V 1 DK21K-3 ABM 530 30 F 108 V1F21C-6 AB 415 SB 12
V1DK21K-3Y8 ABM 530 30 F 07 110 V1F21D AB 455 L 22
V1 DK21K-6 ABM 530 30 G 110 V1F25 AB 535 26
V1DK21X1 ABM 550 30 A 06 125 V1F26 AB 434 B 15
V1DK21Y1 ABM 550 30 A 25 126 V 1F 26 B-1 AB 432 15
V1 DK21-5 ABM 550 30 G 128 V1F26C AB 430 14
V1 DK21-6 ABM 550 30 F 127 V1F26D AB 434 L 16
V1 DK 22 E-10 ABM 520 30 A 11 101 V1F32 AB 538 26
V1 DK22E-13 ABM 520 30 A 12 102 V1F32A AB 545 27
V 1DK22E-14 ABM 520 30 A 13 102 V1F328B AB 545 L 27
V1 DK 22 E-5 ABM 520 30 B 01 103 V1G12A-6 AB 411 S 10
V 1 DK 22 E-5 NP ABM 520 30 B 102 V1G12-6 AB 411 10
V 1 DK 22 E-6 ABM 520 30 A 01 101 V1G19 AB 523 23
V 1 DK 22 E-8 ABM 520 30 B 00 102 V 1 KE 22-1 NP ABV 445 C 175
V1 DK 22 E-9 ABM 520 30 A 00 101 V1 KF21-1 ABV 247 A 02 167
V 1 DK 22 E-8 NP ABM 520 30 A 100 V 1 KF21-1 NP ABV 247 A 167
V 1 DK 23 K-28 ABM 222 32 A 02 56 V 1 KF21-2 ABV 247 B 02 168
V 1 DK 23 K-54 ABM 222 32 A 06 56 V 1 KF 21-2 NP ABV 247 D 168
V 1 DK 23 K-9082 ABM 222 32 B 08 57 V 1 KF21-21 ABV 247 A 02 167
V 1 DK 23 K-8780 ABM 228 32 A 11 65 V 1 KF 21-22 ABV 247 B 02 168
V 1 DK 23 L-40 ABM 242 32 A 07 71 V 1 KF 22-1 ABV 445 C 01 175
V1 DK 23 L-42 ABM 2456 31 F 03 86 V 1 KF 23-1-230 ABV 264 C 02 170
V1 DK 23 L-6318 ABM 239 28 A 22 70 V 1 KF 23-1-232 ABV 264 C 02 170
V 1 DK 23 L-9131 ABM 242 32 A 05 71 V 1 KF 24-1-230 ABV 263 C 02 170
V 1 DK 24 K-4 ABM 530 30 E 108 V 1 KF 24-1-230 NP ABV 263 C 170
V 1 DK 24-4 ABM 550 30 E 126 V 1 KF 24-1-232 ABV 263 C 02 170
V 1 DK 25-8747 ABM 522 33 A 01 104 V 1 KF 24-2-230 ABV 263 A 02 168
V 1 DK 28 F-3 ABM 742 35 C 38 152 V 1 KF 24-2-230 NP ABV 263 A 169
V 1 DK 28 F-4 ABM 760 32 H 50 154 V 1 KF 24-2-232 ABV 263 A 02 169
V 1 DK 28 F-4 NP ABM 760 32 H 154 V 1 KF 25-1-230 ABV 267 C 01 172
V 1 DK 28 F-8 ABM 760 32 L 50 155 V 1 KF 25-1-230 NP ABV 267 C 172
V 1 DK 32 ABM 850 36 A 161 V 1 KF 25-1-232 ABV 267 C 01 172
V1 DK 32K ABM 830 36 A 168 V 1 KF 25-2-230 ABV 267 C 02 172
V1 DK32KX11 ABM 830 36 A 60 160 V 1 KF 25-2-232 ABV 267 C 02 172
V1DK32L ABM 870 36 A 163 V 1 KF 25-3-230 ABV 267 C 02 172
V1DK32LX14 ABM 870 36 A 65 163 V 1 KF 25-3-232 ABV 267 C 02 172
V1DK32X8 ABM 850 36 A 61 161 V 1 KF 27-1-232 ABV 261 C 01 169
V1DK32Y8 ABM 850 36 A 75 181 V 1 KF 32-23-232 ABV 295 F 01 174
V1E10 AB 204 8 V 1 KF 32-23-232 NP ABV 285 F 174
V1E14 AB 408 S 9 V2E188B AB 314 8
V1E17 AB 414 12 V2 EZ23 AB 640 L 28
V1E18 AB 414 S 11 V2E23A AB 640 27
V1E18-8 ABK 414 F 01 32 VeGea0 AB 525 24
VvV 1EZ20 ABK 464 G 25 34 veG20A AB 528 25
V1E21 AB 445 18 VSP2B 12 R-1 ABT 3225 C 01 178
V1ER21D-2 AB 445 L 1€
V1ER2TE AB 445 XL 19
V1E21-6 AB 445 A 18
V1E25(-2) AB 888 28
V1E25A AB 888 28
V1EZ26 AB 416 13
V1E2BA AB 418 13
V1E26A-11 ABK 418 B 12 34
V1E26A-18 ABK 418 C 13 34
V1E32 AB 538 26
V1F16 AB 443 16




NECTEC

AIRTECH NEOTEC PAGE AIRTECH NEOTEC PAGE
3644 AB 445 18 3889 C ABM 216 28 B 02 51
3661 AB 888 28 3888 P ABM 216 28 B 51
3662 AB 538 26 3886 AB 314 L 8
3673 AB 455 S 21 3897 AB 640 L 28
3701 AB 416 13 3902 C ABM 940 36 C 01 161
3706 AB 455 XL 22 3912 C ABM 760 34 A 47 156
3713 AB 455 L 22 3916 AB 455 21
3715 AB 535 26 3921 AB 414 12
3716 AB 432 15 3927 AB 314 8
3718 AB 545 L 27 3928 AB 640 27
3720 AB 455 A 21 3940 C ABM 530 30 A 05 108

3724 P ABM 551 30 M 128 3940 CPP ABM 530 30 A 07 108
3725 C ABM 850 36 B 62 162 39840 P ABM 530 30 A 108
3725 P ABM 851 36 B 162 3941 C ABM 550 30 A 06 125
3725-01C ABM 850 36 B 63 162 3941 CPP ABM 550 30 A 25 126
3727 AB 545 27 3941 P ABM 550 30 A 125
3728 AB 545 27 3942 C ABM 870 36 A 65 163
3737 AB 434 B 15 3942 P ABM 8970 36 A 163
3746 AB 432 B 15 3943 AB 445 S 17
3757 AB 430 14 3944 AB 445 A 18
3762 AB 538 26 3945 AB 445 XL 19
3768 AB 430 B 14 3946 AB 415 SB 12
3768 AB 414 S 11 3951 P ABM 570 30 A 129
3782 AB 445 L 19 31415-01C ABK 523 N 02 35
3788 AB 412 L 11 31924 C ABK 526 N 03 36
3810 C ABM 722 34 A 35 137 34004 C ABM 520 30 B 01 103
3810 C ABM 722 34 B 35 137 34004 CPP ABM 520 30 B 00 102
3810 CPP ABM 722 34 B 40 138 34004 P ABM 520 30 B 102
3810 P ABM 722 34 A 137 34007 P ABM 580 30 M 130
3810 P ABM 722 34 B 137 34022 C ABM 520 30 A 01 101
3811 C ABM 740 34 F 45 148 34022 CPP ABM 520 30 A 0O 101
3811C ABM 740 34 G 45 148 34022 P ABM 520 30 A 100
3813 C ABM 740 33 A 45 143 34023 C ABM 740 33 C 45 144
3813 C ABM 740 33 B 45 144 34023 P ABM 740 33 C 144
3813 CPP ABM 740 33 B 60 144 34023-08 C ABM 740 33 C 46 145
3813 P ABM 740 33 A 143 34028 C ABM 742 33 C 45 150
3813 P ABM 740 33 B 143 34028 P ABM 742 33 C 149
3818 AB 408 S 9 34028-05 C ABM 742 33 B 45 148
3836 C ABM 507 31 A 01 94 34028-05 P ABM 742 33 B 148
3836 P ABM 507 31 A 84 34156 C ABM 222 32 A 02 56
3836-01 P ABM 507 31 B 95 34156 CPP ABM 222 32 A 01 55
3836-02 C ABM 507 31 C 01 96 34156 P ABM 222 32 A 55
3836-02 P ABM 507 31 C 95 34156-03 C ABM 222 32 A 06 56
3836-04 C ABM 507 31 B 05 85 34156-05 CPP ABM 222 32 B 08 57
3836-05 C ABM 507 31 F 02 87 34156-07 CPP ABM 268 32 D 15 75
3836-05 P ABM 507 31 F 96 34157 CPP ABM 537 30 A 15 115
3836-06 C ABM 507 31 A 02 94 34157 P ABM 537 30 A 114
3836-08 C ABM 507 31 C 06 86 34157-03 P ABM 537 30 F 116
3836-11C ABM 507 31 A 04 95 34157-05 CPP ABM 537 30 H 15 117
3836-16 C ABM 507 31 F 01 96 34157-05 P ABM 537 30 H 117
3838 AB 434 L 16 34157-08 CPP ABM 537 30 F 21 116
3873 AB 455 L2 22 34157-10 CPP ABM 537 30 F 22 117
3876 AB 888 L 29 34158 CPP ABM 553 30 C 20 129
3876 C ABK 888 L M 09 37 34158 P ABM 553 30 C 128
3881 C ABM 850 36 A 61 161 34159 P ABM 242 32 A 70
3881 P ABM 850 36 A 161 34159-01 C ABM 242 32 A 07 71
3881-01 CPP ABM 850 36 A 75 161 34159-02 CPP ABM 242 32 A 05 71
3882 AB 443 16 34158-05 C ABM 242 32 A 04 71
3883 AB 415 L 13 34159-10 CPP ABM 242 32 A 03 71
3884 AB 415 S 12 34183-23 C ABV 2395 G 01 174
3887 P ABM 214 28 A 47 34183-23 P ABV 285 G 174
3887-22 C ABM 214 28 A 04 48 34183-24 C ABV 285 F 01 174
3887-33 C ABM 214 28 A 05 48 34183-24 P ABV 295 F 174




NECTEC

AIRTECH NEOTEC PAGE AIRTECH NEOTEC PAGE
34380-01 C ABV 247 A 02 167 34916-07 C ABM 630 32 A 01 135
34390-01 P ABV 247 A 167 34819 C ABM 549 29 P 50 125
34390-02 C ABV 247 B 02 168 34829 C ABM 547 28 P 45 124
34390-02 P ABV 247 B 167 34829 P ABM 547 28 P 124
34380-03 C ABV 247 B 03 168 34930 CPP ABM 216 25 G 21 51
34380-04 C ABV 247 A 03 167 34833 C ABM 775 32 M 56 158
34391-01 C ABV 243 A 01 166 34840 CPP ABM 530 30 E 07 109
34391-01 P ABV 243 A 166 34840 P ABM 530 30 E 109
34381-02 C ABV 243 D 01 166 34841 C ABM 550 30 E 06 126
34391-02 P ABV 243 D 166 34941 P ABM 550 30 E 126

34644 C ABV 445 C 01 175 34860 CPP ABM 530 30 F 07 110

34644 P ABV 445 C 175 34860 P ABM 530 30 F 109

34705 C ABM 640 32 A 01 135 34961 CPP ABM 530 30 G 07 111

34713 C ABM 535 30D 10 113 34961 P ABM 530 30 G 110

34718 C ABM 536 30 K 14 114 34862 P ABM 550 30 G 128
34737-01C ABV 265 C 04 171 3415-25 AB 525 24
34737-01 P ABV 265 C 171 3415-28 AB 528 25
34737-02 C ABV 265 C 05 171 30075 AB 413 11
34737-25 C ABV 265 C 06 172 30081 C ABM 522 33 A 01 104
34757-01C ABV 263 C 02 170 30283 C ABM 742 35 C 38 152
34757-01 P ABV 263 C 170 30283 P ABM 742 35 C 151
34757-02 P ABV 263 A 169 30789 AB 445 SN 18
34757-09 C ABV 263 A 02 169 30807 C ABK 640 B A 01 37
34758-01C ABV 264 C 02 170 31070 C ABM 506 31 D 05 93
34758-01 C ABV 261 C 01 169 31070 P ABM 506 31 D 92
34759-01 P ABV 261 C 168 31277 AB 410 10
34810-07 P ABM 722 34 C 138 31415 AB 523 23

34813 P ABM 740 33 D 145 31421 AB 434 15

34813 P ABM 740 33 E 146 31782 AB 515 S 23

34838 P ABV 267 C 172 31885 AB 415 13
34838-01 C ABV 267 C 01 172 31888 AB 888 29
34838-03 C ABV 267 C 02 172 31824 AB 526 25

34862 C ABM 533 28 C 01 112 32303 C ALU ABM 228 32 A 21 65

34862 P ABM 533 28 C 112 32303 CPP ABM 228 32 A 11 65

34881 C ABM 830 36 A 60 160 32400 P ABM 520 30 F 103

34881 P ABM 830 36 A 158 32428 C ABM 527 31 M 30 107

34881-01 CPP ABM 830 36 A 70 160 32619 CPP ABM 520 30 A 11 101

34882 C ABM 541 27 B 01 121 32621 CPP ABM 520 30 A 12 102

34882 P ABM 541 27 B 120 32626 CPP ABM 520 30 A 13 102

34883 C ABM 543 28 A 02 121 32818 C ABM 722 34 C 35 138

34883 P ABM 543 28 A 121 32919 CPP ABM 722 34 C 41 139
34883-06 C ABM 543 29 A 03 122 32922 C ABM 728 33 C 42 143

34884 C ABM 538 28 A 02 118 32923 CPP ABM 740 34 C 61 147

34884 P ABM 538 28 A 118 32826 C ABM 760 34 C 47 1857
34884-07 C ABM 538 28 B 03 119 32927 CPP ABM 760 33 C 49 156
34884-07 P ABM 538 29 B 118 36108 C ABM 212 26 E 08 45

34885 C ABM 531 27 A 01 112 36113 C ABM 514 31 P 30 99

34885 P ABM 531 27 A 111 36113 P ABM 514 31 P 99

34911 C ABM 744 32 H 50 152 36198 P ABM 206 33 A 41

34811 P ABM 744 32 H 162 36198 C ABM 208 33 A 02 42
34911-04 C ABM 744 32 L 50 153 36199 P ABM 208 33 A 42
34811-04 P ABM 744 32 L 163 36200 C ABM 210 33 A 03 43

34912 C ABM 760 32 H 50 154 36200 P ABM 210 33 A 42

34812 P ABM 760 32 H 154 36251 C ABM 225 27 D 05 59
34912-10 C ABM 760 32 L 50 155 36305 T ABK 530 0 40 36
34812-10 P ABM 760 32 L 165 36312 C ABM 514 29 D 20 99
34812-13 C ABM 760 32 L 50 A 185 36318 CPP ABM 2389 29 A 22 70

34913 C ABM 771 33 K55 157 36318 P ABM 238 29 A 70

34913 C ABM 773 33 K 55 158 36416 C ABM 216 25 A 02 50

34813 P ABM 773 33 K 158 36416 P ABM 216 25 A 49

34813 P ABM 771 33 K 157 36418 C ABM 214 25 A 01 46

34815 P ABM 237 27 F 69 36418 P ABM 214 25 A 45
34915-01 C ABM 237 27 F 09 70 36420 C ABM 218 29 A 06 52




NECTEC

AIRTECH NEOTEC PAGE BLACKTECH NEOTEC PAGE
36684 C ABM 234 28 D 01 68 11001 C ABC 2001 182
36684 P ABM 234 28 D 68 110 01 CA ABC 2001 A1 182
36685 C ABM 234 28 C 01 67 11002 C ABC 2002 182
36686 C ABM 234 28 A 01 66 110 02 CA ABC 2002 A1 182
36686 P ABM 234 28 A 65 110 04 CA ABC 2015 A1 186
36687 C ABM 234 28 B 01 66 110 05 CA ABC 2007 A1 185
36687 P ABM 234 28 B 66 110 06 CA ABC 2006 A1 185
36761 C ABM 502 30 K 01 80 110 07 CA ABC 2014 A1 185
36762 C ABM 302 30 A 01 88 110 08 CA ABC 2003 A1 183
36768 C ABM 535 30D 18 114 110 08 CA ABC 2003 A2 183
36770 C ABM 535 30D 17 113 11012 C ABC 2004 184
36877 T ABK 414 SL 0 23 33 11013 C ABC 2005 184
37313 CPP ABM 227 28 H 05 64 110 39 CA ABC 2002 A2 183
37803 C ABM 220 28 A 04 53 11013CA ABC 2005 A1 184
37803 P ABM 220 28 A 53 21001 C ABC 2012 185
37804 C ABM 218 28 A 03 52 2C 21 P12 ABT 3225 D 02 178
37804 P ABM 218 29 A 52 RL 8027 AB 455 21
37847 C ABM 223 28 A 07 58 RL 9032 AB 414 12
38683 C ABM 214 28 A 01 47 RL 9038 AB 314 8
36875 AB 414 SL 12 RL 9039 AB 640 27
38608 CPP ABM 537 30 L 15 118 RL 9054 AB 445 S 17
120992 ABV 283 F 173 RL 9055 AB 445 A 18
122172 ABV 275 G 173 RL 9056 AB 445 XL 19
132172 ABV 275 G 01 173 RL 8057 AB 415 SB 12
135632 ABM 504 32 A 02 92 RL 9086 AB 204 8
136702 ABM 502 32 B 01 91 RL 8526-36 AB 525 24
318285 AB 447 18 RL 9526-38 AB 528 25
318270 AB 444 S 16 RL 9755 AB 445 18
320270 AB 444 SL 16 RL 9772 AB 888 28
320285 AB 448 SL 20 RL 9773 AB 538 26
323290 AB 450 21 RL 9784 AB 455 S 21
326270 AB 444 XL 17 RL 8812 AB 416 13
330301-02 C ABM 502 32 A 01 Sl RL 9817 AB 455 XL 22
330304 C ABM 226 28 B 02 61 RL 9820 AB 545 L 27
330305 C ABM 226 28 B 01 60 RL 9824 AB 455 L 22
330306 C ABM 226 28 B 04 61 RL 9826 AB 535 26
331114 C ABM 224 28 B 06 58 RL 9827 AB 432 15
331238 C ABM 504 32 B 02 92 RL 8831 AB 455 A 21
331239 C ABM 224 28 C 06 59 RL 9838 AB 545 27
331240 C ABM 226 28 C 02 62 RL 9839 AB 545 27
331241 C ABM 226 28 C 01 62 RL 9848 AB 434 B 15
331242 C ABM 226 28 C 04 62 RL 9857 AB 432 B 15
331243 C ABM 226 28 C 03 62 RL 9868 AB 430 14
331247 C ABM 256 31 C 35 73 RL 8870 AB 414 S 11
334506 C ABM 226 28 B 03 61 RL 9873 AB 538 26
336323 AB 890 L 30 RL 9879 AB 430 B 14
391322 C ABM 740 33 D 45 145 RL 9883 AB 445 L 19
391322 C ABM 740 33 E 45 146 RL 9889 AB 412 L 11
A 3001101 SCANIA ABC 2001 182 RL 9907 AB 314 L 8
A 3001102 SCANIA ABC 2003 183 RL 9908 AB B40 L 28
A 3001103 SCANIA ABC 2002 182 RL 9820 AB 408 S g
A 3001103 SCANIA ABC 2002 182 RL 9849 AB 434 L 16
A 3001104 SCANIA ABC 2004 184 RL 9984 AB 455 L2 22
A 3001105 K1 ABC 2005 A1 184 RL 9987 AB 888 L 29
A 3001105 K1 ABC 2005 A1 184 RL 9993 AB 443 16
A 3001506 RVI ABC 2012 185 RL 9984 AB 415 L 13
RL 9985 AB 415 S 12
RL 92035 AB 526 25
RL 82526 AB 523 23
RL 92532 AB 434 15
RL 92996 AB 415 13
RL 95875 AB 414 SL 12
RML 7012 C ABM 860 38 C 01 163




NECTEC

BLACKTECH NEOTEC PAGE BLACKTECH NEOTEC PAGE
RML 7013 C ABM 840 36 C 01 161 RML 75024 C ABM 771 33 K 55 157
RML 7023 C1 ABM 760 34 C 47 157 RML 75024 C ABM 773 33 K 55 158
RML 7023 C2 ABM 760 34 A 47 156 RML 75026 ABM 237 27 F 69
RML 7051 ABM 530 30 A 108 RML 75026 C6 ABM 237 27 F 09 70
RML 7051 C ABM 530 30 A 05 108 RML 75027 ABM 630 32 A 135
RML 7051 CP ABM 530 30 A 07 108 RML 75051 ABM 530 30 E 108
RML 7052 ABM 550 30 A 125 RML 75052 ABM 550 30 E 126
RML 7052 C ABM 550 30 A 06 125 RML 75052 C ABM 550 30 E 06 126
RML 7052 CP ABM 550 30 A 25 126 RML 75052 CP ABM 550 30 E 25 127
RML 7053 ABM 870 36 A 163 RML 75071 ABM 530 30 F 108
RML 7053 C ABM 870 36 A 65 163 RML 75072 ABM 530 30 G 110
RML 7062 ABM 570 30 A 129 RML 75072 CP ABM 530 30 G 07 111
RML 7835 ABM 551 30 M 128 RML 75073 ABM 550 30 G 128
RML 7836 ABM 851 36 B 162 RML 75115 ABM 520 30 B 102
RML 7836 C2 ABM 850 36 B 62 162 RML 75115 C ABM 520 30 B 01 103
RML 7836 C3 ABM 850 36 B 63 162 RML 75115 CP ABM 520 30 B 00 102
RML 7921 ABM 722 34 A 137 BRML 751189 ABM 742 34 A 151
RML 7921 ABM 722 34 B 137 RML 75118 C ABM 742 34 A 47 151
RML 7921 C ABM 722 34 A 35 137 RML 75133 ABM 520 30 A 100
RML 7921 C ABM 722 34 B 35 137 RML 75133 CP2 ABM 520 30 A 02 101
RML 7922 ABM 740 34 F 148 RML 75133 CP3 ABM 520 30 A 00 101
RML 7922 ABM 740 34 G 148 RML 75133 CP5 ABM 520 30 A 11 101
RML 7922 C ABM 740 34 F 45 148 RML 75134 ABM 740 33 C 144
RML 7922 C ABM 740 34 G 45 148 RML 75134 C ABM 740 33 C 45 144
RML 7924 ABM 740 33 A 143 RML 75139 C2 ABM 742 33 C 45 150
RML 7924 ABM 740 33 B 143 RML 75138 C5 ABM 742 33 B 45 149
RML 7924 C ABM 740 33 A 45 143 RML 75260 C3 ABM 242 32 A 07 71
RML 7924 C ABM 740 33 B 45 144 RML 75260 C7 ABM 242 32 A 04 71
RML 7947 ABM 507 31 A 94 RML 75260 CP14 ABM 242 32 A 03 71
RML 7847 C1 ABM 507 31 A 01 94 RML 75260 CPS ABM 242 32 A 05 71
RML 7947 C4 ABM 507 31 B 05 85 RML 75260-5 ABM 242 32 A 70
RML 7847 C6 ABM 507 31 A 02 84 RML 75265 CP6 ABM 221 31 R 43 55
RML 7947 C7 ABM 507 31 A 03 94 RML 75267 C7 ABM 222 32 A 02 56
RML 7847 C8 ABM 507 31 F 02 97 RML 75267 C9 ABM 222 32 A 06 56
RML 7947 C9 ABM 507 31 F 01 86 RML 75267 CP10 ABM 222 32 D 11 58
RML 7947-1 ABM 507 31 B 95 RML 75267 CP14 ABM 222 32 B 08 57
RML 7947-2 ABM 507 31 C 85 RML 75267 CP15 ABM 222 32 A 01 55
RML 7947-2 C1 ABM 507 31 C 01 96 RML 75267-5 ABM 222 32 A 55
RML 7947C1 ABM 507 31 A 04 85 RML 75268 ABM 537 30 H 117
RML 7880 C2 ABM 216 28 B 02 51 RML 75268 C6 ABM 537 30 C 20 116
RML 7982 ABM 850 36 A 161 RML 75268 CP10 ABM 537 30 F 22 117
RML 7992 C ABM 950 36 A 61 161 RML 75268 CP3 ABM 537 30 F 15 116
RML 7982 CP ABM 850 36 A 75 161 RML 75268 CP4 ABM 537 30 A 15 115
RML 7988 ABM 214 28 A 47 RML 75268 CP5 ABM 537 30 H 15 117
RML 7988 C1 ABM 214 28 A 01 47 RML 75268 CP8 ABM 537 30 F 21 116
RML 7888-C3 ABM 214 28 C 03 48 RML 75268 CP9 ABM 537 30 H 16 117
RML 7988C6 ABM 214 28 A 03 47 RML 75268-4 ABM 537 30 A 114
RML 70303 ABM 224 28 B 58 RML 75268 ABM 553 30 C 128
RML 70303 C ABM 224 28 B 06 58 RML 75268 CP ABM 553 30 C 20 129
RML 70306 C ABM 226 28 B 04 61 RML 75270 C ABM 242 32 C 09 72
RML 73042 ABM 580 30 M 130 RML 75531 C ABM 510 30D 13 98
RML 73108 C ABM 212 26 E 08 45 RML 75824 ABM 535 30 D 113
RML 74825 C ABM 502 30 K 01 80 RML 75824 C ABM 535 30D 10 113
RML 75020 C ABM 549 29 P 50 125 RML 75829 ABM 536 30 K 114
RML 75022 ABM 744 32 H 152 RML 75921 ABM 722 34 C 138
RML 75022 C3 ABM 744 32 H 50 152 RML 75921 C5 ABM 722 34 C 35 138
RML 75022 C4 ABM 744 32 L 50 163 RML 75924 ABM 740 33 D 145
RML 75023 ABM 760 32 H 154 RML 75824 ABM 740 33 E 146
RML 75023 C10 ABM 760 32 L 50 155 RML 75824 C ABM 740 33 D 45 145
RML 75023 C7 ABM 760 32 H 50 154 RML 75824 C ABM 740 33 E 45 146
RML 75023-10 ABM 760 32 L 165 RML 75973 ABM 533 28 C 112
RML 75024 ABM 773 33 K 158 RML 75973 C2 ABM 533 28 C 01 112
RML 75024 ABM 771 33 K 157 RML 75982 ABM 830 36 A 158




NECTEC

BLACKTECH NEOTEC PAGE PEGA NEOTEC PAGE
RML 75892 C ABM 830 36 A 60 160 P10.644.R AB 445 18
RML 75982 CP ABM 830 36 A 70 160 P10.661.R AB 888 28
RML 75993 ABM 541 27 B 120 P10.662.R AB 538 26
RML 75893 C5 ABM 541 27 B 11 121 P10.673.R AB 455 S 21
RML 75893 C5 ABM 541 27 B 01 121 P10.701.R AB 416 13
RML 75994 ABM 543 28 A 121 P10.702.R AB 418 13
RML 75894 C ABM 543 28 A 02 121 P10.7054.R AB 525 A 24
RML 75995 ABM 539 29 A 118 P10.706.R AB 455 XL 22
RML 75895 C6 ABM 538 28 A 12 119 P10.713.R AB 455 L 22
RML 75895 C6 ABM 538 28 A 02 118 P10.715.R AB 535 26
RML 75996 ABM 531 27 A 111 P10.716.R AB 432 15
RML 75996 C2 ABM 531 27 A 01 112 P10.718.R AB 545 L 27
RML 76238 C ABM 504 32 B 02 92 P10.720.R AB 455 A 21
RML 76240 C ABM 226 28 C 02 62 P10.724.501 ABM 551 30 M 128
RML 76251C ABM 225 27 D 05 59 P10.725.C02 ABM 850 36 B 62 162
RML 76318 ABM 239 29 A 70 P10.725.C03 ABM 850 36 B 63 162
RML 76318 CP ABM 239 29 A 22 70 P10.727.R AB 545 27
RML 77308 CP ABM 2456 31 F 03 86 P10.737.R AB 434 B 15
RML 77527 ABM 216 25 A 49 P10.746.R AB 432 B 15
RML 77527 C ABM 216 25 A 02 50 P10.757.R AB 430 14
RML 77529 ABM 214 25 A 45 P10.762.R AB 538 26
RML 77528 C ABM 214 25 A 01 46 P10.768.R AB 430 B 14
RML 77804 C ABM 218 28 A 03 52 P10.768.R AB 414 S 11
RML 78608CP ABM 537 30 L 15 118 P10.782.R AB 445 L 19
RML 78914 ABM 220 29 A 53 P10.789.R AB 445 SN 18
RML 783814 C ABM 220 28 A 04 53 P10.792.R AB 413 11
RML 85294 C24 ABV 295 F 01 174 P10.807.R AB 407 L g
RML 85298 C21 ABV 295 G 01 174 P10.810.C ABM 722 34 A 35 137
RML 95401 C1 ABV 247 A 02 167 P10.810.C ABM 722 34 B 35 137
RML 95401 C2 ABV 247 B 02 168 P10.810.C1 ABM 728 33 C 35 142
RML 85401 C21 ABV 247 A 02 167 P10.810.S ABM 722 34 A 137
RML 85401 C22 ABV 247 B 02 168 P10.810.5 ABM 722 34 B 137
RML 95401 C3 ABV 247 B 03 168 P10.811.C ABM 740 34 F 45 148
RML 95401 C4 ABV 247 A 03 167 P10.811.C ABM 740 34 G 45 148
RML 85401-1 ABV 247 A 167 P10.811.C17 ABM 740 33 R 45 146
RML 85401-2 ABV 247 D 168 P10.811.8 ABM 740 34 F 148
RML 95402 C1 ABV 243 A 01 166 P10.811.S ABM 740 34 G 148
RML 95402 C2 ABV 243 D 01 166 P10.813.C ABM 740 33 A 45 143
RML 95402-1 ABV 243 A 166 P10.813.C ABM 740 33 B 45 144
RML 85402-2 ABV 243 D 166 P10.813.8 ABM 740 33 A 143
RML 95755 ABV 445 C 175 P10.813.S ABM 740 33 B 143
RML 95755 C ABV 445 C 01 175 P10.818.R AB 408 S 9
RML 95868 C1 ABV 263 C 02 170 P10.836.2C1 ABM 507 31 C 01 86
RML 85868 C21 ABV 263 C 02 170 P10.836.C1 ABM 507 31 A 01 84
RML 95868 C29 ABV 263 A 02 168 P10.836.C10 ABM 507 31 G 07 98
RML 95868 C9 ABV 263 A 02 168 P10.836.C11 ABM 507 31 A 04 85
RML 95868-1 ABV 263 C 170 P10.836.C14 ABM 507 31 F 08 =7
RML 95868-2 ABV 263 A 169 P10.836.C16 ABM 507 31 F 09 87
RML 95868 C1 ABV 264 C 02 170 P10.836.C4 ABM 507 31 B 05 95
RML 95869 C21 ABV 264 C 02 170 P10.836.C6 ABM 507 31 A 02 94
RML 85868 C23 ABV 264 C 03 171 P10.836.C7 ABM 507 31 A 03 84
P10.836.51 ABM 507 31 B 95
P10.836.52 ABM 507 31 C 95
P10.838.R AB 434 L 16
P10.838.5 ABM 507 31 A 84
P10.876.R AB 888 L 29
P10.881.C ABM 950 36 A 61 161
P10.881.CP ABM 850 36 A 75 161
P10.881.S ABM 850 36 A 161
P10.882.R AB 443 16
P10.884.R AB 415 S 12
P10.887.C1 ABM 214 28 A 01 47
P10.887.C2 ABM 214 28 A 04 48




NECTEC

PEGA NEOTEC PAGE PEGA NEOTEC PAGE
P10.887.C3 ABM 214 28 A 05 48 P10.40303.C ABM 224 28 B 06 58
P10.887.C33 ABM 214 28 C 03 48 P10.40303.C01 ABM 224 28 C 06 59
P10.887.C6 ABM 214 28 A 03 47 P10.40304.C ABM 226 28 B 02 61

P10.887.S ABM 214 28 A 47 P10.40304.C01 ABM 226 28 C 02 62
P10.889.C2 ABM 216 28 B 02 51 P10.40305.C ABM 226 28 B 01 60
P10.888.5 ABM 216 28 B 51 P10.40305.C01 ABM 226 28 C 01 62
P10.896.R AB 314 L 8 P10.40306.C ABM 226 28 B 04 61
P10.897.R AB B40 L 28 P10.40306.C01 ABM 226 28 C 04 62
P10.801.C ABM 960 38 C 01 163 P10.40307.C ABM 502 28 A 03 89
P10.802.C ABM 840 36 C 01 161 P10.40307.C ABM 206 28 B 03 41
P10.812.C01 ABM 760 34 C 47 157 P10.40307.C01 ABM 206 28 C 03 41
P10.912.C02 ABM 760 34 A 47 156 P10.4156.C07 ABM 222 32 A 02 56
P10.916.R AB 455 21 P10.4156.C08 ABM 222 32 A 06 56
P10.921.R AB 414 12 P10.4156.CP10 ABM 222 32 D 11 58
P10.827.R AB 314 8 P10.4156.CP14 ABM 222 32 B 08 57
P10.928.R AB 640 27 P10.4156.CP15 ABM 222 32 A 01 55
P10.840.C ABM 530 30 A 05 108 P10.4156.505 ABM 222 32 A 55
P10.840.CP ABM 530 30 A 07 108 P10.4157.CP0O3 ABM 537 30 F 15 116
P10.940.5 ABM 530 30 A 108 P10.4157.CP04 ABM 537 30 A 15 115
P10.841.C ABM 550 30 A 06 125 P10.4157.CP0O5 ABM 537 30 H 15 117
P10.941.CP ABM 550 30 A 25 126 P10.4157.CPO6 ABM 537 30 C 20 116
P10.941.5 ABM 550 30 A 125 P10.4157.CP0O8 ABM 227 28 L 31 64
P10.942.C1 ABM 870 36 A 65 163 P10.4157.CPO8 ABM 537 30 F 21 116
P10.942.5 ABM 870 36 A 163 P10.4157.CP10 ABM 537 30 F 22 117
P10.943.R AB 445 S 17 P10.4158.CP03 ABM 553 30 C 20 128
P10.944.R AB 445 A 18 P10.4158.502 ABM 553 30 C 128
P10.845.R AB 445 XL 19 P10.4159.C03 ABM 242 32 A 07 71
P10.951.5 ABM 570 30 A 129 P10.4159.C06 ABM 242 32 A 03 71
P10.976.R AB 204 8 P10.4159.C07 ABM 242 32 A 04 71
P10.1277.R AB 410 10 P10.4159.CP0OS ABM 242 32 A 05 71
P10.1285.C1 AB 523 23 P10.4159.505 ABM 242 32 A 70
P10.1421.R AB 434 15 P10.4183.C01 ABV 295 F 01 174
P10.1847.C ABM 520 30 N 01 104 P10.4183.52 ABV 295 F 174
P10.1857.C ABM 262 28 A 42 74 P10.4185.C21 ABV 275 G 01 173
P10.1859.C ABM 258 28 A 38 73 P10.4185.501 ABV 275 G 173
P10.1879.C ABM 274 28 C 07 78 P10.4187.C21 ABV 295 G 01 174
P10.1885.R1 AB 415 13 P10.4380.C01 ABV 247 A 02 167
P10.1888.R AB 888 29 P10.4380.C02 ABV 247 B 02 168
P10.1924.R AB 526 25 P10.4380.C03 ABV 247 B 03 168
P10.2618.CP ABM 520 30 F 00 103 P10.4380.C04 ABV 247 A 03 167
P10.2620.R AB 890 L 30 P10.4380.S1 ABV 247 A 167
P10.2813.C ABM 722 34 C 36 139 P10.4380.52 ABV 247 D 168
P10.3042.C ABM 530 30 F 09 110 P10.4381.C01 ABV 243 A 01 166
P10.3042.C0O1 ABM 580 30 M 130 P10.4381.C02 ABV 243 D 01 166
P10.4004.C03 ABM 520 30 B 01 103 P10.4381.S1 ABV 243 A 166
P10.4004.CP0O3 ABM 520 30 B 00 102 P10.4381.52 ABV 243 D 166
P10.4004.502 ABM 520 30 B 102 P10.4420.C01 ABM 510 30D 13 98
P10.4008.C0O1 ABM 742 34 A 47 151 P10.4506.C ABM 226 28 B 03 61
P10.4022.C03 ABM 522 33 A 01 104 P10.4506.C01 ABM 226 28 C 03 62
P10.4022.CP0O3 ABM 520 30 A 00 101 P10.4543.C ABM 223 28 A 07 58
P10.4022.CP0O5 ABM 520 30 A 11 101 P10.4644.C02 ABV 445 C 01 175
P10.4022.CPO6 ABM 520 30 A 12 102 P10.4644.5 ABV 445 C 175
P10.4022.502 ABM 520 30 A 100 P10.4713.C02 ABM 535 30D 10 113
P10.4023.C03 ABM 740 33 C 45 144 P10.4713.5 ABM 535 30 D 113
P10.4023.C08 ABM 740 33 C 46 145 P10.4718.C0O1 ABM 536 30 K 14 114
P10.4023.5 ABM 740 33 C 144 P10.4718.5 ABM 536 30 K 114
P10.4028.C02 ABM 742 33 C 45 150 P10.4757.C01 ABV 263 C 02 170
P10.4028.8 ABM 742 33 C 148 P10.4757.C29 ABV 263 A 02 168
P10.4028.51 ABM 742 33 B 149 P10.4757.51 ABV 263 C 170
P10.40301.C02 ABM 502 32 A 01 Sl P10.4757.52 ABV 263 A 169
P10.40301.C03 ABM 502 32 B 01 91 P10.4758.C21 ABV 264 C 02 170
P10.40302.C ABM 504 32 A 02 92 P10.4759.C01 ABV 261 C 01 168
P10.40302.C01 ABM 504 32 B 02 82 P10.4759.501 ABV 261 C 169




NECTEC

PEGA NEOTEC PAGE PEGA NEOTEC PAGE
P10.4760.C ABM 336 30 A 14 89 P10.6602.C ABM 514 31 P 30 99
P10.4762.C ABM 302 30 A 01 88 P10.6603.C ABM 514 29 D 20 a9

P10.4810.C05 ABM 722 34 C 35 138 P10.6604.C ABM 212 26 E 08 25

P10.4810.C08 ABM 722 34 C 37 139 P10.6609.C ABM 502 30 K 01 90

P10.4813.007 ABM 740 33 D 45 145 P10.6610.C01 ABK 530 O 40 36

P10.4813.C07 ABM 740 33 E 45 146 P10.6700.C02 ABM 773 33 N 55 158
P10.4823.C ABM 742 35 C 38 152 P10.6700.C02 ABM 771 33 N 55 158

P10.4862.C02 ABM 533 28 C 01 12 P10.7313.CP ABM 227 28 H 05 B4

P10.4862.501 ABM 533 28 C 112 P10.7803.C ABM 220 29 A 04 53
P10.4881.C ABM 930 36 A 60 160 P10.7803.S ABM 220 29 A 53
P10.4881.CP ABM 930 36 A 70 160 P10.7804.C ABM 218 29 A 03 52

P10.4881.502 ABM 930 36 A 159 P10.7804.5 ABM 218 29 A 52

P10.4882.C05 ABM 541 27 B 11 121 P10.8608.CP ABM 537 30 L 15 118

P10.4882.C05 ABM 541 27 B 01 121 P10.9002.5A3 ABM 537 30 F 1186

P10.4882.502 ABM 541 27 B 120 P10.9553 R AB 414 SL 12

P10.4883.C05 ABM 543 29 A 03 102 P10.27023.C03 ABM 234 28 A 01 66

P10.4883.502 ABM 543 29 A 121 P10.27023.C04 ABM 234 28 A 65

P10.4884.C06 ABM 539 29 A 12 119 P10.27023.CPO1 ABM 234 28 D 11 68

P10.4884.C06 ABM 539 29 A 02 118 P10.27023.CP02 ABM 234 28 C 11 67

P10.4884.C07 ABM 539 29 B 03 119 P10.27023.CPO3 ABM 234 28 A 11 66

P10.4884.501 ABM 539 29 A 118 P10.27023.CP04 ABM 234 28 B 11 67

P10.4885.C02 ABM 531 27 A 01 112 P10.27023.501 ABM 234 28 D 68

P10.4885.501 ABM 531 27 A 111 P10.27023.502 ABM 234 28 C 67

P10.4911.C03 ABM 744 32 H 50 152 P10.27023.503 ABM 234 28 B 66

P10.4911.C04 ABM 744 32 L 50 153 P20.1201.B ABC 2002 182

P10.4911.C08 ABM 744 32 L 50 A 153 P20.1201.FA ABC 2002 A1 182

P10.4911.502 ABM 744 32 H 152 P20.1201.RA ABC 2002 A2 183

P10.4912.C07 ABM 760 32 H 50 154 P20.1202.B ABC 2003 183

P10.4912.C10 ABM 760 32 L 50 155 P20.1202. FA ABC 2003 A1 183

P10.4912.013 ABM 760 32 L 50 A 155 P20.1202.RA ABC 2003 A2 183

P10.4912.508 ABM 760 32 H 154 P20.1301.8 ABC 2004 184

P10.4913.002 ABM 771 33 K 55 157 P20.1301.BA ABC 2004 A1 184

P10.4913.002 ABM 773 33 K 55 158 P20.1302.RA ABC 2005 Al 184

P10.4913.504 ABM 773 33 K 158 P20.2101.FA ABC 2014 A1 185

P10.4913.504 ABM 771 33 K 157 P20.3101.FA ABC 2015 A1 186

P10.4915.C03 ABM 237 27 F 89 P20.5302.F1 ABC 2012 185

P10.4915.C06 ABM 237 27 F 09 70
P10.4919.C ABM 549 29 P 50 125
P10.4929.C ABM 547 29 P 45 104 Ll LS S il
P10.4930.CP ABM 216 25 G 21 51 CBO030 ABC 2002 148

P10.4940.502 ABM 530 30 E 109 CBOO30 + CBOO72 ABC 2002 A1 148
P10.4941.C ABM 550 30 E 25 127 CBOO59 ABC 2003 A2 149

P10.4941.502 ABM 550 30 E 126 CBOOB5 + CBOOGE ABC 2001 A1 148
P10.4960.CP ABM 530 30 F 07 710 CBOOGE ABC 2001 148

P10.4960.502 ABM 530 30 F 109 CBOOG7 ABC 2004 150

P10.4961.502 ABM 530 30 G 110 CBOO75 ABC 2012 151

P10.4962.502 ABM 550 30 G 128 CBOO77 ABC 2003 149

P10.4963.501 ABM 550 30 F 127 CBO118 ABC 2019 A1 187
P10.50900.C ABM 242 32 C 09 72
P10.6198.C ABM 206 33 A 01 22
P10.6199.C ABM 208 33 A 02 42 Lk LS8 il
P10.6200.C ABM 210 33 A 03 23 105392 ABC 2008 A1 150
P10.6218.5 ABM 214 25 A 45 105409 ABC 2014 A1 151
P10.6251.CP ABM 225 27 D 05 59 105831 ABC 2001 A1 148
P10.6251.5 ABM 225 27 D 59 105845 ABC 2001 A1 148
P10.6318.CP ABM 239 29 A 22 70 105855 ABC 2015 A1 151
P10.6318.9 ABM 239 29 A 70 105856 ABC 2007 A1 150
P10.6416.C ABM 216 25 A 02 50 105871 ABC 2003 A1 149
P10.6416.S ABM 216 25 A 49 105873 ABC 2003 A2 149
P10.6418.C ABM 214 25 A 01 26 310619 ABC 2004 150
P10.6420.C ABM 218 29 A 06 52 481002 ABC 2001 148

P10.6600.C01 ABM 212 25 E 08 a4 310820 ABC 2017 A1 186

P10.6600.C01 ABM 212 25 A 05 43 313072 ABC 2018 A1 186




n m I ECV
NFK Neotec NEOTEC NFK Neotec NEOTEC NFK Neotec NEOTEC

NFK 031 ABK 408 S NFK 019 ABM 247 B 03 NFK 038 ABM 539 29 AD2
NFK 031 ABK 523 NFK 036 ABM 502 28 AD3 NFK 038 ABM 539 29 BO3
NFK 031 ABK 526 NFK 036 ABM 502 32 AD1 NFK 038 ABM 541 27 BO1
NFK 038 ABK 538 NFK 036 ABM 504 32 AD2 NFK 037 ABM 543 28 A03
NFK 039 ABK 545 NFK 025 ABM 506 31 DO1 NFK 026 ABM 550 30 A
NFK 036 ABM 206 33 AD1 NFK 025 ABM 506 31 D02 NFK 013 ABM 550 30 ADB
NFK 036 ABM 208 33 AD2 NFK 016 ABM 507 31 AD1 NFK 013 ABM 550 30 A25
NFK 036 ABM 210 33 A03 NFK 016 ABM 507 31 AD2 NFK 008 ABM 553 30 C20
NFK 034 ABM 212 26 EO8 NFK 016 ABM 507 31 AD3 NFK 004 ABM 722 34 A35
NFK 023 ABM 214 25 AD1 NFK 016 ABM 507 31 AD4 NFK 004 ABM 722 34 B35
NFK 016 ABM 214 28 AD1 NFK 016 ABM 507 31 BO5 NFK 012 ABM 722 34 C35
NFK 016 ABM 214 28 A03 NFK 016 ABM 507 31 CO1 NFK 004 ABM 740 33 A45
NFK 016 ABM 214 28 AD4 NFK 006 ABM 520 30 ADO NFK 012 ABM 740 33 C45
NFK 016 ABM 214 28 A05 NFK 012 ABM 520 30 AO1 NFK 004 ABM 740 33 C46
NFK 023 ABM 216 25 AD2 NFK 010 ABM 520 30 A11 NFK 014 ABM 740 33 D45
NFK 016 ABM 216 28 B02 NFK 006 ABM 520 30 B0OO NFK 004 ABM 742 33 B45
NFK 023 ABM 218 29 A03 NFK 012 ABM 520 30 BO1 NFK 012 ABM 742 33 C45
NFK 023 ABM 218 29 ADB NFK 020 ABM 520 30 K01 NFK 004 ABM 760 34 A47
NFK 023 ABM 220 29 AD4 NFK 026 ABM 530 30 A NFK 012 ABM 760 34 C47
NFK 027 ABM 222 32 A01 NFK 013 ABM 530 30 A05 NFK 024 ABM 771 33 K55
NFK 027 ABM 222 32 AD2 NFK 013 ABM 530 30 AQ07 NFK 026 ABM 830 36 A
NFK 003 ABM 222 32 ADB NFK 035 ABM 530 30 F NFK 013 ABM 830 36 ABO
NFK 036 ABM 224 28 BO6 NFK 037 ABM 531 27 AD1 NFK 026 ABM 850 36 A
NFK 036 ABM 226 28 BO1 NFK 038 ABM 533 28 CO1 NFK 013 ABM 850 36 AB1
NFK 036 ABM 226 28 B02 NFK 020 ABM 535 30 D10 NFK 013 ABM 850 36 A75
NFK 036 ABM 226 28 BO3 NFK 020 ABM 536 30 K14 NFK 026 ABM 870 36 A
NFK 036 ABM 226 28 B04 NFK 008 ABM 537 30 C20 NFK 019 ABV 243 A 01
NFK 027 ABM 242 32 AD3 NFK 003 ABM 537 30 F15 NFK 018 ABV 243 D01
NFK 002 ABM 242 32 AD4 NFK 018 ABM 537 30 F21 NFK 019 ABV 247 A 02
NFK 027 ABM 242 32 AD4 NFK 018 ABM 537 30 F22 NFK 019 ABV 247 B 02
NFK 027 ABM 242 32 AD7 NFK 003 ABM 537 30 H15 NFK 019 ABV 295 FO1
NFK 018 ABM 247 A 03 NFK 003 ABM 537 30 H16 NFK 018 ABV 295 GO1




NECTEC

ABM 272 32 E 30
O[] & [ [ 2] ] + | © www.katalog.tiptopol.pl ¢ [
»

2 Wyszukiwarka produktéw znajdujgca

Rlel-

sie na www.tiptopol.pl pozwala na

nE@TEC, B3 catalog dobdr odpowiedniego produktu, ba-

zujgc na numerach referencyjnych

firm konkurencyjnych jak réwniez

& ABM 27232 E30 «back @ print na oryginalnych numerach produ-
. S centéw. Ponadto oferujemy katalog
L@_ pgioe ] produktéw w wersiji elektroniczne;.
IR N
g :; :

126 |
S
&

PLASTIC PISTON

@310 (max.2320)

46t parametres

@ OE NECTEC

producer numer_oe

HENDRICKSON 5712241

HENDRICKSON 571222 AIR
TRIANGLE 8519

SPRINGS

2018/2018

On-line catalogue, available at www.tiptopol.pl lets to find the
correct product, basing on cross references of competitive pro-
ducers and also on OE numbers. Besides we offer CD catalogue.

Die Produktsuche auf der Webseite www.tiptopol.pl erlaubt eine Wahl des S
entsprechenden Produktes, sowohl auf Basis der Referenznummern der Kon- 7
kurenz, als auch auf Basis der originellen Herstellernummern. Ausserdem bit- Z

ten wir einen Katalog in elektronischer Version an. P
y . 5 y % v
Ha Hawewm caiite www.tiptopol.pl Bbl MOXETE HaTV COOTBETCTBYHOLWMIA HO- V 4

mep (apTrkyn) No HOMepPaM KOHKYPEHTOB W OpUriHasibHbIM HOMEpPam Mpo- m Bt’\’\er
nasogutenen. Kpome Toro, Mbl NpeanaraemM Katanor Halux npoayKToB B t,Ure Dg
3NeKTpoHHOM Bepcun Ha CD. { ce Gu(‘ {'U

e cred
Le moteur de recherche de produits se trouvant sur www.tiptopol. f \,BJCJ S C

pl vous permettra de choisir le bon produit, selon les numéros de
référence des entreprises concurrentes ainsi gue les numéros
d’origine des fabricants. En outre, vous trouverez le catalogue
de nos produits dans sa version électronique.

Buscador de productos en la pagina web www.tiptopol.pl le per-
mite elegir el producto adecuado, basdndose en los niumeros de
referencia de empresas de la competencia, asi como en los nu-
meros originales de los fabricantes. Ademas, ofrecemos el cata-
logo de nuestros productos en version electraénica.


http://www.tiptopol.pl/

TIREOROL

TIP-TOPOL Sp. z o.o.

POLAND 62-010 Pobiedziska, ul. Kostrzynska 33
tel. +48 61 815 22 00
fax. +48 61 815 22 02

neotec@tiptopol.pl
www. tiptopol. pl



	_GoBack

